A. JIC THREAD

Page

JIC MALE 74° CONE X JIC MALE 74° CONE:1QJ
JIC MALE 74° CONE X JIC MALE 74° CONE 45° ELBOW:FQJ

JIC MALE 74° CONE X JIC MALE 74° CONE 90° ELBOW:LQJ , JIC MALE 74° CONE TEE:TQJ
JIC MALE 74° CONE X JIC MALE 74° CONE BULKHEAD:IQJ-K / 1QJ-K-N

JIC MALE 74° CONE X SAE MALE O-RING BOSS:IJE

JIC MALE 74° CONE X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS 45° ELBOW:
FJE-NOW
JIC MALE 74° CONE X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS 90° ELBOW:
LJE-NOW

JIC MALE 74° CONE X JIC MALE 74° CONE BRANCH X SAE MALE WITH LOCKING NUT
WASHER O-RING BOSS RUN TEE:TJJE-NOW

JIC MALE 74° CONE X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS BRANCH X
JIC MALE 74° CONE RUN TEE:TJEJ-NOW

JIC MALE 74° CONE X NPT MALE:IUN , JIC MALE 74° CONE X NPT MALE 45° ELBOW:FJN

JIC MALE 74° CONE X NPT MALE 90° ELBOW:LJN
JIC MALE 74° CONE X JIC MALE 74° CONE BRANCH X NPT MALE RUN TEE:TJJN

JIC MALE 74° CONE X NPT MALE BRANCH X JIC MALE 74° CONE RUN TEE:TJNJ
JIC MALE 74° CONE X BSP FEMALE:IJG-F, JIC MALE 74° CONE X NPT FEMALE:IJN-F

JIC MALE 74° CONE X NPT FEMALE 90° ELBOW:LJN-F
JIC MALE 74° CONE X NPT FEMALE BRANCH X JIC MALE 74° CONE RUN TEE:TJNJ-F
JIC MALE 74° CONE X JIC MALE 74° CONE BRANCH X NPT FEMALE RUN TEE:TJJN-F

JIC MALE 74° CONE X BSP MALE 60° BONDED SEAL TYPE:IJG

10

JIC MALE 74° CONE X BSP MALE 60° CONE SEAT 45° ELBOW:FJG
JIC MALE 74° CONE X BSP MALE 60° CONE SEAT 90° ELBOW:LJG
JIC MALE 74° CONE X BSP MALE O-RING BOSS:IJP-OR

11

JIC MALE 74° CONE X BSP MALE WITH LOCKING NUT WASHER O-RING

45° ELBOW:FJP-NWR

JIC MALE 74° CONE X BSP MALE WITH LOCKING NUT WASHER O-RING BOSS 90° ELBOW:
LJG-NWR

JIC MALE 74° CONE X BSP MALE WITH LOCKING NUT WASHER O-RING BRANCH

X JIC MALE 74° CONE RUN TEE:TJPJ-NWR

12

JIC MALE 74° CONE X JIC MALE 74° CONE BRANCH X BSP MALE WITH LOCKING NUT
WASHER O-RING RUN TEE:TJJP-NWR
JIC MALE 74° CONE X BSP MALE WITH CAPTIVE SEAL:IJP-V

13

JIC MALE 74° CONE X BSPT MALE:IJB , JIC MALE 74° CONE X BSPT MALE 45° ELBOW:FJB

14

JIC MALE 74° CONE X BSPT MALE 90° ELBOW:LJB
JIC MALE 74° CONE X BSPT MALE BRANCH X JIC MALE 74° CONE RUN TEE:TJBJ
JIC MALE 74° CONE X BSPT FEMALE:IJB-F

15

SINALINOD 12Nd0¥d §



SINHLNOD LONdOdd S

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74° CONE SEAT:IQJ-S
JIC MALE 74° CONE X JIC SWIVEL FEMALE 74° CONE SEAT 45° ELBOW:FQJ-S

16

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74° CONE SEAT 90° ELBOW:LQJ-S

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74° CONE SEAT BRANCH X JIC MALE 74° CONE
RUN TEE:TQJ-S

JIC MALE 74° CONE X JIC MALE 74° CONE BRANCH X JIC SWIVEL FEMALE 74° CONE SEAT
RUN TEE:TQJ-S

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74° CONE SEAT BRANCH X JIC SWIVEL FEMALE
74° CONE SEAT RUN TEE:TQJ-S-S

17

JIC SWIVEL FEMALE 74° CONE SEAT TEE:TQJ-S-S-S
JIC SWIVEL FEMALE 74° CONE SEAT X JIC SWIVEL FEMALE 74° CONE SEAT:IQJ-S-S
JIC MALE 74° CONE X JIC SWIVEL FEMALE 74° CONE SEAT:1JJ-S

18

JIC SWIVEL FEMALE 74° CONE SEAT X NPT MALE:IUJN-S
JIC SWIVEL FEMALE 74° CONE SEAT X NPT FEMALE:IJN-S-F
JIC SWIVEL FEMALE 74° CONE SEAT X NPSM FEMALE:IJS-S-F

19

JIC MALE 74° CONE X BSP SWIVEL FEMALE 60° CONE 45° ELBOW:FJG-S
JIC MALE 74° CONE X BSP SWIVEL FEMALE 60° CONE 90° ELBOW:LJG-S
JIC SWIVEL FEMALE 74° CONE SEAT X BSPT MALE:IJB-S

JIC SWIVEL FEMALE 74° CONE SEAT X BSPT MALE 45° ELBOW:FJB-S

20

JIC SWIVEL FEMALE 74° CONE SEAT X BSPT MALE 90° ELBOW:LJB-S
JIC MALE 74° CONE PLUG:PGJ
JIC FEMALE 74° CAP:CAJ, JIC SWIVEL FEMALE 74° CONE SEAT CAP:CAJ-S

21

JIC LOCK NUT:NTJ , JIC MALE 74° CONE X SAE FLANGE LIGHT DUTY:IJFA
JIC MALE 74° CONE X SAE FLANGE HEAVY DUTY:IJFH

22

JIC MALE 74° CONE X SAE FLANGE LIGHT DUTY 90° ELBOW:LJFA
JIC MALE 74° CONE X SAE FLANGE HEAVY DUTY 90° ELBOW:LJFH

23

B. SAE THREAD

SAE MALE O-RING BOSS X NPT MALE:IEN
SAE MALE O-RING BOSS X BSP MALE 60° BONDED SEAL TYPE:IEG

24

SAE MALE O-RING BOSS X NPT FEMALE:IEN-F
SAE MALE O-RING BOSS HOLLOW HEX PLUG:PGEX
SAE MALE WITH O-RING BOSS PLUG:PGE , SAE LOCK NUT:NTE

25

C. ORFS THREAD

ORFS MALE O-RING X ORFS MALE O-RING:IQR
ORFS MALE O-RING X ORFS MALE O-RING 90° ELBOW:LQR
ORFS MALE O-RING TEE:TQR

26

ORFS MALE X ORFS MALE BULKHEAD:IQR-K / IQR-K-N
ORFS MALE X ORFS MALE BULKHEAD 90° ELBOW:LQR-K/ LQR-K-N
ORFS MALE X JIC MALE 74° CONE:IRJ

27

ORFS MALE O-RING X SAE MALE O-RING BOSS:IRE
ORFS MALE O-RING X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS 90° ELBOW:
LRE-NOW

28




ORFS MALE X ORFS MALE BRANCH X SAE MALE WITH LOCKING NUT WASHER O-RING
RUN TEE:TRRE-NWR

ORFS MALE X SAE MALE WITH LOCKING NUT WASHER O-RING BRANCH X ORFS MALE
RUN TEE:TRER-NWR

ORFS MALE O-RING X NPT MALE:IRN

29

ORFS MALE O-RING X NPT MALE 90° ELBOW:LRN
ORFS MALE X BSP MALE BONDED SEAL TYPE:IRG
ORFS MALE X BSP MALE WITH CAPTIVE SEAL:IRP-V

30

ORFS MALE O-RING X BSP MALE O-RING BOSS:IRP-OR

ORFS MALE X BSP MALE WITH LOCKING NUT WASHER O-RING 45° ELBOW:FRP-NWR
ORFS MALE O-RING X BSP MALE WITH LOCKING NUT WASHER O-RING BOSS 90° ELBOW:
LRG-NWR

31

ORFS MALE X BSP MALE FEMALE:IRP-F

ORFS MALE O-RING X METRIC MALE O-RING BOSS:IRW-OR

ORFS MALE O-RING X METRIC MALE WITH LOCKING NUT WASHER O-RING BOSS 90°
ELBOW:LRW-NWR

32

ORFS MALE O-RING X ORFS SWIVEL FEMALE:IQR-S
ORFS MALE O-RING X ORFS SWIVEL FEMALE 45° ELBOW:FQR-S
ORFS MALE O-RING X ORFS SWIVEL FEMALE 90° ELBOW:LQR-S

33

ORFS MALE X ORFS MALE BRANCH X ORFS SWIVEL FEMALE RUN TEE:TQR-S
ORFS MALE X ORFS SWIVEL FEMALE BRANCH X ORFS MALE RUN TEE:TQR-S
ORFS SWIVEL FEMALE X SAE MALE O-RING BOSS:IRE-S

ORFS SWIVEL FEMALE X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS 90°
ELBOW:LRE-S-NOW

34

ORFS SWIVEL FEMALE X BSP MALE BONDED SEAL TYPE:IRG-S

ORFS MALE X BSP MALE WITH LOCKING NUT WASHER O-RING 90° ELBOW:LRP-NWR
ORFS MALE X BSP MALE WITH LOCKING NUT WASHER O-RING BRANCH X ORFS MALE
RUN TEE:TRPR-NWR

ORFS MALE O-RING PLUG:PGR

35

ORFS SWIVEL FEMALE CAP:CAR-S, ORFS LOCK NUT:NTR
ORFS MALE O-RING X SAE FLANGE LIGHT DUTY:IRFA
ORFS MALE O-RING X SAE FLANGE HEAVY DUTY:IRFH

36

D. NPT THREAD

NPT MALE X NPT MALE:IQN , NPT MALE X NPT MALE 90° ELBOW:LQN
NPT MALE TEE:TQN

37

NPT FEMALE X NPT FEMALE:IQN-F-F , NPT FEMALE X NPT FEMALE 90° ELBOW:LQN-F-F
NPT FEMALE TEE:TQN-F-F-F

38

NPT MALE X NPT FEMALE:IQN-F, NPT MALE X SAE FEMALE:INE-F

39

NPT MALE X NPT FEMALE 45° ELBOW:FQN-F , NPT MALE X NPT FEMALE 90° ELBOW:LQN-F
NPSM SWIVEL FEMALE 60° CONE X NPT MALE:ISN-S

40

NPT MALE X NPSM SWIVEL FEMALE 60° CONE 45° ELBOW:FNS-S
NPSM SWIVEL FEMALE 60° CONE X NPT MALE 90° ELBOW:LSN-S
NPT FEMALE X NPSM SWIVEL FEMALE 60° CONE 45° ELBOW:FNS-F-S

41

SINALINOD 12Nd0¥d §



SINHLNOD LONdOdd S

NPT FEMALE X NPSM SWIVEL FEMALE 60° CONE 90° ELBOW:LNS-F-S
NPT FEMALE X NPT MALE BUSHING:INN-F , NPT MALE PLUG:PGN

42

NPT MALE WITH HOLLOW HEX PLUG:PGNX , NPT MALE X HOSE TAIL 90° ELBOW:LNHT

43

E. BSP THREAD

BSP MALE BONDED SEAL TYPE:IQG
BSP MALE BONDED SEAL TYPE X BSP MALE 60° CONE:IGP
BSP MALE 60° CONE X BSP MALE 60° CONE:IPP

44

BSP MALE X BSP MALE 90° ELBOW:LQG , BSP MALE 60° CONE SEAT TEE:TQG
BSP MALE BULKHEAD X BSP MALE BONDED SEAL TYPE:1IQG-K / 1QG-K-N

45

BSP MALE 60° BONDED SEAL TYPE X NPT MALE:IGN
BSP MALE 60° CONE SEAT X NPT MALE 45° ELBOW:FGN

46

BSP MALE 60° CONE SEAT X NPT MALE 90° ELBOW:LGN
BSP MALE 60° BONDED SEAL TYPE X BSPT MALE:IGB

47

BSP MALE 60° CONE SEAT X BSPT MALE 45° ELBOW:FGB
BSP MALE 60° CONE SEAT X BSPT MALE 90° ELBOW:LGB

48

BSP MALE 60° BONDED SEAL TYPE X BSP MALE WITH CAPTIVE SEAL:IGP-V

BSP MALE 60° CONE SEAT X BSP MALE WITH LOCKING NUT WASHER O-RING 90° ELBOW:
LPP-NWR

BSP MALE 60° CONE SEAT X BSP MALE 60° CONE SEAT BRANCH X BSP MALE WITH
LOCKING NUT WASHER O-RING RUN TEE:TQP-NWR

BSP MALE 60° CONE SEAT X BSP MALE WITH LOCKING NUT WASHER O-RING BRANCH X
BSP MALE 60° CONE SEAT RUN TEE:TQP-NWR

49

BSP FEMALE X BSP FEMALE:IQG-F-F , BSP FEMALE X BSP FEMALE 90° ELBOW:LQG-F-F
BSP MALE BONDED SEAL TYPE X BSP FEMALE:IQG-F

50

BSP MALE BONDED SEAL TYPE X NPT FEMALE:IGN-F
BSP MALE 60° CONE X BSP FEMALE:IPG-F

BSP MALE 60° CONE X BSPT FEMALE:IPB-F

BSP MALE BONDED SEAL X BSPT FEMALE:IGB-F

51

BSP MALE 60° CONE SEAT X BSP FEMALE 90° ELBOW:LQG-F
BSP MALE 60° BONDED SEAL TYPE X BSP SWIVEL FEMALE 60° CONE:IQG-S
BSP MALE 60° CONE SEAT X BSP SWIVEL FEMALE 60° CONE 45° ELBOW:FQG-S

52

BSP MALE 60° CONE SEAT X BSP SWIVEL FEMALE 60° CONE 90° ELBOW:LQG-S

BSP MALE 60° CONE SEAT X BSP SWIVEL FEMALE 60° CONE BRANCH X BSP MALE 60°
CONE SEAT RUN TEE:TQG-S

BSP MALE 60° CONE SEAT X BSP MALE 60° CONE SEAT BRANCH X BSP SWIVEL FEMALE
60° CONE RUN TEE:TQG-S

BSP SWIVEL FEMALE 60° CONE X BSP MALE 60° CONE SEAT BRANCH X BSP SWIVEL
FEMALE 60° CONE RUN TEE:TQG-S-S

53

BSP MALE 60° CONE SEAT X BSP SWIVEL FEMALE 60° CONE BRANCH X BSP SWIVEL
FEMALE 60° CONE RUN TEE:TQG-S-S

BSP SWIVEL FEMALE 60° CONE TEE:TQG-S-S-S

BSP SWIVEL FEMALE 60° CONE X BSP SWIVEL FEMALE 60° CONE:IQP-S-S

54




BSP SWIVEL FEMALE 60° CONE X NPT MALE:IGN-S

BSP MALE BONDED SEAL TYPE X JIC SWIVEL FEMALE 74° CONE SEAT:IGJ-S

BSP MALE 60° CONE X JIC SWIVEL FEMALE 74° CONE SEAT 45° ELBOW:FGJ-S

BSP MALE 60° CONE SEAT X JIC SWIVEL FEMALE 74° CONE SEAT 90° ELBOW:LGJ-S

55

BSP SWIVEL FEMALE 60° CONE X NPT MALE 90° ELBOW:LGN-S
BSP SWIVEL FEMALE 60° CONE X BSPT MALE:IGB-S
BSP SWIVEL FEMALE 60° CONE X BSPT MALE 45° ELBOW:FGB-S

56

BSP SWIVEL FEMALE 60° CONE X BSPT MALE 90° ELBOW:LGB-S
BSP MALE 60° BONDED SEAL TYPE PLUG:PGG
BSP MALE 60° CONE SEAT PLUG:PGF , BSP MALE CAPTIVE SEAL PLUG:PGP-V

57

BSP MALE 60° CONE PLUG:PGP , BSP SWIVEL FEMALE 60° CONE CAP:CAP-S
BSP SWIVEL FEMALE 60° CONE SEAT CAP:CAG-S
BSP MALE BONDED SEAL WITH HOLLOW HEX PLUG:PGGX

58

BSP MALE CAPTIVE SEAL WITH HOLLOW HEX PLUG:PGPX-V , BSP LOCK NUT:NTG
BSP MALE O-RING BOSS X HOSE TAIL:IPHT-OR
BSP MALE WITH LOCKING NUT WHASHER O-RING X HOSE TAIL 90° ELBOW:LPHT-NWR

59

F. BSPT THREAD

BSPT MALE X BSPT MALE:IQB, BSPT MALE X BSPT MALE 45° ELBOW:FQB
BSPT MALE X BSPT MALE 90° ELBOW:LQB

60

BSPT MALE TEE:TQB , BSPT MALE X BSP MALE 60° CONE:IBP
BSPT MALE X BSP MALE 60° CONE 45° ELBOW:FBG
BSPT MALE X BSP MALE 60° CONE 90° ELBOW:LBG

61

BSPT FEMALE X BSPT FEMALE:IQB-F-F
BSPT FEMALE X BSPT FEMALE 90° ELBOW:LQB-F-F
BSPT FEMALE RUN TEE X BSPT FEMALE BRANCH:TQB-F-F-F

62

BSPT MALE X BSPT FEMALE:IQB-F , BSPT MALE X BSPT FEMALE 45° ELBOW:FQB-F
BSPT MALE X BSPT FEMALE 90° ELBOW:LQB-F

63

BSPT FEMALE X BSPT MALE BUSHING:IBB-F
BSPT MALE X HOSE TAIL 90° ELBOW:LBHT , BSPT MALE PLUG:PGB
BSPT MALE WITH HOLLOW HEX PLUG:PGBX

64

G. METRIC THREAD

METRIC MALE 60° CONE X METRIC MALE 60° CONE:IQV, METRIC MALE 74° CONE:IQU
METRIC MALE 60° CONE TEE:TQV , METRIC MALE 74° CONE TEE:TQU

65

METRIC MALE 74° CONE X METRIC MALE BONDED SEAL TYPE:IUC
METRIC MALE 60° CONE X METRIC MALE O-RING BOSS:IVW
METRIC MALE 74° CONE X METRIC MALE O-RING BOSS:IlUW-OR

66

METRIC MALE 60° CONE X METRIC MALE WITH LOCKING NUT WASHER O-RING BOSS 90°
ELBOW:LVW-NOW

METRIC MALE 74° CONE X METRIC MALE WITH LOCKING NUT WASHER O-RING BOSS 90°
ELBOW:LUW-NWR

METRIC MALE 60° CONE X METRIC MALE WITH LOCKING NUT WASHER O-RING BOSS
BRANCH X METRIC MALE 60° CONE RUN TEE:TVWV-NOW

67

SINAINOD 12Nd0¥d §



SINHLNOD LONdOdd S

METRIC MALE 60° BONDED SEAL TYPE X JIC MALE 74° CONE:ICJ
METRIC MALE WITH CAPTIVE SEAL X JIC MALE 74° CONE:ICJ-V

68

METRIC MALE O-RING BOSS X JIC MALE 74° CONE:IWJ
METRIC MALE WITH LOCKING NUT WASHER O-RING BOSS X JIC MALE 74° CONE 90°
ELBOW:LWJ-NWR

69

METRIC MALE 74° CONE X SAE MALE O-RING BOSS:IUE

METRIC MALE 74° CONE X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS 90°
ELBOW:LUE-NOW

METRIC MALE 74° CONE X NPT MALE:IUN

70

METRIC MALE 74° CONE X NPT MALE 45° ELBOW:FUN
METRIC MALE 74° CONE X NPT MALE 90° ELBOW:LUN

71

METRIC MALE 60° BONDED SEAL TYPE X BSP MALE 60° BONDED SEAL TYPE:ICG
METRIC MALE 74° CONE X BSP MALE BONDED SEAL TYPE:IUG

72

METRIC MALE 60° CONE X BSP MALE O-RING BOSS:IVP-OR

METRIC MALE 60° CONE X BSP MALE WITH LOCKING NUT WASHER O-RING 90° ELBOW:
LVP-NWR

METRIC MALE 60° CONE X BSP MALE WITH LOCKING NUT WASHER O-RING BRANCH X
METRIC MALE 60° CONE RUN TEE:TVPV-NWR

METRIC MALE 74° CONE X BSP MALE O-RING BOSS:IUP-OR

73

METRIC MALE 74° CONE X BSP MALE WITH LOCKING NUT WASHER O-RING 90° ELBOW:
LUP-NWR

METRIC MALE O-RING BOSS X BSP MALE 60° BONDED SEAL TYPE:IWG-OR

METRIC MALE WITH LOCKING NUT WASHER O-RING X BSP MALE 60° CONE SEAT 90°
ELBOW:LWG-NWR

74

METRCIC MALE 60° CONE X BSPT MALE:IVB
METRIC MALE 74° CONE X BSPT MALE:IUB
METRIC MALE 74° CONE X BSPT MALE 90° ELBOW:LUB

75

METRIC MALE 74° CONE X METRIC SWIVEL FEMALE 74° CONE SEAT:IQU-S

METRIC MALE 74° CONE X METRIC SWIVEL FEMALE 74° CONE SEAT 90° ELBOW:LQU-S
METRIC MALE 60° CONE X METRIC SWIVEL FEMALE 60° CONE SEAT 90° ELBOW:LQV-S
METRIC MALE 60° CONE X METRIC SWIVELFEMALE 60° CONE SEAT BRANCH X METRIC
MALE 60° CONE RUN TEE:TQV-S

76

METRIC SWIVEL FEMALE 60° CONE SEAT CAP:CAV-S, METRIC MALE 60° CONE PLUG:PGV
METRIC MALE 74° CONE PLUG:PGU, METRIC MALE WITH CAPTIVE SEAL HOLLOW HEX
PLUG:PGCX-V

METRIC LOCK NUT:NTM

77

H. BITE-IN THREAD

METRIC MALE 24° LIGHT DUTY:IQD / 1QD-SN

78

METRIC MALE 24° HEAVY DUTY:IQH / IQH-SN

79

METRIC MALE 24° LIGHT DUTY 90° ELBOW:LQD / LQD-SN
METRIC MALE 24° HEAVY DUTY 90° ELBOW:LQH / LQH-SN

80

METRIC MALE 24° LIGHT DUTY RUN TEE:TQD / TQD-SN
METRIC MALE 24° LIGHT DUTY REDUCER TEE:TQD / TQD-SN

81

METRIC MALE 24° HEAVY DUTY RUN TEE:TQH / TQH-SN
METRIC MALE 24° HEAVY DUTY REDUCER TEE:TQH / TQH-SN

82




METRIC MALE 24° X METRIC MALE 24° BULKHEAD LIGHT DUTY:
1QD-K / 1QD-K-N / 1QD-K-SN / IQD-K-N-SN
METRIC MALE 24° X METRIC MALE 24° BULKHEAD HEAVY DUTY:
IQH-K / IQH-K-N / IQH-K-SN / IQH-K-N-SN

83

METRIC MALE 24° X METRIC MALE BONDED SEAL TYPE LIGHT DUTY:IDC / IDC-SN
METRIC MALE 24° X METRIC MALE BONDED SEAL TYPE HEAVY DUTY:IHC / IHC-SN

84

METRIC MALE 24° X METRIC MALE O-RING LIGHT DUTY:IDW-OR / IDW-OR-SN
METRIC MALE 24° X METRIC MALE O-RING HEAVY DUTY:IHW-OR / IHW-OR-SN

85

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER O-RING LIGHT DUTY 45°
ELBOW:FDW-NWR / FDW-SNWR
METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER O-RING HEAVY DUTY 45°
ELBOW:FHW-NWR / FHW-SNWR

86

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER O-RING LIGHT DUTY 90°
ELBOW:LDW-NWR / LDW-SNWR
METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER O-RING HEAVY DUTY 90°
ELBOW:LHW-NWR / LHW-SNWR

87

METRIC MALE 24° X METRIC MALE 24° BRANCH X METRIC MALE WITH LOCKING NUT
WASHER O-RING RUN TEE LIGHT DUTY:TDDW-NWR / TDDW-SNWR
METRIC MALE 24° X METRIC MALE 24° BRANCH X METRIC MALE WITH LOCKING NUT
WASHER O-RING RUN TEE HEAVY DUTY: THHW-NWR / THHW-SNWR

88

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER O-RING BRANCH X
METRIC MALE 24° RUN TEE LIGHT DUTY:TDWD-NWR / TDWD-SNWR

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER O-RING BRANCH X
METRIC MALE 24° RUN TEE HEAVY DUTY: THWH-NWR / THWH-SNWR

89

METRIC MALE 24° X METRIC MALE WITH CAPTIVE SEAL LIGHT DUTY:IDC-V / IDC-V-SN
METRIC MALE 24° X METRIC MALE WITH CAPTIVE SEAL HEAVY DUTY:IHC-V / IHC-V-SN

90

METRIC MALE 24° X JIC MALE LIGHT DUTY:IDJ / IDJ-SN
METRIC MALE 24° X JIC MALE HEAVY DUTY:IHJ / IHJ-SN

91

METRIC MALE 24° X SAE MALE O-RING BOSS LIGHT DUTY:IDE / IDE-SN
METRIC MALE 24° X SAE MALE O-RING BOSS HEAVY DUTY:IHE / IHE-SN

92

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS LIGHT DUTY
45° ELBOW:FDE-NOW / FDE-SNOW
METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS HEAVY DUTY
45° ELBOW:FHE-NOW / FHE-SNOW

93

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS LIGHT DUTY
90° ELBOW:LDE-NOW / LDE-SNOW
METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS HEAVY DUTY
90° ELBOW:LHE-NOW / LHE-SNOW

94

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS BRANCH X
METRIC MALE 24° RUN TEE LIGHT DUTY:TDED-NOW / TDED-SNOW

METRIC MALE 24° X METRIC MALE 24° BRANCH X SAE MALE WITH LOCKING NUT WASHER
O-RING BOSS RUN TEE LIGHT DUTY:TDDE-NOW / TDDE-SNOW

95

METRIC MALE 24° X METRIC MALE 24° BRANCH X SAE MALE WITH LOCKING NUT WASHER
O-RING BOSS RUN TEE HEAVY DUTY:THHE-NOW / THHE-SNOW

96

SINAINOD 12Nd0¥d §



SINHLNOD LONdOdd S

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS BRANCH X
METRIC MALE 24° RUN TEE HEAVY DUTY:THEH-NOW / THEH-SNOW

96

METRIC MALE 24° X NPT MALE LIGHT DUTY:IDN / IDN-SN
METRIC MALE 24° X NPT MALE HEAVY DUTY:IHN / IHN-SN

97

METRIC MALE 24° X NPT MALE LIGHT DUTY 90° ELBOW:LDN / LDN-SN
METRIC MALE 24° X NPT MALE HEAVY DUTY 90° ELBOW:LHN / LHN-SN

98

METRIC MALE 24° X BSP MALE BONDED SEAL TYPE LIGHT DUTY:IDG / IDG-SN
METRIC MALE 24° X BSP MALE BONDED SEAL TYPE HEAVY DUTY:IHG / IHG-SN

99

METRIC MALE 24° X BSP MALE LIGHT DUTY 90° ELBOW:LDG / LDG-SN
METRIC MALE 24° X BSP MALE HEAVY DUTY 90° ELBOW:LHG / LHG-SN

100

METRIC MALE 24° X BSP MALE WITH O-RING LIGHT DUTY:IDP-OR / IDP-OR-SN
METRIC MALE 24° X BSP MALE WITH O-RING HEAVY DUTY:IHP-OR / IHP-OR-SN

101

METRIC MALE 24° X BSP MALE WITH LOCKING NUT WASHER O-RING LIGHT DUTY 45°
ELBOW:FDP-NWR / FDP-SNWR
METRIC MALE 24° X BSP MALE WITH LOCKING NUT WASHER O-RING HEAVY DUTY 45°
ELBOW:FHP-NWR / FHP-SNWR

102

METRIC MALE 24° X BSP MALE WITH LOCKING NUT WASHER O-RING LIGHT DUTY 90°
ELBOW:LDP-NWR / LDP-SNWR
METRIC MALE 24° X BSP MALE WITH LOCKING NUT WASHER O-RING HEAVY DUTY 90°
ELBOW:LHP-NWR / LHP-SNWR

103

METRIC MALE 24° X BSP MALE WITH CAPTIVE SEAL LIGHT DUTY:IDP-V / IDP-V-SN
METRIC MALE 24° X BSP MALE WITH CAPTIVE SEAL HEAVY DUTY:IHP-V / IHP-V-SN

104

METRIC MALE 24° X BSPT MALE LIGHT DUTY:IDB / IDB-SN
METRIC MALE 24° X BSPT MALE HEAVY DUTY:IHB / IHB-SN

105

METRIC MALE 24° X BSPT MALE LIGHT DUTY 90° ELBOW:LDB / LDB-SN
METRIC MALE 24° X BSPT MALE HEAVY DUTY 90° ELBOW:LHB / LHB-SN

106

METRIC MALE 24° WITH NUT & RING X BSPT MALE BRANCH X METRIC MALE 24° WITH NUT

& RING RUN TEE:TDBD-SN
METRIC MALE 24° X METRIC SWIVEL FEMALE 24° O-RING LIGHT DUTY:1QD-S / 1QD-S-SN

107

METRIC MALE 24° X METRIC SWIVEL FEMALE 24° O-RING HEAVY DUTY:IQH-S / IQH-S-SN
METRIC MALE 24° X METRIC SWIVEL FEMALE 24° O-RING LIGHT DUTY 90° ELBOW:
LQD-S / LQD-S-SN

108

METRIC MALE 24° X METRIC SWIVEL FEMALE 24° O-RING HEAVY DUTY 90° ELBOW:
LQH-S / LQH-S-SN

METRIC MALE 24° X METRIC SWIVEL FEMALE O-RING BRANCH X METRIC MALE 24° RUN
TEE LIGHT DUTY:TQD-S / TQD-S-SN

109

METRIC MALE 24° X METRIC SWIVEL FEMALE O-RING BRANCH X METRIC MALE 24° RUN
TEE HEAVY DUTY:TQH-S / TQH-S-SN
METRIC MALE 24° X METRIC MALE 24° BRANCH X METRIC SWIVEL FEMALE O-RING RUN
TEE LIGHT DUTY:TQD-S / TQD-S-SN

110

METRIC MALE 24° X METRIC MALE 24° BRANCH X METRIC SWIVEL FEMALE O-RING RUN
TEE HEAVY DUTY:TQH-S / TQH-S-SN

METRIC SWIVEL FEMALE WITH O-RING X METRIC MALE WITH CAPTIVE SEAL LIGHT DUTY:

IDC-S-V

111




METRIC SWIVEL FEMALE WITH O-RING X METRIC MALE WITH CAPTIVE SEAL HEAVY DUTY:
IHC-S-V

METRIC SWIVEL FEMALE WITH O-RING X BSP MALE WITH CAPTIVE SEAL LIGHT DUTY:
IDP-S-V

METRIC SWIVEL FEMALE WITH O-RING X BSP MALE WITH CAPTIVE SEAL HEAVY DUTY:
IHP-S-V

112

METRIC SWIVEL FEMALE PLUG O-RING LIGHT DUTY:PGD-S
METRIC SWIVEL FEMALE PLUG O-RING HEAVY DUTY:PGH-S
BITE-IN MALE PLUG WITH O-RING CONE 24°:PGO

113

METRIC MALE 24° X SAE FLANGE 61 CODE LIGHT DUTY:IDFA / IDFA-SN
METRIC MALE 24° X SAE FLANGE 61 CODE HEAVY DUTY:IHFA / IHFA-SN

114

METRIC MALE 24° X SAE FLANGE 62 CODE HEAVY DUTY:IHFH / IHFH-SN
METRIC MALE 24° X SAE FLANGE 61 CODE LIGHT DUTY 90° ELBOW:LDFA / LDFA-SN

115

METRIC MALE 24° X SAE FLANGE 62 CODE LIGHT DUTY 90° ELBOW:LDFH / LDFH-SN
METRIC MALE 24° X SAE FLANGE 61 CODE HEAVY DUTY 90° ELBOW:LHFA / LHFA-SN

116

METRIC MALE 24° X SAE FLANGE 62 CODE HEAVY DUTY 90° ELBOW:LHFH / LHFH-SN
METRIC MALE 24° PLUG LIGHT DUTY:PGD / PGD-SN

117

METRIC MALE 24° PLUG HEAVY DUTY:PGH / PGH-SN , BITE-IN NUT LIGHT DUTY:NTD
BITE-IN NUT HEAVY DUTY:NTH

118

BITE-IN RING LIGHT DUTY:SRD, BITE-IN RING HEAVY DUTY:SRH

119

. OTHERS THREAD

SAE FLANGE PLUG LIGHT DUTY:PGFA , SAE FLANGE PLUG HEAVY DUTY:PGFH

119

SPLIT FLANGE CLAMPS LIGHT DUTY:CPFA , SPLIT FLANGE CLAMPS HEAVY DUTY:CPFH

120

WHOLE FLANGE CLAMPS LIGHT DUTY:CPF , WHOLE FLANGE CLAMPS HEAVY DUTY:CPH

121

METRIC MALE END FACE O-RING:IQM , METRIC MALE 90° ELBOW END FACE O-RING:LQM
METRIC MALE TEE END FACE O-RING:TQM

122

METRIC MALE BULKHEAD END FACE O-RING:IQM-K / IQM-K-N
METRIC MALE BULKHEAD 90° ELBOW END FACE O-RING:LQM-K / LQM-K-N

123

METRIC MALE END FACE O-RING X NPT MALE:IMN
METRIC MALE END FACE O-RING X METRIC MALE BONDED SEAL TYPE:IMC

124

METRIC MALE END FACE O-RING X BSPT MALE:IMB
METRIC MALE END FACE O-RING X BSP MALE BONDED SEAL TYPE:IMG
METRIC MALE END FACE O-RING X METRIC MALE O-RING BOSS ISO 6149-2:IMW-OR

125

METRIC MALE END FACE O-RING X METRIC MALE WITH LOCKING NUT WASHER O-RING
90° ELBOW ISO 6149-2:.LMW-NWR , METRIC MALE END FACE O-RING PLUG:PGM
METRIC MALE END FACE O-RING X METRIC SWIVEL FEMALE 90° ELBOW:LQM-S

126

METRIC MALE END FACE O-RING X METRIC SWIVEL FEMALE BRANCH X METRIC MALE END
FACE O-RING RUN TEE:TQM-S

METRIC MALE END FACE O-RING X METRIC MALE END FACE O-RING BRANCH X METRIC
SWIVEL FEMALE RUN TEE:TQM-S

127

SINAINOD 13Nd0¥d §



JIC MALE 74° CONE X JIC MALE 74° CONE: IQJ

N
PART NO. T T2 L1 L2 L H
1QJ-02 5/16—24 | 5/16—24 | 11.4 | 11.4 | 29.0 | 12.0
ﬁ IQJ-02-03 | 516—24 | 3/8—24 | 114 | 122 | 295 | 120
O 1QJ-03 318—24 | 3/8—24 | 122 | 122 | 305 | 12.0
1QJ-04 7/16—20 | 7/16—20 | 14.0 | 140 | 340 | 120
H IQJ-04-05 | 7/16—20 | 1/2—20 | 14.0 | 140 | 340 | 140
IQJ-04-06 | 7/16—20 | 9/16—18 | 14.0 | 141 | 341 | 17.0
: IQJ-04-08 | 7/16—20 | 3/4—16 | 14.0 | 16.7 | 385 | 22.0
w 1QJ-05 1/2—20 | 1/2—20 | 140 | 140 | 340 | 140
m IQJ-05-06 | 1/2—20 | 9/16—18 | 14.0 | 141 | 340 | 17.0
IQJ-05-08 | 1/2—20 | 3/4—16 | 14.0 | 16.7 | 385 | 220
> IQJ-05-10 | 1/2—20 | 7/8—14 | 14.0 | 193 | 410 | 240
U H o 1QJ-06 9116—18 | 9/16—18 | 141 | 141 | 342 | 17.0
T1 IQJ-06-08 | 9/16—18 | 3/4—16 | 14.1 | 16.7 | 385 | 22.0
N IQJ-06-10 | 9/16—18 | 7/8—14 | 141 | 193 | 415 | 24.0
_\\\ﬂm\“ “ ] IQJ-06-12 | 9/16—18 |1-1/16—12| 14.1 | 219 | 46.0 | 30.0
o | @ 1QJ-08 3/4—16 | 3/4—16 | 16.7 | 16.7 | 420 | 22.0
™~ IQJ-08-10 | 3/4—16 | 7/8—14 | 16.7 | 193 | 44.0 | 240
N ‘%/ LA IQJ-08-12 | 3/4—16 |1-1/16—12| 16.7 | 21.9 | 485 | 30.0
IQJ-08-16 | 3/4—16 |1-516—12| 16.7 | 231 | 51.0 | 36.0
L1 ‘ ‘ Lo 1QJ-10 7/8—14 | 7/8—14 | 193 | 193 | 465 | 24.0
! . ! IQJ-10-12 | 7/8—14 |1-1/16—12| 193 | 21.9 | 51.0 | 30.0
IQJ-10-16 | 7/8—14 |1-5/16—12| 19.3 | 231 | 535 | 36.0
1QJ IQJ12 | 1-1/16—12 [1-1/16—12| 219 | 219 | 54.0 | 30.0
IQJ12-14 | 1-116—12 | 1-3116—12| 219 | 226 | 555 | 32.0
IQJ-12-16 | 1-1/16—12 | 1-5/16—12| 21.9 | 231 | 56.0 | 36.0
IQJ-14 | 1-3/16—12 | 1-3116—12| 226 | 22.6 | 56.0 | 32.0
IQJ-14-16 | 1-3/16—12 | 1-5/16—12 | 22.6 | 231 | 565 | 36.0
IQJ-16 | 1-5/16—12 | 1-5/16—12 | 231 | 231 | 57.0 | 36.0
IQJ-16-20 | 1-5/16—12 | 1-5/8—12 | 231 | 24.3 | 605 | 46.0
IQJ-16-24 | 1-5/16—12 | 1-7/8—12 | 231 | 275 | 655 | 50.0
1QJ-20 1-5/8—12 | 1-5/8—12 | 243 | 243 | 62.0 | 46.0
IQJ-20-24 | 1-5/8—12 | 1-7/8—12 | 24.3 | 275 | 67.0 | 50.0
IQJ-20-32 | 1-5/8—12 | 2-1/2—12 | 243 | 339 | 750 | 65.0
1QJ-24 17/8—12 | 1-7/8—12 | 275 | 275 | 70.0 | 50.0
IQJ-24-32 | 1-7/8—12 | 2-1/2—12 | 275 | 339 | 785 | 65.0
1QJ-32 212—12 | 2-1/2—12 | 339 | 339 | 850 | 65.0
JIC MALE 74° CONE X JIC MALE 74° CONE
45° ELBOW: FQJ

PART NO. T T2 1,2 H

. FQJ-04 7/16—20 7/16—20 215 1.0

™ FQJ-05 1/2—20 1/2—20 23.0 14.0

FQJ-06 9/16—18 9/16—18 22.8 14.0

FQJ-08 3/4—16 3/4—16 26.8 19.0

FQJ-10 7/8—14 7/8—14 31.0 22.0

FQJ-12 1-1/16—12 1-1/16—12 355 27.0

FQJ-16 1-5/16—12 1-5/16—12 38.5 33.0




2

m /E =
Te é ‘%i
YR
LQJ
L1 L3
;
V4

Nal
AL

Le

TQJ

AAAAAA

T1 :
i@;m@v Ll {‘.‘.‘.‘.‘.‘.‘.‘.‘.‘.‘.‘.‘W

1QJ-K

T1 H /TE Hl

AAAAAA

i(% i {‘.‘.‘.‘.‘.‘.‘.‘.‘.‘.‘.‘.‘W

U=S
L1 ‘ ‘ Le

L

1QJ-K-N(LOCK NUT INCLUDED)

JIC MALE 74° CONE X JIC MALE 74° CONE 90°

ELBOW: LQJ

PART NO. T L1 L2 H
LQJ-02 5/16—24 5/16—24 20.5 20.5 11.0
LQJ-03 3/8—24 3/8—24 22.0 22.0 11.0
LQJ-04 7/16—20 7/16—20 24.5 24.5 11.0
LQJ-05 1/2—20 1/2—20 26.6 26.6 14.0
LQJ-05-06 1/2—20 9/16—18 26.6 26.9 14.0
LQJ-06 9/16—18 9/16—18 26.9 26.9 14.0
LQJ-06-08 9/16—18 3/4—16 30.0 32.0 19.0
LQJ-06-10 9/16—18 7/8—14 32.0 37.8 22.0
LQJ-08 3/4—16 3/4—16 32.0 32.0 19.0
LQJ-08-10 3/4—16 7/8—14 34.8 37.8 22.0
LQJ-10 7/8—14 7/8—14 37.8 37.8 22.0
LQJ-10-12 7/8—14 1-1/16—12 41.0 44.2 27.0
LQJ-12 1-1/16—12 1-1/16—12 44.2 44.2 27.0
LQJ-14 1-3/16—12 1-3/16—12 47.5 47.5 30.0
LQJ-16 1-5/16—12 1-5/16—12 49.0 49.0 33.0
LQJ-20 1-5/8—12 1-5/8—12 55.5 55.5 41.0
LQJ-24 1-7/8—12 1-7/8—12 62.5 62.5 48.0
LQJ-32 2-1/2—12 2-1/2—12 78.0 78.0 63.0

JIC MALE 74° CONE TEE: TQJ

PART NO. T1 T2 T3 L1,L3 L2 H
TQJ-04-04-04 7/16—20 7/16—20 7/16—20 24.5 245 | 11.0
TQJ-04-06-04 7/16—20 9/16—18 7/16—20 26.6 26.9 | 14.0
TQJ-05-05-05 1/2—20 1/2—20 1/2—20 26.0 26.0 | 14.0
TQJ-06-04-06 9/16—18 7/16—20 9/16—18 26.9 26.6 | 14.0
TQJ-06-06-06 9/16—18 9/16—18 9/16—18 26.9 26.9 | 14.0
TQJ-08-08-08 3/4—16 3/4—16 3/4—16 32.0 32.0 | 19.0
TQJ-08-06-08 3/4—16 9/16—18 3/4—16 32.0 30.0 | 19.0
TQJ-10-10-10 7/8—14 7/8—14 7/8—14 37.8 37.8 | 22.0
TQJ-12-12-12 | 1-1/16—12 | 1-1/16—12 [ 1-1/16—12 | 44.2 442 | 27.0
TQJ-16-16-16 | 1-5/16—12 | 1-5/16—12 [ 1-5/16—12 | 49.0 49.0 | 33.0
TQJ-16-12-16 | 1-5/16—12 | 1-1/16—12 | 1-5/16—12 | 49.0 48.0 | 33.0
TQJ-20-20-20 | 1-5/8—12 1-5/8—12 1-5/8—12 56.5 56.5 | 41.0
TQJ-24-24-24 | 1-7/8—12 1-7/8—12 1-7/8—12 63.0 63.0 | 48.0
TQJ-32-32-32 | 2-1/2—12 2-1/2—12 2-1/2—12 78.0 78.0 | 63.0

JIC MALE 74° CONE X JIC MALE 74° CONE
BULKHEAD: 1QJ-K / IQJ-K-N

REF. NO.

T1

L1 L2

H1

1QJ-04-04K

7/16—20

7/16—20

14.0

30.5

52.6

17.0

17.0

1QJ-06-06K

9/16—18

9/16—18

14.1

32.5

55.5

22.0

22.0

1QJ-08-08K| 3/

4—16

3/4—16

16.7

36.6

62.0

24.0

24.0

1QJ-12-12K | 1-1/16—

1-1/16—

21.9

44.5

78.5

36.0

36.0

1QJ-16-16K

1-5/16—

1-5/16—

231

44.5

79.8

41.0

41.0

1QJ-20-20K

1-5/8—12

1-5/8—12

24.3

45.7

84.1

50.0

50.0

1QJ-24-24K

1-7/8—12

1-7/8—12

27.5

46.0

89.5

55.0

55.0

AVINHLDIL > §



JIC MALE 74° CONE X SAE MALE O-RING

AVAIHLOIL > §

BOSS: VE

PART NO. T1 T2 L1 L2 L H
IJE-04-02 7/16—20 5/16—24 14.0 7.5 275 | 14.0
IJE-04-03 7/16—20 3/8—24 14.0 7.5 275 | 14.0
IJE-04-04 7/16—20 7/16—20 14.0 9.1 29.0 | 14.0
IJE-04-05 7/16—20 1/2—20 14.0 9.1 29.0 | 17.0
IJE-04-06 7/16—20 9/16—18 | 14.0 9.9 30.0 | 17.0
IJE-04-08 7/16—20 3/4—16 14.0 | 1.1 33.0 | 22.0
IJE-05-05 1/2—20 1/2—20 14.0 9.1 29.0 | 17.0
IJE-05-04 1/2—20 7/16—20 14.0 9.1 29.0 | 14.0
IJE-05-06 1/2—20 9/16—18 | 14.0 9.9 30.0 | 17.0
IJE-05-08 1/2—20 3/4—16 14.0 | 1.1 33.0 [ 22.0
IJE-06-06 9/16—18 9/16—18 141 9.9 30.0 | 17.0
IJE-06-04 9/16—18 7/16—20 14.1 9.1 29.0 | 17.0
IJE-06-05 9/16—18 1/2—20 14.1 9.1 295 | 17.0
T2 IJE-06-08 9/16—18 3/4—16 14.1 1.1 33.0 | 22.0
IJE-06-10 9/16—18 7/8—14 141 12.7 | 37.0 | 27.0
IJE-06-12 9/16—18 | 1-1/16—12 | 141 15.1 | 40.0 | 32.0
. IJE-08-08 3/4—16 3/4—16 16.7 | 111 36.0 | 22.0
f\r I IJE-08-04 3/4—16 7/16—20 16.7 9.1 34.0 | 22.0
S IJE-08-06 3/4—16 9/16—18 16.7 9.9 35.0 | 22.0
IJE-08-10 3/4—16 7/8—14 16.7 | 12.7 | 40.0 | 27.0
IJE-08-12 3/4—16 | 1-1/16—12 | 16.7 | 15.1 | 43.0 [ 32.0
IJE-08-14 3/4—16 | 1-3/16—12| 16.7 | 15.1 | 43.0 | 36.0
IJE-10-10 7/8—14 7/8—14 19.3 | 12.7 | 425 | 27.0
IJE-10-08 7/8—14 3/4—16 19.3 | 11.1 39.0 | 24.0
IJE-10-12 7/8—14 | 1-1/16—12 | 19.3 | 15.1 | 45.5 [ 32.0
IJE-10-14 7/8—14 | 1-3/16—12| 19.3 | 151 | 45,5 [ 36.0
IJE-12-12 1-1/16—12 | 1-1/16—12 | 21.9 | 151 | 48.0 | 32.0
IJE-12-08 1-1/16—12 | 3/4—16 219 [ 111 43.0 | 30.0
IJE-12-10 1-1/16—12 | 7/8—14 219 | 12.7 | 45.0 | 30.0
IJE-12-14 1-1/16—12 [ 1-3/16—12 | 21.9 | 151 | 48.0 | 36.0
IJE-12-16 1-1/16—12 | 1-5/16—12 | 21.9 | 151 | 48.0 | 38.0
IJE-14-14 1-3/16—12 [ 1-3/16—12 | 22.6 | 151 | 48.5 | 36.0
IJE-14-12 1-3/16—12 [ 1-1/16—12 | 226 | 151 | 48.5 | 32.0
IJE-14-16 1-3/16—12 | 1-5/16—12 | 22.6 | 151 50.5 | 38.0
IJE-16-16 1-5/16—12 | 1-5/16—12 | 23.1 151 | 49.0 | 38.0
IJE-16-12 1-5/16—12 | 1-1/16—12 | 23.1 15.1 | 49.0 | 36.0
IJE-16-14 1-5/16—12 | 1-3/16—12 | 23.1 151 | 49.0 | 36.0
IJE-16-20 1-5/16—12 | 1-5/8—12 | 23.1 15.1 53.0 | 50.0
IJE-20-20 1-5/8—12 | 1-5/8—12 | 24.3 [ 15.1 54.5 | 50.0
IJE-20-16 1-5/8—12 | 1-5/16—12 | 24.3 [ 15.1 52.5 | 46.0
IJE-20-24 1-5/8—12 | 1-7/8—12 | 24.3 | 15.1 54.5 | 55.0
IJE-24-24 1-7/8—12 | 1-7/8—12 | 27.5 | 15.1 57.5 | 55.0
IJE-24-20 1-7/8—12 | 1-5/8—12 | 27.5 [ 15.1 57.5 | 50.0
|JE-24-32 1-7/8—12 | 2-1/2—12 | 27.5 | 15.1 59.5 | 70.0
IJE-32-32 2-1/2—12 | 2-1/2—12 | 33.9 [ 151 66.0 [ 70.0




74°

74°

FJE-NOW

JIC MALE 74° CONE X SAE MALE WITH LOCKING NUT

WASHER O-RING BOSS 45° ELBOW: FJE-NOW

PART NO. T1 T2 L1 L2 H H1
FJE-04-04-NOW | 7/16—20 | 7/16—20 | 21.0 | 24.0 [ 11.0 | 17.0
FJE-04-06-NOW | 7/16—20 | 9/16—18 | 22.3 [ 27.5 | 14.0 | 19.0
FJE-04-08-NOW | 7/16—20 3/4—16 [ 24.5 | 325 | 19.0 | 24.0
FJE-05-05-NOW | 1/2—20 1/2—20 22.0 | 26.7 | 14.0 | 17.0
FJE-05-04-NOW | 1/2—20 7/16—20 | 22.0 | 26.7 | 14.0 [ 17.0
FJE-06-06-NOW | 9/16—18 | 9/16—18 | 23.5 [ 28.0 | 14.0 | 19.0
FJE-06-04-NOW | 9/16—18 | 7/16—20 | 22.8 | 26.0 | 14.0 | 17.0
FJE-06-05-NOW | 9/16—18 1/2—20 22.8 | 26.0 | 14.0 | 17.0
FJE-06-08-NOW | 9/16—18 3/4—16 [ 25.0 | 325 [ 19.0 | 24.0
FJE-06-10-NOW | 9/16—18 7/8—14 25.5 | 385 | 22.0 | 27.0
FJE-08-08-NOW | 3/4—16 34—16 [ 25.8 | 325 | 19.0 | 24.0
FJE-08-06-NOW | 3/4—16 9/16—18 [ 255 | 28.0 | 19.0 | 19.0
FJE-08-10-NOW | 3/4—16 7/8—14 28.0 | 38.7 | 22.0 | 27.0
FJE-08-12-NOW | 3/4—16 ([1-1/16—12| 30.0 | 43.9 | 27.0 | 32.0
FJE-10-10-NOW | 7/8—14 7/8—14 29.5 | 38.7 | 22.0 | 27.0
FJE-10-08-NOW | 7/8—14 3/4—16 29.5 | 33.0 | 22.0 | 27.0
FJE-10-12-NOW | 7/8—14 ([1-1/16—12| 33.0 | 43.9 [ 27.0 | 32.0
FJE-12-12-NOW | 1-1/16—12[1-1/16—12| 34.0 | 43.5 [ 27.0 | 32.0
FJE-12-10-NOW |1-1/16—12| 7/8—14 34.0 | 420 | 27.0 | 27.0
FJE-12-16-NOW | 1-1/16—12]1-5/16—12| 37.0 | 45.5 | 33.0 | 41.0
FJE-14-14-NOW | 1-3/16—12[1-3/16—12| 37.0 | 44.0 [ 30.0 | 36.0
FJE-16-16-NOW | 1-5/16—12[1-5/16—12| 38.0 | 45.5 [ 33.0 | 41.0
FJE-16-12-NOW | 1-5/16—12]1-1/16—12| 38.0 | 45.0 | 33.0 | 32.0
FJE-16-20-NOW | 1-5/16—12| 1-5/8—12 | 40.5 | 47.0 | 41.0 | 50.0
FJE-20-20-NOW | 1-5/8—12 | 1-5/8—12 | 42.0 | 48.5 [ 41.0 | 50.0
FJE-20-24-NOW | 1-5/8—12 | 1-7/8—12 | 46.0 | 50.0 [ 48.0 | 55.0
FJE-24-24-NOW | 1-7/8—12 | 1-7/8—12 | 48.0 | 50.0 [ 48.0 | 55.0
FJE-32-32-NOW | 2-1/2—12 | 2-1/2—12 | 58.0 | 54.0 | 63.0 | 70.0

JIC MALE 74° CONE X SAE MALE WITH LOCKING NUT

WASHER O-RING BOSS 90° ELBOW: LJE-NOW

PART NO. T1 T2 L1 L2 H H1
LJE-04-03-NOW | 7/16—20 3/8—24 24.5 | 28.0 | 11.0 [ 14.0
LJE-04-04-NOW | 7/16—20 [ 7/16—20 | 245 | 272 | 1.0 | 170
LJE-04-05-NOW | 7/16—20 1/2—20 26.6 | 299 | 14.0 | 170
LJE-04-06-NOW | 7/16—20 | 9/16—18 [ 26.6 | 31.8 | 14.0 | 19.0
LJE-05-04-NOW | 1/2—20 7/16—20 | 26.6 | 30.0 [ 14.0 | 17.0
LJE-05-05-NOW | 1/2—20 1/2—20 26.6 | 29.0 | 14.0 [ 17.0
LJE-05-06-NOW | 1/2—20 9/16—18 | 266 | 31.8 | 14.0 | 19.0
LJE-06-04-NOW | 9/16—18 | 7/16—20 [ 26.9 | 30.0 | 14.0 | 17.0
LJE-06-05-NOW | 9/16—18 1/2—20 26.9 | 29.9 | 14.0 [ 17.0
LJE-06-06-NOW | 9/16—18 [ 9/16—18 | 26.9 | 31.8 | 14.0 [ 19.0
LJE-06-08-NOW | 9/16—18 3/4—16 30.0 | 36.8 | 19.0 [ 24.0
LJE-08-04-NOW | 3/4—16 7/16—20 | 32.0 | 33.0 [ 19.0 | 17.0
LJE-08-06-NOW | 3/4—16 9/16—18 | 33.0 | 33.5 [ 19.0 | 19.0
LJE-08-08-NOW | 3/4—16 3/4—16 33.0 | 36.8 | 19.0 [ 24.0
LJE-08-10-NOW | 3/4—16 7/8—14 34.8 | 440 | 22.0 | 270
LJE-08-12-NOW | 3/4—16 [1-1/16—12| 37.9 | 51.0 | 27.0 | 32.0
LJE-10-08-NOW | 7/8—14 3/4—16 38.0 | 40.0 | 22.0 [ 27.0
LJE-10-10-NOW | 7/8—14 7/8—14 37.8 | 44.0 | 22.0 | 270
LJE-10-12-NOW | 7/8—14 [1-1/16—12] 41.0 | 51.0 | 27.0 | 32.0
LJE-12-08-NOW | 1-1/16—12| 3/4—16 | 45.0 | 44.0 | 27.0 | 24.0
LJE-12-10-NOW |1-1/16—12| 7/8—14 | 442 | 47.0 | 27.0 | 27.0
LJE-12-12-NOW |1-1/16—12]|1-1/16—12| 44.2 | 51.0 | 27.0 | 32.0
LJE-12-16-NOW | 1-1/16—12[1-5/16—12| 47.8 | 54.5 | 33.0 [ 41.0
LJE-14-14-NOW | 1-3/16—12[1-3/16—12| 47.5 | 53.0 | 30.0 [ 36.0
LJE-14-16-NOW |1-3/16—12]|1-5/16—12| 48.5 | 54.5 | 33.0 | 41.0
LJE-16-12-NOW | 1-5/16—12]|1-1/16—12| 48.8 | 54.5 | 33.0 | 32.0
LJE-16-14-NOW | 1-5/16—12[1-3/16—12] 49.0 | 56.0 | 33.0 [ 36.0
LJE-16-16-NOW | 1-5/16—12[1-5/16—12| 48.8 | 54.5 | 33.0 | 41.0
LJE-16-20-NOW |1-5/16—12| 1-5/8—12 | 53.7 | 59.0 | 41.0 | 50.0
LJE-20-16-NOW | 1-5/8—12 | 1-5/16—12| 55.5 | 59.5 | 41.0 | 41.0
LJE-20-20-NOW | 1-5/8—12 [ 1-5/8—12 | 55.3 | 59.0 | 41.0 [ 50.0
LJE-20-24-NOW | 1-5/8—12 [ 1-7/8—12 | 59.4 | 63.0 | 48.0 | 55.0
LJE-24-24-NOW | 1-7/8—12 | 1-7/8—12 | 62.5 | 63.0 | 48.0 [ 55.0
LJE-32-32-NOW | 2-1/2—12 | 2-1/2—12 | 80.0 | 76.0 | 63.0 | 70.0

1

AVINHLDIL > §



AVIIHLOIL > §

L1

Le

Le

Tl\\ H H1 A/»TS
< AT
.
N
JIC MALE 74° CONE X JIC MALE 74°
- CONE BRANCH X SAE MALE WITH
LOCKING NUT WASHER O-RING
ﬁ BOSS RUN TEE: TJJE-NOW
TJJE-NOW
PART NO. T T2 T3 L1,L2 L3 H H1
TJJE-04-04-04-NOW 7/16—20 7/16—20 7/16—20 24.5 27.2 11.0 17.0
TJJE-05-05-05-NOW 1/2—20 1/2—20 1/2—20 26.6 29.0 14.0 17.0
TJJE-05-05-04-NOW 1/2—20 1/2—20 7/16—20 26.6 30.0 14.0 17.0
TJJE-06-06-06-NOW 9/16—18 9/16—18 9/16—18 26.9 31.8 14.0 19.0
TJJE-06-06-04-NOW 9/16—18 9/16—18 7/16—20 26.9 30.1 14.0 17.0
TJJE-06-06-05-NOW 9/16—18 9/16—18 1/2—20 26.9 30.0 14.0 17.0
TJJE-06-06-08-NOW 9/16—18 9/16—18 3/4—16 30.0 37.5 19.0 24.0
TJJE-08-08-08-NOW 3/4—16 3/4—16 3/4—16 33.0 36.8 19.0 24.0
TJJE-08-08-06-NOW 3/4—16 3/4—16 9/16—18 32.0 33.5 19.0 19.0
TJJE-08-08-10-NOW 3/4—16 3/4—16 7/8—14 34.8 44.0 22.0 27.0
TJJE-10-10-10-NOW 7/8—14 7/8—14 7/18—14 37.8 44.0 22.0 27.0
TJJE-10-10-08-NOW 7/8—14 7/8—14 3/4—16 37.8 39.5 22.0 24.0
TJJE-12-12-12-NOW 1-1/16—12 | 1-1/16—12 | 1-1/16—12 44.2 51.0 27.0 32.0
TJJE-12-12-08-NOW 1-1/16—12 | 1-1/16—12 3/4—16 44.2 43.0 27.0 24.0
TJJE-12-12-10-NOW 1-1/16—12 | 1-1/16—12 7/18—14 44.2 49.0 27.0 27.0
TJJE-16-16-16-NOW 1-5/16—12 | 1-5/16—12 | 1-5/16—12 48.8 54.5 33.0 41.0
TJJE-20-20-20-NOW 1-5/8—12 1-5/8—12 1-5/8—12 55.3 59.0 41.0 50.0
TJJE-24-24-24-NOW 1-7/8—12 1-7/8—12 1-7/8—12 62.5 63.0 48.0 55.0
L1 L3
TI— H | —T3
A ummmﬁ%
N 10 @
N 3

T2

H1

JIC MALE 74° CONE X SAE MALE WITH
LOCKING NUT WASHER O-RING BOSS

BRANCH X JIC MALE 74° CONE RUN
TEE: TJEJ-NOW

TJEJ-NOW
PART NO. T1 T2 T3 L1,L3 L2 H H1
TJEJ-04-04-04-NOW 7/16—20 7/16—20 7/16—20 24.5 27.2 11.0 17.0
TJEJ-05-04-05-NOW 1/2—20 7/16—20 1/2—20 26.6 30.0 14.0 17.0
TJEJ-05-05-05-NOW 1/2—20 1/2—20 1/2—20 26.6 29.0 14.0 17.0
TJEJ-06-04-06-NOW 9/16—18 7/16—20 9/16—18 26.9 30.0 14.0 17.0
TJEJ-06-05-06-NOW 9/16—18 1/2—20 9/16—18 26.9 30.0 14.0 17.0
TJEJ-06-06-06-NOW 9/16—18 9/16—18 9/16—18 26.9 31.8 14.0 19.0
TJEJ-08-06-08-NOW 3/4—16 9/16—18 3/4—16 32.0 33.5 19.0 19.0
TJEJ-08-08-08-NOW 3/4—16 3/4—16 3/4—16 33.0 36.8 19.0 24.0
TJEJ-10-08-10-NOW 7/8—14 3/4—16 7/8—14 38.0 40.0 22.0 24.0
TJEJ-10-10-10-NOW 7/8—14 7/8—14 7/8—14 37.8 44.0 22.0 27.0
TJEJ-12-08-12-NOW 1-1/16—12 3/4—16 1-1/16—12 45.0 44.0 27.0 24.0
TJEJ-12-10-12-NOW 1-1/16—12 7/8—14 1-1/16—12 44.2 49.0 27.0 27.0
TJEJ-12-12-12-NOW 1-1/16—12 | 1-1/16—12 | 1-1/16—12 44.2 51.0 27.0 32.0
TJEJ-16-16-16-NOW 1-5/16—12 | 1-5/16—12 | 1-5/16—12 48.8 54.5 33.0 41.0
TJEJ-20-16-20-NOW 1-5/8—12 1-5/16—12 1-5/8—12 55.5 59.5 41.0 41.0
TJEJ-20-20-20-NOW 1-5/8—12 1-5/8—12 1-5/8—12 55.3 59.0 41.0 50.0
TJEJ-24-24-24-NOW 1-7/8—12 1-7/8—12 1-7/8—12 62.5 63.0 48.0 55.0




74°

Le

L1

60°

JIC MALE 74° CONE X NPT MALE: IUN

PART NO. T1 T2 L1 L2 L H

1JN-02-02 5/16—24 1/8—27 11.4 10.5 | 28.0 12.0
1JN-04-02 7/16—20 1/8—27 14.0 10.5 | 30.5 12.0
1JN-04-04 7/16—20 1/4—18 14.0 15.0 | 35.0 17.0
1JN-04-06 7/16—20 3/8—18 14.0 16.0 | 36.0 19.0
1JN-04-08 7/16—20 1/2—14 14.0 19.5 | 415 | 24.0
1JN-05-04 1/2—20 1/4—18 14.0 15.0 | 35.0 17.0
1UN-05-06 1/2—20 3/8—18 14.0 16.0 | 36.0 19.0
1JN-05-08 1/2—20 1/2—14 14.0 19.5 | 415 | 24.0
1JN-06-04 9/16—18 1/4—18 141 15.0 | 345 17.0
1JN-06-06 9/16—18 3/8—18 141 16.0 | 36.0 19.0
1JN-06-08 9/16—18 1/2—14 141 195 | 415 | 24.0
1JN-08-04 3/4—16 1/4—18 16.7 15.0 | 39.0 | 22.0
1JN-08-06 3/4—16 3/8—18 16.7 16.0 | 40.0 | 22.0
1JN-08-08 3/4—16 1/2—14 16.7 19.5 | 44.0 | 24.0
IJN-08-12 3/4—16 3/4—14 16.7 19.5 | 46.5 | 30.0
IJN-10-06 7/8—14 3/8—18 19.3 16.0 | 435 [ 24.0
1JN-10-08 7/8—14 1/2—14 19.3 19.5 | 47.0 | 24.0
IJN-10-12 7/8—14 3/4—14 19.3 19.5 | 49.0 [ 30.0
IJN-12-08 1-1/16—12 1/2—14 21.9 19.5 | 51.0 [ 30.0
IJN-12-12 1-1/16—12 3/4—14 21.9 19.5 | 515 | 30.0
IJN-12-16 1-1/16—12 1—11.5 219 | 255 | 585 | 36.0
1JN-12-20 1-1/16—12 1-1/4—115 | 219 | 265 | 61.5 | 46.0
IUN-14-12 1-3/16—12 3/4—14 22.6 19.5 | 53.0 | 32.0
IUN-16-12 1-5/16—12 3/4—14 23.1 19.5 | 535 | 36.0
IJN-16-16 1-5/16—12 1—11.5 23.1 25,5 | 58.5 | 36.0
1JN-16-20 1-5/16—12 1-1/4—11.5 | 23.1 26.5 | 62.5 | 46.0
IJN-16-24 1-5/16—12 1-12—11.5 | 23.1 275 | 65.5 | 50.0
IUN-20-16 1-5/8—12 1—11.5 243 | 255 | 63.0 | 46.0
1JN-20-20 1-5/8—12 1-1/4—115 | 243 | 26.5 | 635 | 46.0
1JN-20-24 1-5/8—12 1-12—11.5 | 243 | 275 | 67.0 | 50.0
1JN-24-20 1-7/8—12 1-1/4—11.5 | 275 | 265 | 69.0 | 50.0
1JN-24-24 1-7/8—12 1-1/2—11.5 | 275 | 275 | 70.0 | 50.0
1JN-24-32 1-7/8—12 2—11.5 275 | 275 | 720 | 65.0
1JN-32-32 2-1/2—12 2—11.5 339 | 275 | 785 | 65.0
1JN-32-24 2-1/2—12 1-1/2—11.5 | 339 [ 275 | 785 | 65.0

JIC MALE 74° CONE X NPT MALE 45° ELBOW: FJN

PART NO. T1 T2 L1 L2 H

FJN-02-02 5/16—24 1/8—27 18.0 17.0 11.0
FJN-03-02 3/8—24 1/8—27 19.0 17.0 11.0
FJN-04-02 7/16—20 1/8—27 21.5 17.0 11.0
FJN-04-04 7/16—20 1/4—18 22.3 21.0 14.0
FJN-04-06 7/16—20 3/8—18 23.0 24.0 19.0
FJN-04-08 7/16—20 12—14 24.5 29.5 22.0
FJN-05-02 1/2—20 1/8—27 22.3 18.0 14.0
FJN-05-04 1/2—20 1/4—18 22.3 21.0 14.0
FJN-06-02 9/16—18 1/8—27 22.8 17.3 14.0
FJN-06-04 9/16—18 1/4—18 22.8 21.0 14.0
FJN-06-06 9/16—18 3/8—18 24.0 24.0 19.0
FJN-06-08 9/16—18 1/2—14 25.0 29.5 22.0
FJN-08-04 3/4—16 1/4—18 26.8 22.0 19.0
FJN-08-06 3/4—16 3/8—18 26.8 24.0 19.0
FJN-08-08 3/4—16 12—14 28.0 29.5 22.0
FJN-08-12 3/4—16 3/4—14 29.0 35.0 27.0
FJN-10-08 7/8—14 1/2—14 31.0 29.5 22.0
FJN-10-12 7/8—14 3/4—14 32.0 35.0 27.0
FJN-12-08 1-1/16—12 12—14 35.5 31.0 27.0
FJN-12-12 1-1/16—12 3/4—14 35.5 35.0 27.0
FJN-12-16 1-1/16—12 1—11.5 37.5 39.0 33.0
FJN-14-12 1-3/16—12 3/4—14 37.0 35.5 30.0
FJN-16-12 1-5/16—12 3/4—14 38.5 36.5 33.0
FJN-16-16 1-5/16—12 1—11.5 38.5 39.0 33.0
FJN-16-20 1-5/16—12 1-1/4—11.5 42.0 42.5 41.0
FJN-20-16 1-5/8—12 1—11.5 43.0 42.5 41.0
FJN-20-20 1-5/8—12 1-1/4—11.5 43.0 42.0 41.0
FJN-20-24 1-5/8—12 1-1/2—11.5 46.0 45.0 48.0
FJN-24-24 1-7/8—12 1-1/2—11.5 49.0 45.0 48.0
FJN-32-32 2-1/2—12 2—11.5 58.0 50.0 63.0

AVINHLDIL > §



AVAIHLOIL > §

2

L1

]
A
T

AS
LJN
Tl\ = Li /TS
| A
e [/
AN .% L

Le
.
R&‘V\

TJIN

JIC MALE 74° CONE X NPT MALE 90° ELBOW:

LJN
PART NO. T1 T2 L1 L2 H
LJN-02-02 5/16—24 1/8—27 21.0 | 21.0 11.0
LJN-03-02 3/8—24 1/8—27 220 | 210 11.0
LJN-04-04 7/16—20 1/4—18 26.6 | 25.5 14.0
LJN-04-02 7/16—20 1/8—27 245 | 21.0 11.0
LJN-04-06 7/16—20 3/8—18 295 | 31.0 19.0
LJN-05-02 1/2—20 1/8—27 26.6 | 235 14.0
LJN-05-04 1/2—20 1/4—18 26.6 | 25.5 14.0
LJN-05-06 1/2—20 3/8—18 29.5 | 31.0 19.0
LJN-06-06 9/16—18 3/8—18 30.0 31.0 19.0
LJN-06-04 9/16—18 1/4—18 269 | 255 14.0
LJN-06-08 9/16—18 1/2—14 32.0 36.7 22.0
LJN-08-08 3/4—16 1/2—14 34.8 37.3 22.0
LJN-08-04 3/4—16 1/4—18 32.0 | 28.5 19.0
LJN-08-06 3/4—16 3/8—18 32.0 31.0 19.0
LJN-08-12 3/4—16 3/4—14 37.9 | 44.0 27.0
LJN-10-06 7/8—14 3/8—18 37.8 32.5 22.0
LJN-10-08 7/8—14 1/2—14 37.8 | 37.3 22.0
LJN-10-12 7/8—14 3/4—14 41.0 | 44.0 27.0
LJN-10-16 7/8—14 1—11.5 44.5 [ 50.0 33.0
LJIN-12-12 1-1/16—12 3/4—14 442 | 44.0 27.0
LJN-12-08 1-1/16—12 1/2—14 442 | 40.0 27.0
LJIN-12-16 1-1/16—12 1—11.5 49.0 50.0 33.0
LJN-12-20 1-1/16—12 1-1/4—11.5 | 525 | 54.5 41.0
LJIN-14-12 1-3/16—12 3/4—14 475 | 45.0 30.0
LJIN-14-16 1-3/16—12 1—11.5 48.7 50.0 33.0
LJN-16-16 1-5/16—12 1—11.5 49.0 50.0 33.0
LJN-16-12 1-5/16—12 3/4—14 49.0 | 45.2 33.0
LJN-16-20 1-5/16—12 1-1/4—11.5 | 54.0 60.5 41.0
LJN-16-24 1-5/16—12 1-12—11.5 | 59.4 59.5 48.0
LJN-20-20 1-5/8—12 1-1/4—11.5 | 55.5 | 54.5 41.0
LJN-20-16 1-5/8—12 1—11.5 556.5 | 54.5 41.0
LJN-20-24 1-5/8—12 1-1/2—11.5 | 59.4 63.0 48.0
LJN-24-24 1-7/8—12 1-1/2—11.5 | 62.5 | 63.0 48.0
LJN-24-20 1-7/8—12 1-1/4—11.5 | 62.5 | 63.0 48.0
LJN-32-24 2-1/2—12 1-12—11.5 | 754 70.0 63.0
LJN-32-32 2-1/2—12 2—11.5 75.5 | 67.5 63.0
JIC MALE 74° CONE X JIC MALE 74° CONE
BRANCH X NPT MALE RUN TEE: TJJN
PART NO. T1 T2 T3 L1,L2] L3 H
TJJIN-04-04-04 | 7/16—20 | 7/16—20 1/4—18 | 26.6 | 25.5 [ 14.0
TJJIN-04-04-02 | 7/16—20 | 7/16—20 1/8—27 |245|21.0|11.0
TJIN-05-05-02 | 1/2—20 1/2—20 1/8—27 | 26.5| 23.5|14.0
TJIN-05-05-04 | 1/2—20 1/2—20 1/4—18 | 26.5| 25.5 | 14.0
TJJIN-06-06-06 | 9/16—18 | 9/16—18 3/8—18 | 30.0 | 31.0 [ 19.0
TJJIN-06-06-04 | 9/16—18 | 9/16—18 1/4—18 |26.9 | 25.5 [ 14.0
TJJN-08-08-08 | 3/4—16 3/4—16 1/2—14 | 34.8 | 36.7 | 22.0
TJJN-08-08-06 | 3/4—16 3/4—16 3/8—18 |32.0| 31.0 | 19.0
TJIN-10-10-08 | 7/8—14 7/8—14 1/2—14 | 37.8 | 36.7 [ 22.0
TJIN-10-10-12 | 7/8—14 7/8—14 3/4—14 | 41.0] 44.0 [27.0
TJIN-12-12-12 | 1-1/16— | 1-1/16—12 | 3/4—14 |44.2 | 44.0 | 27.0
TJIN-16-16-16 | 1-5/16— | 1-5/16—12 | 1—11.5 |49.0 | 50.0 | 33.0
TJJIN-20-20-20 | 1-5/8—12| 1-5/8—12 |1-1/4—11.5[ 55.5 [ 54.5 | 41.0
TJIN-24-24-24 [ 1-7/8—12| 1-7/8—12 |1-1/2—11.5( 62.5 [ 60.0 | 48.0




Ti— - Li ’////*T3
. J/
éfi\ WWLmH \;
e iy ..

S\

TINJ

el

-T2
L
1JG-F
TR |
—M MNAN—
§</>< Il ,
'Y
T T2
TJN-F

JIC MALE 74° CONE X NPT MALE BRANCH X
JIC MALE 74° CONE RUN TEE: TJNJ

PART NO. T1 T2 T3 L1,L3| L2 H
TJNJ-04-04-04 | 7/16—20 1/4—18 7/16—20 | 26.6 | 25.5 | 14.0
TJNJ-04-02-04 | 7/16—20 1/8—27 7/16—20 | 24.5 ] 21.0 | 11.0
TJNJ-05-02-05 1/2—20 1/8—27 1/2—20 26.6 | 23.5 | 14.0
TJNJ-05-04-05 1/2—20 1/4—18 1/2—20 26.6 | 256.5 [ 14.0
TJNJ-06-06-06 | 9/16—18 3/8—18 9/16—18 | 30.0 | 31.0 | 19.0
TJNJ-06-04-06 | 9/16—18 1/4—18 9/16—18 | 26.9 | 25.,5 | 14.0
TJNJ-06-08-06 | 9/16—18 1/2—14 9/16—18 | 32.0 | 36.7 | 22.0
TJNJ-08-08-08 3/4—16 1/2—14 3/4—16 348 | 37.3 | 22.0
TJNJ-08-06-08 3/4—16 3/8—18 3/4—16 | 32.0 [ 31.0 | 19.0
TJNJ-10-08-10 7/8—14 1/2—14 7/8—14 37.8 | 36.7 | 22.0
TJINJ-12-12-12 | 1-1/16—12 | 3/4—14 | 1-1/16—12| 44.2 | 44.0 | 27.0
TJINJ-16-16-16 | 1-5/16—12 1—11.5 |1-5/16—12] 49.0 | 50.0 | 33.0
TJNJ-20-20-20 | 1-5/8—12 | 1-1/4—11.5| 1-5/8—12 | 55.5 | 54.5 | 41.0
TJINJ-24-24-24 | 1-7/8—12 |1-1/2—11.5| 1-7/8—12 | 62.5 | 63.0 | 48.0

JIC MALE 74° CONE X BSP FEMALE: IJG-F

PART NO. T1 T2 L1 L H

1JG-04-04F 7/16—20 1/4—19 14.0 33.0 19.0

1JG-04-02F 7/16—20 1/8—28 14.0 31.0 14.0

1JG-04-06F 7/16—20 3/8—19 14.0 35.5 22.0

1JG-06-06F 9/16—18 3/8—19 14.1 35.0 22.0

1JG-06-08F 9/16—18 1/2—14 14.1 39.5 27.0

1JG-08-08F 3/4—16 1/2—14 16.7 44.0 27.0

1JG-08-10F 3/4—16 5/8—14 16.7 46.0 30.0

1JG-10-12F 7/8—14 3/4—14 19.3 48.0 32.0

1JG-12-12F 1-1/16—12 3/4—14 21.9 50.0 36.0

1JG-12-16F 1-1/16—12 1—1 21.9 53.0 41.0

1JG-16-16F 1-5/16—12 1—11 23.1 52.5 41.0

1JG-16-20F 1-5/16—12 1-1/4—11 231 57.0 52.0

1JG-20-20F 1-5/8—12 1-1/4—11 24.3 57.0 50.0

1JG-24-24F 1-7/8—12 1-1/2—11 27.5 62.0 55.0

1JG-32-32F 2-1/2—12 2—11 33.9 67.0 70.0

JIC MALE 74° CONE X NPT FEMALE: IUN-F

PART NO. T1 T2 L1 L H

1JN-04-02F 7/16—20 1/8—27 14.0 30.0 17.0

1JN-04-04F 7/16—20 1/4—18 14.0 35.5 19.0

IJN-05-04F 1/2—20 1/4—18 14.0 35.3 19.0

IJN-06-04F 9/16—18 1/4—18 14.1 35.6 19.0

IJN-06-06F 9/16—18 3/8—18 14.1 37.1 22.0

1JN-06-08F 9/16—18 1/2—14 14.1 42.5 30.0

IJN-08-06F 3/4—16 3/8—18 16.7 39.6 22.0

IJN-08-08F 3/4—16 1/2—14 16.7 45.6 30.0

IJN-08-12F 3/4—16 3/4—14 16.7 45.0 36.0
1JN-10-08F 7/8—14 1/2—14 19.3 48.0 30.0
IJN-10-12F 7/8—14 3/4—14 19.3 49.7 36.0
IJN-12-08F 1-1/16—12 1/2—14 21.9 52.1 30.0
IUN-12-12F 1-1/16—12 3/4—14 21.9 52.3 36.0
IJN-16-12F 1-5/16—12 3/4—14 231 50.0 36.0
IJN-16-16F 1-5/16—12 1—11.5 231 59.7 41.0
1JN-20-20F 1-5/8—12 1-1/4—11.5 24.3 61.5 50.0
IUN-24-24F 1-7/8—12 1-1/2—11.5 27.5 62.5 60.0
1JN-32-32F 2-1/2—12 2—11.5 33.9 70.0 70.0

AVINHLDIL > §



AVIIHLOIL > §

L1 H
L
%
~
SC
[qu]
1
L1 L3
Ti— H | —T13
§C>///// (mmmw WWWMW 4‘%
~
P

Le

T2

TINJ-F

Ti—

N

T3

Le

\/

TJIN-F

JIC MALE 74° CONE X NPT FEMALE 90° ELBOW:

LJN-F

PART NO. T1 T2 L1 L2 H

LJN-04-02F 7/16—20 1/8—27 27.5 16.8 16.0
LJN-04-04F 7/16—20 1/4—18 30.9 22.4 19.0
LJN-06-04F 9/16—18 1/4—18 31.2 22.4 19.0
LJN-06-06F 9/16—18 3/8—18 33.5 25.9 24.0
LJN-08-04F 3/4—16 1/4—18 31.6 22.4 19.0
LJN-08-08F 3/4—16 1/2—14 39.5 31.2 30.0
LJN-12-08F 1-1/16—12 1/2—14 46.0 31.2 30.0
LJN-12-12F 1-1/16—12 3/4—14 48.0 34.5 33.0
LJN-12-16F 1-1/16—12 1—11.5 52.5 411 41.0
LJN-16-12F 1-5/16—12 3/4—14 49.0 34.5 33.0
LJN-16-16F 1-5/16—12 1—11.5 55.1 411 41.0
LJN-20-20F 1-5/8—12 1-1/4—11.5 59.2 43.2 48.0
LJIN-24-24F 1-7/8—12 1-1/2—11.5 73.4 52.8 63.0

JIC MALE 74° CONE X NPT FEMALE BRANCH X JIC

MALE 74° CONE RUN TEE: TINJ-F

PART NO. T1 T2 T3 L1,L3] L2 H
TJINJ-04-04F-04 | 7/16—20 1/4—18 7/16—20 [ 29.5 | 22.4 [ 19.0
TJINJ-04-02F-04 | 7/16—20 1/8—27 7/16—20 | 26.5 | 16.8 [ 16.0
TJINJ-05-02F-05 | 1/2—20 1/8—27 1/2—20 27.5 [ 16.8 | 16.0
TJNJ-05-04F-05 | 1/2—20 1/4—18 1/2—20 29.5 [ 22.4 1 19.0
TJNJ-06-06F-06 | 9/16—18 3/8—18 9/16—18 | 33.5 | 25.9 | 24.0
TJINJ-06-04F-06 | 9/16—18 1/4—18 9/16—18 | 30.0 | 22.4 [ 19.0
TJNJ-08-08F-08 | 3/4—16 1/2—14 3/4—16 39.5 [ 31.2 | 30.0
TJNJ-08-06F-08 | 3/4—16 3/8—18 3/4—16 36.0 [ 25.9 | 24.0
TJNJ-10-08F-10 | 7/8—14 1/2—14 7/8—14 42.5 | 31.2 (30.0
TINJ-12-12F-12 |1-1/16—12| 3/4—14 1-1/16—12 | 48.0 | 34.5 | 33.0
TJINJ-16-16F-16 [1-5/16—12] 1—11.5 1-5/16—12 | 54.0 | 41.1 | 41.0
TJNJ-20-20F-20 | 1-5/8—12 | 1-1/4—11.5 | 1-5/8—12 | 59.4 | 43.2 | 48.0

JIC MALE 74° CONE X JIC MALE 74° CONE
BRANCH X NPT FEMALE RUN TEE: TJJN-F

PART NO. T1 T2 T3 L1,L2]| L3 H
TJIN-04-04-04F | 7/16—20 | 7/16—20 1/4—18 | 30.9 | 25.1 | 19.0
TJIN-04-04-02F | 7/16—20 | 7/16—20 1/8—27 | 27.5 | 16.8 | 16.0
TJJIN-06-06-06F | 9/16—18 | 9/16—18 3/8—18 | 33.5 [ 26.8 | 24.0
TJJIN-06-06-04F | 9/16—18 | 9/16—18 1/4—18 [ 30.0 | 22.5 | 19.0
TJJN-08-08-08F | 3/4—16 3/4—16 1/2—14 | 39.5 | 33.0 | 30.0
TJJN-08-08-06F | 3/4—16 3/4—16 3/8—18 | 36.0 | 25.9 | 24.0
TJIN-10-10-08F | 7/8—14 7/8—14 1/2—14 | 42.5 | 31.2 | 30.0
TJIN-12-12-12F |1-1/16—12| 1-1/16—12 [ 3/4—14 | 48.0 [ 39.0 | 33.0
TJIN-16-16-16F |1-5/16—12| 1-5/16—12 | 1—11.5 55.1 | 43.9 | 41.0
TJIN-20-20-20F | 1-5/8—12 | 1-5/8—12 |1-1/4—11.5| 59.2 | 43.3 | 48.0




JIC MALE 74° CONE X BSP MALE 60° BONDED SEAL

TYPE: UG
PART NO. T1 T2 L1 L2 L H
1JG-04-02 7/16—20 1/8—28 14.0 10.0 30.0 14.0
1JG-05-02 1/2—20 1/8—28 14.0 10.0 30.0 14.0
1JG-06-02 9/16—18 1/8—28 141 10.0 30.0 17.0
1JG-04 7/16—20 1/4—19 14.0 12.0 32.0 19.0
1JG-05-04 1/2—20 1/4—19 14.0 12.0 32.0 19.0
1JG-06-04 9/16—18 1/4—19 141 12.0 32.0 19.0
1JG-08-04 3/4—16 1/4—19 16.7 12.0 36.5 22.0
1JG-10-04 7/8—14 1/4—19 19.3 12.0 39.0 24.0
1JG-06 9/16—18 3/8—19 141 13.5 35.5 22.0
1JG-04-06 7/16—20 3/8—19 14.0 13.5 35.5 22.0
1JG-05-06 1/2—20 3/8—19 14.0 13.5 35.5 22.0
1JG-08-06 3/4—16 3/8—19 16.7 13.5 38.5 22.0
1JG-10-06 7/8—14 3/8—19 19.3 13.5 41.0 24.0
1JG-12-06 1-1/16—12 3/8—19 21.9 13.5 45.0 30.0
1JG-08 3/4—16 1/2—14 16.7 16.0 43.0 27.0
1JG-04-08 7/16—20 1/2—14 14.0 16.0 40.0 27.0
1JG-05-08 1/2—20 1/2—14 14.0 16.0 40.0 27.0
1JG-06-08 9/16—18 1/2—14 141 16.0 40.0 27.0
1JG-10-08 7/8—14 1/2—14 19.3 16.0 45.5 27.0
1JG-12-08 1-1/16—12 1/2—14 21.9 16.0 48.0 30.0
1JG-14-08 1-3/16—12 1/2—14 22.6 16.0 49.5 32.0
1JG-16-08 1-5/16—12 1/2—14 23.1 16.0 50.0 36.0
1JG-10 7/8—14 5/8—14 19.3 17.5 47.0 30.0
1JG-08-10 3/4—16 5/8—14 16.7 17.5 44.0 30.0
1JG-12-10 1-1/16—12 5/8—14 21.9 17.5 49.5 30.0
1JG-16-10 1-5/16—12 5/8—14 23.1 17.5 51.5 36.0
1JG-12 1-1/16—12 3/4—14 21.9 18.5 51.5 32.0
1JG-06-12 9/16—18 3/4—14 14.1 18.5 43.5 32.0
1JG-08-12 3/4—16 3/4—14 16.7 18.5 46.5 32.0
1JG-10-12 7/8—14 3/4—14 19.3 18.5 49.0 32.0
1JG-14-12 1-3/16—12 3/4—14 22.6 18.5 52.0 32.0
1JG-16-12 1-5/16—12 3/4—14 23.1 18.5 52.5 34.0
1JG-20-12 1-5/8—12 3/4—14 24.3 18.5 55.5 46.0
1JG-16 1-5/16—12 1—11 231 20.5 57.0 41.0
1JG-08-16 3/4—16 1—1 16.7 20.5 50.0 41.0
1JG-10-16 7/8—14 1—11 19.3 20.5 53.0 41.0
1JG-12-16 1-1/16—12 1—11 21.9 20.5 55.5 41.0
1JG-14-16 1-3/16—12 1—11 22.6 20.5 56.0 41.0
1JG-20-16 1-5/8—12 1—11 24.3 20.5 58.0 46.0
1JG-20 1-5/8—12 1-1/4—11 24.3 20.5 62.0 50.0
1JG-12-20 1-1/16—12 1-1/4—11 21.9 20.5 57.5 50.0
1JG-16-20 1-5/16—12 1-1/4—11 231 20.5 60.5 50.0
1JG-24-20 1-7/8—12 1-1/4—11 27.5 20.5 63.0 50.0
1JG-16-24 1-5/16—12 1-1/2—11 23.1 23.0 61.0 55.0
1JG-20-24 1-5/8—12 1-1/2—11 24.3 23.0 62.5 55.0
1JG-24 1-7/8—12 1-1/2—11 27.5 23.0 67.5 55.0
1JG-32-24 2-1/2—12 1-1/2—11 33.9 23.0 74.0 65.0
1JG-32 2-1/2—12 2—11 33.9 25.5 77.5 70.0
1JG-24-32 1-7/8—12 2—11 27.5 25.5 70.0 70.0

AVINHLDIL > §

10



N
A JIC MALE 74° CONE X BSP MALE 60° CONE SEAT
45° ELBOW: FJG
PART NO. T1 T2 L1 L2 H
H FJG-04-04 7/16—20 1/4—19 22.3 20.3 14.0
oy FJG-06-06 9/16—18 3/8—19 23.0 22.0 16.0
O FJG-08-08 3/4—16 1/2—14 28.0 27.0 22.0
H FJG-12-12 1-1/16—12 3/4—14 35.5 31.0 27.0
FJG-16-16 1-5/16—12 1—11 38.5 35.0 33.0
: FJG-20-20 1-5/8—12 1-1/4—11 42.0 38.5 41.0
=
) B JIC MALE 74° CONE X BSP MALE 60° CONE SEAT
[N . 90° ELBOW: LJG
A PART NO. T1 T2 L1 L2 H
. l\ l\\\\ N\ LJG-04 7/16—20 1/4—19 26.5 245 14.0
i - T LJG-05-04 1/2—20 1/4—19 28.0 23.5 14.0
LJG-06-04 9/16—18 1/4—19 26.9 24.5 14.0
EEZ N LJG-06 9/16—18 3/8—19 28.5 27.5 16.0
I LJG-08-06 3/4—16 3/8—19 32.0 28.5 19.0
LJG-08 3/4—16 1/2—14 35.0 32.5 22.0
_ LJG-10-08 7/8—14 1/2—14 37.8 34.5 22.0
/! LJG-10 7/8—14 5/8—14 38.1 32.7 22.0
60" Te LJG-12 1-1/16—12 3/4—14 442 37.0 27.0
LJG-16 1-5/16—12 1—N 49.0 46.0 33.0
LJG LJG-20 1-5/8—12 1-1/4—11 55.5 50.5 41.0
JIC MALE 74° CONE X BSP MALE O-RING BOSS:
IJP-OR
PART NO. T T2 L1 L2 L H
1JP-04-020R 7/16—20 1/8—28 14.0 9.5 31.0 14.0
IJP-04-040R 7/16—20 1/4—19 14.0 10.0 32.5 19.0
1JP-04-060R 7/16—20 3/8—19 14.0 115 | 34.0 | 220
TP 1JP-04-080R 7/16—20 1/2—14 14.0 14.0 | 39.0 | 27.0
1JP-05-040R 1/2—20 1/4—19 14.0 10.0 33.0 19.0
IJP-05-060R 1/2—20 3/8—19 14.0 11.5 36.0 | 22.0
1JP-05-080R 1/2—20 1/2—14 14.0 14.0 39.0 | 27.0
. o 1JP-06-040R 9/16—18 1/4—19 14.1 11.0 31.5 19.0
~ 0 1JP-06-060R 9/16—18 3/8—19 14.1 11.5 34.0 | 22.0
h IJP-06-080R 9/16—18 1/2—14 14.1 14.0 39.0 | 27.0

1JP-08-040R 3/4—16 1/4—19 16.7 | 10.0 | 36.0 [ 22.0
1JP-08-060R 3/4—16 3/8—19 16.7 | 11.5 | 37.0 | 22.0
IJP-08-080R 3/4—16 1/2—14 16.7 | 14.0 | 42.0 | 27.0
1JP-08-120R 3/4—16 3/4—14 16.7 | 156.5 | 44.0 [ 32.0
IJP-10-060R 7/8—14 3/8—19 19.3 | 11.5 | 39.5 [ 24.0
IJP-10-080R 7/8—14 1/2—14 19.3 | 14.0 | 445 | 27.0
IJP-10-120R 7/8—14 3/4—14 19.3 | 156.5 | 48,5 [ 32.0
1JP-12-080R 1-1/16—12 1/2—14 22.0 | 14.0 | 49.0 [ 30.0
IJP-12-120R 1-1/16—12 3/4—14 22.0 | 1565 | 495 [ 32.0
IJP-12-160R 1-1/16—12 1—11 220 | 18.0 | 54.0 | 41.0
IJP-12-200R 1-1/16—12 | 1-1/4—11 | 22.0 | 20.0 | 57.0 [ 50.0
IJP-16-120R 1-5/16—12 3/4—14 23.0 | 165 | 525 [ 36.0
IJP-16-160R 1-5/16—12 1—11 23.0 | 18.0 | 55.0 [ 41.0
IJP-16-200R 1-5/16—12 | 1-1/4—11 | 23.0 [ 20.0 | 58.0 | 50.0
IJP-20-160R 1-5/8—12 1—11 243 | 18.0 | 58.0 [ 46.0
1JP-20-200R 1-5/8—12 1-1/4—11 | 24.3 | 20.0 | 59.5 | 50.0
1JP-24-160R 1-7/8—12 1—11 275 | 18.0 | 63.5 [ 50.0
1JP-24-200R 1-7/8—12 1-1/4—11 | 27.5 | 20.0 | 65.5 | 50.0
11 1JP-24-240R 1-7/8—12 1-1/2—11 | 275 | 215 | 64.0 | 55.0




74°

L1

JIC MALE 74° CONE X BSP MALE WITH LOCKING

NUT WASHER O-RING 45° ELBOW: FJP-NWR

PART NO. T1 T2 L1 L2 H H1
FJP-04-04-NWR | 7/16—20 1/4—19 21.5 | 28.0 | 14.0 | 19.0
FJP-06-06-NWR | 9/16—18 3/8—19 22.8 | 30.0 | 16.0 | 22.0
FJP-08-08-NWR 3/4—16 1/2—14 26.8 | 36.0 | 22.0 | 27.0
FJP-12-12-NWR | 1-1/16—12 3/4—14 35.5 | 42.0 | 27.0 | 32.0
FJP-16-16-NWR | 1-5/16—12 1—11 38.5 | 44.0 | 33.0 | 41.0
FJP-20-20-NWR | 1-5/8—12 [ 1-1/4—11 | 43.0 | 47.5 | 41.0 | 50.0
FJP-24-24-NWR | 1-7/8—12 | 1-1/2—11 | 49.0 | 51.5 | 48.0 | 55.0

JIC MALE 74° CONE X BSP MALE WITH LOCKING

NUT WASHER O-RING BOSS 90° ELBOW: LUG-NWR

PART NO. T1 T2 L1 L2 H H1

LJG-04-02-NWR | 7/16—20 1/8—28 245 | 26.2 | 11.0 | 14.0

LJG-04-06-NWR | 7/16—20 3/8—19 275 | 36.8 | 16.0 | 22.0

LJG-04-04-NWR [ 7/16—20 1/4—19 26.6 | 31.3 | 14.0 | 19.0

L1 H LJG-05-04-NWR 1/2—20 1/4—19 26.5 | 31.8 | 14.0 | 19.0
LJG-05-06-NWR 1/2—20 3/8—19 275 | 358 | 16.0 | 22.0

(il LJG-05-08-NWR 1/2—20 1/2—14 31.5 | 432 | 22.0 | 27.0
—[\“ “I_ ) LJG-06-04-NWR | 9/16—18 1/4—19 269 | 31.3 | 14.0 | 19.0
) LJG-06-08-NWR | 9/16—18 1/2—14 325 | 432 | 22.0 | 27.0
LJG-06-06-NWR | 9/16—18 3/8—19 285 | 358 | 16.0 | 22.0

; % H1 LJG-08-04-NWR 3/4—16 1/4—19 32.0 | 33.5 | 19.0 | 19.0
Tl o LJG-08-08-NWR 3/4—16 1/2—14 34.8 | 432 | 22.0 | 27.0
— LJG-08-06-NWR 3/4—16 3/8—19 32.0 | 36.8 | 19.0 | 22.0

— LJG-08-12-NWR 3/4—16 3/4—14 379 | 493 | 27.0 | 32.0

/ %E LJG-10-06-NWR 7/8—14 3/8—19 37.8 | 39.2 | 22.0 | 22.0
Te ;E LJG-10-08-NWR 7/8—14 1/2—14 37.8 | 43.3 | 22.0 | 27.0
LJG-10-12-NWR 7/8—14 3/4—14 410 | 493 | 27.0 [ 32.0

LJG-12-12-NWR | 1-1/16—12 3/4—14 442 | 493 | 27.0 | 32.0

LJG?NWR LJG-12-08-NWR | 1-1/16—12 1/2—14 442 | 46,5 | 270 | 27.0
LJG-12-16-NWR [ 1-1/16—12 1—11 48.0 | 53.0 | 33.0 [ 41.0

LJG-16-16-NWR [ 1-5/16—12 1—11 49.0 | 53.0 | 33.0 [ 41.0

LJG-16-12-NWR | 1-5/16—12 3/4—14 49.0 | 53.0 | 33.0 [ 32.0

LJG-16-20-NWR | 1-5/16—12 | 1-1/4—11 53.8 | 58.0 | 41.0 | 50.0

LJG-20-20-NWR | 1-5/8—12 | 1-1/4—11 556.5 | 58.0 | 41.0 | 50.0

LJG-20-16-NWR [ 1-5/8—12 1—11 55.5 | 58.0 | 41.0 | 41.0

LJG-24-16-NWR [ 1-7/8—12 1—11 62.5 | 63.0 | 48.0 | 41.0

LJG-24-20-NWR | 1-7/8—12 | 1-1/4—11 62.5 | 63.0 | 48.0 | 50.0

LJG-24-24-NWR | 1-7/8—12 | 1-1/2—11 62.5 | 63.0 | 48.0 | 55.0

L1

L3

A

Tl

Te

TJPJ-NWR

JIC MALE 74° CONE X BSP MALE WITH LOCKING
NUT WASHER O-RING BRANCH X JIC MALE 74°
CONE RUN TEE: TJPJ-NWR

PART NO. T1,T3 T2 L1,L3] L2 H H1
TJPJ-04-04-04-NWR | 7/16—20 1/4—19 245 | 31.8 | 14.0 [ 19.0
TJPJ-06-04-06-NWR [ 9/16—18 1/4—19 | 26.9 | 33.5 | 16.0 | 19.0
TJPJ-06-06-06-NWR [ 9/16—18 3/8—19 | 26.9 | 36.8 [ 16.0 | 22.0
TJPJ-08-06-08-NWR | 3/4—16 3/8—19 32.0 | 39.5 | 22.0 | 22.0
TJPJ-08-08-08-NWR | 3/4—16 1/2—14 32.0 | 43.2 | 220 | 27.0
TJPJ-12-08-12-NWR [ 1-1/16—12 | 1/2—14 | 44.2 | 46.5 | 27.0 | 27.0
TJPJ-12-12-12-NWR [ 1-1/16—12 | 3/4—14 | 44.2 | 49.3 | 27.0 | 32.0
TJPJ-16-16-16-NWR | 1-5/16—12 1—1 49.0 | 53.0 | 33.0 | 41.0

AVINHLDIL > §

12



AVIIHLOIL > §

13

JIC MALE 74° CONE X JIC MALE 74° CONE

L3
T w13 BRANCH X BSP MALE WITH LOCKING NUT
7 V_ﬁm/ WASHER O-RING RUN TEE: TJJP-NWR
i< Il
\( PART NO. T1,T2 T3 [u2] 3| H [H1
TJJP-04-04-04-NWR | 7/16—20 | 1/4—19 | 245 [ 31.8 [ 14.0 [19.0
g TJJP-06-06-04-NWR | 9/16—18 | 1/4—19 | 26.9 [ 335 [ 16.0 [19.0
TJJP-06-06-06-NWR | 9/16—18 | 3/8—19 | 26.9 | 36.8 | 16.0 [ 22.0
. TJJP-08-08-06-NWR | 3/4—16 | 3/8—19 | 32.0 [ 39.5 [ 22.0 [22.0
TJJP-08-08-08-NWR | 3/4—16 | 1/2—14 | 32.0 [ 432[ 22.0 [27.0
TJJP-12-12-08-NWR [ 1-1/16—12 | 1/2—14 | 442 [ 465 | 27.0 [27.0
TJJP-12-12-12-NWR | 1-1/16—12 | 3/4—14 | 44.2 [ 49.3 | 27.0 [ 32.0
TJJP-NWR TJJP-16-16-16-NWR [ 1-5/16—12 | 1—11 | 49.0 [ 53.0 [ 33.0 [41.0
JIC MALE 74° CONE X BSP MALE WITH CAP-
TIVE SEAL: UP-V
PART NO. T T2 L1 L2 L H
1JP-04-02v | 7/16—20 | 1/8—28 [ 140 | 80 | 295 | 14.0
1JP-04-04V | 7/16—20 | 1/4—19 [ 140 [ 120 | 340 | 19.0
T1 H e IJP-04-06V | 7/16—20 3/8—19 | 14.0 | 120 | 345 | 22.0
/ IJP-04-08V | 7/16—20 | 1/2—14 | 14.0 | 140 | 410 | 27.0
M VISR 1JP-05-04V | 1/2—20 1/4—19 | 140 [ 120 | 340 | 190
) m \mﬂ m \ IJP-05-06V | 1/2—20 3/8—19 [ 140 | 120 | 345 | 220
N L -2 1JP-06-02v | 9116—18 | 1/8—28 | 141 | 80 | 295 [ 17.0
< IJP-06-04V | 9/16—18 | 1/4—19 | 141 | 12.0 | 340 | 19.0
'%4/ Y, 1JP-06-06V | 9116—18 | 3/8—19 [ 14.1 [ 120 | 345 | 22.0
‘ ‘ 1JP-06-08V | 9116—18 | 12—14 [ 141 [ 140 | 410 | 270
L1 | |-Le IJP-08-04V [ 3/4—16 1/4—19 | 167 | 12.0 | 37.0 | 22.0
L IJP-08-06V | 3/4—16 3/8—19 | 167 | 12.0 | 375 | 22.0
IJP-08-08V | 3/4—16 12—14 | 167 | 140 | 435 | 270
[JP-V IUP-10-08V | 7/8—14 | 1/2—14 | 193 | 140 | 465 | 27.0
lUP-10-12V | 7/8—14 3/4—14 | 193 | 160 | 475 | 320
IJP-12-08V | 1-1/16—12 | 1/2—14 | 21.9 | 140 | 485 | 30.0
IUP-12-12V | 1-1/16—12 | 34—14 [ 21.9 [ 16.0 | 500 | 32.0
UP-12-16V | 1-1/16—12 |  1—11 219 | 180 | 56.0 | 41.0
lUP-16-12V | 1-5/16—12 | 3/4—14 | 231 | 16.0 | 530 | 36.0
IUP-16-16V | 1-5/116—12 |  1—11 231 | 180 | 57.0 | 410
IJP-16-20V | 1-5/16—12 | 1-1/4—11 | 231 | 20.0 | 61.0 | 50.0
1JP-20-16V | 1-5/8—12 1—11 243 | 180 | 58.0 | 46.0
1JP-20-20V | 1-5/58—12 | 1-1/4—11 | 243 | 20.0 | 62.0 | 50.0
1JP-20-24V | 1-5/58—12 | 1-1/2—11 | 243 | 220 | 640 | 55.0
IJP-24-20V | 1-7/8—12 | 1-1/4—11 | 275 | 20.0 | 655 | 50.0
1UP-24-24V | 1-7/8—12 | 1-1/2—11 [ 275 | 220 | 675 | 55.0




74°

74°

IJB

JIC MALE 74° CONE X BSPT MALE: IJB

PART NO. T1 T2 L1 L2 L H

1JB-04-02 7/16—20 1/8—28 14.0 10.0 30.0 12.0
1JB-04-04 7/16—20 1/4—19 14.0 14.5 34.5 14.0
1JB-04-06 7/16—20 3/8—19 14.0 15.0 35.0 17.0
1JB-05-02 1/2—20 1/8—28 14.0 10.5 30.5 14.0
1JB-05-04 1/2—20 1/4—19 14.0 14.5 34.0 14.0
1JB-05-06 1/2—20 3/8—19 14.0 15.0 35.0 19.0
1JB-06-02 9/16—18 1/8—28 14.1 10.5 30.5 17.0
1JB-06-04 9/16—18 1/4—19 14.1 14.5 34.0 17.0
1JB-06-06 9/16—18 3/8—19 14.1 15.0 34.0 17.0
1JB-06-08 9/16—18 1/2—14 14.1 20.0 41.0 22.0
1JB-08-06 3/4—16 3/8—19 16.7 15.0 39.0 22.0
1JB-08-08 3/4—16 1/2—14 16.7 20.0 44.5 22.0
1JB-08-12 3/4—16 3/4—14 16.7 20.0 46.0 30.0
1JB-10-06 7/8—14 3/8—19 19.3 15.0 42.5 24.0
1JB-10-08 7/8—14 12—14 19.3 20.0 46.5 24.0
1JB-10-12 7/8—14 3/4—14 19.3 20.0 48.5 30.0
1JB-12-08 1-1/16—12 12—14 21.9 20.0 51.0 30.0
1JB-12-12 1-1/16—12 3/4—14 21.9 20.0 51.0 30.0
1JB-12-16 1-1/16—12 1—n 21.9 25.5 57.5 36.0
1JB-14-12 1-3/16—12 3/4—14 22.6 20.0 52.5 32.0
1JB-14-16 1-3/16—12 1—11 22.6 25.5 57.5 36.0
1JB-16-12 1-5/16—12 3/4—14 23.1 20.0 53.0 36.0
1JB-16-16 1-5/16—12 1—11 231 25.5 59.0 36.0
1JB-16-20 1-5/16—12 | 1-1/4—11 23.1 26.5 61.5 46.0
1JB-20-16 1-5/8—12 1—11 24.3 25.5 62.5 46.0
1JB-20-20 1-5/8—12 1-1/4—11 24.3 26.5 63.0 46.0
1JB-20-24 1-5/8—12 1-1/2—11 24.3 26.5 66.5 50.0
1JB-24-20 1-7/8—12 1-1/4—11 27.5 26.5 67.5 50.0
1JB-24-24 1-7/8—12 1-1/2—11 27.5 26.5 69.5 50.0
1JB-24-32 1-7/8—12 2—11 27.5 30.0 74.5 65.0
1JB-32-24 2-1/2—12 1-1/2—11 33.9 26.5 77.5 65.0
1JB-32-32 2-1/2—12 2—11 33.9 30.0 80.0 65.0

JIC MALE 74° CONE X BSPT MALE 45° ELBOW: FJB

PART NO. T1 T2 L1 L2 H

FJB-04-02 7/16—20 1/8—28 21.5 17.0 11.0
FJB-04-04 7/16—20 1/4—19 22.3 21.0 14.0
FJB-04-06 7/16—20 3/8—19 22.5 23.0 16.0
FJB-04-08 7/16—20 1/2—14 24.5 29.5 22.0
FJB-05-02 1/2—20 1/8—28 21.5 17.5 14.0
FJB-05-04 1/2—20 1/4—19 22.3 21.0 14.0
FJB-05-06 1/2—20 3/8—19 22.8 23.0 16.0
FJB-06-02 9/16—18 1/8—28 22.8 18.0 14.0
FJB-06-04 9/16—18 1/4—19 22.8 21.0 14.0
FJB-06-06 9/16—18 3/8—19 23.0 23.0 16.0
FJB-06-08 9/16—18 1/2—14 25.0 29.5 22.0
FJB-08-04 3/4—16 1/4—19 26.8 22.0 19.0
FJB-08-06 3/4—16 3/8—19 26.8 24.0 19.0
FJB-08-08 3/4—16 1/2—14 28.0 29.5 22.0
FJB-08-12 3/4—16 3/4—14 29.0 30.5 27.0
FJB-10-06 7/8—14 3/8—19 31.0 25.0 22.0
FJB-10-08 7/8—14 1/2—14 31.0 29.5 22.0
FJB-10-12 7/8—14 3/4—14 33.0 31.5 27.0
FJB-12-08 1-1/16—12 1/2—14 35.5 30.0 27.0
FJB-12-12 1-1/16—12 3/4—14 35.5 30.5 27.0
FJB-12-16 1-1/16—12 1—11 37.5 38.0 33.0
FJB-16-12 1-5/16—12 3/4—14 38.5 32.5 33.0
FJB-16-16 1-5/16—12 1—11 38.5 38.0 33.0
FJB-16-20 1-5/16—12 1-1/4—11 42.0 43.0 41.0
FJB-20-16 1-5/8—12 1—11 43.0 42.0 41.0
FJB-20-20 1-5/8—12 1-1/4—11 43.0 43.0 41.0
FJB-20-24 1-5/8—12 1-1/2—11 46.0 47.5 48.0
FJB-24-20 1-7/8—12 1-1/4—11 49.0 45.5 48.0
FJB-24-24 1-7/8—12 1-1/2—11 49.0 47.5 48.0
FJB-32-32 2-1/2—12 2—1 58.0 50.0 63.0

AVINHLDIL > §

14



4 ]
JIC MALE 74° CONE X BSPT MALE 90° ELBOW:
A LJB
PART NO. T1 T2 L1 L2 H
LJB-02-02 5/16—24 1/8—28 205 | 210 | 11.0
oy LJB-04-02 7/16—20 1/8—28 245 | 210 | 11.0
Ly LJB-04-04 7/16—20 1/4—19 266 | 255 | 14.0
O LJB-04-06 7/16—20 3/8—19 275 | 280 | 16.0
H L1 LJB-05-02 1/2—20 1/8—28 266 | 235 | 14.0
H LJB-05-04 1/2—20 1/4—19 266 | 255 | 14.0
: o 7< LJB-05-06 1/2—20 3/8—19 275 | 280 | 16.0
Fe O i / m m\[ N LJB06-02 | 916—18 | 1/8—28 | 269 | 235 | 14.0
Ny LJB-06-04 9/16—18 1/4—19 269 | 255 | 14.0
m < LJB-06-06 9/16—18 3/8—19 285 | 285 | 16.0
> 7“’ : LJB-06-08 9/16—18 1/2—14 320 | 36.0 | 220
U T = LJB-08-04 3/4—16 1/4—19 320 | 28.0 | 19.0
=1 LJB-08-06 3/4—16 3/8—19 320 | 305 | 19.0
o = LJB-08-08 3/4—16 1/2—14 348 | 360 | 220
—= LJB-08-12 3/4—16 3/4—14 379 | 435 | 270
@ LJB-10-06 7/8—14 3/8—19 380 | 320 | 220
LJB-10-08 7/8—14 1/2—14 378 | 360 | 220
LJB LJB-10-12 7/8—14 3/4—14 410 | 435 | 270
LJB-12-08 1-1/16—12 1/2—14 442 | 400 | 270
LJB-12-12 1-1/16—12 3/4—14 442 | 435 | 270
LJB-12-16 1-1/16—12 1—11 478 | 500 | 33.0
LJB-16-12 1-5/16—12 3/4—14 490 | 475 | 330
LJB-16-16 1-5/16—12 1—11 490 | 500 | 33.0
LJB-16-20 1-5116—12 | 1-1/4—11 540 | 565 | 41.0
LJB-20-16 1-5/8—12 1—11 555 | 56.5 | 41.0
LJB-20-20 1-5/8—12 1-1/4—11 555 | 56.5 | 41.0
LJB-24-20 1-7/8—12 1-1/4—11 62.5 | 61.0 | 48.0
LJB-24-24 1-7/8—12 1-1/2—11 62.5 | 625 | 48.0
LJB-24-32 1-7/8—12 2—11 745 | 67.0 | 63.0
LJB-32-32 2-1/2—12 2—11 754 | 67.0 | 63.0
L1 L3
T v H )/”T3 JIC MALE 74° CONE X BSPT MALE BRANCH X
K m mﬂmmn > JIC MALE 74° CONE RUN TEE: TJBJ
\\/\ PART NO. T1,T3 T2 L1,L3 | L2 H
N TJBJ-04-04-04 | 7/16—20 1/4—19 266 | 255 | 14.0
- TJBJ-06-06-06 | 9/16—18 3/8—19 300 | 31.0 | 19.0
o] TJBJ-08-08-08 3/4—16 1/2—14 348 | 373 | 22.0
TJBJ-12-12-12 | 1-1/16—12 | 3/4—14 442 | 440 | 270
Z\e/g.\ TJBJ-16-16-16 | 1-5/16—12 1—11 490 | 500 | 33.0
TJBJ
L H JIC MALE 74° CONE X BSPT FEMALE: IJB-F
L1 e
PART NO. T1 T2 L1 L H
Z |JB-04-02F 7/16—20 1/8—28 14.0 | 300 | 140
um E—— |JB-04-04F 7/16—20 1/4—19 14.0 | 355 | 19.0
- 1JB-06-04F 9/16—18 1/4—19 14.0 | 355 | 19.0
™ \m\m\\\ \m\m |JB-06-06F 9/16—18 3/8—19 14.0 | 365 | 220
|JB-08-06F 3/4—16 3/8—19 16.7 | 395 | 220
|JB-08-08F 3/4—16 1/2—14 16.7 | 455 | 27.0
T IE 1JB-10-08F 7/8—14 1/2—14 193 | 48.0 | 27.0
1JB-F UB-12-12F | 1-1/16—12 | 3/4—14 220 | 525 | 39.0
IJB-16-16F | 1-5/16—12 1—11 230 | 595 | 41.0

15



74°

Tl/é‘ T2

1QJ-S

74°

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74° CONE

SEAT: 1QJ-S
PART NO. T1 T2 L1 L2 L H H1
1QJ-04-04S 7/16—20 7/16—20 14.0 9.0 28.0 12.0 15.0
1QJ-04-05S 7/16—20 1/2—20 14.0 9.5 28.5 12.0 17.0
1QJ-04-06S 7/16—20 9/16—18 14.0 10.0 28.5 14.0 19.0
1QJ-04-08S 7/16—20 3/4—16 14.0 10.5 30.5 19.0 24.0
1QJ-05-05S 1/2—20 1/2—20 14.0 9.5 29.0 14.0 17.0
1QJ-05-06S 1/2—20 9/16—18 14.0 10.0 28.5 14.0 19.0
1QJ-05-08S 1/2—20 3/4—16 14.0 10.5 30.5 19.0 24.0
1QJ-06-06S 9/16—18 9/16—18 14.1 10.0 29.0 17.0 19.0
1QJ-06-08S 9/16—18 3/4—16 141 10.5 31.0 19.0 24.0
1QJ-06-10S 9/16—18 7/8—14 141 13.0 33.5 22.0 27.0
1QJ-08-08S 3/4—16 3/4—16 16.7 10.5 36.0 22.0 24.0
1QJ-08-06S 3/4—16 9/16—18 16.7 10.0 34.0 22.0 19.0
1QJ-08-10S 3/4—16 7/8—14 16.7 13.0 36.5 22.0 27.0
1QJ-08-12S 3/4—16 1-1/16—12 | 16.7 15.0 39.5 27.0 32.0
1QJ-10-10S 7/8—14 7/8—14 19.3 13.0 39.0 24.0 27.0
1QJ-10-08S 7/8—14 3/4—16 19.3 10.5 38.0 24.0 24.0
1QJ-10-12S 7/8—14 1-1/16—12 | 19.3 15.0 | 42.0 27.0 32.0
1QJ-12-12S 1-1/16—12 | 1-1/16—12 | 21.9 15.0 | 445 30.0 32.0
1QJ-12-10S 1-1/16—12 7/8—14 21.9 13.0 | 43.5 30.0 27.0
1QJ-12-16S 1-1/16—12 | 1-5/16—12 | 21.9 155 | 45.5 36.0 | 41.0
1QJ-16-16S 1-5/16—12 | 1-5/16—12 | 231 155 | 46.5 36.0 | 41.0
1QJ-16-20S 1-5/16—12 | 1-5/8—12 | 231 16.2 53.0 | 41.0 50.0
1QJ-20-20S 1-5/8—12 | 1-5/8—12 | 24.3 16.2 54.5 | 46.0 50.0
1QJ-20-24S 1-5/8—12 | 1-7/8—12 | 24.3 18.8 56.5 | 46.0 55.0
1QJ-24-24S 1-7/8—12 | 1-7/8—12 | 27.5 18.8 61.0 50.0 55.0
1QJ-24-32S 1-7/8—12 | 2-1/2—12 | 27.5 24.0 63.0 65.0 75.0
1QJ-32-32S 2-1/2—12 | 2-1/2—12 | 33.9 24.0 69.5 65.0 75.0

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74° CONE
SEAT 45° ELBOW: FQJ-S

PART NO. T1 T2 L1 L2 H H1
FQJ-04-04S 7/16—20 7/16—20 21.5 9.0 11.0 15.0
FQJ-05-05S 1/2—20 1/2—20 22.0 9.5 14.0 17.0
FQJ-06-06S 9/16—18 9/16—18 22.8 10.0 14.0 19.0
FQJ-08-08S 3/4—16 3/4—16 26.8 10.5 19.0 24.0
FQJ-10-10S 7/8—14 7/8—14 31.0 13.0 22.0 27.0
FQJ-12-12S 1-1/16—12 1-1/16—12 35.5 15.0 27.0 32.0
FQJ-14-14S 1-3/16—12 1-3/16—12 37.0 14.8 30.0 36.0
FQJ-16-16S 1-5/16—12 1-5/16—12 38.5 15.5 33.0 41.0
FQJ-20-20S 1-5/8—12 1-5/8—12 43.0 16.2 41.0 50.0
FQJ-24-24S 1-7/8—12 1-7/8—12 49.0 18.8 48.0 55.0
FQJ-32-32S8 2-1/2—12 2-1/2—12 58.0 24.0 63.0 75.0

AVINHLDIL > §

16



AVAIHLOIL > §

TL

T3

L2
/I
ﬁgﬁt§
n

17

N2

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74°
CONE SEAT 90° ELBOW: LQJ-S

PART NO. T1 T2 L1 L2 H H1
LQJ-02-02S 5/16—24 5/16—24 21.0 5.6 1.0 | 12.0
LQJ-03-03S 3/8—24 3/8—24 22.0 5.0 11.0 | 14.0
LQJ-04-04S 7/16—20 7/16—20 24.5 9.0 11.0 | 15.0
LQJ-05-05S 1/2—20 1/2—20 26.5 9.5 14.0 | 17.0
LQJ-06-06S 9/16—18 9/16—18 26.9 10.0 | 14.0 | 19.0
LQJ-06-08S 9/16—18 3/4—16 28.5 10.5 | 16.0 | 24.0
LQJ-08-06S 3/4—16 9/16—18 32.0 10.0 | 19.0 | 19.0
LQJ-08-08S 3/4—16 3/4—16 32.0 10.5 | 19.0 | 24.0
LQJ-08-10S 3/4—16 7/8—14 32.0 13.0 | 19.0 | 27.0
LQJ-10-10S 7/8—14 7/8—14 37.8 13.0 | 22.0 | 27.0
LQJ-10-08S 7/8—14 3/4—16 37.8 10.5 | 22.0 | 24.0
LQJ-10-128 7/8—14 1-1/16—12 39.5 15.0 | 24.0 | 32.0
LQJ-12-12S | 1-1/16—12 [ 1-1/16—12 | 44.2 15.0 | 27.0 | 32.0
LQJ-12-10S | 1-1/16—12 7/8—14 44.2 13.0 | 27.0 | 27.0
LQJ-12-16S | 1-1/16—12 [ 1-5/16—12 | 46.0 155 | 30.0 | 41.0
LQJ-14-14S | 1-3/16—12 [ 1-3/16—12 | 47.5 14.8 | 30.0 | 36.0
LQJ-16-16S | 1-5/16—12 [ 1-5/16—12 | 48.8 155 | 33.0 | 41.0
LQJ-16-20S | 1-5/16—12 1-5/8—12 54.0 16.2 | 41.0 | 50.0
LQJ-20-16S 1-5/8—12 1-5/16—12 55.5 155 | 41.0 | 41.0
LQJ-20-20S 1-5/8—12 1-5/8—12 55.5 16.2 | 41.0 | 50.0
LQJ-20-24S 1-5/8—12 1-7/8—12 59.5 18.8 | 48.0 | 55.0
LQJ-24-20S 1-7/8—12 1-5/8—12 62.5 16.2 | 48.0 | 50.0
LQJ-24-24S 1-7/8—12 1-7/8—12 62.5 18.8 | 48.0 | 55.0
LQJ-32-328 2-1/2—12 2-1/2—12 755 | 24.0 [ 63.0 | 75.0

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74°
CONE SEAT BRANCH X JIC MALE 74° CONE RUN

TEE: TQJ-S
REF. NO. T1,T2,T3 L1,L3 L2 H H1
TQJ-04-04S-04 7/16—20 23.0 9.0 11.0 15.0
TQJ-06-06S-06 9/16—18 26.9 10.0 14.0 19.0
TQJ-08-08S-08 3/4—16 32.0 10.5 19.0 24.0
TQJ-12-125-12 1-1/16—12 42.5 15.0 27.0 32.0
TQJ-16-16S-16 1-5/16—12 46.0 15.5 33.0 41.0

JIC MALE 74° CONE X JIC MALE 74° CONE
BRANCH X JIC SWIVEL FEMALE 74° CONE SEAT
RUN TEE: TQJ-S

PART NO. T1,T2,T3 L1,L.2 L3 H H1
TQJ-04-04-04S 7/16—20 23.0 9.0 11.0 15.0
TQJ-06-06-06S 9/16—18 26.9 10.0 14.0 19.0
TQJ-08-08-08S 3/4—16 32.0 10.5 19.0 24.0
TQJ-12-12-12S 1-1/16—12 42.5 15.0 27.0 32.0
TQJ-16-16-16S 1-5/16—12 46.0 15.5 33.0 41.0

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74°
CONE SEAT BRANCH X JIC SWIVEL FEMALE 74°
CONE SEAT RUN TEE: TQJ-S-S

PART NO. T1,T2,T3 L1 L2,L3 H H1,H2
TQJ-04-04S-04S 7/16—20 23.0 9.0 11.0 15.0
TQJ-06-06S-06S 9/16—18 26.9 10.0 14.0 19.0
TQJ-08-08S-08S 3/4—16 32.0 10.5 19.0 24.0
TQJ-12-12S-128 1-1/16—12 42.5 15.0 27.0 32.0
TQJ-16-16S-16S 1-5/16—12 46.0 15.5 33.0 41.0




74°

74°

T1

L1

T2

HL H  H3

L3

Le

74°
TQJ-S-S-S

He

H1

L1

N

Le

IQJ-S-S

T3

74°

74°

JIC SWIVEL FEMALE 74° CONE SEAT TEE:

TQJ-S-S-S
PART NO. T1,T2,T3 L1 L2,L3 H H1 H2,H3
TQJ-04S-04S-04S 7/16—20 9.0 9.0 11.0 15.0 15.0
TQJ-06S-06S-06S 9/16—18 10.0 10.0 14.0 19.0 19.0
TQJ-08S-08S-08S 3/4—16 10.5 10.5 19.0 24.0 24.0
TQJ-12S-128-12S | 1-1/16—12 15.0 15.0 27.0 32.0 32.0
TQJ-16S-16S-16S | 1-5/16—12 15.5 15.5 33.0 41.0 41.0

JIC SWIVEL FEMALE 74° CONE SEAT X JIC SWIVEL

FEMALE 74° CONE SEAT: 1QJ-S-S

PART NO. T1 T2 L1 L2 L H H1
1QJ-04S-04S | 7/16—20 | 7/16—20 | 9.0 9.0 | 19.0 | 15.0 | 15.0
1QJ-05S-05S 1/2—20 1/2—20 9.5 95 | 21.0 | 17.0 | 17.0
1QJ-06S-06S | 9/16—18 | 9/16—18 | 10.0 [ 10.0 [ 21.0 [ 19.0 | 19.0
1QJ-06S-08S | 9/16—18 3/4—16 10.0 | 10.5 | 23.0 | 19.0 | 24.0
1QJ-08S-08S 3/4—16 3/4—16 10.5 | 10.5 | 26.0 | 24.0 | 24.0
1QJ-10S-10S 7/8—14 7/8—14 13.0 | 13.0 | 27.0 | 27.0 | 27.0
1QJ-128-12S | 1-1/16—12 | 1-1/16—12| 15.0 [ 15.0 [ 29.0 [ 32.0 | 32.0
1QJ-16S-16S | 1-5/16—12 | 1-5/16—12| 15.5 [ 155 | 29.0 | 41.0 | 41.0
1QJ-20S-20S | 1-5/8—12 | 1-5/8—12 | 16.2 [ 16.2 | 35.0 | 50.0 [ 50.0
1QJ-24S-24S | 1-7/8—12 | 1-7/8—12 | 18.8 [ 18.8 [ 37.0 [ 55.0 | 55.0

JIC MALE 74° CONE X JIC SWIVEL FEMALE 74°
CONE SEAT: IJJ-S

PART NO. T1 T2 L1 L2 L H

1JJ-04-06S 7/16—20 9/16—18 14.0 10.0 | 26.2 19.0
1JJ-04-08S 7/16—20 3/4—16 14.0 105 | 26.2 | 24.0
1JJ-04-10S 7/16—20 7/8—14 14.0 13.0 | 28.0 | 27.0
1JJ-04-12S 7/16—20 1-1/16—12 14.0 15.0 | 29.8 | 32.0
1JJ-04-14S 7/16—20 1-3/16—12 14.0 148 | 325 | 36.0
1JJ-05-08S 1/2—20 3/4—16 14.0 105 | 26.2 | 24.0
1JJ-05-10S 1/2—20 7/8—14 14.0 13.0 | 28.0 | 27.0
1JJ-05-12S 1/2—20 1-1/16—12 14.0 15.0 | 29.8 | 32.0
1JJ-06-08S 9/16—18 3/4—16 141 10.5 | 26.3 | 24.0
1JJ-06-10S 9/16—18 7/8—14 141 13.0 | 282 | 27.0
1JJ-06-12S 9/16—18 1-1/16—12 141 15.0 | 30.1 32.0
1JJ-06-14S 9/16—18 1-3/16—12 141 148 | 325 | 36.0
1JJ-06-16S 9/16—18 1-5/16—12 141 155 | 33.0 | 38.0
1JJ-08-12S8 3/4—16 1-1/16—12 16.7 15.0 | 33.3 | 32.0
1JJ-08-14S 3/4—16 1-3/16—12 16.7 14.8 | 35.0 | 36.0
1JJ-08-16S 3/4—16 1-5/16—12 16.7 155 | 356 | 38.0
1JJ-08-20S 3/4—16 1-5/8—12 16.7 16.2 | 355 | 50.0
1JJ-10-16S 7/8—14 1-5/16—12 19.3 155 | 375 | 38.0
1JJ-10-20S 7/8—14 1-5/8—12 19.3 16.2 | 379 | 50.0
1JJ-10-24S 7/8—14 1-7/8—12 19.3 18.8 | 42.0 | 60.0
1JJ-12-16S 1-1/16—12 1-5/16—12 22.0 155 | 40.2 | 38.0
1JJ-12-20S 1-1/16—12 1-5/8—12 22.0 16.2 | 40.6 | 50.0
1JJ-12-24S 1-1/16—12 1-7/8—12 22.0 18.8 | 42.0 | 60.0
1JJ-16-20S 1-5/16—12 1-5/8—12 23.0 16.2 | 41.8 | 50.0
1JJ-16-24S 1-5/16—12 1-7/8—12 23.0 18.8 | 43.2 | 60.0
1JJ-16-32S 1-5/16—12 2-1/2—12 23.0 | 240 | 49.0 [ 75.0
1JJ-20-24S 1-5/8—12 1-7/8—12 24.3 18.8 | 44.3 | 60.0
1JJ-20-32S 1-5/8—12 2-1/2—12 243 | 240 | 50.0 [ 75.0

AVINHLDIL > §

18



74°

AVIIHLOIL > §

74°

74

19

Le

: - L1 / /Tg
Il .
. IJN-S H
IL=AL I
c ////%X\Te
) IJN;QF
AL
N NCrs
| IJSgaF

JIC SWIVEL FEMALE 74° CONE SEAT X NPT MALE:

IUJN-S

PART NO. T1 T2 L1 L2 L H H1

IJN-04S-02 7/16—20 1/8—27 10.5 9.0 245 | 12.0 | 17.0
IJN-05S-02 1/2—20 1/8—27 10.5 9.5 250 | 12.0 | 170
IJN-04S-04 7/16—20 1/4—18 15.0 9.0 29.0 | 17.0 | 17.0
IUN-05S-04 1/2—20 1/4—18 15.0 9.5 29.5 | 17.0 | 17.0
IJN-06S-04 9/16—18 1/4—18 15.0 [ 10.0 | 29.5 | 17.0 [ 19.0
IJN-08S-04 3/4—16 1/4—18 15.0 [ 10.5 | 315 | 19.0 [ 24.0
IJN-06S-06 9/16—18 3/8—18 16.0 | 10.0 | 30.5 | 19.0 [ 19.0
IUN-08S-06 3/4—16 3/8—18 16.0 | 10.5 | 325 | 19.0 [ 24.0
IJN-10S-06 7/8—14 3/8—18 16.0 [ 13.0 | 35.0 | 22.0 [ 27.0
IJN-08S-08 3/4—16 1/2—14 19.5 | 105 | 37.5 | 22.0 [ 24.0
IJN-06S-08 9/16—18 1/2—14 19.5 [ 10.0 | 36.0 | 22.0 [ 19.0
IUJN-10S-08 7/8—14 1/2—14 19.5 | 13.0 | 38.0 | 22.0 [ 27.0
IUN-12S-08 | 1-1/16—12 1/2—14 19.5 | 156.0 | 42.0 | 27.0 [ 32.0
IUN-128-12 | 1-1/16—12 3/4—14 19.5 | 15.0 | 42.0 | 30.0 [ 32.0
IJN-08S-12 3/4—16 3/4—14 19.5 | 10.5 | 40.0 | 30.0 [ 24.0
IUN-10S-12 7/8—14 3/4—14 19.5 | 13.0 | 40.5 [ 30.0 | 27.0
IUN-16S-12 | 1-5/16—12 3/4—14 19.5 | 165 | 425 | 320 | 41.0
IUN-16S-16 | 1-5/16—12 1—11.5 255 | 1565 | 48.0 | 36.0 | 41.0
IUN-12S8-16 | 1-1/16—12 1—11.5 255 | 15.0 | 49.0 | 36.0 [ 32.0
IUN-20S-16 1-5/8—12 1—11.5 255 | 16.2 [ 55.0 | 41.0 | 50.0
IUN-20S-20 1-5/8—12 1-1/4—115 | 26,5 | 16.2 | 56.0 | 46.0 | 50.0
IJN-24S-20 1-7/8—12 1-1/4—11.5 | 26.5 | 188 | 57.5 | 46.0 | 60.0
IJN-20S-24 1-5/8—12 1-1/2—11.5 | 275 | 16.2 | 58.5 | 50.0 | 50.0
IUN-24S-24 1-7/8—12 1-1/2—11.5 | 275 | 188 | 60.5 | 50.0 | 60.0

JIC SWIVEL FEMALE 74° CONE SEAT X NPT FEMALE:

IJN-S-F
PART NO. T1 T2 L1 L2 H H1
IUN-04S-04F | 7/16—20 1/4—18 90 | 245 | 19.0 [ 170
IUN-06S-06F |  9/16—18 3/8—18 10.0 [ 235 | 22.0 | 19.0
IJN-08S-08F 3/4—16 12—14 105 [ 345 [ 27.0 | 240
IUN-125-12F | 1-1/16—12 3/4—14 15.0 [ 340 [ 36.0 | 32.0
IUN-16S-16F | 1-5/16—12 1—11 155 | 41.0 | 41.0 | 410

JIC SWIVEL FEMALE 74° CONE SEAT X NPSM

FEMALE: IJS-S-F
PART NO. T1 T2 L1 L2 H H1
1JS-04S-04F | 7/116—20 1/4—18 90 | 215 [ 190 [ 170
1JS-06S-06F |  9/16—18 3/8—18 10.0 [ 205 | 22.0 | 19.0
1JS-08S-08F 3/4—16 12—14 105 [ 20.0 | 27.0 | 24.0
IJS-128-12F | 1-1/116—12 3/4—14 15.0 | 305 | 36.0 | 32.0
IJS-16S-16F | 1-5/16—12 1—11-12_ | 155 | 365 | 41.0 | 41.0




L1

T1— ’
o<§;<ii :><<
" AN

Te N 60° V4
LJG-S

L1

74°

T1

Te—"

FJB-S

H1

JIC MALE 74° CONE X BSP SWIVEL FEMALE 60°

CONE 45° ELBOW: FJG-S

REF. NO. T1 T2 L1 L2 H H1
FJG-04-04S | 7/16—20 1/4—19 215 | 52 [ 140 [ 190
FJG-06-065 | 9/16—18 3/8—19 228 | 60 | 160 | 22.0
FJG-08-085 3/4—16 1/2—14 268 | 67 | 220 | 27.0
FJG-12-12S | 1-1/16—12 3/4—14 355 | 92 [ 270 [ 320
FJG-16-165 | 1-5/16—12 1—11 385 | 105 | 33.0 | 41.0
FJG-20-20S | 1-5/8—12 | 1-1/4—11 | 43.0 | 105 | 41.0 | 50.0

JIC MALE 74° CONE X BSP SWIVEL FEMALE 60°

CONE 90° ELBOW:LJG-S
PART NO. T1 T2 L1 L2 H H1
LJG-04-04S | 7/16—20 1/4—19 245 | 52 | 140 | 190
LJG-06-06S | 9/16—18 3/8—19 269 | 6.0 | 160 | 220
LJG-08-08S 3/4—16 1/2—14 320 | 67 | 220 | 270
LIG-12-12S | 1-1/16—12 3/4—14 442 | 92 [ 270 | 320
LIG-16-16S | 1-5/16—12 1—11 490 | 105 [ 33.0 | 41.0
LJG20-20S | 1-5/8—12 1-14—11_| 555 [ 105 | 41.0 | 50.0
LIG-24-245 | 1-7/8—12 1-12—11_| 625 | 120 | 480 | 55.0
LIG-32-32S | 2-1/2—12 2—11 78.0 | 16.0 | 63.0 | 70.0

JIC SWIVEL FEMALE 74° CONE SEAT X BSPT MALE:

IUB-S
PART NO. T1 T2 L1 L2 L H H1
1JB-04S-02 7/16—20 1/8—28 10.0 9.0 24.0 120 | 17.0
1JB-04S-04 7/16—20 1/4—19 14.0 9.0 28.0 14.0 | 17.0
|JB-05S-04 1/2—20 1/4—19 14.0 9.5 28.5 14.0 | 17.0
|JB-06S-04 9/16—18 1/4—19 14.0 10.0 28.5 14.0 | 19.0
1JB-05S-06 1/2—20 3/8—19 15.0 9.5 29.5 17.0 | 17.0
1JB-06S-06 9/16—18 3/8—19 15.0 10.0 29.5 17.0 | 19.0
|JB-08S-06 3/4—16 3/8—19 15.0 10.5 31.5 19.0 | 24.0
|JB-08S-08 3/4—16 1/2—14 19.0 10.5 375 | 240 | 24.0
1JB-10S-08 7/8—14 1/2—14 19.0 13.0 38.0 24.0 | 27.0
1JB-12S-08 | 1-1/16—12 1/2—14 20.0 15.0 415 | 27.0 | 32.0
IJB-12S-12 | 1-1/16—12 3/4—14 19.0 15.0 41.5 30.0 | 32.0
IJB-16S-12 | 1-5/16—12 3/4—14 20.0 155 | 43.5 32.0 | 41.0
|1JB-16S-16 | 1-5/16—12 1—11 24.0 155 | 47.5 36.0 | 41.0
1JB-20S-20 1-5/8—12 1-1/4—11 25.0 16.2 55.0 46.0 | 50.0
|JB-24S-24 1-7/8—12 1-1/2—11 26.5 18.8 59.5 50.0 | 55.0

JIC SWIVEL FEMALE 74° CONE SEAT X BSPT MALE 45°

ELBOW: FJB-S
PART NO. T1 T2 L1 L2 H HA1
FJB-04S-04 7/16—20 1/4—19 9.0 21.0 14.0 15.0
FJB-06S-06 9/16—18 3/8—19 10.0 23.0 16.0 19.0
FJB-08S-08 3/4—16 1/2—14 10.5 29.5 22.0 24.0
FJB-12S-12 1-1/16—12 3/4—14 15.0 30.5 27.0 32.0
FJB-16S-16 1-5/16—12 1—11 15.5 38.0 33.0 41.0
FJB-20S-20 1-5/8—12 1-1/4—11 16.2 43.0 41.0 50.0

AVINHLDIL > §

20



AVIIHLOIL > §

21

A
— ]

Vak

>

JIC SWIVEL FEMALE 74° CONE SEAT X BSPT

MALE90° ELBOW: LJB-S

74

74°

74°

T1

Il

Vvv\v\vv VWAL

i
n

Le

L2

PART NO. T1 T2 L [ 2 [ H [ H
LJB-045-04 | 7/16—20 | 1/4—19 | 9.0 | 255 | 140 | 150
LJB-065-06 | 9/16—18 | 3/8—19 | 100 | 285 | 16.0 | 19.0
LJB-08S-08 | 3/4—16 | 1/2—14 | 105 | 360 | 22.0 | 24.0
LJB-128-12 [ 1-1/16—12 | 3/4—14 | 150 | 435 | 27.0 | 32.0
LJB-165-16 | 1-5/16—12 | 1—11 | 155 | 500 | 33.0 | 41.0
LJB-20S-20 | 1-5/8—12 | 1-1/4—11 | 162 | 575 | 41.0 | 50.0
JIC MALE 74° CONE PLUG: PGJ

PART NO. T L1 L H

PGJ-04 716—20 | 140 [ 200 [ 120

PGJ-05 1/2—20 140 | 200 | 140

PGJ-06 916—18 | 141 | 200 | 17.0

PGJ-08 3/4—16 167 | 250 | 220

PGJ-10 7/8—14 193 | 275 | 24.0

PGJ-12 111612 | 219 | 320 | 30.0

PGJ-14 1-3/16-—12 | 226 | 335 | 320

PGJ-16 1-5/16—12 | 231 | 340 | 36.0

PGJ-20 1-5/8—12 | 243 | 380 | 460

PGJ-24 1-7/6—12 | 275 | 445 | 500

PGJ-32 21/2—12__| 339 | 510 | 65.0
JIC FEMALE 74° CAP: CAJ

PART NO. T L H

CAJ-04 7/16—20 15.1 15.0

CAJ-05 1/2—20 15.5 17.0

CAJ-06 916—18 15.9 19.0

CAJ-08 3/4—16 19.0 24.0

CAJ-10 7/8—14 214 27.0

CAJ-12 1-1/16—12 23.0 32.0

CAJ-16 1-5/16—12 258 41.0

CAJ-20 1-5/8—12 27.0 50.0

CAJ-24 1-7/8—12 30.2 60.0

CAJ-32 2-1/2—12 36.5 75.0

JIC SWIVEL FEMALE 74° CONE SEAT

CAP: CAJ-S

REF. NO. T L1 L2 H

CAJ-04S 7/16—20 9.0 10.5 19.0
CAJ-06S 9/16—18 10.0 13.0 22.0
CAJ-08S 3/4—16 10.5 14.0 27.0
CAJ-12S 1-1/16—12 15.0 15.0 32.0
CAJ-16S 1-5/16—12 15.5 18.0 41.0
CAJ-20S 1-5/8—12 16.2 19.0 50.0
CAJ-24S 1-7/8—12 18.8 21.0 60.0




74°

74°

I

—

s
N
L
TJFA
|
i
7
L1
L
T JFH

JIC LOCK NUT: NTJ
PART NO. L H
NTJ-04 7/16—20 7.0 17.0
NTJ-05 1/2—20 7.0 19.0
NTJ-06 9/16—18 7.0 22.0
NTJ-08 3/4—16 8.0 24.0
NTJ-10 7/8—14 9.0 30.0
NTJ-12 1-1/16—12 10.5 36.0
NTJ-14 1-3/16—12 10.5 38.0
NTJ-16 1-5/16—12 10.5 41.0
NTJ-20 1-5/8—12 10.5 50.0
NTJ-24 1-7/8—12 10.5 55.0
NTJ-32 2-1/2—12 10.5 70.0
JIC MALE 74° CONE X SAE FLANGE LIGHT DUTY:
IJFA
PART NO. T FLANGE D N1 L
IJFA-08-08 3/4—16 1/2 30.2 6.7 43.5
IJFA-08-12 3/4—16 3/4 38.1 6.7 45.4
IJFA-10-08 7/8—14 1/2 30.2 6.7 48.0
IJFA-10-12 7/8—14 3/4 38.1 6.7 48.0
IJFA-12-08 1-1/16—12 12 30.2 6.7 49.0
IJFA-12-12 1-1/16—12 3/4 38.1 6.7 50.5
IJFA-12-16 1-1/16—12 1 44.4 8.0 52.5
IJFA-16-12 1-5/16—12 3/4 38.1 6.7 52.0
IJFA-16-16 1-5/16—12 1 44.4 8.0 53.4
IJFA-16-20 1-5/16—12 1-1/4 50.8 8.0 52.5
IJFA-20-16 1-5/8—12 1 44.4 8.0 54.5
IJFA-20-20 1-5/8—12 1-1/4 50.8 8.0 53.1
IJFA-20-24 1-5/8—12 1-1/2 60.3 8.0 56.0
IJFA-24-20 1-7/8—12 1-1/4 50.8 8.0 56.5
IJFA-24-24 1-7/8—12 1-1/2 60.3 8.0 59.2
IJFA-24-32 1-7/8—12 2 714 9.5 60.0
IJFA-32-32 2-1/2—12 2 714 9.5 66.3
JIC MALE 74° CONE X SAE FLANGE HEAVY DUTY:
IJFH
PART NO. T FLANGE D L1 L
IJFH-08-08 3/4—16 1/2 31.7 7.8 47.5
IJFH-10-08 7/8—14 1/2 31.7 7.8 50.0
IJFH-10-12 7/8—14 3/4 41.3 8.8 55.0
IJFH-12-12 1-1/16—12 3/4 41.3 8.8 56.7
IJFH-12-16 1-1/16—12 1 47.6 9.5 61.5
IJFH-16-12 1-5/16—12 3/4 41.3 8.8 57.8
IJFH-16-16 1-5/16—12 1 47.6 9.5 62.8
IJFH-16-20 1-5/16—12 1-1/4 54.0 10.3 67.7
IJFH-20-16 1-5/8—12 1 47.6 9.5 64.0
IJFH-20-20 1-5/8—12 1-1/4 54.0 10.3 68.9
IJFH-20-24 1-5/8—12 1-1/2 63.5 12.6 73.5
IJFH-24-20 1-7/8—12 1-1/4 54.0 10.3 72.0
IJFH-24-24 1-7/8—12 1-1/2 63.5 12.6 76.7

AVINHLDIL > §

22



JIC MALE 74° CONE X SAE FLANGE LIGHT DUTY
90° ELBOW: LJFA

PART NO. T FLANGE L1 L2 N1 D H
Ll N LJFA-08-08 3/4—16 1/2 32.5 | 44.0 6.7 30.2 | 19.0
LJFA-08-12 3/4—16 3/4 38.0 | 54.1 6.7 38.1 27.0
ﬂm 7< LJFA-10-08 7/8—14 1/2 375 | 440 6.7 30.2 | 220
4 ) LJFA-10-12 7/8—14 3/4 41.0 | 54.1 6.7 38.1 27.0
™ LJFA-12-12 | 1-1/16—12 3/4 445 | 54.1 6.7 38.1 27.0

Le

LJFA-16-12 | 1-5/16—12 3/4 49.0 | 58.0 6.7 38.1 33.0
LJFA-16-20 | 1-5/16—12 1-1/4 54.0 | 66.5 8.0 50.8 [ 41.0

% LJFA-12-16 | 1-1/16—12 1 48.0 | 60.2 8.0 44.4 | 33.0
T LJFA-16-16 | 1-5/16—12 1 49.0 | 60.2 8.0 444 | 33.0

AVAIHLOIL > §

%_ E# LJFA-20-20 1-5/8—12 1-1/4 55.5 | 66.5 8.0 50.8 [ 41.0

A LJFA-20-16 1-5/8—12 1 556.5 [ 65.0 8.0 444 | 41.0
D LJFA-20-24 1-5/8—12 1-1/2 60.0 [ 79.3 8.0 60.3 | 48.0

LJFA LJFA-24-24 1-7/8—12 1-1/2 62.5 [ 79.3 8.0 60.3 | 48.0
LJFA-24-20 1-7/8—12 1-1/4 62.5 | 75.5 8.0 50.8 | 48.0

LJFA-24-32 1-7/8—12 2 74.5 [ 108.0 | 9.5 71.4 | 63.0

LJFA-32-32 2-1/2—12 2 80.0 [ 108.0 | 9.5 71.4 | 63.0

JIC MALE 74° CONE X SAE FLANGE HEAVY DUTY 90°

ELBOW: LJFH
L PART NO. T FLANGE] L1 [ 2 [ N1 [ D [ H
H LJFH-08-08 | 3/4—16 12| 325 | 440 | 78 | 317 | 190
7< LUFH-10-08 | 7/8—14 12| 375 | 460 | 78 | 317 | 22.0
X ﬂ\ ‘ ~ LUFH-10-12 | 7/8—14 34 | 410 | 541 | 88 | 413 | 27.0
§Q< LUFH-12-12 | 1-116—12 | 3/4 | 442 | 541 | 88 | 41.3 | 27.0

LJFH-12-16 | 1-1/16—12 1 48.0 | 60.2 9.6 476 | 33.0
LJFH-16-16 | 1-5/16—12 1 49.0 | 60.2 9.5 41.3 | 33.0
T

y LJFH-16-12 | 1-516—12 | 3/4 | 490 | 570 | 88 | 476 | 33.0

LIFH-16-20 | 1-5116—12 | 1-1/4 | 54.0 | 665 | 103 | 54.0 | 41.0

% o LJFH-2020 | 1-5/6—12 | 1-1/4 | 555 | 665 | 103 | 476 | 41.0

, — LJFH-20-16 | 1-5/86—12 1 555 | 650 | 95 | 540 | 41.0
. LJFH2024 | 15/86—12 | 112 | 595 | 793 | 126 | 635 | 48.0

LIFH2424 | 1-7/8—12 | 1-12 | 625 | 793 | 126 | 635 | 48.0

LJFH LIFH-24-20 | 1-7/8—12 | 1-1/4 | 625 | 700 | 103 | 54.0 | 48.0

23



SAE MALE O-RING BOSS X NPT MALE: IEN

PART NO. T1 T2 L1 L2 L H
IEN-04-04 7/16—20 1/4—18 9.1 150 | 300 | 14.0
T1 H Te IEN-06-04 9/16—18 1/4—18 99 | 150 | 310 | 17.0
IEN-04-06 7/16—20 3/8—18 91 160 | 310 | 190
N / IEN-06-06 9/16—18 3/8—18 99 | 160 | 320 | 19.0
“““m IEN-08-06 3/4—16 3/8—18 11.1 160 | 355 | 220
) s IEN-08-08 3/4—16 12—14 11 | 195 | 385 | 220
D IEN-10-08 7/86—14 112—14 127 | 195 | 420 | 27.0
IEN-12-08 1-1116—12 112—14 151 | 195 | 455 | 320
© \ IEN-10-12 7/8—14 3/4—14 127 | 195 | 430 | 30.0
‘ IEN-12-12 1-1/16—12 3/4—14 151 | 195 | 455 | 320
L1 L2 IEN-16-16 1-5/16—12 1—115 151 | 255 | 515 | 380
| 1 IEN-16-20 15/16—12 | 1-1/4—115 | 151 | 265 | 545 | 46.0
IEN-20-20 15/86—12 | 1-1/4—115 | 151 | 265 | 565 | 50.0
TEN IEN-24-24 17/8—12 | 1-12—15 | 154 | 275 | 575 | 550

SAE MALE O-RING BOSS X BSP MALE 60° BONDED
SEAL TYPE: IEG
- o . PART NO. T1 T2 L1 L2 L H

IEG-04 7/16—20 1/4—19 9.1 120 | 295 | 19.0

/ IEG-05-04 172—20 1/4—19 9.1 120 | 295 | 190

A IEG-06-04 9/16—18 1/4—19 99 | 120 | 320 | 190

“ IEG-08-04 3/4—16 1/4—19 141 | 120 | 310 | 220

| ) i - S IEG-06 9/16—18 3/8—19 99 | 135 | 335 | 220

IEG-04-06 7/16—20 3/8—19 9.1 135 | 330 | 220

W U IEG-08-06 34—16 3819 | 114 | 135 | 360 | 240

IEG-10-06 7/8—14 3/8—19 127 | 135 | 395 | 27.0

‘ ‘ IEG-08 3/4—16 112—14 11 | 160 | 380 | 27.0

Ll | |-Le IEG-06-08 9/16—18 12—14 99 | 160 | 360 | 27.0

L IEG-10-08 7/8—14 112—14 127 | 160 | 420 | 27.0

IEG-12-08 111612 | 1/2—14 151 | 160 | 425 | 36.0

1EG IEG-10 7/8—14 5/8—14 127 | 175 | 435 | 300

IEG-08-10 3/4—16 5/8—14 11 | 175 | 415 | 300

IEG-12-10 11/16—12 | 5/8—14 151 | 175 | 470 | 340

IEG-12 11/16—12 | 3/4—14 151 | 185 | 480 | 34.0

IEG-08-12 3/4—16 3/4—14 141 | 185 | 405 | 320

IEG-10-12 7/8—14 3/4—14 127 | 185 | 455 | 320

IEG-14-12 1:3/16—12 | 3/4—14 151 | 185 | 480 | 380

IEG-16-12 1516—12 | 3/4—14 151 | 185 | 50.7 | 41.0

IEG-16 1-5/16—12 1—11 151 | 205 | 526 | 41.0

IEG-10-16 7/8—14 1—11 127 | 205 | 495 | 410

IEG-12-16 1-1/16—12 1—11 151 | 205 | 520 | 410

IEG-14-16 1-3/16—12 1—11 151 | 205 | 520 | 410

IEG-20-16 1-5/8—12 1—11 151 | 205 | 547 | 500

IEG-20 15/8—12 | 1-1/4—11 | 151 | 205 | 547 | 50.0

IEG-16-20 15/16—12 | 1-1/4—11 | 151 | 205 | 547 | 50.0

IEG-24 17/8—12 | 14/2—11 | 151 | 230 | 57.0 | 550

AVIIHLAVS W §

24



I

AVHIHLAVS W §

25

Ll

PGEX

Ll

SAE MALE O-RING BOSS X NPT FEMALE: IEN-F

PART NO. T1 T2 L1 L H

IEN-02-02F 5/16—24 1/8—27 7.5 24.5 17.0
IEN-02-04F 5/16—24 1/4—18 7.5 29.0 19.0
IEN-03-02F 3/8—24 1/8—27 7.5 24.5 17.0
IEN-03-04F 3/8—24 1/4—18 7.5 29.0 19.0
IEN-04-02F 7/16—20 1/8—27 9.1 24.5 17.0
IEN-04-04F 7/16—20 1/4—18 9.1 30.5 19.0
IEN-04-06F 7/16—20 3/8—18 9.1 30.7 24.0
IEN-05-02F 1/2—20 1/8—27 9.1 26.0 17.0
IEN-06-04F 9/16—18 1/4—18 9.9 31.5 19.0
IEN-08-04F 3/4—16 1/4—18 11.1 32.5 22.0
IEN-08-06F 3/4—16 3/8—18 11.1 34.0 22.0
IEN-08-08F 3/4—16 1/2—14 11.1 40.0 30.0
IEN-08-12F 3/4—16 3/4—14 1.1 40.1 36.0
IEN-10-08F 7/8—14 1/2—14 12.7 41.5 30.0
IEN-10-06F 7/8—14 3/8—18 12.7 35.5 27.0
IEN-10-12F 7/8—14 3/4—14 12.7 41.0 36.0
IEN-12-08F 1-1/16—12 1/2—14 15.1 42.0 32.0
IEN-12-12F 1-1/16—12 3/4—14 15.1 45.5 36.0
IEN-12-16F 1-1/16—12 1—11.5 15.1 50.5 41.0
IEN-16-12F 1-5/16—12 3/4—14 15.1 43.0 38.0
IEN-16-16F 1-5/16—12 1—11.5 15.1 51.5 41.0
IEN-20-16F 1-5/8—12 1—11.5 15.1 40.0 50.0
IEN-20-20F 1-5/8—12 1-1/4—11.5 15.1 53.5 50.0
IEN-24-16F 1-7/8—12 1—11.5 15.1 34.0 55.0
IEN-24-20F 1-7/8—12 1-1/4—11.5 15.1 48.0 55.0
IEN-24-24F 1-7/8—12 1-1/2—11.5 15.1 53.5 60.0
IEN-32-32F 2-1/2—12 2—11.5 15.1 50.0 70.0

SAE MALE O-RING BOSS HOLLOW HEX PLUG: PGEX

PART NO. T1 L1 L H
PGEX-04 7/16—20 9.1 1.5 5.0
PGEX-05 1/2—20 9.1 1.5 5.0
PGEX-06 9/16—18 9.9 12.2 6.0
PGEX-08 3/4—16 1.1 14.3 8.0
PGEX-10 7/8—14 12.7 16.0 10.0
PGEX-12 1-1/16—12 15.1 19.0 14.0
PGEX-16 1-5/16—12 15.1 19.0 16.0
PGEX-20 1-5/8—12 15.1 19.0 19.0

SAE MALE WITH O-RING BOSS PLUG: PGE

REF. NO. T L1 L H

PGE-04 7/16—20 9.1 17.0 14.0
PGE-05 1/2—20 9.1 17.0 17.0
PGE-06 9/16—18 9.9 18.5 17.0
PGE-08 3/4—16 1.1 205 22.0
PGE-10 7/8—14 12.7 23.6 27.0
PGE-12 1-1/16—12 15.1 27.7 32.0
PGE-14 1-3/16—12 15.1 27.7 36.0
PGE-16 1-5/16—12 15.1 285 38.0
PGE-20 1-5/8—12 15.1 305 50.0
PGE-24 1-7/8—12 15.1 32.3 55.0
PGE-32 2-1/2—12 15.1 36.3 70.0

SAE LOCK NUT: NTE

PART NO. T L H
NTE-04 7/16—20 7.0 17.0
NTE-05 1/2—20 7.0 19.0
NTE-06 9/16—18 7.0 22.0
NTE-08 3/4—16 8.0 24.0
NTE-10 7/8—14 9.0 30.0
NTE-12 1-1/16—12 10.5 36.0
NTE-14 1-3/16—12 10.5 38.0
NTE-16 1-5/16—12 10.5 41.0
NTE-20 1-5/8—12 10.5 50.0
NTE-24 1-7/8—12 10.5 55.0
NTE-32 2-1/2—12 10.5 70.0




Hmm\‘mm

-

A

Il

(08

“LE

I(;R
L1 i o
[
7 = -
e %

LQR
I
| © =

TE/A 4

TQR

ORFS MALE O-RING X ORFS MALE O-RING: IQR
PART NO. T1 T2 L1 L2 L H
IQR-04-04 9/16—18 9/16—18 9.8 9.8 27.5 17.0
IQR-04-06 9/16—18 11/16—16 9.8 11.2 29.7 19.0
IQR-04-08 9/16—18 13/16—16 9.8 12.8 325 | 22.0
IQR-06-06 11/16—16 11/16—16 11.2 11.2 31.1 19.0
IQR-06-08 11/16—16 13/16—16 11.2 12.8 33.8 22.0
IQR-06-10 11/16—16 1—14 11.2 15.5 38.0 27.0
IQR-08-08 13/16—16 13/16—16 12.8 12.8 35.4 22.0
IQR-08-10 13/16—16 1—14 12.8 15.5 | 40.0 27.0
IQR-08-12 13/16—16 | 1-3/16—12 | 12.8 17.0 | 43.0 32.0
IQR-10-10 1—14 1—14 15.5 155 | 425 | 27.0
IQR-10-12 1—14 1-3/16—12 | 155 17.0 | 455 32.0
IQR-12-12 1-3/16—12 | 1-3/16—12 | 17.0 17.0 | 471 32.0
IQR-12-16 1-3/16—12 | 1-7/16—12 | 17.0 17.5 | 45.5 38.0
IQR-12-20 1-3/16—12 | 1-11/16—12 | 17.0 17.5 50.5 | 46.0
IQR-16-16 1-7/16—12 | 1-7/16—12 | 17.5 175 | 493 38.0
IQR-16-20 1-7/16—12 [ 1-11/16—12 | 17.5 17.5 51.3 | 46.0
IQR-16-24 1-7/16—12 2—12 17.5 17.5 53.0 55.0
IQR-20-20 1-11/16—12 | 1-11/16—12 | 17.5 17.5 51.3 | 46.0
IQR-20-24 1-11/16—12 2—12 17.5 17.5 53.0 55.0
IQR-24-24 2—12 2—12 17.5 17.5 53.0 55.0

ORFS MALE O-RING X ORFS MALE O-RING 90°

ELBOW: LQR
PART NO. T T2 L1 L2 H
LQR-04-04 9/16—18 9/16—18 230 | 230 | 14.0
LQR-04-06 9/16—18 1116—16 | 255 | 27.0 | 19.0
LQR-06-06 11/16—16 1116—16 | 275 | 275 | 19.0
LQR-06-08 11/16—16 13/16—16 | 29.0 | 31.0 | 220
LQR-08-08 13/16—16 13/16—16 | 31.0 | 31.0 | 220
LQR-08-12 13/16—16 1-316—12 | 355 | 403 | 30.0
LQR-10-10 1—14 1—14 365 | 365 | 27.0
LQR-12-12 1-316—12 | 1-316—12 | 41.0 | 410 | 30.0
LQR-16-16 1-716—12 | 1-716—12 | 445 | 445 | 36.0
LQR-20-20 1-11/16—12 | 1-1116—12 | 475 | 475 | 41.0
LQR-24-24 2—12 2—12 535 | 535 | 50.0
ORFS MALE O-RING TEE: TQR
PART NO. T1,T2,T3 L1,L2,L3 H
TQR-04 9/16—18 23.0 14.0
TQR-06 11/16—16 27.0 19.0
TQR-08 13/16—16 31.0 22.0
TQR-10 1—14 36.5 27.0
TQR-12 1-3/16—12 40.3 30.0
TQR-16 1-7/16—12 445 36.0
TQR-20 1-11/16—12 475 41.0
TQR-24 2—12 53.5 50.0

AVHIHL SHIO O §

26



ORFS MALE X ORFS MALE BULKHEAD:
IQR-K / IQR-K-N

AVHIHLSHIO O §

27

PART NO. T1,T2 L1 L2 L H H1
- | M IQR-04-04K 9/16—18 9.8 315 | 482 | 220 | 220
IQR-06-06K 11/16—16 112 | 340 | 532 | 270 | 270
IQR-08-08K 13/16—16 128 | 365 | 583 | 30.0 | 300
IQR-10-10K 1—14 155 | 406 | 66.6 | 36.0 | 36.0
) i IQR-12-12K 1-3/16—12 170 | 417 | 692 | 380 | 380
r@( A4 IQR-16-16K 1-7/16—12 175 | 422 | 702 | 46.0 | 46.0
‘ ‘ Y IQR-20-20K 1-11/16—12 17.5 422 70.2 50.0 50.0
L Le IQR-24-24K 2—12 175 | 422 | 702 | 60.0 | 60.0
L

TQR-K-N(LOCK NUT INCLUDED)

ORFS MALE X ORFS MALE BULKHEAD
90° ELBOW: LQR-K / LQR-K-N

PART NO. T1,T2 L1 L2 H H1
LQR-04-04K 9/16—18 23.0 | 47.0 | 14.0 | 22.0
LQR-06-06K 11/16—16 | 26.5 | 52.0 | 19.0 | 27.0
N LQR-08-08K 13/16—16 29.5 | 555 | 19.0 | 30.0
S‘ - LQR-10-10K 1—14 345 | 63.0 | 27.0 | 36.0
! " LQR-12-12K | 1-3/16—12 | 385 | 67.2 | 30.0 | 38.0
].2 LQR-16-16K | 1-7/16—12 | 425 | 71.2 | 36.0 | 46.0
£ @ 12 r LQR-20-20K | 1-11/16—12 | 45.5 | 755 | 41.0 | 50.0
LQR-K LQR-K (LOCK NUT INCLUDED) LQR-24-24K 2—12 495 | 79.5 | 48.0 | 60.0
ORFS MALE X JIC MALE 74° CONE: IRJ
PART NO. T T2 L1 L2 L H
IRJ-04-04 9/16—18 7/16—20 9.8 14.0 29.5 17.0
IRJ-04-05 9/16—18 1/2—20 9.8 14.0 29.5 17.0
Tl H TP IRJ-06-05 11/16—16 1/2—20 11.2 14.0 31.5 19.0
/ IRJ-04-06 9/16—18 9/16—18 9.8 14.1 30.0 17.0
MMM MI— ~ IRJ-06-06 11/16—16 9/16—18 11.2 14.1 31.0 19.0
i~ T
) ) IRJ-08-08 13/16—16 3/4—16 12.8 16.7 37.5 22.0
4 A IRJ-08-10 13/16—16 7/8—14 12.8 19.3 40.0 24.0
IRJ-10-10 1—14 7/8—14 15.5 19.3 445 27.0
L1 ‘ Lo IRJ-10-12 1—14 1-1/16—12 15.5 21.9 475 30.0
I IRJ-12-12 1-3/16—12 | 1-1/16—12 17.0 21.9 50.0 32.0
L IRJ-12-16 1-3/16—12 | 1-5/16—12 17.0 23.1 51.0 36.0
IRJ IRJ-16-16 1-7/16—12 | 1-5/16—12 17.5 23.1 51.5 38.0
IRJ-16-20 1-7/16—12 1-5/8—12 17.5 24.3 54.5 46.0
IRJ-20-20 1-11/16—12 | 1-5/8—12 17.5 24.3 54.0 46.0
IRJ-20-24 1-11/16—12 | 1-7/8—12 17.5 27.5 60.0 50.0
IRJ-24-24 2—12 1-7/8—12 17.5 27.5 60.0 55.0




N
ORFS MALE O-RING X SAE MALE O-RING BOSS: IRE C
PART NO. T T2 1 2 L H
IRE-04-04 9/16—18 7/16—20 98 | 10 | 287 | 170 O
IRE-04-05 9/16—18 1/2—20 98 | 10 | 287 | 170
IRE-04-06 9/16—18 9/16—18 98 | 120 | 295 | 17.0 z
T1 H T IRE-04-08 9/16—18 3/4—16 98 | 140 | 335 | 220 >y
\ IRE-06-04 11/16—16 7/16—20 M2 | 10 | 310 | 190 7))
AN A IRE-06-05 11/16—16 1/2—20 M2 | 10 | 309 | 190
M\\\m“ \ \ \\\\\“\\\\ IRE-06-06 11/16—16 9/16—18 M2 | 120 | 319 | 190 ]
| ] IRE-06-08 11/16—16 3/4—16 M2 | 140 | 350 | 220 :
IRE-06-10 11/16—16 7/8—14 12 | 160 | 385 | 27.0
27 IRE-08-06 13116—16 9/16—18 12.8 | 120 | 345 | 220 N
~ A%// IRE-08-08 13116—16 3/4—16 12.8 | 140 | 366 | 220 =
‘ ‘ IRE-08-10 13/16—16 7/8—14 12.8 | 160 | 405 | 27.0 >
L1 | L2 IRE-08-12 13116—16 1116—12 | 128 | 185 | 445 | 320
. IRE-10-10 1—14 7/8—14 155 | 160 | 431 | 27.0 U
IRE-10-08 1—14 3/4—16 155 | 140 | 410 | 27.0
IRE IRE-10-12 1—14 1116—12 | 155 | 185 | 47.0 | 320
IRE-12-10 1-316—12 7/8—14 170 | 160 | 460 | 320
IRE-12-12 1316—12 | 1-116—12 | 17.0 | 185 | 486 | 320
IRE-12-16 1-316—12 | 1-5/16—12 | 17.0 | 185 | 49.8 | 280
IRE-16-12 1-716—12 | 1-1/16—12 | 175 | 185 | 500 | 380
IRE-16-16 1-716—12 | 1-65/16—12 | 175 | 185 | 503 | 380
IRE-16-20 1-7/16—12 1-5/8—12 175 | 185 | 520 | 50.0
IRE-20-16 1-11/16—12 | 1-516—12 | 175 | 185 | 520 | 460
IRE-20-20 1-11/16—12 1-5/8—12 175 | 185 | 523 | 500
IRE-24-20 212 1-5/86—12 175 | 185 | 540 | 55.0
IRE-24-24 212 1-7/8—12 175 | 185 | 541 | 550
ORFS MALE O-RING X SAE MALE WITH LOCKING NUT
WASHER O-RING BOSS 90° ELBOW: LRE-NOW
PART NO. T T2 L1 L2 H HA
LRE-04-04-NOW 9/16—18 716—20 | 230 | 303 | 140 | 17.0
LRE-04-06-NOW 9/16—18 916—18 | 230 | 320 | 140 | 19.0
Ll ’ LRE-06-04NOW | 11/16—16 7116—20 | 275 | 335 | 190 | 170
LRE-06-06-NOW | 11/16—16 916—18 | 275 | 345 | 190 | 190
fihnnnnatn 7< LRE-06-08-NOW 11/16—16 3/4—16 275 | 38.0 19.0 | 24.0
‘\\ \m\\\\‘\\[ N LRE-06-10-NOW | 11/16—16 7/8—14 290 | 470 | 220 | 27.0
LRE-08-06-NOW | 13/16—16 916—18 | 310 | 370 | 220 | 190
77 LRE-08-08-NOW | 13/16—16 3/4—16 310 | 405 | 220 | 240
/ % HL LRE-08-10-NOW | 13/16—16 7/8—14 310 | 453 | 220 | 27.0
T1 o LRE-08-12-NOW | 13/16—16 | 1-1/16—12 | 345 | 520 | 27.0 | 320
g.,;v LRE-10-10-NOW 1—14 7/8—14 365 | 450 | 27.0 | 240
= LRE-10-08-NOW 1—14 3/4—16 365 | 508 | 27.0 | 27.0
TE/E = LRE-10-12-NOW 1—14 11/16—12 | 365 | 520 | 27.0 | 320
LRE-12-10-NOW | 1-3/16—12 7/8—14 410 | 528 | 300 | 27.0
LRE-NOW LRE-12-12-NOW | 1-316—12 | 1-116—12 | 41.0 | 540 | 300 | 320
LRE-12-16-NOW | 1-316—12 | 1-5/16—12 | 430 | 555 | 330 | 41.0
LRE-16-12-NOW | 1-7/16—12 | 1-1/16—12 | 445 | 590 | 36.0 | 32.0
LRE-16-16-NOW | 1-7/16—12 | 1-5/16—12 | 445 | 590 | 36.0 | 41.0
LRE-20-20-NOW | 1-11/16—12 | 1-58—12 | 475 | 605 | 41.0 | 500
LRE-20-24-NOW | 1-11/16—12 | 1-7/8—12 | 515 | 665 | 480 | 550
LRE-24-20-NOW 212 15/86—12 | 535 | 6756 | 500 | 50.0
LRE-24-24-NOW 212 17/6—12 | 535 | 675 | 500 | 55.0

28



L1 L3

~
= S
—

il }\
Te

TRRE-NWR

AVHIHLSHIO O §

L1 L3

b

ORFS MALE X ORFS MALE BRANCH X SAE MALE

WITH LOCKING NUT WASHER O-RING RUN TEE:
/¥ TRRE-NWR

PART NO. T1,T2 T3 L1L2]| L3 H H1
TRRE-04-04-04-NWR | 9/16—18 7/16—20 215 | 327 | 140 | 17.0
TRRE-06-06-06-NWR | 11/16—16 9/16—18 25.0 | 36.8 | 19.0 | 22.0
TRRE-08-08-08-NWR | 13/16—16 3/4—16 28.0 | 40.6 | 19.0 | 24.0
TRRE-10-10-10-NWR 1—14 7/8—14 33.3 | 50.0 | 27.0 | 27.0
TRRE-12-12-12-NWR | 1-3/16—12 | 1-1/16—12 | 37.3 | 55.1 [ 30.0 | 32.0
TRRE-16-16-16-NWR | 1-7/16—12 | 1-5/16—12 | 41.7 | 59.7 | 36.0 | 41.0
TRRE-20-20-20-NWR | 1-11/16—12 | 1-5/8—12 | 44.7 | 62.2 | 41.0 | 50.0
TRRE-24-24-24-NWR 2—12 1-7/8—12 | 48.8 | 65.8 | 48.0 | 55.0

ORFS MALE X SAE MALE WITH LOCKING NUT
WASHER O-RING BRANCH X ORFS MALE RUN TEE:

/" TRER-NWR

il o

29

PART NO. T1,T3 T2 L1,3] L2 H [ H1
TRER-04-04-04-NWR | 9/16—18 | 7/16—20 | 215 [ 32.7 | 140 | 170
TRER-06-06-06-NWR | 11/16—16 | 9/16—18 | 25.0 | 36.8 | 19.0 | 22.0
TRER-08-08-08-NWR | 13/16—16 | 3/4—16 | 28.0 | 40.6 | 19.0 | 24.0
TRER-10-10-10-NWR | 1—14 7/8—14 | 333 [ 50.0 | 27.0 | 27.0
TRER-12-12-12-NWR | 1-3/16—12 | 1-1/16—12 | 37.3 | 55.1 | 30.0 | 32.0
TRER-16-16-16-NWR | 1-7/16—12 | 1-5/16—12 | 41.7 | 59.7 | 36.0 | 41.0
TRER-20-20-20-NWR | 1-11/16—12 | 1-5/8—12 | 447 | 62.2 | 41.0 | 50.0
TRER-24-24-24-NWR | 2—12 1-7/8—12 | 488 | 65.8 | 48.0 | 55.0
ORFS MALE O-RING X NPT MALE: IRN

PART NO. T T2 L1 L2 L H
IRN-04-02 9/16—18 1/8—27 98 | 105 | 265 | 17.0
IRN-04-04 9/16—18 1/4—18 98 | 150 | 305 | 17.0
IRN-04-06 9/16—18 3/8—18 98 | 160 | 305 | 19.0
IRN-06-04 11/16—16 1/4—18 112 | 150 | 320 | 19.0
IRN-06-06 11/16—16 3/8—18 112 | 160 | 335 | 19.0
IRN-06-08 11/16—16 1/2—14 112 | 195 | 390 | 240
IRN-08-04 13/16—16 1/4—18 128 | 150 | 360 | 220
IRN-08-06 13/16—16 3/8—18 128 | 16.0 | 365 | 220
IRN-08-08 13/16—16 1/2—14 128 | 195 | 400 | 240
IRN-08-12 13/16—16 3/4—14 128 | 195 | 425 | 300
IRN-10-08 1—14 1/2—14 155 | 195 | 450 | 27.0
IRN-10-12 1—14 3/4—14 155 | 195 | 450 | 30.0
IRN-12-08 | 1-3/16—12 1/2—14 17.0 | 195 | 465 | 320
IRN-12-12 | 1-3/16—12 | 3/4—14 170 | 195 | 470 | 320
IRN-12-16 | 1-3/16—12 1—15 170 | 255 | 535 | 36.0
IRN-16-12 | 1-716—12 | 3/4—14 175 | 195 | 480 | 380
IRN-16-16 | 1-7/16—12 1—11.5 175 | 2565 | 535 | 38.0
IRN-16-20 | 1-7/16—12 | 1-1/4—115 | 175 | 265 | 57.0 | 46.0
IRN-20-16 | 1-11/16—12 | 1—115 175 | 255 | 560 | 46.0
IRN-20-20 | 1-11/16—12 | 1-1/4—115 | 175 | 265 | 565 | 46.0
IRN-20-24 | 1-11/16—12 | 1-1/2—115 | 175 | 275 | 60.0 | 50.0
IRN-24-24 2—12 1-12—115 | 175 | 275 | 595 | 550




ORFS MALE O-RING X NPT MALE 90° ELBOW: LRN

A
)
A=

LRN

— Jﬂﬂﬂﬂﬁg
L \ﬁ

PART NO. 1 T2 L1 L2 H

LRN-04-02 9/16—18 1/8—27 23.0 24.0 14.0
LRN-04-04 9/16—18 1/4—18 23.0 25.5 14.0
LRN-06-04 11/16—16 1/4—18 27.0 28.5 19.0
LRN-06-06 11/16—16 3/8—18 27.5 31.0 19.0
LRN-06-08 11/16—16 1/2—14 29.0 36.7 22.0
LRN-08-06 13/16—16 3/8—18 31.0 33.5 22.0
LRN-08-08 13/16—16 1/2—14 31.0 37.3 22.0
LRN-08-12 13/16—16 3/4—14 34.5 44.0 27.0
LRN-10-08 1—14 1/2—14 36.5 40.0 27.0
LRN-10-12 1—14 3/4—14 36.5 44.0 27.0
LRN-12-08 1-3/16—12 1/2—14 40.3 41.5 30.0
LRN-12-12 1-3/16—12 3/4—14 41.0 45.5 30.0
LRN-12-16 1-3/16—12 1—11.5 43.0 50.0 33.0
LRN-16-12 1-7/16—12 3/4—14 44.5 49.0 36.0
LRN-16-16 1-7/16—12 1—11.5 44.5 51.5 36.0
LRN-20-16 1-11/16—12 1—11.5 47.5 54.5 41.0
LRN-20-20 1-11/16—12 1-1/4—11.5 47.5 54.5 41.0
LRN-24-24 2—12 1-1/2—11.5 53.5 61.0 50.0

ORFS MALE X BSP MALE BONDED SEAL TYPE: IRG

REF. NO. T1 T2 L1 L2 L H

IRG-04-02 9/16—18 1/8—28 10.0 9.5 26.0 17.0
IRG-04-04 9/16—18 1/4—19 10.0 10.0 30.0 19.0
IRG-04-06 9/16—18 3/8—19 10.0 11.5 35.0 22.0
IRG-06-04 11/16—16 1/4—19 11.2 10.0 30.0 19.0
IRG-06-06 11/16—16 3/8—19 11.2 11.5 35.0 22.0
IRG-06-08 11/16—16 1/2—14 11.2 14.0 42.0 27.0
IRG-08-06 13/16—16 3/8—19 13.0 11.5 35.0 22.0
IRG-08-08 13/16—16 1/2—14 13.0 14.0 42.0 27.0
IRG-08-12 13/16—16 3/4—14 13.0 15.5 48.0 32.0
IRG-10-08 1—14 1/2—14 15.5 14.0 42.0 27.0
IRG-10-12 1—14 3/4—14 15.5 15.5 48.0 32.0
IRG-12-08 1-3/16—12 1/2—14 17.0 14.0 42.0 32.0
IRG-12-12 1-3/16—12 3/4—14 17.0 15.5 48.0 32.0
IRG-12-16 1-3/16—12 1—11 17.0 18.0 54.0 41.0
IRG-16-12 1-7/16—12 3/4—14 17.5 15.5 48.0 38.0
IRG-16-16 1-7/16—12 1—11 17.5 18.0 54.0 41.0
IRG-20-16 1-11/16—12 1—11 17.5 18.0 54.0 46.0
IRG-20-20 1-11/16—12 1-1/4—11 17.5 20.0 59.0 50.0
IRG-24-24 2—12 1-1/2—11 17.5 21.5 63.0 55.0

ORFS MALE X BSP MALE WITH CAPTIVE SEAL: IRP-V

PART NO. 1 T2 L1 L2 L H

IRP-04-04V 9/16—18 1/4—19 10.0 12.0 30.0 19.0
IRP-06-06V 11/16—16 3/8—19 11.2 12.0 31.7 22.0
IRP-08-08V 13/16—16 1/2—14 13.0 14.0 40.0 27.0
IRP-12-12V 1-3/16—12 3/4—14 17.0 16.0 45.0 32.0
IRP-16-16V 1-7/16—12 1—11 17.5 18.0 51.5 41.0
IRP-20-20V | 1-11/16—12 1-1/4—11 17.5 20.0 55.5 50.0
IRP-24-24V 2—12 1-1/2—11 17.5 22.0 57.5 55.0

AVHIHL SHIO O §

30



ORFS MALE O-RING X BSP MALE O-RING BOSS:

N
C IRP-OR
PART NO. T T2 1] L2 L H
y IRP-04-020R 9/116—18 1/8—28 | 100 | 95 | 275 | 17.0
O T1 Te IRP-04-040R 9/16—18 1/4—19 10.0 | 10.0 | 29.0 | 19.0
z \ / IRP-04-060R 9/116—18 3/8—19 | 100 | 115 | 31.0 | 22.0
o~ IRP-06-060R 11/16—16 | 3/8—19 | 11.2 | 115 | 325 | 22.0
“\“m ( IRP-06-040R 11/16—16 | 1/4—19 | 11.2 | 100 | 31.0 | 19.0
0p S IRP-06-080R 1116—16 | 1/2—14 | 1.2 | 14.0 | 36,5 | 27.0
- 7 IRP-08-080R 1316—16 | 1/2—14 | 13.0 | 14.0 | 385 | 27.0
IRP-08-060R 13/16—16 | 3/8—19 | 13.0 | 115 | 343 | 22.0
m % IRP-08-120R 13/16—16 | 3/4—14 | 13.0 | 155 | 42.0 | 32.0
z B ‘ ‘ B IRP-10-080R 1—14 1/2—14 | 155 | 14.0 | 410 | 27.0
m | IRP-10-120R 1—14 3/4—14 | 155 | 155 | 44.0 | 32.0
L IRP-12-080R | 1-3116—12 | 1/2—14 | 17.0 | 140 | 44.0 | 32.0
> IRP-12-120R | 1-3/16—12 | 3/4—14 | 17.0 | 155 | 456 | 32.0
c TRP-OR IRP-12-160R 1-3/16—12 1—11 17.0 | 180 | 480 | 410
IRP-16-120R 1-7116—12 | 3/4—14 | 175 | 155 | 48.0 | 38.0
IRP-16-160R | 1-7/16—12 1—1 175 | 180 | 495 | 41.0
IRP-20-200R | 1-11/16—12 | 1-1/4—11 | 175 | 20.0 | 555 | 50.0
IRP-20-160R | 1-11/16—12 |  1—11 175 | 180 | 515 | 46.0
IRP-24-240R 212 1172—11 | 175 | 215 | 57.0 | 55.0
L1
TI~ ORFS MALE X BSP MALE WITH LOCKING NUT
N AW WASHER O-RING 45° ELBOW: FRP-NWR

\ \ Hﬂ = < PART NO. T T2 1] L2 | H | H

A H1 FRP-04-04NWR | 9/16—18 14—9 | 165 | 28.0 | 14.0 | 19.0

FRP-06-06-NWR | 11/16—16 | 3/8—19 | 195 | 30.0 | 16.0 | 22.0

T2 FRP-08-08-NWR | 13/16—16 | 1/2—14 | 205 | 36.0 | 22.0 | 27.0

FRP-12-122NWR | 1-3/16—12 | 3/4—14 | 25.9 | 42.0 | 27.0 | 320

FRP-16-16-NWR | 1-7/16—12 1—1 300 | 440 | 330 | 410

FRP-20-20-NWR | 1-11/16—12 | 1-1/4—11 | 32.0 | 475 | 41.0 | 50.0

FRP-24-24-NWR 2—12 1-12—11 | 37.0 | 515 | 48.0 | 55.0

FRP-NWR
ORFS MALE O-RING X BSP MALE WITH LOCKING
NUT WASHER O-RING BOSS 90° ELBOW: LRG-NWR

B PART NO. T T2 1] L2 H | Hi
TI— H LRG-04-02-NWR | 9/16—18 1/8—28 | 23.0 | 29.0 | 14.0 | 14.0
LRG-04-04-NWR | 9/16—18 1/4—19 | 23.0 | 313 | 14.0 | 19.0
7< LRG-04-06-NWR | 9/16—18 3/8—19 | 240 | 35.8 | 16.0 | 22.0
A LRG-06-04-NWR | 11/16—16 | 1/4—19 | 27.0 | 335 | 19.0 | 19.0
LRG-06-06-NWR | 11/16—16 | 3/8—19 | 27.0 | 36.8 | 19.0 | 22.0
i LRG-06-08-NWR | 11/16—16 | 1/2—14 | 29.0 | 432 | 22.0 | 27.0
/ 2 HI LRG-08-06-NWR | 13/16—16 | 3/8—19 | 31.0 | 39.5 | 22.0 | 22.0
Tl N LRG-08-08-NWR | 13/16—16 | 1/2—14 | 31.0 | 432 | 22.0 | 27.0
~ LRG-10-08-NWR 1—14 1/2—14 | 365 | 465 | 27.0 | 27.0
== LRG-10-12-NWR 1—14 3/4—14 | 365 | 493 | 27.0 | 320
A = LRG-12-08-NWR | 1-3/16—12 | 1/2—14 | 40.3 | 47.5 | 30.0 | 27.0
Te = LRG-12-12-NWR | 1-3/16—12 | 3/4—14 | 403 | 52.0 | 30.0 | 32.0
LRG-12-16-NWR | 1-3/16—12 1—11 425 | 53.0 | 330 | 41.0
LRG-NWR LRG-16-12-NWR | 1-716—12 | 3/4—14 | 445 | 56.0 | 36.0 | 32.0
LRG-16-16-NWR | 1-7/16—12 1—11 445 | 56.0 | 36.0 | 41.0
LRG-20-16-NWR | 1-11/16—12 | 1—11 475 | 60.0 | 410 | 41.0
LRG-20-20-NWR | 1-11/16—12 | 1-1/4—11 | 475 | 60.0 | 41.0 | 50.0
LRG-24-24-NWR 2—12 11/2—11 | 515 | 655 | 50.0 | 55.0

31




L
L1
f i ORFS MALE X BSP MALE FEMALE: IRP-F
PART NO. T1 T2 L1 L H
— IRP-04-04F 9/16—18 1/4—19 9.8 308 19.0
B IRP-06-06F 11/16—16 3/8—19 1.2 | 352 | 220
| T IRP-08-08F 13/16—16 1/2—14 128 | 418 | 27.0
v IRP-12-12F 1-3/16—12 3/4—14 170 | 465 [ 36.0
%) IRP-16-16F 1-7/16—12 1—11 175 52.5 41.0
IRP-20-20F 1-11/16—12 1-1/4—11 175 | 495 | 50.0
T1 e IRP-24-24F 2—12 1-1/2—11 175 | 525 | 550
IRP-F
ORFS MALE O-RING X METRIC MALE O-RING BOSS:
T TP IRW-OR
\ / PART NO. T1 T2 L1 L2 L H
= IRW-04-100R 9/16—18 M10X1 98 | 95 | 280 [ 17.0
IRW-04-120R 9/16—18 M12X1.5 98 | 11.0 | 295 | 17.0
- IRW-06-120R | 11/16—16 M12x1.5 | 11.2 [ 11.0 [ 310 [ 190
m‘m‘\‘m\ \\\\ \\\ IRW-06-140R | 11/16—16 M14x1.5 | 11.2 [ 11.0 [ 31.0 [ 19.0
WAL IRW-06-160R | 11/16—16 M16x1.5 | 11.2 [ 125 | 335 | 220
X IRW-08-160R | 13/16—16 M16X1.5 | 12.8 | 125 | 36.0 | 22.0
H IRW-08-180R | 13/16—16 M18x1.5 | 12.8 | 140 [ 365 | 24.0
L1 L2 IRW-08-220R | 13/16—16 M22x15 | 12.8 | 15.0 | 375 | 27.0
5 IRW-10-220R 1—14 M22x1.5 | 155 [ 15.0 | 405 | 27.0
IRW-12-220R | 1-3/16—12 | M22X1.5 | 17.0 | 150 | 455 | 32.0
TRW=OR IRW-12-270R | 1-3/16—12 M27X2 17.0 | 185 | 440 | 320
IRW-16-330R | 1-7/16—12 M33X2 175 | 185 | 51.0 | 41.0
IRW-20-420R | 1-11/16—12 M42X2 175 | 19.0 | 545 | 50.0
IRW-24-480R 2—12 M48X2 175 | 215 | 57.0 | 55.0
L ORFS MALE O-RING X METRIC MALE WITH LOCKING
| : NUT WASHER O-RING BOSS 90° ELBOW: LRW-NWR
tnndo PART NO. T1 T2 L1 L2 H H1
‘\\\ \\[ ) LRW-04-12-NWR | 9/16—18 M12x1.5 | 23.0 [ 32.0 | 14.0 | 17.0
LRW-06-14-NWR | 11/16—16 [ M14x15 | 27.0 [ 355 | 19.0 [ 19.0
LRW-06-16-NWR | 11/16—16 [ M16x1.5 | 27.0 [ 38.0 | 19.0 [ 22.0

H1

LRW-08-16-NWR 13/16—16 M16X1.5 31.0 40.5 22.0 22.0

Le

LRW-10-22-NWR 1—14 M22X1.5 36.5 48.0 27.0 27.0

I

LRW-12-27-NWR 1-3/16—12 M27X2 40.5 50.0 30.0 32.0

g %

Tl/ i
LRW-08-18-NWR | 13/16—16 | M18X15 | 31.0 | 430 | 220 | 240
LRW-08-22-NWR | 13/16—16 | M22x15 | 310 | 445 | 220 | 27.0

Te

LRW-12-33-NWR 1-3/16—12 M33X2 42.5 56.0 33.0 41.0

LRW-NWR LRW-16-33-NWR | 1-7/16—12 M33X2 445 | 585 | 36.0 | 41.0

AVHIHL SHIO O §

32



AVHIHLSHIO0 O §

33

N

Ll

[

T1

M |
ezl
- L L2 Nz

H1

|

L2

LQR-S

ORFS MALE O-RING X ORFS SWIVEL FEMALE:

IQR-S

PART NO. T1 T2 L1 L2 L H H1

IQR-04-04S | 9/16—18 9/16—18 9.8 8.0 | 33.0 [ 17.0 | 19.0
IQR-04-06S | 9/16—18 11/16—16 | 9.8 95 | 345 | 17.0 | 22.0
IQR-04-08S | 9/16—18 [ 13/16—16 [ 9.8 11.0 | 36.5 | 19.0 | 27.0
IQR-06-04S | 11/16—16 | 9/16—18 112 | 80 | 3565 | 19.0 | 19.0
IQR-06-06S | 11/16—16 | 11/16—16 | 11.2 | 9.5 | 385 [ 19.0 | 22.0
IQR-06-08S | 11/16—16 | 13/16—16 [ 11.2 [ 11.0 | 37.7 [ 19.0 | 27.0
IQR-06-10S | 11/16—16 1—14 11.2 | 13.5 | 43.7 | 24.0 | 30.0
IQR-08-06S | 13/16—16 | 11/16—16 | 13.0 | 9.5 | 41.0 | 22.0 | 22.0
IQR-08-08S | 13/16—16 | 13/16—16 | 13.0 | 11.0 | 43.0 [ 22.0 | 27.0
IQR-08-10S | 13/16—16 1—14 13.0 | 13.5 [ 45.5 | 24.0 | 30.0
IQR-08-12S | 13/16—16 [ 1-3/16—12 [ 13.0 [ 14.5 | 49.0 [ 30.0 | 36.0
IQR-10-08S 1—14 13/16—16 [ 155 [ 11.0 [ 47.5 | 27.0 | 27.0
IQR-10-10S 1—14 1—14 155 [ 13.5 [ 51.5 | 27.0 | 30.0
IQR-10-12S 1—14 1-3/16—12 | 155 | 14.5 | 51.5 | 30.0 | 36.0
IQR-10-16S 1—14 1-7/16—12 | 15.5 | 15.0 | 56.0 | 36.0 | 41.0
IQR-12-08S | 1-3/16—12 | 13/16—16 | 17.0 | 11.0 | 50.5 [ 32.0 | 27.0
IQR-12-10S | 1-3/16—12 1—14 17.0 | 13.5 [ 54.5 | 32.0 | 30.0
IQR-12-12S | 1-3/16—12 | 1-3/16—12 [ 17.0 [ 14.5 | 56.0 [ 32.0 | 36.0
IQR-12-16S | 1-3/16—12 [ 1-7/16—12 [ 17.0 [ 15.0 | 58.0 [ 36.0 | 41.0
IQR-16-12S | 1-7/16—12 | 1-3/16—12 | 17.5 | 14.5 | 58.0 | 38.0 | 36.0
IQR-16-16S | 1-7/16—12 | 1-7/16—12 | 17.5 | 15.0 | 60.0 [ 38.0 | 41.0
IQR-16-20S | 1-7/16—12 [1-11/16—12| 17.5 [ 14.8 | 62.0 [ 41.0 | 50.0
IQR-20-16S | 1-11/16—12 1-7/16—12 [ 17.5 [ 15.0 | 58.5 [ 46.0 | 41.0
IQR-20-20S |[1-11/16—12[1-11/16—12| 17.5 | 14.8 | 62.0 | 46.0 | 50.0
IQR-20-24S [1-11/16—12 2—12 17.5 | 15.0 [ 65.5 | 50.0 | 60.0
IQR-24-20S 2—12 1-11/16—12| 17.5 | 14.8 | 64.0 | 55.0 | 50.0
IQR-24-24S 2—12 2—12 17.5 | 15.0 [ 64.0 | 55.0 | 60.0

ORFS MALE O-RING X ORFS SWIVEL FEMALE 45°

ELBOW: FQR-S

PART NO. T1 T2 L1 L2 H H1
FQR-04-04S 9/16—18 9/16—18 18.3 8.0 14.0 19.0
FQR-06-06S 11/16—16 11/16—16 20.5 9.5 19.0 | 22.0
FQR-08-08S 13/16—16 13/16—16 24.0 11.0 220 | 270
FQR-10-10S 1—14 1—14 28.0 13.5 27.0 30.0
FQR-12-12S 1-3/16—12 | 1-3/16—12 | 30.7 14.5 30.0 36.0
FQR-16-16S 1-7/16—12 | 1-7/16—12 | 33.0 15.0 36.0 | 41.0
FQR-20-20S | 1-11/16—12 | 1-11/16—12 | 35.5 14.8 | 41.0 50.0

ORFS MALE O-RING X ORFS SWIVEL FEMALE 90°

ELBOW: LQR-S
PART NO. T1 T2 L1 L2 H H1
LQR-04-04S 9/16—18 9/16—18 23.0 8.0 14.0 19.0
LQR-04-06S 9/16—18 11/16—16 23.0 9.5 14.0 22.0
LQR-06-04S 11/16—16 9/16—18 27.5 8.0 19.0 19.0
LQR-06-06S 11/16—16 11/16—16 27.5 9.5 19.0 | 22.0
LQR-06-08S 11/16—16 13/16—16 27.0 11.0 19.0 | 27.0
LQR-08-06S 13/16—16 11/16—16 31.0 9.5 22.0 22.0
LQR-08-08S 13/16—16 13/16—16 31.0 11.0 220 | 270
LQR-10-08S 1—14 13/16—16 36.5 11.0 270 | 270
LQR-10-10S 1—14 1—14 36.5 13.5 27.0 30.0
LQR-10-12S 1—14 1-3/16—12 | 36.5 14.5 27.0 36.0
LQR-12-12S 1-3/16—12 | 1-3/16—12 | 41.0 14.5 30.0 36.0
LQR-12-16S 1-3/16—12 | 1-7/16—12 | 42.5 15.0 33.0 | 41.0
LQR-16-12S 1-7/16—12 | 1-3/16—12 | 445 14.5 36.0 36.0
LQR-16-16S 1-7/16—12 | 1-7/16—12 | 44.5 15.0 36.0 | 41.0
LQR-20-20S [ 1-11/16—12 [ 1-11/16—12 | 44.5 14.8 | 41.0 50.0
LQR-24-24S 2—12 2—12 53.5 15.0 50.0 60.0




L1 L3
- _ H = | H1
T1

T3

bat

“ =

T2
TQR-S

L1 13

T1 H T3
[4
ez | e
H1

TQR-S

Tl\ Le L 1 /TE
=

LRE-S-NOW

ORFS MALE X ORFS MALE BRANCH X ORFS SWIVEL
FEMALE RUN TEE: TQR-S

PART NO. T1,T2,T3 L1,L2 L3 H1
TQR-04-04-04S 9/16—18 21.5 8.0 14.0 19.0
TQR-06-06-06S 11/16—16 25.0 9.5 19.0 22.0
TQR-08-08-08S 13/16—16 28.0 11.0 19.0 27.0
TQR-10-10-10S 1—14 33.3 13.5 27.0 30.0
TQR-12-12-128 1-3/16—12 37.3 14.5 30.0 36.0
TQR-16-16-16S 1-7/16—12 41.7 15.0 36.0 41.0
TQR-20-20-20S 1-11/16—12 44.7 14.8 41.0 50.0
TQR-24-24-24S 2—12 48.8 15.0 48.0 60.0

ORFS MALE X ORFS SWIVEL FEMALE BRANCH X ORFS
MALE RUN TEE: TQR-S

PART NO. T1,T2,T3 L1,L3 L2 H1
TQR-04-04S-04 9/16—18 21.5 8.0 14.0 19.0
TQR-06-06S-06 11/16—16 25.0 9.5 19.0 22.0
TQR-08-08S-08 13/16—16 28.0 11.0 19.0 27.0
TQR-10-10S-10 1—14 33.3 13.5 27.0 30.0
TQR-12-12S-12 1-3/16—12 37.3 14.5 30.0 36.0
TQR-16-16S-16 1-7/16—12 41.7 15.0 36.0 41.0
TQR-20-20S-20 1-11/16—12 44.7 14.8 41.0 50.0
TQR-24-24S-24 2—12 48.8 15.0 48.0 60.0

ORFS SWIVEL FEMALE X SAE MALE O-RING BOSS:

IRE-S
PART NO. T1 T2 L1 L2 L H H1
IRE-04S-04 9/16—18 7/16—20 11.0 8.0 32.5 17.0 19.0
IRE-06S-04 11/16—16 7/16—20 11.0 9.5 32.5 17.0 | 22.0
IRE-04S-06 9/16—18 9/16—18 12.0 8.0 33.5 17.0 19.0
IRE-06S-06 11/16—16 9/16—18 12.0 9.5 36.5 19.0 | 22.0
IRE-08S-06 13/16—16 9/16—18 12.0 11.0 38.5 19.0 | 27.0
IRE-06S-08 11/16—16 3/4—16 14.0 9.5 40.5 | 22.0 | 22.0
IRE-08S-08 13/16—16 3/4—16 14.0 11.0 | 425 [ 22.0 [ 27.0
IRE-08S-10 13/16—16 7/8—14 16.0 11.0 | 465 [ 27.0 [ 27.0
IRE-10S-10 1—14 7/8—14 16.0 13.5 | 50.5 | 27.0 | 30.0
IRE-10S-12 1—14 1-1/16—12 | 18.5 13.5 | 54.0 | 32.0 | 30.0
IRE-12S-12 1-3/16—12 | 1-1/16—12 | 18.5 145 | 56.0 | 32.0 | 36.0
IRE-12S-16 1-3/16—12 | 1-5/16—12 | 18.5 145 | 555 | 38.0 | 36.0
IRE-16S-16 1-7/16—12 | 1-5/16—12 | 18.5 15.0 | 575 | 38.0 | 41.0
IRE-16S-20 1-7/16—12 1-5/8—12 18.5 150 | 61.5 | 50.0 | 41.0
IRE-20S-20 1-11/16—12 | 1-5/8—12 18.5 14.8 | 65.0 | 50.0 | 50.0
IRE-24S-24 2—12 1-7/8—12 18.5 15.0 | 65.0 | 55.0 | 60.0

ORFS SWIVEL FEMALE X SAE MALE WITH LOCKING
NUT WASHER O-RING BOSS 90° ELBOW: LRE-S-NOW

PART NO. T1 T2 L1 L2 H H1 H2
LRE-04S-04-NOW | 9/16—18 7/16—20 8.0 30.5 | 140 | 19.0 | 19.0
LRE-06S-06-NOW | 11/16—16 9/16—18 9.5 345 | 16.0 | 22.0 | 22.0
LRE-08S-08-NOW | 13/16—16 3/4—16 11.0 | 37.5 | 19.0 | 27.0 | 27.0
LRE-10S-10-NOW 1—14 7/8—14 13.5 | 455 | 22.0 | 30.0 | 30.0
LRE-12S-12-NOW | 1-3/16—12 | 1-1/16—12 | 14.5 | 52.0 | 27.0 | 36.0 | 36.0
LRE-16S-16-NOW | 1-7/16—12 | 1-5/16—12 [ 15.0 | 56.0 | 33.0 | 41.0 | 41.0
LRE-20S-20-NOW | 1-11/16—12 | 1-5/8—12 | 14.8 | 59.0 | 41.0 [ 50.0 [ 50.0
LRE-24S-24-NOW 2—12 1-7/8—12 | 15.0 | 63.0 | 48.0 | 55.0 | 60.0

AVHIHLSHIO O §

34



AVHIHLSHIO O §

T1

.
|

AN
h |
AL

TRPR-NWR

N
L jﬁ
%

PGR

—

35

/TE

ORFS SWIVEL FEMALE X BSP MALE BONDED SEAL

TYPE: IRG-S
PART NO. T1 L1 [ L2 L H [ H1
IRG-045-04 | 9/16—18 | 1/4—19 | 12.0 | 80 | 33.0 [ 19.0 [ 19.0
IRG-065-06 | 11/16—16 | 3/8—19 | 135 | 95 | 385 | 22.0 [ 220
IRG-085-08 | 13/16—16 | 1/2—14 | 16.0 | 11.0 | 43.0 [ 27.0 [ 270
IRG-125-12 | 1-3/16—12 | 3/4—14 | 185 | 145 | 56.0 | 32.0 | 36.0
IRG-165-16 | 1-716—12 | 1—11 [ 205 | 15.0 | 60.0 [ 41.0 [ 410
IRG-20S-20 | 1-11/16—12 | 1-1/4—11 | 20.5 | 14.8 | 62.0 [ 50.0 [ 50.0
IRG-245-24 2—12 1-12—11 | 23.0 | 15.0 | 64.0 | 550 | 60.0

ORFS MALE X BSP MALE WITH LOCKING NUT

WASHER O-RING 90° ELBOW: LRP-NWR

PART NO. T1 T2 L1 L2 H H1

LRP-04-04-NWR | 9/16—18 1/4—19 | 23.0 | 313 [ 140 [ 19.0
LRP-06-06-NWR | 11/16—16 | 3/8—19 [ 275 | 358 | 16.0 | 22.0
LRP-08-08-NWR | 13/16—16 | 1/2—14 [ 310 | 43.2 | 220 [ 27.0
LRP-12-12-NWR | 1-3/16—12 | 3/4—14 | 410 | 493 | 27.0 [ 320
LRP-16-16-NWR | 1-7/16—12 1—11 445 | 53.0 [ 33.0 [ 410
LRP-20-20-NWR | 1-11/16—12 | 1-1/4—11_| 47.5 | 59.0 | 41.0 | 50.0
LRP-24-24-NWR 2—12 1-12—11 | 535 | 63.0 | 48.0 | 55.0

ORFS MALE X BSP MALE WITH LOCKING NUT
WASHER O-RING BRANCH X ORFS MALE RUN TEE:

TRPR-NWR
PART NO. T1,73 T2 L] L2 H [ H
TRPR-04-04-04-NWR | 9/16—18 | 1/4—19 [ 215 | 31.8 [ 14.0 | 19.0
TRPR-06-06-06-NWR | 11/16—16 | 3/8—19 | 25.0 | 36.8 | 16.0 | 22.0
TRPR-08-08-08-NWR | 13/16—16 | 1/2—14 | 28.0 | 432 | 22.0 | 27.0
TRPR-12-12-12-NWR | 1-3116—12 | 314—14 | 37.3 | 49.3 [ 27.0 | 320
TRPR-16-16-16-NWR [ 1-716—12 | 1—11 [ 41.7 | 53.0 [ 33.0 | 41.0
ORFS MALE O-RING PLUG: PGR
PART NO. T L1 L H
PGR-04 9/16—18 9.8 16.8 17.0
PGR-06 11/16—16 1.2 19.2 19.0
PGR-08 13/16—16 12.8 2138 22.0
PGR-10 1—14 15.5 25.9 27.0
PGR-12 1-3/16—12 17.0 274 32.0
PGR-16 1-7/16—12 17.5 27.9 38.0
PGR-20 1-1116—12 17.5 27.9 46.0
PGR-24 2—12 17.5 27.9 55.0




CAR-S

-

—

0

ORFS SWIVEL FEMALE CAP: CAR-S

T XZ 5

REF. NO. T L1 L2 H
CAR-04S 9/16—18 8.0 10.5 19.0
CAR-06S 11/16—16 9.5 13.0 22.0
CAR-08S 13/16—16 11.0 14.0 27.0
CAR-10S 1—14 13.5 16.0 30.0
CAR-12S 1-3/16—12 14.5 15.0 36.0
CAR-16S 1-7/16—12 15.0 18.0 41.0
CAR-20S 1-11/16—12 14.8 19.0 50.0
CAR-24S 2—12 15.0 21.0 60.0

ORFS LOCK NUT: NTR

PART NO. T L H
NTR-04 9/16—18 7.0 22.0
NTR-06 11/16—16 8.0 27.0
NTR-08 13/16—16 9.0 30.0
NTR-10 1—14 10.4 36.0
NTR-12 1-3/16—12 10.4 38.0
NTR-16 1-7/16—12 10.4 46.0
NTR-20 1-11/16—12 10.4 50.0
NTR-24 2—12 10.4 60.0

ORFS MALE O-RING X SAE FLANGE LIGHT DUTY:

IRFA
PART NO. T FLANGE L1 L2 D L
IRFA-12 1-3/16—12 3/4 17.0 6.7 38.1 45.7
IRFA-16 1-7/16—12 1 17.5 8.0 44.4 47.8
IRFA-20 1-11/16—12 1-1/4 17.5 8.0 50.8 47.0
IRFA-24 2—12 1-1/2 17.5 8.0 60.3 49.5

ORFS MALE O-RING X SAE FLANGE HEAVY DUTY:

N
NTR
L1 Le
L
IRFA
L1 Le
L
IRFH

IRFH
PART NO. T T2 L1 L2 D L
IRFH-12 1-3/16—12 3/4 17.0 8.8 41.3 51.8
IRFH-16 1-7/16—12 1 17.5 9.5 47.6 57.2
IRFH-20 1-11/16—12 1-1/4 17.5 10.3 54.0 62.0
IRFH-24 2—12 1-1/2 17.5 12.6 63.5 66.8

AVHIHL SHIO O §

36



T1 H Te
o o
O | O

L1 Le

AVHdHLIIN ©O §

IQN

%H
. [
O _
N8
= (u
E; 1
LON
L1 L3 .
71— N Yalk

Le
/6\0\
\_1/
DY

Z\6_0"/’

TQN
37

NPT MALE X NPT MALE: IQN

PART NO. T1 T2 L1 L2 L H
IQN-02 1/8—27 1/8—27 10.5 10.5 27.0 12.0
IQN-02-04 1/8—27 1/4—18 10.5 15.0 31.0 17.0
IQN-02-06 1/8—27 3/8—18 10.5 16.0 32.0 19.0
IQN-04 1/4—18 1/4—18 15.0 15.0 35.0 17.0
IQN-04-06 1/4—18 3/8—18 15.0 16.0 37.0 19.0
IQN-04-08 1/4—18 1/2—14 15.0 19.5 41.5 22.0
IQN-06 3/8—18 3/8—18 16.0 16.0 38.0 19.0
IQN-06-08 3/8—18 1/2—14 16.0 19.5 43.5 22.0
IQN-06-12 3/8—18 3/4—14 16.0 19.5 45.5 27.0
IQN-08 1/2—14 1/2—14 19.5 19.5 47.0 22.0
IQN-08-12 1/2—14 3/4—14 19.5 19.5 49.0 27.0
IQN-08-16 1/2—14 1—11.5 19.5 25.5 56.0 36.0
IQN-12 3/4—14 3/4—14 19.5 19.5 49.0 27.0
IQN-12-16 3/4—14 1—11.5 19.5 25.5 55.0 36.0
IQN-12-20 3/4—14 1-1/4—11.5 | 19.5 26.5 59.0 46.0
IQN-16 1—11.5 1—11.5 25.5 25.5 61.0 36.0
IQN-16-20 1—11.5 1-1/4—11.5 | 25.5 26.5 64.0 46.0
IQN-16-24 1—11.5 1-12—11.5 | 25.5 27.5 68.0 50.0
IQN-20 1-1/4—11.5 | 1-1/4—11.5 | 26.5 26.5 65.0 46.0
IQN-20-24 1-1/4—11.5 | 1-1/2—11.5 | 26.5 27.5 69.0 50.0
IQN-24 1-1/2—11.5 | 1-1/2—11.5 | 275 27.5 69.0 50.0
IQN-24-32 1-1/2—11.5 2—11.5 27.5 27.5 72.0 65.0
IQN-32 2—11.5 2—11.5 27.5 27.5 71.0 65.0

NPT MALE X NPT MALE 90° ELBOW: LQN

PART NO. T1 T2 L1 L2 H
LQN-02 1/8—27 1/8—27 21.0 21.0 11.0
LQN-02-04 1/8—27 1/4—18 23.5 25.5 14.0
LQN-04 1/4—18 1/4—18 25.5 25.5 14.0
LQN-04-06 1/4—18 3/8—18 28.0 31.0 19.0
LQN-04-08 1/4—18 1/2—14 30.5 36.5 22.0
LQN-06 3/8—18 3/8—18 31.0 31.0 19.0
LQN-06-08 3/8—18 1/2—14 33.8 37.3 22.0
LQN-08 1/2—14 1/2—14 37.3 37.3 22.0
LQN-08-12 1/2—14 3/4—14 40.0 44.0 27.0
LQN-12 3/4—14 3/4—14 44.0 44.0 27.0
LQN-12-16 3/4—14 1—11.5 46.5 50.0 33.0
LQN-16 1—11.5 1—11.5 50.0 50.0 33.0
LQN-20 1-1/4—11.5 1-1/4—11.5 54.0 54.0 41.0
LQN-24 1-1/2—11.5 1-1/2—11.5 63.0 63.0 48.0
LQN-32 2—11.5 2—11.5 68.0 68.0 63.0

NPT MALE TEE: TQN

PART NO. T1 T2 T3 L1,L2,L3 H
TQN-02-02-02 1/8—27 1/8—27 1/8—27 21.0 11.0
TQN-04-04-04 1/4—18 1/4—18 1/4—18 25.5 14.0
TQN-06-06-06 3/8—18 3/8—18 3/8—18 31.0 19.0
TQN-08-08-08 1/2—14 1/2—14 1/2—14 36.7 22.0
TQN-12-12-12 3/4—14 3/4—14 3/4—14 44.0 27.0
TQN-16-16-16 1—11.5 1—11.5 1—11.5 50.0 33.0
TQN-20-20-20 | 1-1/4—11.5 | 1-1/4—11.5 | 1-1/4—11.5 54.5 41.0
TQN-24-24-24 [ 1-1/2—11.5 | 1-1/2—11.5 | 1-1/2—11.5 59.5 48.0




Tl/

H
/
e
Y
L \T 2
IQN-F-F
L1 |
| ’
:
I
T1 % g
=
Te
LQN-F-F
[ L3

Le

Te

NPT FEMALE X NPT FEMALE: IQN-F-F

PART NO. T1 T2 L H
IQN-02F-02F 1/8—27 1/8—27 24.0 17.0
IQN-02F-04F 1/8—27 1/4—18 27.0 19.0
IQN-02F-06F 1/8—27 3/8—18 30.0 22.0
IQN-04F-04F 1/4—18 1/4—18 29.0 19.0
IQN-04F-06F 1/4—18 3/8—18 31.0 22.0
IQN-04F-08F 1/4—18 1/2—14 35.0 30.0
IQN-06F-06F 3/8—18 3/8—18 29.0 22.0
IQN-06F-08F 3/8—18 1/2—14 38.0 30.0
IQN-06F-12F 3/8—18 3/4—14 40.0 36.0
IQN-08F-08F 1/2—14 1/2—14 38.0 30.0
IQN-08F-12F 1/2—14 3/4—14 43.0 36.0
IQN-12F-12F 3/4—14 3/4—14 39.0 36.0
IQN-12F-16F 3/4—14 1—11.5 45.5 41.0
IQN-16F-16F 1—11.5 1—11.5 48.0 41.0
IQN-20F-20F 1-1/4—11.5 1-1/4—11.5 49.0 50.0
IQN-24F-24F 1-1/2—11.5 1-1/2—11.5 49.0 60.0
IQN-32F-32F 2—11.5 2—11.5 50.0 70.0

NPT FEMALE X NPT FEMALE 90° ELBOW: LQN-F-F

PART NO. T1 T2 L1 L2 H
LQN-02F-02F 1/8—27 1/8—27 20.0 20.0 16.0
LQN-02F-04F 1/8—27 1/4—18 20.0 22.5 19.0
LQN-04F-04F 1/4—18 1/4—18 225 225 19.0
LQN-04F-06F 1/4—18 3/8—18 25.0 26.0 24.0
LQN-06F-06F 3/8—18 3/8—18 26.0 26.0 24.0
LQN-06F-08F 3/8—18 1/2—14 26.0 31.0 27.0
LQN-08F-08F 1/2—14 1/2—14 31.0 31.0 27.0
LQN-08F-12F 1/2—14 3/4—14 34.0 34.0 33.0
LQN-12F-12F 3/4—14 3/4—14 34.0 34.0 33.0
LQN-12F-16F 3/4—14 1—11.5 42.0 42.0 41.0
LQN-16F-16F 1—11.5 1—11.5 42.0 42.0 41.0
LQN-20F-20F 1-1/4—11.5 1-1/4—11.5 48.0 48.0 50.0
LQN-24F-24F 1-1/2—11.5 1-1/2—11.5 53.0 53.0 60.0
LQN-32F-32F 2—11.5 2—11.5 62.0 62.0 70.0

NPT FEMALE TEE: TQN-F-F-F
PART NO. T1,T2,T3 L1 L2 L3 H
TQN-04F-04F-04F 1/4—18 22.5 22.5 22.5 19.0
TQN-06F-06F-06F 3/8—18 26.0 26.0 26.0 24.0
TQN-08F-08F-08F 1/2—14 31.0 31.0 31.0 27.0
TQN-12F-12F-12F 3/4—14 34.0 34.0 34.0 33.0
TQN-16F-16F-16F 1—11-1/2 42.0 42.0 42.0 41.0
TQN-20F-20F-20F 1-1/4—11-1/2 48.0 48.0 48.0 50.0
TQN-24F-24F-24F 1-1/2—11-1/2 53.0 53.0 53.0 60.0
TQN-32F-32F-32F 2—11-1/2 62.0 62.0 62.0 70.0

AVIYHLIIN O §

38



N
D NPT MALE X NPT FEMALE: IQN-F

PART NO. T T2 1 L H
IQN-02-02F 1/8—27 1/8—27 105 | 255 | 17.0
Z IQN-02-04F 1/8—27 1/4—18 105 | 310 | 19.0
] IQN-02-06F 1/86—27 3/8—18 10 | 310 | 240
IQN-04-02F 1/4—18 1/86—27 150 | 220 | 17.0
e o IQN-04-04F 1/4—18 1/4—18 150 | 353 | 19.0
- IQN-04-06F 1/4—18 3/8—18 150 | 366 | 240
IQN-04-08F 1/4—18 12—14 150 | 430 | 300
: \ IQN-06-02F 3/8—18 1/8—27 160 | 220 | 19.0
w IQN-06-04F 3/8—18 1/4—18 6.0 | 220 | 19.0
. IQN-06-06F 3/86—18 3/8—18 160 | 376 | 240
E NG 1 ' B IQN-06-08F 3/6—18 12—14 170 | 437 | 300
IQN-06-12F 3/8—18 3/4—14 170 | 470 | 360
U / '{{!'I{{{I/// IQN-08-04F 12—14 1/4—18 195 | 280 | 240
IQN-08-06F 1/2—14 3/8—18 195 | 285 | 240
-1 | N IQN-08-08F 12—14 12—14 195 | 475 | 300

T2

IQN-08-12F 12—14 3/4—14 195 | 490 | 36.0
L IQN-12-06F 3/4—14 3/8—18 195 | 305 | 27.0
IQN-12-08F 3/4—14 12—14 195 | 305 | 27.0
TQN-F IQN-12-12F 3/4—14 3/4—14 195 | 490 | 360
IQN-12-16F 3/4—14 1—115 195 | 554 | 41.0
IQN-16-08F 1—15 12—14 255 | 355 | 360
IQN-16-12F 1—115 3/4—14 255 | 365 | 360
IQN-16-16F 1—115 1—115 255 | 607 | 41.0
IQN-16-20F 1—115 11/4—115 | 255 | 635 | 500
IQN-20-12F 11/4—115 3/4—14 265 | 385 | 460
IQN-20-16F 11/4—115 1—11.5 265 | 410 | 460
IQN-20-20F 11/4—115 | 11/4—115 | 265 | 615 | 500
IQN-20-24F 11/4—115 | 11/2—115 | 265 | 625 | 600
IQN-24-16F 12— 5 1—115 275 | 415 | 500
IQN-24-20F 11/2—15 | 11/4—15 | 275 | 410 | 500
IQN-24-24F 11/2—15 | 11/2—115 | 275 | 625 | 64.0
IQN-24-32F 12— 5 2— 115 275 | 665 | 700
IQN-32-20F 215 11/4—115 | 275 | 445 | 650
IQN-32-24F 215 11/2—115 | 275 | 450 | 65.0
IQN-32-32F 215 2115 275 | 625 | 700

NPT MALE X SAE FEMALE: INE-F

PART NO. T T2 L1 L H
L INE-02-04F 1/8—27 7/16—20 105 | 205 | 17.0
INE-02-05F 1/8—27 1/2—20 105 | 305 | 17.0
Tl\ L1 /TB INE-04-04F 1/4—18 7/16—20 15.0 34.0 17.0
INE-04-06F 1/4—18 9/16—18 150 | 36.0 | 19.0
. M INE-04-08F 1/4—18 3/4—16 150 | 410 | 27.0
f INE-06-04F 3/8—18 7/16—20 16.0 | 22.0 | 19.0
. \““m“m\ . INE-06-06F 3/8—18 9/16—18 16.0 | 345 | 19.0
N NE INE-06-08F 3/8—18 3/4—16 16.0 | 40.0 24.0
INE-08-06F 1/2—14 9/16—18 195 | 275 | 240
\ INE-08-08F 1/2—14 3/4—16 195 | 415 | 270
INE-08-10F 1/2—14 7/8—14 195 | 465 | 300
! INE-12-08F 3/4—14 3/4—16 195 | 205 | 300
INE-12-10F 3/4—14 7/8—14 195 | 425 | 300
INE-F INE-12-12F 3/4—14 1-1/16—12 195 | 470 | 36.0
INE-16-12F 1—115 1-1/16—12 255 | 365 | 36.0
INE-16-16F 1—115 1-5/16—12 255 | 530 | 41.0
INE-20-20F 1-1/4—115 1-5/8—12 265 | 555 | 500

39



60°

60°

€0°

Va
s
T N
\Tl
T2
FON-F
L1 H
Ti—|
IS
T A
Te sg
LON-F
H1 H
< WWW?
" I
Tl/ L N
Lo L
ISN-S

n

NPT MALE X NPT FEMALE 45° ELBOW: FQN-F

PART NO. T1 T2 L1 L2 H
FQN-02-02F 1/8—27 1/8—27 19.0 17.0 16.0
FQN-04-04F 1/4—18 1/4—18 22.0 20.0 19.0
FQN-06-06F 3/8—18 3/8—18 27.0 19.0 24.0
FQN-08-08F 1/2—14 1/2—14 31.7 28.0 30.0
FQN-12-12F 3/4—14 3/4—14 36.5 30.0 33.0
FQN-16-16F 1—11.5 1—11.5 42.5 37.5 41.0
FQN-20-20F 1-1/4—11.5 1-1/4—11.5 44.0 30.0 48.0
FQN-24-24F 1-12—11.5 1-1/2—11.5 51.0 36.0 63.0

NPT MALE X NPT FEMALE 90° ELBOW: LQN-F

PART NO. T1 T2 L1 L2 H
LQN-02-02F 1/8—27 1/8—27 24.5 17.8 16.0
LQN-04-02F 1/4—18 1/8—27 26.5 16.8 16.0
LQN-04-04F 1/4—18 1/4—18 28.0 22.4 19.0
LQN-04-06F 1/4—18 3/8—18 31.0 25.0 24.0
LQN-06-04F 3/8—18 1/4—18 31.0 22.4 19.0
LQN-06-06F 3/8—18 3/8—18 33.5 25.0 24.0
LQN-08-08F 1/2—14 1/2—14 41.5 31.2 30.0
LQN-12-08F 3/4—14 1/2—14 45.0 31.2 30.0
LQN-12-12F 3/4—14 3/4—14 45.2 34.5 33.0
LQN-16-16F 1—11.5 1—11.5 54.5 411 41.0
LQN-20-20F 1-1/4—11.5 1-1/4—11.5 63.0 43.2 48.0
LQN-24-24F 1-1/2—11.5 1-1/2—11.5 71.5 52.8 63.0
LQN-32-32F 2—11.5 2—11.5 73.5 62.0 65.0

NPSM SWIVEL FEMALE 60° CONE X NPT MALE: ISN-S

PART NO. T1 T2 L1 L2 L H H1
ISN-02S-02 1/8—27 1/8—27 105 | 52 | 255 | 12.0 [ 15.0
ISN-04S-02 1/4—18 1/8—27 105 | 52 | 275 | 12.0 | 19.0
ISN-02S-04 1/8—27 1/4—18 15.0 | 5.2 30.0 [ 14.0 | 15.0
ISN-04S-04 1/4—18 1/4—18 15.0 | 5.2 32.0 [ 17.0 | 19.0
ISN-06S-04 3/8—18 1/4—18 150 | 6.0 | 33.0 | 17.0 [ 22.0
ISN-08S-04 1/2—14 1/4—18 150 | 6.7 | 35.0 | 19.0 | 27.0
ISN-06S-06 3/8—18 3/8—18 16.0 | 6.0 | 345 | 19.0 | 22.0
ISN-04S-06 1/4—18 3/8—18 16.0 | 5.2 33.0 [ 19.0 | 19.0
ISN-08S-06 1/2—14 3/8—18 16.0 | 6.7 | 36.0 | 19.0 [ 27.0
ISN-08S-08 1/2—14 1/2—14 195 | 6.7 | 415 | 22.0 | 27.0
ISN-04S-08 1/4—18 1/2—14 195 | 52 38.5 [ 220 | 19.0
ISN-06S-08 3/8—18 1/2—14 19.5 | 6.0 39.5 | 22.0 | 22.0
ISN-12S-12 3/4—14 3/4—14 19.5 | 9.2 | 445 | 30.0 [ 32.0
ISN-06S-12 3/8—18 3/4—14 195 | 6.0 | 41.5 | 30.0 [ 22.0
ISN-08S-12 1/2—14 3/4—14 195 | 6.7 | 435 | 30.0 | 27.0
ISN-16S-12 1—11.5 3/4—14 19.5 | 10.5 | 46.5 | 32.0 | 41.0
ISN-12S-16 3/4—14 1—11.5 215 | 9.2 51.5 | 36.0 | 32.0
ISN-16S-16 1—11.5 1—11.5 25.5 | 105 | 52.5 [ 36.0 | 41.0
ISN-20S-16 | 1-1/4—11.5 1—11.5 255 | 105 | 58.5 [ 41.0 | 50.0
ISN-16S-20 1—11.5 1-1/4—115| 265 | 10.5 | 55,5 | 36.0 | 41.0
ISN-20S-20 | 1-1/4—11.5 [ 1-1/4—11.5 | 26.5 [ 10.5 | 59.5 [ 46.0 | 50.0
ISN-24S-20 | 1-1/2—11.5 | 1-1/4—11.5 | 26.5 | 12.0 | 59.5 | 46.0 | 55.0
ISN-20S-24 | 1-1/4—11.5 | 1-1/2—11.5 | 27.5 | 10.5 | 62.5 | 50.0 | 50.0
ISN-24S-24 | 1-1/2—11.5 [ 1-1/2—11.5| 27.5 | 12.0 | 625 [ 50.0 | 55.0
ISN-32S-32 2—11.5 2—11.5 275 | 16.0 | 64.5 [ 65.0 | 70.0

AVIYHLIIN O §

40



N
D
“lNe | ‘
<
]
: T1
w T2 S
m FNS-S ’
>
-
S : 7<
Tl/ :
TP @
i
T1 o } i

41

NPT MALE X NPSM SWIVEL FEMALE 60° CONE 45°

ELBOW: FNS-S

REF. NO. T T2 L1 L2 H H1
FNS-04-04S 1/4—18 1/4—18 21.0 5.2 14.0 19.0
FNS-06-06S 3/8—18 3/8—18 24.0 6.0 19.0 22.0
FNS-08-08S 1/2—14 1/2—14 29.5 6.7 22.0 27.0
FNS-12-12S 3/4—14 3/4—14 35.0 9.2 27.0 32.0
FNS-16-16S 1—11-1/2 1—11-1/2 39.0 10.5 33.0 41.0
FNS-20-20S | 1-1/4—11-1/2 | 1-1/4—11-1/2 | 42.5 10.5 41.0 50.0
FNS-24-24S | 1-1/2—11-1/2 | 1-1/2—11-1/2 | 45.0 12.0 48.0 55.0

NPSM SWIVEL FEMALE 60° CONE X NPT MALE 90°

ELBOW: LSN-S
PART NO. T1 T2 L1 L2 H H1
LSN-02S-02 1/8—27 1/8—27 5.2 21.0 11.0 15.0
LSN-04S-02 1/4—18 1/8—27 5.2 21.0 11.0 19.0
LSN-02S-04 1/8—27 1/4—18 5.2 25.5 14.0 15.0
LSN-04S-04 1/4—18 1/4—18 5.2 25.5 14.0 19.0
LSN-06S-04 3/8—18 1/4—18 6.0 25.5 14.0 22.0
LSN-06S-06 3/8—18 3/8—18 6.0 31.0 19.0 22.0
LSN-04S-06 1/4—18 3/8—18 5.2 31.0 19.0 19.0
LSN-08S-06 1/2—14 3/8—18 6.7 31.0 19.0 27.0
LSN-08S-08 1/2—14 1/2—14 6.7 37.3 22.0 27.0
LSN-06S-08 3/8—18 1/2—14 6.0 36.7 22.0 22.0
LSN-12S-08 3/4—14 1/2—14 9.2 37.5 24.0 32.0
LSN-12S-12 3/4—14 3/4—14 9.2 44.0 27.0 32.0
LSN-08S-12 1/2—14 3/4—14 6.7 44.0 27.0 27.0
LSN-16S-12 1—11.5 3/4—14 10.5 45.0 30.0 | 41.0
LSN-16S-16 1—11.5 1—11.5 10.5 50.0 33.0 | 41.0
LSN-12S-16 3/4—14 1—11.5 9.2 50.0 33.0 32.0
LSN-16S-20 1—11.5 1-1/4—11.5 | 10.5 54.5 410 | 41.0
LSN-20S-20 1-1/4—11.5 | 1-1/4—11.5 | 10.5 54.5 41.0 50.0
LSN-24S-24 1-1/2—11.5 | 1-12—11.5 | 12.0 59.5 48.0 55.0
LSN-32S-32 2—11.5 2—11.5 16.0 73.5 63.0 70.0

NPT FEMALE X NPSM SWIVEL FEMALE 60° CONE 45°
ELBOW: FNS-F-S

REF. NO. T1 T2 L1 L2 H H1
FNS-04F-04S 1/4—18 1/4—18 20.0 5.2 19.0 19.0
FNS-06F-06S 3/8—18 3/8—18 19.0 6.0 24.0 | 22.0
FNS-08F-08S 1/2—14 1/2—14 28.0 6.7 30.0 | 27.0
FNS-12F-12S8 3/4—14 3/4—14 30.0 9.2 33.0 | 32.0
FNS-16F-16S 1—11-1/2 1—11-1/2 37.5 10.5 [ 41.0 | 41.0
FNS-20F-20S | 1-1/4—11-1/2 | 1-1/4—11-1/2 | 30.0 10.5 | 48.0 | 50.0
FNS-24F-24S | 1-1/2—11-1/2 | 1-1/2—11-1/2 | 36.0 12.0 63.0 | 55.0




L1 ‘ ’
NPT FEMALE X NPSM SWIVEL FEMALE 60° CONE
— 90° ELBOW: LNS-F-S
REF. NO. T1 T2 L1 L2 H H1
m\m\“mm LNS-04F-04S 1/4—18 1/4—18 224 | 52 19.0 | 19.0
VYV LNS-06F-06S 3/8—18 3/8—18 250 | 6.0 | 24.0 | 220
L //7 LNS-08F-08S 1/2—14 1/2—14 312 | 6.7 | 300 | 27.0
T1 H1 LNS-12F-12S 3/4—14 3/4—14 345 | 92 | 330 | 320
LNS-16F-16S 1—11-1/2 1—11-1/2 411 | 105 | 410 | 41.0
LNS-20F-20S | 1-1/4—11-1/2 | 1-1/4—11-1/2 | 432 | 105 | 48.0 | 50.0
= U LNS-24F-24S | 1-1/2—11-1/2 | 1-1/2—11-1/2 | 52.8 | 12.0 | 63.0 | 55.0
N6\
LNS-F-S
NPT FEMALE X NPT MALE BUSHING:INN-F
REF. NO. T1 T2 L H
INN-02F-04 1/8—27 1/4—18 21.0 17.0
L INN-02F-06 1/8—27 3/8—18 21.0 17.0
T1 /TB INN-04F-06 1/4—18 3/8—18 21.0 19.0
\ INN-04F-08 1/4—18 1/2—14 28.0 19.0
/ INN-06F-08 3/8—18 1/2—14 28.0 24.0
INN-04F-12 1/4—18 3/4—14 30.0 19.0
m m\mm‘ . INN-06F-12 3/8—18 3/4—14 30.0 24.0
B INN-08F-12 1/2—14 3/4—14 30.0 30.0
INN-04F-16 1/4—18 1—11.5 35.0 19.0
INN-06F-16 3/8—18 1—11.5 35.0 24.0
INN-08F-16 1/2—14 1—11.5 35.0 30.0
INN-12F-16 3/4—14 1—11.5 35.0 32.0
H INN-06F-20 3/8—18 1-1/4—11.5 38.0 24.0
INN-08F-20 1/2—14 1-1/4—11.5 38.0 30.0
INN-F INN-12F-20 3/4—14 1-1/4—11.5 38.0 32.0
INN-16F-20 1—11.5 1-1/4—11.5 38.0 41.0
INN-08F-24 1/2—14 1-1/2—11.5 40.0 30.0
INN-12F-24 3/4—14 1-1/2—11.5 40.0 32.0
INN-16F-24 1—11.5 1-1/2—11.5 40.0 41.0
INN-20F-24 1-1/4—11.5 1-1/2—11.5 40.0 50.0
INN-12F-32 3/4—14 2—11.5 45.0 32.0
INN-16F-32 1—11.5 2—11.5 45.0 41.0
INN-20F-32 1-1/4—11.5 2—115 45.0 50.0
INN-24F-32 1-1/2—11.5 2—115 45.0 65.0
T H NPT MALE PLUG: PGN
PART NO. T L1 L H
\ PGN-02 1/8—27 10.5 16.0 12.0
PGN-04 1/4—18 15.0 20.0 17.0
o } | PGN-06 3/8—18 16.0 21.0 19.0
N0 PGN-08 1/2—14 19.5 27.0 22.0
PGN-12 3/4—14 19.5 29.5 27.0
/ PGN-16 1—11.5 25.5 36.5 36.0
PGN-20 1-1/4—11.5 26.5 38.5 46.0
L1 PGN-24 1-1/2—11.5 27.5 43.0 50.0
L PGN-32 2—11.5 27.5 435 65.0
PGN

AVIYHLIIN O §

42



N
D T NPT MALE WITH HOLLOW HEX PLUG: PGNX
PART NO. T L H
Z PGNX-02 1/8—27 8.0 5.0
w F PGNX-04 1/4—18 10.0 6.0
PGNX-06 3/8—18 12.0 8.0
H PGNX-08 1/2—14 15.0 10.0
H PGNX-12 3/4—14 16.0 12.0
: L PGNX-16 1—11.5 18.0 17.0
~ PGNX
=
AV IV H \
/l ™\ NPT MALE X HOSE TAIL 90° ELBOW: LNHT
i PART NO. T TUBE O.D L1 L2 D
v % LNHT-12-12 3/4—14 3/4" 38.1 52.3 19.0
LNHT-16-16 1—11-1/2 1" 49.5 55.6 25.4
3 LNHT-20-20 1-1/4—11-1/2 1-1/4" 60.5 60.5 31.7
LNHT

43



BSP MALE BONDED SEAL TYPE: 1QG

PART NO. T1,T2 L1,L2 L H
1QG-02 1/8—28 10.0 26.0 14.0
1QG-02-04 1/8—28 10.0 28.0 19.0
1QG-02-06 1/8—28 10.0 31.5 22.0
1QG-02-08 1/8—28 10.0 36.0 27.0
1QG-04 1/4—19 12.0 30.0 19.0
IQG-04-06 1/4—19 12.0 33.5 22.0
1QG-04-08 1/4—19 12.0 38.0 27.0
1QG-04-10 1/4—19 12.0 39.5 30.0
1QG-06 3/8—19 13.5 33.0 22.0
IQG-06-08 3/8—19 13.5 39.5 27.0
1QG-06-10 3/8—19 13.5 42.0 30.0
1QG-06-12 3/8—19 13.5 43.0 32.0
1QG-08 1/2—14 16.0 42.0 27.0
1QG-08-10 1/2—14 16.0 43.5 30.0
1QG-08-12 1/2—14 16.0 45.5 32.0
1QG-10 5/8—14 17.5 45.0 30.0
IQG-10-12 5/8—14 17.5 47.0 32.0
IQG-10-16 5/8—14 17.5 51.5 41.0
1QG-12 3/4—14 18.5 48.0 32.0
1QG-12-16 3/4—14 18.5 52.5 41.0
1QG-12-20 3/4—14 18.5 56.0 50.0
IQG-16 1—11 20.5 54.0 41.0
1QG-16-20 1—11 20.5 58.0 50.0
1QG-16-24 1—11 20.5 60.5 55.0
1QG-20 1-1/4—11 20.5 58.0 50.0
IQG-20-24 1-1/4—11 20.5 60.5 55.0
1QG-24 1-1/2—11 23.0 63.0 55.0
1QG-24-32 1-1/2—11 23.0 66.5 70.0
1QG-32 2—11 25.5 68.0 70.0
1QG-40 2-12—11 32.0 81.0 90.0
1QG-48 3—11 36.0 92.0 100.0

BSP MALE BONDED SEAL TYPE X BSP MALE

60° CONE: IGP

% HHW .
o0

[ Sy

g
A

o I

REF. NO. T1 T2 L1 L2 L H

IGP-04-04 1/4—19 1/4—19 12.0 16.0 | 34.0 17.0
IGP-06-06 3/8—19 3/8—19 135 | 18.0 | 37.5 19.0
IGP-08-08 1/2—14 1/2—14 16.0 | 20.0 [ 44.0 [ 22.0
IGP-12-12 3/4—14 3/4—14 18.5 | 22.0 [ 50.5 [ 30.0
IGP-16-16 1—11 1—11 20.5 | 24.0 [ 555 | 36.0
IGP-20-20 | 1-1/4—11 | 1-1/4—11 | 20.5 | 27.0 | 60.5 | 46.0
IGP-24-24 | 1-1/2—11 | 1-1/2—11 | 23.0 [ 27.0 | 65.0 | 50.0
IGP-32-32 2—11 2—11 255 | 30.0 [ 725 | 65.0

BSP MALE 60° CONE X BSP MALE 60° CONE:

IPP
REF. NO. T T2 L1 L2 L H
IPP-04-04 1/4—19 1/4—19 16.0 16.0 38.0 17.0
IPP-06-06 3/8—19 3/8—19 18.0 18.0 42.0 19.0
IPP-08-08 1/2—14 1/2—14 20.0 20.0 48.0 22.0
IPP-12-12 3/4—14 3/4—14 22.0 22.0 54.0 30.0
IPP-16-16 1—11 1—11 24.0 24.0 59.0 36.0
IPP-20-20 | 1-1/4—11 1-1/4—11 27.0 27.0 67.0 46.0
IPP-24-24 | 1-1/2—11 1-1/2—11 27.0 27.0 69.0 50.0
IPP-32-32 2—11 2—11 30.0 30.0 77.0 65.0

AVAJHLdSd M 3

44



AVHIHLdSE m §

BSP MALE X BSP MALE 90° ELBOW: LQG

60°

60°

Le

60°

60°

45

/

o >

Lo > &

Te

T1QG-K-N(LOCK NUT INCLUDED)

PART NO. T1 T2 L1 L2 H
LQG-02 1/8—28 1/8—28 19.8 19.8 11.0
LQG-02-04 1/8—28 1/4—19 230 | 250 14.0
LQG-04 1/4—19 1/4—19 245 | 245 14.0
LQG-04-06 1/4—19 3/8—19 265 | 275 16.0
\\\\\\\\\\ LQG-06 3/8—19 3/8—19 275 | 275 16.0
LQG-06-08 3/8—19 1/2—14 31.0 345 | 220
LQG-08 1/2—14 1/2—14 345 345 | 220
N LQG-08-12 1/2—14 314—14 375 | 400 27.0
— LQG-10 5/8—14 5/8—14 35.0 350 | 220
LQG-10-12 5/8—14 3/4—14 375 39.0 30.0
= LQG-12 3/4—14 3/4—14 400 | 400 | 270
/\) LQG-12-16 3/4—14 1—11 435 | 46.0 33.0
e0” T2 LQG-16 1—11 1—11 46.0 46.0 33.0
LQG-16-20 1—11 1-1/4—11 | 505 505 | 41.0
LQG-20 1-1/4—11 | 1-1/4—1 | 505 505 | 41.0
LQG-20-24 1-1/4—11 | 1-1/2—11 | 545 575 | 48.0
LQG-24 1-12—11 | 1-1/2—11 | 575 575 | 480
LQG-32 211 211 680 | 68.0 63.0
BSP MALE 60° CONE SEAT TEE: TQG
Ll T3 PART NO. T T2 T3 L3 ] L2 H
TQG-02 1/8—28 | 1/8—28 | 1/8—28 | 19.8 | 19.8 | 11.0
AN TQG-04 14—19 | 1/4—19 | 1/4—19 | 245 | 245 | 14.0
H\ \\\\\\\\\ | TQG-04-06-04 | 1/4—19 | 3/8—19 | 1/4—19 | 265 | 275 | 16.0
9 TQG-06-04-06 | 3/8—19 | 1/4—19 | 3/8—19 | 275 | 26,5 | 16.0
./% TQG-06 3/8—19 | 3/8—19 | 3/8—19 | 275 | 275 | 16.0
TQG-06-08-06 | 3/8—19 | 1/2—14 | 3/8—19 | 31.0 | 345 | 22.0
TQG-08-06-08 | 1/2—14 | 3/8—19 | 1/2—14 | 345 | 31.0 | 22.0
TQG-08 112—14 | 1/2—14 | 1/2—14 | 345 | 345 | 22.0
TQG-10 5/8—14 | 5/8—14 | 5/8—14 | 350 | 35.0 | 22.0
TQG-12 3/4—14 | 3/4—14 | 3/4—14 | 400 | 40.0 | 27.0
TQG-12-16-12 | 3/4—14 1—11 3/4—14 | 435 | 46.0 | 33.0
TQG-16-12-16 1—1 3/4—14 1—11 46.0 | 435 | 33.0
TQG-16 1—11 1—11 1—11 46.0 | 46.0 | 33.0
TQG-20 1-1/4—11 | 1-1/4—11 | 1-1/4—11 | 505 | 50.5 | 41.0
TQG-24 1-1/2—11 | 1-1/2—11 | 1-1/2—11 | 575 | 57.5 | 48.0
TQG-32 211 211 2—11 725 | 725 | 63.0

BSP MALE BULKHEAD X BSP MALE BONDED SEAL
TYPE: 1IQG-K / 1QG-K-N

REF. NO. T1 T2 L1 L2 L H H1
1QG-02-02K 1/8—28 1/8—28 33.0 [ 10.0 | 49.0 | 14.0 | 14.0
1QG-04-04K 1/4—19 1/4—19 35.0 [ 12.0 | 53.0 | 19.0 | 19.0
1QG-04-06K 1/4—19 3/8—19 35.0 | 12.0 | 55.0 | 22.0 | 22.0
IQG-06-06K | 3/8—19 3/8—19 35.0 | 13.5 | 56.5 | 22.0 | 22.0
1QG-06-08K | 3/8—19 1/2—14 39.0 | 135 | 625 | 27.0 | 27.0
1QG-08-08K 1/2—14 1/2—14 39.0 | 16.0 | 65.0 | 27.0 | 27.0
1QG-08-06K 1/2—14 3/8—19 35.0 | 16.0 | 61.0 | 27.0 | 22.0
1QG-08-16K 1/2—14 1—11 50.0 [ 16.0 | 79.0 | 41.0 | 41.0
1QG-10-10K | 5/8—14 5/8—14 40.0 | 17.5 | 67.5 | 30.0 | 30.0
1QG-12-12K | 3/4—14 3/4—14 42.0 | 185 | 71.5 | 32.0 | 32.0
IQG-12-08K | 3/4—14 1/2—14 39.0 | 185 | 68,5 | 32.0 | 27.0
IQG-12-16K | 3/4—14 1—11 50.0 | 18.5 | 82.0 | 41.0 | 41.0
1QG-16-16K 1—11 1—11 50.0 [ 20.5 | 84.0 | 41.0 | 41.0
1QG-20-20K | 1-1/4—11 | 1-1/4—11 | 52.0 | 20.5 | 89.5 | 50.0 | 50.0
1QG-24-24K | 1-1/2—11 | 1-1/2—11 | 55.0 | 23.0 | 93.0 | 55.0 | 55.0
1QG-32-32K 2—11 2—11 56.0 | 26,5 | 97.5 | 70.0 | 70.0




Tl\

60°

60°

/ 60°

L1

AN

I

— ==

BSP MALE 60° BONDED SEAL TYPE X NPT MALE:

IGN

PART NO. T1 T2 L1 L2 L H

IGN-02-02 1/8—28 1/8—27 10.0 10.5 26.0 14.0
IGN-02-04 1/8—28 1/4—18 10.0 15.0 31.0 17.0
IGN-04-04 1/4—19 1/4—18 12.0 15.0 33.0 19.0
IGN-04-02 1/4—19 1/8—27 12.0 10.5 28.0 19.0
IGN-04-06 1/4—19 3/8—18 12.0 16.0 34.0 19.0
IGN-04-08 1/4—19 1/2—14 12.0 19.5 39.5 22.0
IGN-06-06 3/8—19 3/8—18 13.5 16.0 37.5 22.0
IGN-06-04 3/8—19 1/4—18 13.5 15.0 36.0 22.0
IGN-06-08 3/8—19 1/2—14 13.5 19.5 41.0 22.0
IGN-06-12 3/8—19 3/4—14 13.5 19.5 43.0 30.0
IGN-08-08 1/2—14 1/2—14 16.0 19.5 45.5 27.0
IGN-08-06 1/2—14 3/8—18 16.0 16.0 42.0 27.0
IGN-08-12 1/2—14 3/4—14 16.0 19.5 45.5 30.0
IGN-08-16 1/2—14 1—11.5 16.0 25.5 52.5 36.0
IGN-10-08 5/8—14 1/2—14 17.5 19.5 47.0 30.0
IGN-10-12 5/8—14 3/4—14 17.5 19.5 47.0 30.0
IGN-12-12 3/4—14 3/4—14 18.5 19.5 49.0 32.0
IGN-12-06 3/4—14 3/8—18 18.5 16.0 45.5 32.0
IGN-12-08 3/4—14 1/2—14 18.5 19.5 49.0 32.0
IGN-12-16 3/4—14 1—11.5 18.5 25.5 55.0 36.0
IGN-16-16 1—11 1—11.5 20.5 25.5 59.0 41.0
IGN-16-12 1—11 3/4—14 20.5 19.5 53.0 41.0
IGN-16-20 1—11 1-1/4—11.5 20.5 26.5 60.0 46.0
IGN-20-20 1-1/4—11 1-1/4—11.5 20.5 26.5 62.0 50.0
IGN-20-16 1-1/4—11 1—11.5 20.5 25.5 61.0 50.0
IGN-20-24 1-1/4—11 1-1/2—11.5 20.5 27.5 63.0 50.0
IGN-24-24 1-1/2—11 1-1/2—11.5 23.0 27.5 65.5 55.0
IGN-24-20 1-1/2—11 1-1/4—11.5 23.0 26.5 64.5 55.0
IGN-24-32 1-1/2—11 2—11.5 23.0 27.5 67.5 65.0
IGN-32-32 2—11 2—11.5 25.5 27.5 70.0 70.0
IGN-32-20 2—1 1-1/4—11.5 25.5 26.5 69.0 70.0
IGN-32-24 2—11 1-1/2—11.5 25.5 27.5 70.0 70.0

BSP MALE 60° CONE SEAT X NPT MALE 45° ELBOW:

FGN

PART NO. T1 T2 L1 L2 H

FGN-02-02 1/8—28 1/8—27 17.0 17.0 11.0
FGN-04-04 1/4—19 1/4—18 20.3 21.0 14.0
FGN-04-06 1/4—19 3/8—18 20.5 23.0 16.0
FGN-06-06 3/8—19 3/8—18 22.0 23.0 16.0
FGN-06-04 3/8—19 1/4—18 22.0 21.0 16.0
FGN-06-08 3/8—19 1/2—14 24.0 29.5 22.0
FGN-06-12 3/8—19 3/4—14 25.5 30.5 27.0
FGN-08-08 12—14 1/2—14 27.0 29.5 22.0
FGN-08-06 1/2—14 3/8—18 27.0 25.0 22.0
FGN-08-12 1/2—14 3/4—14 28.5 30.5 27.0
FGN-10-08 5/8—14 1/2—14 28.5 29.5 22.0
FGN-10-12 5/8—14 3/4—14 29.0 35.0 27.0
FGN-12-12 3/4—14 3/4—14 31.0 30.5 27.0
FGN-12-08 3/4—14 1/2—14 31.0 30.5 27.0
FGN-12-16 3/4—14 1—11.5 32.5 38.0 33.0
FGN-16-16 1—11 1—11.5 35.0 38.0 33.0
FGN-16-12 1—11 3/4—14 35.0 32.5 33.0
FGN-16-20 1—11 1-1/4—11.5 38.5 43.0 41.0
FGN-20-20 1-1/4—11 1-1/4—11.5 38.5 43.0 41.0
FGN-20-16 1-1/4—11 1—11.5 38.5 42.0 41.0
FGN-20-24 1-1/4—11 1-1/2—11.5 41.5 47.5 48.0
FGN-24-24 1-1/2—11 1-1/2—11.5 44.0 47.5 48.0
FGN-24-20 1-1/2—11 1-1/4—11.5 44.0 45.5 48.0
FGN-24-32 1-1/2—11 2—11.5 51.0 60.5 63.0
FGN-32-32 2—11 2—11.5 49.5 55.5 63.0
FGN-32-24 2—1 1-1/2—11.5 51.0 52.5 63.0

AVAJHLdSd M 3

46



AVHIHLdSE m §

47

60°

o
R

— QU]
= J
=
LGN
H T2

BSP MALE 60° CONE SEAT X NPT MALE 90° EL-

BOW: LGN

PART NO. T1 T2 L1 L2 H

LGN-04-04 1/4—19 1/4—18 24.5 25.5 14.0
LGN-04-02 1/4—19 1/8—27 24.5 23.5 14.0
LGN-06-06 3/8—19 3/8—18 28.5 31.0 19.0
LGN-06-04 3/8—19 1/4—18 27.5 26.5 16.0
LGN-06-08 3/8—19 1/2—14 31.0 36.5 22.0
LGN-06-12 3/8—19 3/4—14 34.5 44.0 27.0
LGN-08-08 1/2—14 1/2—14 34.5 37.5 22.0
LGN-08-06 1/2—14 3/8—18 34.5 33.0 22.0
LGN-12-12 3/4—14 3/4—14 38.0 43.5 27.0
LGN-12-08 3/4—14 1/2—14 39.0 40.0 27.0
LGN-12-16 3/4—14 1—11.5 43.0 50.0 33.0
LGN-16-16 1—11 1—11.5 46.0 50.0 33.0
LGN-16-12 1—11 3/4—14 46.0 46.5 33.0

BSP MALE 60° BONDED SEAL TYPE X BSPT MALE:

IGB

PART NO. T1 T2 L1 L2 L H

IGB-02-02 1/8—28 1/8—28 10.0 10.0 26.0 14.0
IGB-02-04 1/8—28 1/4—19 10.0 14.5 30.5 14.0
IGB-04-04 1/4—19 1/4—19 12.0 14.5 32.0 19.0
IGB-04-02 1/4—19 1/8—28 12.0 10.0 28.0 19.0
IGB-04-06 1/4—19 3/8—19 12.0 15.0 32.0 19.0
IGB-04-08 1/4—19 1/2—14 12.0 20.0 40.0 24.0
IGB-06-06 3/8—19 3/8—19 13.5 15.0 35.5 22.0
IGB-06-04 3/8—19 1/4—19 13.5 14.5 35.5 22.0
IGB-06-08 3/8—19 1/2—14 13.5 20.0 40.5 24.0
IGB-08-08 1/2—14 1/2—14 16.0 20.0 45.0 27.0
IGB-08-04 1/2—14 1/4—19 16.0 14,5 40.5 27.0
IGB-08-06 1/2—14 3/8—19 16.0 15.0 40.0 27.0
IGB-08-12 1/2—14 3/4—14 16.0 20.0 45.0 30.0
IGB-10-06 5/8—14 3/8—19 17.5 15.0 41.5 30.0
IGB-10-08 5/8—14 1/2—14 17.5 20.0 46.5 30.0
IGB-10-12 5/8—14 3/4—14 17.5 20.0 46.5 30.0
IGB-10-16 5/8—14 1—11 17.5 25.5 54.0 36.0
IGB-12-12 3/4—14 3/4—14 18.5 20.0 48.5 32.0
IGB-12-08 3/4—14 1/2—14 18.5 20.0 49.5 32.0
IGB-12-16 3/4—14 1—11 18.5 25.5 53.5 36.0
IGB-12-20 3/4—14 1-1/4—11 18.5 26.5 58.0 46.0
IGB-16-16 1—1 1—1 20.5 25.5 58.0 41.0
IGB-16-12 1—11 3/4—14 20.5 20.0 53.0 41.0
IGB-16-20 1—11 1-1/4—11 20.5 26.5 60.0 46.0
IGB-20-20 1-1/4—11 | 1-1/4—11 20.5 26.5 62.0 50.0
IGB-20-12 1-1/4—11 3/4—14 20.5 20.5 56.0 50.0
IGB-20-16 1-1/4—11 1—11 20.5 25.5 61.0 50.0
IGB-20-24 1-1/4—11 | 1-1/2—11 20.5 26.5 62.0 50.0
IGB-24-24 1-12—11 | 1-1/2—11 23.0 26.5 64.5 55.0
IGB-24-16 1-1/2—11 1—11 23.0 25.5 63.5 55.0
IGB-24-20 1-1/2—11 | 1-1/4—11 23.0 26.5 64.5 55.0
IGB-24-32 1-1/2—11 2—11 23.0 30.0 70.0 65.0
IGB-32-32 2—11 2—11 25.5 30.0 72.5 70.0
IGB-32-20 2—1 1-1/4—11 25.5 27.0 68.5 70.0
IGB-32-24 2—11 1-1/2—11 25.5 26.5 68.5 70.0
IGB-40-40 2-1/2—11 | 2-1/2—11 32.0 34.0 83.0 90.0
IGB-48-48 3—11 3—11 36.0 38.0 94.0 100.0




/A

Tl\

BSP MALE 60° CONE SEAT X BSPT MALE 45°

ELBOW: FGB

PART NO. T1 T2 L1 L2 H

FGB-02-02 1/8—28 1/8—28 17.0 17.0 11.0
FGB-04-04 1/4—19 1/4—19 20.3 21.0 14.0
FGB-04-06 1/4—19 3/8—19 20.5 23.0 16.0
FGB-06-06 3/8—19 3/8—19 22.0 23.0 16.0
FGB-06-04 3/8—19 1/4—19 22.0 21.0 16.0
FGB-06-08 3/8—19 1/2—14 24.0 29.5 22.0
FGB-06-12 3/8—19 3/4—14 25.5 30.5 27.0
FGB-08-08 1/2—14 1/2—14 27.0 29.5 22.0
FGB-08-06 12—14 3/8—19 27.0 25.0 22.0
FGB-08-12 1/2—14 3/4—14 28.5 30.5 27.0
FGB-10-08 5/8—14 1/2—14 28.5 29.5 22.0
FGB-10-12 5/8—14 3/4—14 29.0 35.0 27.0
FGB-12-12 3/4—14 3/4—14 31.0 30.5 27.0
FGB-12-08 3/4—14 1/2—14 31.0 30.5 27.0
FGB-12-16 3/4—14 1—1 32.5 38.0 33.0
FGB-16-16 1—1 1—1 35.0 38.0 33.0
FGB-16-12 1—11 3/4—14 35.0 32.5 33.0
FGB-16-20 1—1 1-1/4—11 38.5 43.0 41.0
FGB-20-20 1-1/4—11 1-1/4—11 38.5 43.0 41.0
FGB-20-16 1-1/4—11 1—1 38.5 42.0 41.0
FGB-20-24 1-1/4—11 1-1/2—11 41.5 47.5 48.0
FGB-24-24 1-1/2—11 1-1/2—11 44.0 47.5 48.0
FGB-24-20 1-1/2—11 1-1/4—11 44.0 45.5 48.0
FGB-24-32 1-1/2—11 2—1 51.0 60.5 63.0
FGB-32-32 2—11 2—1 49.5 55.5 63.0
FGB-32-24 2—11 1-1/2—11 51.0 52.5 63.0

BSP MALE 60° CONE SEAT X BSPT MALE 90°

60°

ELBOW: LGB

PART NO. T1 T2 L1 L2 H

LGB-02-02 1/8—28 1/8—28 20.0 21.0 11.0
LGB-02-04 1/8—28 1/4—19 22.3 25.5 14.0
LGB-04-04 1/4—19 1/4—19 24.5 25.5 14.0
LGB-04-02 1/4—19 1/8—28 25.0 23.5 14.0
LGB-04-06 1/4—19 3/8—19 25.0 28.5 16.0
LGB-04-08 1/4—19 1/2—14 30.0 36.0 22.0
LGB-06-06 3/8—19 3/8—19 271.5 28.5 16.0
LGB-06-04 3/8—19 1/4—19 27.5 26.5 16.0
LGB-06-08 3/8—19 1/2—14 31.0 36.0 22.0
LGB-08-08 12—14 1/2—14 34.5 36.0 22.0
LGB-08-04 1/2—14 1/4—19 34.5 30.5 22.0
LGB-08-06 1/2—14 3/8—19 34.5 32.5 22.0
LGB-08-12 1/2—14 3/4—14 37.5 43.5 27.0
LGB-08-16 1/2—14 1—1 41.0 50.0 33.0
LGB-10-08 5/8—14 1/2—14 35.0 36.0 22.0
LGB-10-12 5/8—14 3/4—14 39.0 43.5 27.0
LGB-12-12 3/4—14 3/4—14 40.0 43.0 27.0
LGB-12-06 3/4—14 3/8—19 40.0 36.0 27.0
LGB-12-08 3/4—14 1/2—14 40.0 39.5 27.0
LGB-12-16 3/4—14 1—1 43.5 50.0 33.0
LGB-12-20 3/4—14 1-1/4—11 48.0 56.5 41.0
LGB-16-16 1—1 1—1 46.0 50.0 33.0
LGB-16-08 1—N 1/2—14 46.0 43.0 33.0
LGB-16-12 1—n 3/4—14 46.0 47.5 33.0
LGB-16-20 1—N 1-1/4—11 50.5 56.5 41.0
LGB-20-20 1-1/4—11 1-1/4—11 52.0 59.0 41.0
LGB-20-12 1-1/4—11 3/4—14 50.5 54.0 41.0
LGB-20-16 1-1/4—11 1—1 52.0 56.5 41.0
LGB-20-24 1-1/4—11 1-1/2—11 54.5 62.5 48.0
LGB-24-24 1-12—11 1-12—11 57.5 62.0 48.0
LGB-24-20 1-1/2—11 1-1/4—11 57.5 61.0 48.0
LGB-24-32 1-12—11 2—11 66.0 75.0 63.0
LGB-32-32 2—11 2—11 67.0 75.0 63.0
LGB-32-24 2—11 1-12—11 68.0 72.0 63.0

AVAJHLdSd M 3

48



60°

AVHIHLdSE m §
\

)V,Vvvv

Wy N
\A\A\ H
=

e

/60“
Xy

S

—
—
—

—
—
—_—

[qV)
|
T1—
° \ A
\Vs)
\/
[qN)
|

49

H1

/TS

60°

BSP MALE 60° BONDED SEAL TYPE X BSP MALE

WITH CAPTIVE SEAL: IGP-V

PART NO. T T2 L1 L2 L H

IGP-04-04V 1/4—19 1/4—19 12.0 12.0 32.0 19.0
IGP-04-06V 1/4—19 3/8—19 12.0 12.0 34.5 22.0
IGP-04-08V 1/4—19 1/2—14 12.0 14.0 39.0 27.0
IGP-06-06V 3/8—19 3/8—19 13.5 12.0 34.0 22.0
IGP-06-08V 3/8—19 1/2—14 13.5 14.0 40.5 27.0
IGP-08-08V 1/2—14 1/2—14 16.0 14.0 43.0 27.0
IGP-08-12V 1/2—14 3/4—14 16.0 16.0 46.0 32.0
IGP-12-12V 3/4—14 3/4—14 18.5 16.0 46.5 32.0
IGP-12-16V 3/4—14 1—11 18.5 18.0 52.5 41.0
IGP-16-16V 1—11 1—11 20.5 18.0 54.5 41.0
IGP-16-20V 1—11 1-1/4—11 20.5 20.0 58.5 50.0
IGP-20-20V 1-1/4—11 1-1/4—11 20.5 20.0 58.5 50.0

BSP MALE 60° CONE SEAT X BSP MALE WITH LO-
CKING NUT WASHER O-RING 90° ELBOW:

LPP-NWR
PART NO. T1,T2 L1 L2 H H1
LPP-04-04-NWR 1/4—19 25.0 31.5 14.0 19.0
LPP-06-06-NWR 3/8—19 28.0 36.8 16.0 22.0
LPP-08-08-NWR 1/2—14 34.5 43.2 22.0 27.0
LPP-12-12-NWR 3/4—14 40.0 49.3 27.0 32.0
LPP-16-16-NWR 1—11 46.0 53.0 33.0 41.0
LPP-20-20-NWR 1-1/4—11 51.5 58.0 41.0 50.0
LPP-24-24-NWR 1-1/2—11 58.5 63.0 48.0 55.0

ng

BSP MALE 60° CONE SEAT X BSP MALE 60° CONE
SEAT BRANCH X BSP MALE WITH LOCKING NUT
WASHER O-RING RUN TEE: TQP-NWR

PART NO. T1,T2 T3 L1,L2 L3 H H1
TQP-04-04-04-NWR 1/4—19 1/4—19 250 | 31.8 | 140 | 19.0
TQP-06-06-04-NWR 3/8—19 1/4—19 275 | 335 | 16.0 | 19.0
TQP-06-06-06-NWR 3/8—19 3/8—19 275 | 36.8 | 16.0 | 22.0
TQP-08-08-06-NWR 1/2—14 3/8—19 345 | 395 | 220 | 22.0
TQP-08-08-08-NWR 1/2—14 1/2—14 345 | 432 | 220 | 27.0
TQP-12-12-08-NWR 3/4—14 1/2—14 | 40.0 | 46.5 | 27.0 | 27.0
TQP-12-12-12-NWR 3/4—14 3/4—14 | 40.0 | 493 [ 27.0 | 32.0
TQP-16-16-16-NWR 1—11 1—11 46.0 | 53.0 [ 33.0 | 41.0

BSP MALE 60° CONE SEAT X BSP MALE WITH

LOCKING NUT WASHER O-RING BRANCH X BSP
MALE 60° CONE SEAT RUN TEE: TQP-NWR

PART NO. T1,T3 T2 L1,L3 L2 H H1
TQP-04-04-04-NWR 1/4—19 1/4—19 25.0 | 31.8 | 140 | 19.0
TQP-06-04-06-NWR 3/8—19 1/4—19 | 27.5 | 335 | 16.0 [ 19.0
TQP-06-06-06-NWR 3/8—19 3/8—19 | 275 | 36.8 [ 16.0 | 22.0
TQP-08-06-08-NWR 1/2—14 3/8—19 345 | 395 [ 22.0 | 22.0
TQP-08-08-08-NWR 1/2—14 1/2—14 34.5 | 432 | 220 | 27.0
TQP-12-08-12-NWR 3/4—14 12—14 | 40.0 | 46.5 | 27.0 | 27.0
TQP-12-12-12-NWR 3/4—14 3/4—14 | 400 | 493 [ 27.0 | 32.0
TQP-16-16-16-NWR 1—1 1—11 46.0 | 53.0 | 33.0 [ 41.0




T1

IQG-F-F

W
Y,

Te

Le

BSP FEMALE X BSP FEMALE: IQG-F-F

PART NO. T1 T2 L H
1QG-02F 1/8—28 1/8—28 22.0 14.0
IQG-02F-04F 1/8—28 1/4—19 24.0 19.0
1QG-04F 1/4—19 1/4—19 24.0 19.0
IQG-04F-06F 1/4—19 3/8—19 29.0 22.0
1QG-06F 3/8—19 3/8—19 26.0 22.0
IQG-06F-08F 3/8—19 1/2—14 33.0 27.0
1QG-08F 1/2—14 1/2—14 32.0 27.0
IQG-08F-10F 1/2—14 5/8—14 36.0 30.0
1QG-10F 5/8—14 5/8—14 36.0 30.0
1QG-12F 3/4—14 3/4—14 36.0 32.0
1QG-12F-16F 3/4—14 1—11 43.0 41.0
1QG-16F 1—11 1—11 40.0 41.0
IQG-16F-20F 1—11 1-1/4—11 46.0 50.0
1QG-20F 1-1/4—11 1-1/4—11 44.0 50.0
IQG-20F-24F 1-1/4—11 1-1/2—11 48.0 55.0
1QG-24F 1-1/2—11 1-1/2—11 45.0 55.0
IQG-24F-32F 1-1/2—11 2—11 56.0 70.0
1QG-32F 2—11 2—11 54.0 70.0

BSP FEMALE X BSP FEMALE 90° ELBOW:

LQG-F-F

PART NO. T1 T2 L1,L2 H

LQG-02F 1/8—28 1/8—28 20.0 16.0
LQG-04F 1/4—19 1/4—19 22.5 19.0
LQG-06F 3/8—19 3/8—19 26.0 24.0
LQG-08F 1/2—14 1/2—14 31.0 27.0
LQG-12F 3/4—14 3/4—14 34.0 33.0
LQG-16F 1—11 1—11 42.0 41.0
LQG-20F 1-1/4—11 1-1/4—11 48.0 50.0
LQG-24F 1-1/2—11 1-1/2—11 53.0 60.0
LQG-32F 2—11 2—11 62.0 70.0

BSP MALE BONDED SEAL TYPE X BSP FEMALE:

IQG-F
PART NO. T1 T2 L1 L H
1QG-02-04F 1/8—28 1/4—19 11.0 29.0 19.0
1QG-04-02F 1/4—19 1/8—28 12.0 28.0 19.0
1QG-04F 1/4—19 1/4—19 12.0 33.0 19.0
1QG-04-06F 1/4—19 3/8—19 12.0 36.0 22.0
1QG-06-04F 3/8—19 1/4—19 13.5 33.5 22.0
1QG-06F 3/8—19 3/8—19 13.5 37.5 22.0
1QG-06-08F 3/8—19 1/2—14 13.5 42.5 27.0
1QG-08-06F 1/2—14 3/8—19 16.0 38.0 27.0
1QG-08F 1/2—14 1/2—14 16.0 45.0 27.0
1QG-08-10F 1/2—14 5/8—14 16.0 46.0 30.0
1QG-08-12F 1/2—14 3/4—14 16.0 44.5 36.0
1QG-10-08F 5/8—14 1/2—14 16.0 41.5 30.0
1QG-12-08F 3/4—14 1/2—14 18.5 44.5 32.0
1QG-12F 3/4—14 3/4—14 18.5 48.0 36.0
1QG-12-16F 3/4—14 1—11 18.5 53.5 41.0
1QG-16-12F 1—11 3/4—14 20.5 47.5 41.0
IQG-16F 1—11 1—11 20.5 55.5 41.0
1QG-16-20F 1—11 1-1/4—11 20.5 56.5 50.0
1QG-20-16F 1-1/4—11 1—11 20.5 49.0 50.0
1QG-20F 1-1/4—11 | 1-1/4—11 20.5 52.5 50.0
1QG-20-24F 1-1/4—11 | 1-1/2—11 20.5 57.5 55.0
1QG-24F 1-12—11 | 1-1/2—11 23.0 58.0 55.0
1QG-32-24F 2—11 1-1/2—11 26.0 59.5 70.0
1QG-32F 2—11 2—11 26.0 63.0 70.0

AVAJHLdSd M 3

50



AVHIHLdSE m §

51

I

v

A
AT
%%
L
SR
- N

BSP MALE BONDED SEAL TYPE X NPT FEMALE:

IGN-F

PART NO. T1 T2 L1 L H

IGN-04F 1/4—19 1/4—18 12.0 31.0 19.0
IGN-06F 3/8—19 3/8—18 13.5 33.0 22.0
IGN-08F 1/2—14 1/2—14 16.0 42.0 30.0
IGN-12F 3/4—14 3/4—14 18.5 44.5 36.0
IGN-16F 1—11 1—11.5 20.5 52.0 41.0
IGN-20F 1-1/4—11 1-1/4—11.5 20.5 55.0 50.0
IGN-24F 1-1/2—11 1-1/2—11.5 23.0 60.0 60.0
IGN-32F 2—11 2—11.5 25.5 62.0 70.0

BSP MALE 60° CONE X BSP FEMALE: IPG-F

REF. NO. T1 T2 L1 L H
IPG-04-04F 1/4—19 1/4—19 14.5 35.5 19.0
IPG-06-06F 3/8—19 3/8—19 15.0 39.0 22.0
IPG-08-08F 1/2—14 1/2—14 20.0 49.0 27.0
IPG-12-12F 3/4—14 3/4—14 20.0 49.5 32.0
IPG-16-16F 1—11 1—11 25.5 60.5 41.0
IPG-20-20F 1-1/4—11 1-1/4—11 26.5 58.5 50.0
IPG-24-24F 1-1/2—11 1-1/2—11 26.5 61.5 55.0
IPG-32-32F 2—11 2—11 30.0 67.0 70.0

BSP MALE 60° CONE X BSPT FEMALE: IPB-F

REF. NO. T1 T2 L1 L H
IPB-04-04F 1/4—19 1/4—19 14.5 50.5 19.0
IPB-06-06F 3/8—19 3/8—19 15.0 53.5 22.0
IPB-08-08F 1/2—14 1/2—14 20.0 69.0 27.0
IPB-12-12F 3/4—14 3/4—14 20.0 70.5 32.0
IPB-16-16F 1—11 1—11 25.5 87.5 41.0
IPB-20-20F 1-1/4—11 1-1/4—11 26.5 91.0 50.0
IPB-24-24F 1-1/2—11 1-1/2—11 26.5 91.0 55.0

BSP MALE BONDED SEAL X BSPT FEMALE: IGB-F

PART NO. T1 T2 L1 L H
IGB-04-02F 1/4—19 1/8—28 12.0 28.0 19.0
IGB-04F 1/4—19 1/4—19 12.0 33.5 19.0
IGB-04-06F 1/4—19 3/8—19 12.0 34.0 22.0
IGB-04-08F 1/4—19 1/2—14 12.0 41.0 27.0
IGB-06-04F 3/8—19 1/4—19 13.5 35.0 22.0
IGB-06F 3/8—19 3/8—19 13.5 34.0 22.0
IGB-08-06F 1/2—14 3/8—19 16.0 39.5 27.0
IGB-08F 1/2—14 1/2—14 16.0 45.0 27.0
IGB-10-08F 5/8—14 1/2—14 17.5 43.5 30.0
IGB-12-08F 3/4—14 1/2—14 18.5 47.5 32.0
IGB-12F 3/4—14 3/4—14 18.5 49.0 36.0
IGB-16-12F 1—11 3/4—14 20.5 47.5 41.0
IGB-16F 1—11 1—11 20.5 57.0 41.0
IGB-20F 1-1/4—11 1-1/4—11 20.5 58.5 50.0
IGB-24F 1-1/2—11 1-1/2—11 23.0 61.0 55.0




60°

L1

BSP MALE 60° CONE SEAT X BSP FEMALE 90°

f—

ELBOW: LQG-F
PART NO. T1 T2 L1 L2 H
LQG-02F 1/8—28 1/8—28 22.5 20.0 16.0
LQG-04F 1/4—19 1/4—19 25.5 22.0 19.0
LQG-06F 3/8—19 3/8—19 30.5 26.0 24.0
LQG-08F 1/2—14 1/2—14 39.0 31.0 30.0
LQG-12F 3/4—14 3/4—14 43.5 37.0 33.0
LQG-16F 1—11 1—11 50.5 43.0 41.0
LQG-20F 1-1/4—11 1-1/4—11 55.0 46.0 50.0
BSP MALE 60° BONDED SEAL TYPE X BSP
SWIVEL FEMALE 60° CONE: 1QG-S
PART NO. T1 T2 L1 L2 L H H1
IQG-02-02S | 1/8—28 1/8—28 10.0 5.2 250 | 140 | 140
IQG-02-04S | 1/8—28 1/4—19 10.0 5.2 27.0 [ 140 | 19.0
IQG-04-04S | 1/4—19 1/4—19 12.0 5.2 29.0 [ 19.0 | 19.0
IQG-04-06S | 1/4—19 3/8—19 12.0 6.0 30.5 [ 19.0 | 22.0
IQG-04-08S | 1/4—19 1/2—14 12.0 6.7 32.0 [ 19.0 | 270
IQG-06-06S | 3/8—19 3/8—19 13.5 6.0 34.0 | 220 | 22.0
IQG-06-08S [ 3/8—19 1/2—14 13.5 6.7 356.5 [ 220 | 27.0
IQG-06-10S | 3/8—19 5/8—14 13.5 9.2 36.0 [ 22.0 [ 30.0
IQG-08-08S | 1/2—14 1/2—14 16.0 6.7 400 | 27.0 | 27.0
IQG-08-06S | 1/2—14 3/8—19 16.0 6.0 38.5 [ 27.0 | 22.0
IQG-08-12S | 1/2—14 3/4—14 16.0 9.2 410 | 27.0 | 32.0
IQG-10-10S | 5/8—14 5/8—14 17.5 9.2 42.0 | 30.0 | 30.0
IQG-10-08S [ 5/8—14 1/2—14 17.5 6.7 415 | 30.0 | 27.0
IQG-10-12S | 5/8—14 3/4—14 17.5 9.2 42.5 | 30.0 | 32.0
IQG-12-12S | 3/4—14 3/4—14 18.5 9.2 445 | 32.0 | 32.0
IQG-12-10S | 3/4—14 5/8—14 18.5 9.2 44.0 | 32.0 | 30.0
IQG-12-16S | 3/4—14 1—11 185 | 10.5 | 46.0 | 32.0 | 41.0
IQG-16-16S 1—1 1—1 205 | 10.5 | 50.0 | 41.0 | 41.0
IQG-16-12S 1—11 3/4—14 | 20.5 9.2 49.0 | 41.0 | 32.0
1QG-16-20S 1—11 1-1/4—11 | 20.5 | 10.5 | 53.0 [ 41.0 [ 50.0
1QG-20-20S | 1-1/4—11 [ 1-1/4—11 | 20.5 [ 10.5 | 55.0 | 50.0 | 50.0
IQG-20-16S | 1-1/4—11 1—1 205 | 10.5 | 52.0 | 50.0 | 41.0
IQG-20-24S | 1-1/4—11 | 1-1/2—11 | 20.5 | 12.0 | 55.5 | 50.0 | 55.0
1QG-24-24S | 1-1/2—11 [ 1-1/2—11 | 23.0 | 12.0 | 58.0 | 55.0 | 55.0
IQG-32-32S 2—11 2—11 255 [ 16.0 | 63,5 | 70.0 | 70.0

BSP MALE 60° CONE SEAT X BSP SWIVEL FEMA-
LE 60° CONE 45° ELBOW: FQG-S

PART NO. T1 T2 L1 L H H1
FQG-04-04S 1/4—19 1/4—19 5.2 20.3 14.0 19.0
FQG-04-06S 1/4—19 3/8—19 6.0 20.3 14.0 22.0
FQG-06-06S 3/8—19 3/8—19 6.0 22.0 16.0 22.0
FQG-06-04S 3/8—19 1/4—19 5.2 22.0 16.0 19.0
FQG-08-08S 1/2—14 1/2—14 6.7 27.0 22.0 27.0
FQG-08-06S 1/2—14 3/8—19 6.0 27.0 22.0 22.0
FQG-10-10S 5/8—14 5/8—14 9.2 28.5 22.0 30.0
FQG-10-08S 5/8—14 1/2—14 6.7 28.5 22.0 27.0
FQG-12-12S 3/4—14 3/4—14 9.2 31.0 27.0 32.0
FQG-16-16S 1—11 1—11 10.5 35.0 33.0 41.0
FQG-20-20S 1-1/4—11 1-1/4—11 10.5 38.5 41.0 50.0
FQG-24-24S 1-1/2—11 1-1/2—11 12.0 44.0 48.0 55.0
FQG-32-32S 2—11 2—11 16.0 51.0 63.0 70.0

AVAJHLdSd M 3

52



BSP MALE 60° CONE SEAT X BSP SWIVEL FEMALE
60° CONE 90° ELBOW: LQG-S

PART NO. T1 T2 L1 L H H1
LQG-02-02S 1/8—28 1/8—28 5.2 19.8 11.0 14.0
LQG-04-04S 1/4—19 1/4—19 5.2 24.5 14.0 19.0
LQG-04-06S 1/4—19 3/8—19 6.0 25.0 14.0 22.0
LQG-06-06S 3/8—19 3/8—19 6.0 27.5 16.0 22.0
LQG-06-04S 3/8—19 1/4—19 5.2 27.5 16.0 19.0
LQG-08-08S 1/2—14 1/2—14 6.7 34.5 22.0 27.0
LQG-08-06S 1/2—14 3/8—19 6.0 34.5 22.0 22.0
LQG-10-10S 5/8—14 5/8—14 9.2 35.0 22.0 30.0
LQG-10-08S 5/8—14 1/2—14 6.7 35.0 22.0 27.0
LQG-12-128 3/4—14 3/4—14 9.2 40.0 27.0 32.0
LQG-16-16S 1—11 1—11 10.5 46.0 33.0 41.0
LQG-20-20S | 1-1/4—11 | 1-1/4—11 10.5 50.5 41.0 50.0
LQG-24-24S | 1-12—11 | 1-1/2—11 12.0 57.5 48.0 55.0
LQG-32-32S 2—11 2—11 16.0 72.5 63.0 70.0

4]
E Tl\\ - ]
o  m—
m v
.-
=
= : \
e
m T2 oo\ “HI
> LQG-S
-

i

S —
mﬁ\\ - / H L3///~m

| 80
pal
=

Neo

Le

L1

T3

N
=

i

<3

Le

T1

TEJ

TQG-S-S
53

T3

BSP MALE 60° CONE SEAT X BSP SWIVEL FEMALE
60° CONE BRANCH X BSP MALE 60° CONE SEAT
RUN TEE: TQG-S

PART NO. T1 T2 T3 L1,L3] L2 H H1
TQG-02-02S-02 | 1/8—28 | 1/8—28 | 1/8—28 | 19.8 [ 5.2 | 11.0 [ 14.0
TQG-04-04S-04 | 1/4—19 | 1/4—19 | 1/4—19 | 245 | 52 [ 14.0 | 19.0
TQG-06-06S-06 | 3/8—19 | 3/8—19 | 3/8—19 | 27.5 | 6.0 [ 16.0 | 22.0
TQG-08-08S-08 | 1/2—14 | 1/2—14 | 1/2—14 | 34.5 | 6.7 | 22.0 | 27.0
TQG-12-12S-12| 3/4—14 | 3/4—14 | 3/4—14 | 40.0 [ 9.2 | 27.0 | 32.0
TQG-16-16S-16| 1—11 1—11 1—1 46.0 | 10.5 | 33.0 | 41.0
TQG-20-20S-20 | 1-1/4—11|1-1/4—11]1-1/4—11] 50.5 | 10.5 [ 41.0 | 50.0
TQG-24-24S-24 [1-1/2—11{1-1/2—11]|1-1/2—11| 57.5 [ 12.0 | 48.0 | 55.0
TQG-32-32S-32 2—11 2—1 2—11 72.5 | 16.0 | 63.0 [ 70.0

BSP MALE 60° CONE SEAT X BSP MALE 60° CONE
SEAT BRANCH X BSP SWIVEL FEMALE 60° CONE
RUN TEE: TQG-S

PART NO. T1 T2 T3 L1,L2| L3 H H1
TQG-02-02-02S | 1/8—28 | 1/8—28 | 1/8—28 | 19.8 | 5.2 | 11.0 | 14.0
TQG-04-04-04S | 1/4—19 | 1/4—19 | 1/4—19 | 245 | 52 | 14.0 [ 19.0
TQG-06-06-06S | 3/8—19 | 3/8—19 | 3/8—19 | 275 | 6.0 | 16.0 | 22.0
TQG-08-08-08S | 1/2—14 | 1/2—14 | 1/2—14 | 345 | 6.7 | 22.0 | 27.0
TQG-12-12-12S | 3/4—14 | 3/4—14 | 3/4—14 | 40.0 | 9.2 | 27.0 | 32.0
TQG-16-16-16S | 1—11 1—11 1—11 46.0 | 10.5 | 33.0 | 41.0
TQG-20-20-20S | 1-1/4—11]|1-1/4—11]1-1/4—11| 50.5 | 10.5 | 41.0 [ 50.0
TQG-24-24-24S |1-1/2—11|1-1/2—11]|1-1/2—11| 57.5 | 12.0 | 48.0 | 55.0
TQG-32-32-32S | 2—11 2—11 2—11 72.5 | 16.0 | 63.0 | 70.0

BSP SWIVEL FEMALE 60° CONE X BSP MALE 60°
CONE SEAT BRANCH X BSP SWIVEL FEMALE 60°
CONE RUN TEE: TQG-S-S

PART NO. T1,T2,T3 L1,L3 L2 H H1,H2
TQG-04S-04-04S 1/4—19 5.2 24.5 14.0 19.0
TQG-06S-06-06S 3/8—19 6.0 27.5 16.0 22.0
TQG-08S-08-08S 1/2—14 6.7 34.5 22.0 27.0
TQG-12S8-12-12S 3/4—14 9.2 40.0 27.0 32.0
TQG-16S-16-16S 1—11 10.5 46.0 33.0 41.0




60°

60°

4 |

- L1 b L3 Hp E

PR / 2 BSP MALE 60° CONE SEAT X BSP SWIVEL

5 \\\\ \\\\W FEMALE 60° CONE BRANCH X BSP SWIVEL =
Ep > FEMALE 60° CONE RUN TEE: TQG-S-S 75
PART NO. T1,T2,T3 L1 L2,L3 H H1,H2 w

T3 TQG-04-04S-04S 1/4—19 24.5 5.2 14.0 19.0 H

o .y= TQG-06-06S-06S 3/8—19 275 6.0 16.0 22.0

- ==\ TQG-08-08S-08S 1/2—14 34.5 6.7 22.0 27.0 :
TQG-12-128-128 3/4—14 40.0 9.2 27.0 32.0 w

T2 oo\ 1 TQG-16-16S-16S 1—11 46.0 10.5 33.0 41.0 m
TQG-S-S é

Hl\ S H L3/H3
7
N @ BSP SWIVEL FEMALE 60° CONE TEE: TQG-S-S-S

PART NO. TIT2T3 | L1 | L23] H H1 | H2,H3
TQG-045-04S-04S | 1/4—9 | 52 | 52 | 140 | 190 | 190
TQG-06S-065-06S | 3/8—19 | 6.0 | 60 | 160 | 220 | 220
= T3 TQG-08S-085-08S | 1/2—14 | 67 | 67 | 220 | 270 | 270

ES

o = TQG-125-12512S | 3/4—14 | 92 | 92 | 27.0 | 320 | 320
= TQG-16S-165-16S 1—11 105 | 105 | 330 | 410 | 410
Tz N 60° Ve He
TQG-S—-S-S
BSP SWIVEL FEMALE 60° CONE X BSP SWIVEL
H1 H Ho FEMALE 60° CONE: IQP-S-S

PART NO. T1 T2 L1,L2 L H H1,H2
1QP-02S-02S 1/8—28 1/8—28 5.2 16.4 14.0 14.0
IQP-02S-04S 1/8—28 1/4—19 5.2 16.4 14.0 19.0
IQP-04S-04S 1/4—19 1/4—19 5.2 16.4 19.0 19.0
IQP-04S-06S 1/4—19 3/8—19 6.0 20.0 19.0 | 22.0
IQP-06S-06S 3/8—19 3/8—19 6.0 20.0 | 220 | 22.0
IQP-06S-08S 3/8—19 1/2—14 6.7 234 | 220 | 27.0

&
—
\
=
AN

T1- TP IQP-08S-08S 1/2—14 1/2—14 6.7 234 | 270 | 27.0
L1 Lc IQP-10S-10S 5/8—14 5/8—14 9.2 28.4 | 30.0 | 30.0

L IQP-10S-12S 5/8—14 3/4—14 9.2 294 | 300 | 32.0

IQP-12S-128 3/4—14 3/4—14 9.2 294 | 320 | 32.0

IQP-12S-16S 3/4—14 1—11 10.5 | 34.0 [ 32.0 [ 41.0

TOP-S-S IQP-16S-16S 1—11 1—11 10.5 | 34.0 [ 41.0 [ 41.0

Q IQP-16S-20S 1—11 1-1/4—11 10.5 | 38.0 [ 41.0 [ 50.0

IQP-20S-20S 1-1/4—11 1-1/4—11 10.5 | 38.0 | 50.0 | 50.0
IQP-20S-24S 1-1/4—11 1-1/2—11 120 | 41.0 [ 50.0 [ 55.0
IQP-24S-24S 1-1/2—11 1-1/2—11 120 | 41.0 [ 55.0 [ 55.0
IQP-32S-32S 2—11 2—11 16.0 | 49.0 [ 70.0 [ 70.0

54



AVHIHLdSE m §

60°

55

60°
~

//

N

60°

H1

<

L2

Ll

T2

/4°

BSP SWIVEL FEMALE 60° CONE X NPT MALE:IGN-S

PART NO. T1 T2 L2 L H H1
IGN-02S-02 | 1/8—28 1/8—27 10.5 5.2 255 | 12.0 [ 14.0
IGN-04S-02 | 1/4—19 1/8—27 10.5 5.2 27.0 | 14.0 [ 19.0
IGN-04S-04 | 1/4—19 1/4—18 15.0 5.2 31.0 | 17.0 [ 19.0
IGN-06S-04 | 3/8—19 1/4—18 15.0 6.0 325 | 17.0 [ 22.0
IGN-08S-04 | 1/2—14 1/4—18 15.0 6.7 35.0 | 19.0 [ 27.0
IGN-06S-06 | 3/8—19 3/8—18 16.0 6.0 33.5 | 19.0 | 22.0
IGN-08S-06 | 1/2—14 3/8—18 16.0 6.7 36.0 | 19.0 [ 27.0
IGN-08S-08 | 1/2—14 1/2—14 19.5 6.7 | 41.0 | 22.0 | 27.0
IGN-06S-08 | 3/8—19 1/2—14 19.5 6.0 39.5 | 24.0 [ 24.0
IGN-12S-08 | 3/4—14 1/2—14 19.5 9.2 | 445 | 27.0 | 32.0
IGN-128-12 | 3/4—14 3/4—14 19.5 9.2 | 445 | 30.0 | 32.0
IGN-16S-12 1—11 3/4—14 19.5 | 10.5 | 46.5 | 32.0 | 41.0
IGN-16S-16 1—11 1—11.5 255 | 105 [ 525 | 36.0 | 41.0
IGN-20S-16 | 1-1/4—11| 1—11.5 255 | 105 [ 59.5 | 41.0 | 50.0
IGN-20S-20 | 1-1/4—11 [1-1/4—11.5| 26.5 | 10.5 | 60.4 | 46.0 | 50.0
IGN-24S-24 | 1-1/2—11|1-1/2—11.5| 27.5 | 12.0 | 62.0 | 50.0 [ 55.0
IGN-32S-32 2—11 2—11.5 275 | 16.0 [ 654 | 65.0 | 70.0

BSP MALE BONDED SEAL TYPE X JIC SWIVEL
FEMALE 74° CONE SEAT: IGJ-S

PART NO. T1 T2 L1 L2 L H H1
1GJ-04-04S | 1/4—19 | 7/16—20 [ 12.0 9.0 26.0 | 19.0 [ 15.0
1GJ-06-06S | 3/8—19 [ 9/16—18 [ 13.5 | 10.0 | 30.5 [ 22.0 | 19.0
IGJ-08-08S | 1/2—14 3/4—16 16.0 | 10.5 | 37.0 | 27.0 | 24.0
IGJ-12-12S | 3/4—14 |1-1/16—12| 18.5 | 15.0 | 42.0 | 32.0 | 32.0
1GJ-16-16S 1—11 1-5/16—12| 20.5 | 155 | 46.0 | 41.0 [ 41.0
1GJ-20-20S | 1-1/4—11 | 1-5/8—12 [ 20.5 | 16.2 | 52.0 [ 50.0 [ 50.0
1GJ-24-24S | 1-1/2—11 | 1-7/8—12 | 23.0 | 188 | 56.5 | 55.0 | 55.0
1GJ-32-32S 2—11 2-1/2—12 | 25,5 | 24.0 | 60.0 | 70.0 | 75.0

BSP MALE 60° CONE X JIC SWIVEL FEMALE 74°
CONE SEAT 45° ELBOW: FGJ-S

PART NO. T1 T2 L1 L2 H H1
FGJ-04-04S 1/4—19 7/16—20 20.3 9.0 14.0 15.0
FGJ-06-06S 3/8—19 9/16—18 22.0 10.0 16.0 19.0
FGJ-08-08S 1/2—14 3/4—16 27.0 10.5 22.0 24.0
FGJ-12-12S 3/4—14 1-1/16—12 | 31.0 15.0 27.0 32.0
FGJ-16-16S 1—11 1-5/16—12 | 35.0 15.5 33.0 41.0
FGJ-20-20S | 1-1/4—11 1-5/8—12 38.5 16.2 41.0 50.0

BSP MALE 60° CONE SEAT X JIC SWIVEL FEMALE
74° CONE SEAT 90° ELBOW: LGJ-S

PART NO. T1 T2 L1 L2 H H1
LGJ-04-04S 1/4—19 7/16—20 24.5 9.0 14.0 15.0
LGJ-06-06S 3/8—19 9/16—18 27.5 10.0 16.0 19.0
LGJ-08-08S 1/2—14 3/4—16 32.5 10.5 22.0 24.0
LGJ-12-128 3/4—14 1-1/16—12 | 37.0 15.0 27.0 32.0
LGJ-16-16S 1—11 1-5/16—12 | 46.0 15.5 33.0 41.0
LGJ-20-20S | 1-1/4—11 1-5/8—12 50.5 16.2 41.0 50.0




BSP SWIVEL FEMALE 60° CONE X NPT MALE 90°

ELBOW: LGN-S
Al ’ PART NO. T T2 L1 L H H1
LGN-025-02 1/8—28 1/8—27 52 | 210 | 1.0 | 140
, 7{ LGN-04S-04 1/4—19 1/4—18 52 | 255 | 140 | 19.0
. N LGN-06S-04 | 3/8—19 1/4—18 6.0 | 255 | 140 | 220
2 - — LGN-065-06 | 3/8—19 3/8—18 6.0 | 31.0 | 190 | 220
LGN-04S-06 1/4—19 3/8—18 52 | 310 | 190 | 19.0
LGN-08S-06 112—14 3/8—18 67 | 310 | 190 | 270
= LGN-08S-08 112—14 1/2—14 6.7 | 373 | 220 | 270
/ B E LGN-065-08 | 3/8—19 1/2—14 6.0 | 367 | 220 | 220
T~ === = LGN-125-12 | 34—14 | 3/4—14 | 92 | 435 | 27.0 | 320
==\ LGN-085-12 112—14 3/4—14 6.7 | 450 | 270 | 270
LGN-165-12 1—11 3/4—14 105 | 450 | 300 | 41.0
/\@) o LGN-16S-16 1—11 1—11.5 105 | 50.0 | 33.0 | 41.0
LGN-12S-16 | 3/4—14 1—11.5 92 | 500 | 330 | 320
LGN-S LGN-205-20 | 1-1/4—11 | 1-1/4—115 | 105 | 545 | 41.0 | 50.0
LGN-245-24 | 1-1/2—11 | 1-1/2—115 | 12.0 | 59.0 | 480 | 55.0
LGN-325-32 2—11 2—115 16.0 | 735 | 63.0 | 70.0
BSP SWIVEL FEMALE 60° CONE X BSPT MALE:
IGB-S
H1 H PART NO. T1 T2 L1 L2 L H H1
IGB-02S-02 | 1/8—28 | 1/8—28 | 100 | 52 | 25.0 | 120 | 14.0
IGB-04S-04 | 1/4—19 | 1/4—19 | 145 | 52 | 315 | 17.0 | 19.0
IGB-06S-06 | 3/8—19 | 3/8—19 | 150 | 6.0 | 33.0 | 19.0 | 22.0
. 7 . IGB-045-06 | 1/4—19 | 3/8—19 | 150 | 52 | 320 | 19.0 | 19.0
D 0 IGB-08S-06 | 1/2—14 | 3/8—19 | 150 | 6.7 | 350 | 190 | 27.0
M IGB-08S-08 | 1/2—14 | 1/2—14 | 200 | 6.7 | 420 | 220 | 27.0
ﬁ% ¢ IGB-06S-08 | 3/8—19 | 1/2—14 | 20.0 | 6.0 | 40.0 | 22.0 | 22.0
\ IGB-12S-08 | 3/4—14 | 1/2—14 | 200 | 92 | 450 | 270 | 32.0
- / L1 \Te IGB-12S-12 | 3/4—14 | 3/4—14 | 200 | 92 | 45.0 | 300 | 32.0
Lo 3 IGB-08S-12 | 1/2—14 | 3/4—14 | 200 | 6.7 | 440 | 300 | 27.0
IGB-16S-12 1—11 3/4—14 | 20.0 | 105 | 47.0 | 32.0 | 41.0
IGB-S IGB-165-16 1—11 1—11 | 255 | 105 | 525 | 36.0 | 41.0
IGB-125-16 | 3/4—14 1—11 | 255 | 92 | 515 | 36.0 | 32.0
IGB-165-20 1—11 | 11/4—11| 265 | 105 | 555 | 46.0 | 41.0
IGB-20S-20 | 1-1/4—11 | 1-1/4—11 | 26.5 | 10.5 | 59.0 | 46.0 | 50.0
IGB-248-24 | 1-1/2—11 | 1-1/2—11 | 26,5 | 12.0 | 615 | 50.0 | 55.0
IGB-325-32 2—11 2—11 | 300 | 16.0 | 68.0 | 65.0 | 70.0
L1 H1
] H BSP SWIVEL FEMALE 60° CONE X BSPT MALE
45° ELBOW: FGB-S
s G
. PART NO. T T2 L1 L2 H H1
3 - FGB-045-04 1/4—19 1/4—19 52 | 210 | 140 | 19.0
S FGB-06S-06 3/8—19 3/8—19 60 | 230 | 16.0 | 220
/ FGB-08S-08 1/2—14 1/2—14 67 | 295 | 220 | 270
- i FGB-125-12 3/4—14 3/4—14 92 | 305 | 270 | 320
FGB-165-16 1—11 1—11 105 | 380 | 330 | 410
S FGB-20S-20 | 1-1/4—11 | 1-1/4—11 | 105 | 43.0 | 41.0 | 50.0

FGB*STE \/

AVAHJHLdSd M 3

56



AVHIHLdSE m §

57

60°

s

L1

j\

T
> 1
>
<
N\

7
L1
L
PGG
/A

C———

PGP-V

BSP SWIVEL FEMALE 60° CONE X BSPT MALE 90°

ELBOW: LGB-S

PART NO. T1 T2 L1 L H H1

LGB-02S-02 1/8—28 1/8—28 5.2 21.0 11.0 14.0
LGB-04S-04 1/4—19 1/4—19 5.2 25.5 14.0 19.0
LGB-06S-06 3/8—19 3/8—19 6.0 28.5 16.0 22.0
LGB-08S-06 1/2—14 3/8—19 6.7 31.0 19.0 27.0
LGB-06S-08 3/8—19 1/2—14 6.0 36.0 22.0 22.0
LGB-08S-08 1/2—14 12—14 6.7 36.0 22.0 27.0
LGB-12S-08 3/4—14 1/2—14 9.2 37.0 24.0 32.0
LGB-08S-12 1/2—14 3/4—14 6.7 43.5 27.0 27.0
LGB-12S-12 3/4—14 3/4—14 9.2 43.5 27.0 32.0
LGB-16S-16 1—11 1—11 10.5 50.0 33.0 | 41.0
LGB-20S-20 1-1/4—11 | 1-1/4—11 10.5 58.0 | 41.0 50.0
LGB-24S-24 1-1/2—11 | 1-1/2—11 12.0 62.5 | 48.0 55.0

BSP MALE 60° BONDED SEAL TYPE

PLUG: PGG
PART NO. T L1 L H
PGG-02 1/8—28 10.0 16.0 14.0
PGG-04 1/4—19 12.0 18.0 19.0
PGG-06 3/8—19 13.5 21.5 22.0
PGG-08 1/2—14 16.0 26.0 27.0
PGG-10 5/8—14 17.5 27.5 30.0
PGG-12 3/4—14 18.5 29.5 32.0
PGG-16 1—1 20.5 34.0 41.0
PGG-20 1-1/4—11 20.5 37.5 50.0
PGG-24 1-1/2—11 23.0 40.0 55.0
PGG-32 2—11 255 43.5 70.0

BSP MALE 60° CONE SEAT PLUG: PGF

REF. NO. T L1 L H
PGF-04 1/4—19 12.0 18.0 19.0
PGF-06 3/8—19 13.5 21.5 22.0
PGF-08 1/2—14 16.0 26.0 27.0
PGF-12 3/4—14 18.5 29.5 32.0
PGF-16 1—11 20.5 34.0 41.0
PGF-20 1-1/4—11 20.5 37.5 50.0
PGF-24 1-1/2—11 23.0 40.0 55.0
PGF-32 2—11 25.5 43.5 70.0
BSP MALE CAPTIVE SEAL PLUG: PGP-V
PART NO. T L1 L H
PGP-02V 1/8—28 8.0 15.5 14.0
PGP-04V 1/4—19 12.0 19.6 19.0
PGP-06V 3/8—19 12.0 22.5 22.0
PGP-08V 1/2—14 14.0 25.0 27.0
PGP-12V 3/4—14 16.0 29.0 32.0
PGP-16V 1—11 16.0 35.0 41.0
PGP-20V 1-1/4—11 20.0 37.0 50.0
PGP-24V 1-1/2—11 22.0 40.0 55.0




%

60°

BSP MALE 60° CONE PLUG: PGP

L1

PGP

REF. NO. T L1 L H
PGP-04 1/4—19 16.0 | 22.0 [ 19.0
PGP-06 3/8—19 18.0 | 26.0 [ 220
PGP-08 1/2—14 200 | 300 [ 270
PGP-12 3/4—14 220 | 330 | 320
PGP-16 1—11 240 | 375 | 410
PGP-20 1-1/4—11 270 | 440 | 500
PGP-24 1-1/2—11 270 | 440 | 550
PGP-32 2—11 300 | 480 [ 700
BSP SWIVEL FEMALE 60° CONE CAP:
CAP-S
REF. NO. T L1 L2 H
CAP-04S 1/4—19 52 | 105 | 19.0
CAP-06S 3/8—19 60 | 130 | 220
CAP-08S 12—14 67 | 140 | 270
CAP-12S 3/4—14 92 | 150 | 320
CAP-16S 1—11 105 | 180 [ 41.0
CAP-20S 1-1/4—11_| 105 | 19.0 [ 50.0

BSP SWIVEL FEMALE 60° CONE SEAT

CAG—S

PGGX

CAP: CAG-S

REF. NO. T L1 L2 H

CAG-04S 1/4—19 5.2 10.5 19.0
CAG-06S 3/8—19 6.0 13.0 22.0
CAG-08S 1/2—14 6.7 14.0 27.0
CAG-12S 3/4—14 9.2 15.0 32.0
CAG-16S 1—11 10.5 18.0 41.0
CAG-20S 1-1/4—11 10.5 19.0 50.0

BSP MALE BONDED SEAL WITH HOLLOW

HEX PLUG: PGGX

T

s

PART NO. T L1 L H

PGGX-02 1/8—28 8.0 11.0 5.0
PGGX-04 1/4—19 12.0 15.0 6.0
PGGX-06 3/8—19 12.0 15.0 8.0
PGGX-08 1/2—14 14.0 18.0 10.0
PGGX-12 3/4—14 16.0 20.0 12.0
PGGX-16 1—11 16.0 21.0 17.0

AVAJHLdSd M 3

58



AVHIHLdSE m §

BSP MALE CAPTIVE SEAL WITH
HOLLOW HEX PLUG: PGPX-V

PART NO. T L1 L H

PGPX-02V 1/8—28 8 12.2 5.0
PGPX-04V 1/4—19 12 17.2 6.0
PGPX-06V 3/8—19 12 17.2 8.0
PGPX-08V 1/2—14 14 19.2 10.0
PGPX-12V 3/4—14 16 21.2 12.0
PGPX-16V 1—11 16 22.8 17.0
PGPX-20V 1-1/4—11 20 26.8 22.0
PGPX-24V 1-1/2—11 22 28.8 24.0

BSP LOCK NUT:NTGPLUG: PGPX-V

PART NO. T L H
NTG-04 1/4—19 7.0 19.0
NTG-06 3/8—19 7.0 22.0
NTG-08 1/2—14 8.0 27.0
NTG-10 5/8—14 9.0 30.0
NTG-12 3/4—14 10.5 32.0
NTG-16 1—11 10.5 41.0
NTG-20 1-1/4—11 10.5 50.0
NTG-24 1-1/2—11 10.5 55.0
NTG-32 2—11 10.5 70.0

NTG
.
BSP MALE O-RING BOSS X HOSE TAIL :
. PHT-OR
e B PART NO. T [TuBEoD[ L1 [ L2 [ D
IPHT-120R-12 | 3/4—14 | 3/4" | 155 [ 353 | 19.0
v IPHT-160R-16 | 1—11 1" 18.0 | 36.0 | 25.4
IPHT-200R-20 [1-1/4—11] _1-1/4"_| 20.0 [ 385 | 31.7
L1 | Le
TPHT-OR

L1

BSP MALE WITH LOCKING NUT

WHASHER O-RING X HOSE TAIL 90°
ELBOW : LPHT-NWR

PART NO. T TUBE O.D| L1 L2 D
o LPHT-12-12-NWR | 3/4—14 3/4" 49.3 | 52.3 [ 19.0
LPHT-16-16-NWR| 1—11 1" 53.0 | 55.6 | 254
LPHT-20-20-NWR| 1-1/4— 1-1/4" 59.0 | 60.5 | 31.7

D

59 LPHT-NWR



BSPT MALE X BSPT MALE: 1QB

PART NO. T T2 1 L H

IQB-02-04 | 1/8—28 | 1/4—19 1.0 325 19.0

IQB-04-02 | 1/4—19 | 1/8—28 145 205 14.0

IQB-04-04 | 1/4—19 | 1/4—19 145 36.0 19.0

IQB-04-06 | 1/4—19 | 3/8—19 145 38.0 22.0

IQB-06-02 | 3/8—19 | 1/8—28 15.0 23.0 19.0

IQB-06-04 | 3/8—19 | 1/4—19 15.0 23.0 19.0

T1 H T2 IQB-06-06 | 3/8—19 | 3/8—19 15.0 385 22.0
IQB-06-08 | 3/8—19 | 1/2—14 15.0 44.0 27.0

A IQB-08-04 | 1/2—14 | 1/4—19 20.0 30.0 24.0
IQB-08-06 | 1/2—14 | 3/8—19 20.0 30.0 24.0

% 8 IQB-08-08 12—14 | 1/2—14 20.0 49.0 27.0
IQB-08-12 | 12—14 | 3/4—14 20.0 51.0 36.0

IQB-12-06 | 3/4—14 | 3/8—19 20.0 31.0 30.0

v . IQB-12-08 | 3/4—14 | 1/2—14 20.0 31.0 30.0
B ‘ ‘ o IQB-12-12 | 3/4—14 | 3/4—14 20.0 51.0 36.0

L IQB-12-16 | 3/4—14 1—1 20.0 56.5 41.0

L IQB-16-08 1—1 1/2—14 255 37.0 36.0

IQB-16-12 1—1 3/4—14 255 37.0 36.0

1QB IQB-16-16 1—1 1—1 255 60.0 41.0

IQB-16-20 —11 | 1-1/4—11 255 64.0 50.0

IQB-20-12 | 1-1/4—11 | 3/4—14 26.5 38.0 46.0

IQB-20-16 | 1-1/4—11 | 1—11 26.5 38.0 46.0

IQB-20-20 | 1-1/4—11 | 1-1/4—11 26.5 64.5 50.0

IQB24-16 | 1-1/2—11 | 1—11 26.5 41.0 50.0

IQB-24-20 | 1-1/2—11 | 1-1/4—11 26.5 41.0 50.0

IQB-32-20 2—11 | 1-1/4—11 30.0 45.0 65.0

IQB-32-24 2—11 | 11— 30.0 45.0 65.0

T~ L1 L BSPT MALE X BSPT MALE 45° ELBOW: FQB

\A\M\MM — PART NO. T T2 1 2 H
] m \m\\\mu“ FQB-02-02 | 1/8—28 | 1/8—28 19.0 17.0 11.0
S FQB-04-04 | 1/4—19 | 1/4—19 22.0 20.0 14.0
AU ranoe0s | to—ia T io—ta T a7 T 280 | 220
FQB-12-12 | 3/4—14 | 3/4—14 36.5 30.0 27.0
' FQB-16-16 1—11 1—11 425 375 33.0
Y < FQB-20-20 | 1-1/4—11 | 1-1/4—11 44.0 30.0 410
\ / FQB-24-24 | 1-1/2—11 | 1-1/2—11 51.0 36.0 48.0

BSPT MALE X BSPT MALE 90° ELBOW: LQB

L1 | PART NO. T T2 L1 L2 H
Ti—| \ ! LQB-02-02 | 1/8—28 | 1/8—28 21.0 21.0 11.0
| LQB-02-04 | 1/8—28 | 1/4—19 235 255 14.0
I >< LQB-04-04 | 1/4—19 | 1/4—19 255 255 14.0
- : \ LQB-04-06 | 1/4—19 | 3/8—19 26.5 28.5 16.0
D LQB-04-08 | 1/4—19 | 1/72—14 30.5 36.0 22.0
\ LQB-06-06 | 3/8—19 | 3/8—19 285 285 16.0
— N LQB-06-08 | 3/8—19 | 1/2—14 325 36.0 22.0
= 3 LQB-08-08 | 1/2—14 | 1/2—14 36.0 36.0 22.0
EVTE LQB-08-12 | 1/2—14 | 3/4—14 395 435 27.0
= LQB-12-12 | 3/4—14 | 3/4—14 435 435.0 27.0
— LQB-12-16 | 3/4—14 1—1 48.0 50.0 33.0
60 LQB-16-16 1—11 1—1 50.0 50.0 33.0
LQB-16-20 1—11 1-1/4—11 56.5 57.5 41.0
LQB LQB-20-20 | 1-1/4—11 | 1-1/4—11 575 575 41.0
LQB-24-24 | 1-1/2—11 | 1-1/2—11 62.5 62.5 48.0
LQB-32-32 | 2—11 211 68.0 75.0 63.0

AVAJHL IdSd ™M 3

60



AVHIHL I4dSd T §

61

SN T3

[

/60”\\

=

Le

Te

TQB

e

—
N
T

/

£0°

L1 ‘ L2

Ll

60°

Le

/_(vvvv

Te

LBG

BSPT MALE TEE: TQB

REF. NO. T1,T2,T3 L1 L2,L3 H
TQB-04-04-04 1/4—19 25.5 25.5 14.0
TQB-06-06-06 3/8—19 31.0 31.0 19.0
TQB-08-08-08 1/2—14 36.7 36.7 22.0
TQB-12-12-12 3/4—14 44.0 44.0 27.0
TQB-16-16-16 1—1 50.0 50.0 33.0
TQB-20-20-20 1-1/4—11 54.5 54.5 41.0
TQB-24-24-24 1-1/2—11 59.5 59.5 48.0

BSPT MALE X BSP MALE 60° CONE: IBP

REF. NO. T1 T2 L1 L2 L H

IBP-04-04 | 1/4—19 1/4—19 16.0 14.5 36.5 17.0
IBP-06-06 | 3/8—19 3/8—19 18.0 15.0 39.0 19.0
IBP-08-08 | 1/2—14 1/2—14 20.0 20.0 48.0 24.0
IBP-12-12 | 3/4—14 3/4—14 22.0 20.0 52.0 30.0
IBP-16-16 1—11 1—11 24.0 25.5 60.5 36.0
IBP-20-20 | 1-1/4—11 | 1-1/4—11 | 27.0 26.5 66.5 46.0
IBP-24-24 | 1-1/2—11 | 1-1/2—11 | 27.0 26.5 68.5 50.0
IBP-32-32 2—11 2—1 30.0 30.0 77.0 65.0

BSPT MALE X BSP MALE 60° CONE 45° ELBOW:

FBG

PART NO. T1 T2 L1 L2 H

FBG-04-04 1/4—19 1/4—19 20.0 21.8 14.0
FBG-06-06 3/8—19 3/8—19 22.0 24.0 16.0
FBG-08-08 1/2—14 1/2—14 27.0 29.5 22.0
FBG-12-12 3/4—14 3/4—14 30.0 32.8 27.0
FBG-16-16 1—11 1—11 34.0 37.0 33.0
FBG-20-20 1-1/4—11 1-1/4—11 40.0 43.5 41.0

BSPT MALE X BSP MALE 60° CONE 90° ELBOW:

LBG

PART NO. T1 T2 L1 L2 H

LBG-04-04 1/4—19 1/4—19 26.3 25.5 14.0
LBG-06-06 3/8—19 3/8—19 30.0 28.5 16.0
LBG-08-08 1/2—14 1/2—14 37.0 35.0 22.0
LBG-12-12 3/4—14 3/4—14 41.5 43.5 27.0
LBG-16-16 1—11 1—11 47.5 50.0 33.0
LBG-20-20 1-1/4—11 1-1/4—11 57.0 56.5 41.0
LBG-24-24 1-1/2—11 1-1/2—11 61.0 62.5 48.0
LBG-32-32 2—1 2—1 65.0 75.0 63.0




L2

!
7
1] . N
IQB-F-F
L1
|
\ .
I
. % ﬂ
=
Te
LQB-F-F
Ll ‘ L3
| H
/
=
—1 N
TQB-F-F-F

BSPT FEMALE X BSPT FEMALE: 1QB-F-F

PART NO. T1 T2 L H
IQB-02F-02F 1/8—28 1/8—28 20.0 14.0
IQB-02F-04F 1/8—28 1/4—19 30.0 19.0
IQB-04F-04F 1/4—19 1/4—19 30.0 19.0
IQB-04F-06F 1/4—19 3/8—19 30.0 22.0
IQB-04F-08F 1/4—19 1/2—14 40.0 27.0
IQB-06F-06F 3/8—19 3/8—19 30.0 22.0
IQB-06F-08F 3/8—19 1/2—14 40.0 27.0
IQB-06F-12F 3/8—19 3/4—14 37.0 36.0
IQB-08F-08F 1/2—14 1/2—14 40.0 27.0
IQB-08F-12F 1/2—14 3/4—14 42.0 36.0
IQB-12F-12F 3/4—14 3/4—14 42.0 36.0
IQB-12F-16F 3/4—14 1—11 50.0 41.0
IQB-16F-16F 1—11 1—11 50.0 41.0
IQB-16F-20F 1—11 1-1/4—11 52.0 50.0
IQB-20F-20F 1-1/4—11 1-1/4—11 55.0 50.0
IQB-24F-24F 1-1/2—11 1-1/2—11 55.0 55.0
IQB-32F-32F 2—11 2—11 65.0 70.0

BSPT FEMALE X BSPT FEMALE 90° ELBOW:

LQB-F-F
PART NO. T1 T2 L1 L2 H
LQB-02F-02F | 1/8—28 | 1/8—28 20.0 20.0 16.0
LQB-02F-04F | 1/8—28 | 1/4—19 20.0 22.5 19.0
LQB-04F-04F | 1/4—19 | 1/4—19 22.5 22.5 19.0
LQB-06F-06F | 3/8—19 | 3/8—19 26.0 26.0 24.0
LQB-08F-08F | 1/2—14 | 1/2—14 31.0 31.0 27.0
LQB-12F-12F | 3/4—14 | 3/4—14 34.0 34.0 33.0
LQB-16F-16F 1—1 1—11 42.0 42.0 41.0
LQB-20F-20F |1-1/4—11|1-1/4—11 48.0 48.0 50.0
LQB-24F-24F | 1-1/2—11 | 1-1/2—11 53.0 53.0 60.0
LQB-32F-32F 2—11 2—11 62.0 62.0 70.0

BSPT FEMALE RUN TEE X BSPT FEMALE

BRANCH: TQB-F-F-F

PART NO. T1 T2 T3 L1,L2,L3| H
TQB-02F-02F-02F | 1/8—28 | 1/8—28 | 1/8—28 20.0 16.0
TQB-04F-04F-04F | 1/4—19 | 1/4—19 | 1/4—19 22.5 19.0
TQB-06F-06F-06F | 3/8—19 | 3/8—19 | 3/8—19 26.0 24.0
TQB-08F-08F-08F | 1/2—14 | 1/2—14 | 1/2—14 31.0 27.0
TQB-12F-12F-12F | 3/4—14 | 3/4—14 | 3/4—14 34.0 33.0
TQB-16F-16F-16F 1—11 1—11 1—11 42.0 41.0
TQB-20F-20F-20F | 1-1/4—11 [ 1-1/4—11 [ 1-1/4—11 48.0 50.0
TQB-24F-24F-24F | 1-12—11 [ 1-1/2—11 [ 1-1/2—11 53.0 60.0
TQB-32F-32F-32F 2—1 2—11 2—11 62.0 70.0

AVAJHL IdSd ™M 3

62



[N

L1

AVHIHL I4dSd T §

=

IQB-F

Ll

£0°

Te

63

Le

BSPT MALE X BSPT FEMALE: 1QB-F

PART NO. T1 T2 L1 L H
1QB-02-04F 1/8—28 1/4—19 11.0 32.5 19.0
1QB-04-02F 1/4—19 1/8—28 14.5 20.5 14.0
1QB-04-04F 1/4—19 1/4—19 14.5 36.0 19.0
1QB-04-06F 1/4—19 3/8—19 14.5 38.0 22.0
1QB-06-02F 3/8—19 1/8—28 15.0 23.0 19.0
1QB-06-04F 3/8—19 1/4—19 15.0 23.0 19.0
1QB-06-06F 3/8—19 3/8—19 15.0 38.5 22.0
1QB-06-08F 3/8—19 1/2—14 15.0 44.0 27.0
1QB-08-04F 1/2—14 1/4—19 20.0 30.0 24.0
1QB-08-06F 1/2—14 3/8—19 20.0 30.0 24.0
1QB-08-08F 1/2—14 1/2—14 20.0 49.0 27.0
1QB-08-12F 1/2—14 3/4—14 20.0 51.0 36.0
1QB-12-06F 3/4—14 3/8—19 20.0 31.0 30.0
1QB-12-08F 3/4—14 1/2—14 20.0 31.0 30.0
1QB-12-12F 3/4—14 3/4—14 20.0 51.0 36.0
1QB-12-16F 3/4—14 1—11 20.0 56.5 41.0
1QB-16-08F 1—11 1/2—14 25.5 37.0 36.0
1QB-16-12F 1—11 3/4—14 25.5 37.0 36.0
1QB-16-16F 1—11 1—11 25.5 60.0 41.0
1QB-16-20F 1—11 1-1/4—11 25.5 64.0 50.0
IQB-20-12F | 1-1/4—11 | 3/4—14 26.5 38.0 46.0
1QB-20-16F | 1-1/4—11 1—11 26.5 38.0 46.0
1QB-20-20F | 1-1/4—11 | 1-1/4—11 26.5 64.5 50.0
1QB-24-16F | 1-1/2—11 1—11 26.5 41.0 50.0
1QB-24-20F | 1-1/2—11 | 1-1/4—11 26.5 41.0 50.0
1QB-32-20F 2—11 1-1/4—11 30.0 45.0 65.0
1QB-32-24F 2—11 1-1/2—11 30.0 45.0 65.0
BSPT MALE X BSPT FEMALE 45° ELBOW: FQB-F
PART NO. T T2 L1 L2 H
FQB-02-02F 1/8—28 1/8—28 19.0 17.0 11.0
FQB-04-04F 1/4—19 1/4—19 22.0 20.0 14.0
FQB-06-06F 3/8—19 3/8—19 27.0 19.0 16.0
FQB-08-08F 1/2—14 1/2—14 31.7 28.0 22.0
FQB-12-12F 3/4—14 3/4—14 36.5 30.0 27.0
FQB-16-16F 1—11 1—11 42.5 37.5 33.0
FQB-20-20F 1-1/4—11 | 1-1/4—11 44.0 30.0 41.0
FQB-24-24F 1-12—11 | 1-1/2—11 51.0 36.0 48.0
BSPT MALE X BSPT FEMALE 90° ELBOW: LQB-F
PART NO. T1 T2 L1 L2 H
LQB-02-02F 1/8—28 1/8—28 24.5 23.0 16.0
LQB-04-04F 1/4—19 1/4—19 28.5 25.0 19.0
LQB-06-06F 3/8—19 3/8—19 33.5 25.0 24.0
LQB-08-08F 1/2—14 1/2—14 40.8 31.5 30.0
LQB-12-12F 3/4—14 3/4—14 47.5 37.0 33.0
LQB-16-16F 1—11 1—11 56.5 43.0 41.0
LQB-20-20F 1-1/4—11 1-1/4—11 61.0 50.0 48.0
LQB-24-24F 1-1/2—11 1-1/2—11 75.0 55.0 63.0




N

IBB-F

L1

/TB

60"

L2

LBHT
.
v
L1
L
PGB

PGBX

BSPT FEMALE X BSPT MALE BUSHING: IBB-F

REF. NO. T1 T2 L H
IBB-02F-04 1/8—28 1/4—19 21.0 14.0
IBB-02F-06 1/8—28 3/8—19 21.0 14.0
IBB-04F-06 1/4—19 3/8—19 21.0 19.0
IBB-04F-08 1/4—19 1/2—14 28.0 19.0
IBB-06F-08 3/8—19 1/2—14 28.0 22.0
IBB-04F-12 1/4—19 3/4—14 30.0 19.0
IBB-06F-12 3/8—19 3/4—14 30.0 22.0
IBB-08F-12 1/2—14 3/4—14 30.0 27.0
IBB-04F-16 1/4—19 1—11 35.0 19.0
IBB-06F-16 3/8—19 1—11 35.0 22.0
IBB-08F-16 1/2—14 1—11 35.0 27.0
IBB-12F-16 3/4—14 1—11 35.0 32.0
IBB-06F-20 3/8—19 1-1/4—11 38.0 22.0
IBB-08F-20 1/2—14 1-1/4—11 38.0 27.0
IBB-12F-20 3/4—14 1-1/4—11 38.0 32.0
IBB-16F-20 1—11 1-1/4—11 38.0 41.0
IBB-08F-24 1/2—14 1-1/2—11 40.0 27.0
IBB-12F-24 3/4—14 1-1/2—11 40.0 32.0
IBB-16F-24 1—11 1-1/2—11 40.0 41.0
IBB-20F-24 1-1/4—11 1-1/2—11 40.0 50.0
IBB-12F-32 3/4—14 2—11 45.0 32.0
IBB-16F-32 1—11 2—11 45.0 41.0
IBB-20F-32 1-1/4—11 2—11 45.0 50.0
IBB-24F-32 1-1/2—11 2—11 45.0 65.0

BSPT MALE X HOSE TAIL 90° ELBOW: LBHT
PART NO. T TUBE L1 L2 D
LBHT-12-12 3/4—14 3/4" 38.1 52.3 19.0
LBHT-16-16 1—11 1" 49.5 55.6 25.4
LBHT-20-20 | 1-1/4—11 1-1/4" 60.5 60.5 31.7
BSPT MALE PLUG: PGB
PART NO. T L1 L H

PGB-02 1/8—28 10.0 16.0 12.0
PGB-04 1/4—19 14.5 20.0 14.0
PGB-06 3/8—19 15.0 21.0 17.0
PGB-08 1/2—14 20.0 27.0 22.0
PGB-12 3/4—14 20.0 29.0 27.0
PGB-16 1—11 25.5 36.5 36.0
PGB-20 1-1/4—11 26.5 38.5 46.0
PGB-24 1-1/2—11 26.5 42.0 50.0
PGB-32 2—11 30.0 47.0 65.0

BSPT MALE WITH HOLLOW HEX PLUG: PGBX

PART NO. T L H

PGBX-02 1/8—28 8.0 5.0
PGBX-04 1/4—19 10.0 6.0
PGBX-06 3/8—19 12.0 8.0
PGBX-08 1/2—14 15.0 10.0
PGBX-12 3/4—14 18.0 12.0
PGBX-16 1—11 20.0 17.0
PGBX-20 1-1/4—11 22.0 22.0

AVAJHL IdSd ™M 3

64



AVHIHL JDINIAIN & xS

74°

60°
// :

Te

Neo N\

—_—

Te

I 3

Le

Le

{§<W %/ ]
L1 | P
L
1QU
L1 L3
T1 H T3
$ ’
{
¢ %3\8
A
TQV
L1 L3
T1 H T3
}5 I
ol

65

TQU

METRIC MALE 60° CONE X METRIC MALE 60°

CONE: IQV
PART NO. T1 T2 L1 L2 L H
1QV-14 M14X1.5 M14X1.5 17.0 17.0 40.0 17.0
1QV-16 M16X1.5 M16X1.5 18.0 18.0 42.0 17.0
1QV-18 M18X1.5 M18X1.5 18.0 18.0 42.0 19.0
1QV-20 M20X1.5 M20X1.5 20.0 20.0 48.0 22.0
1QV-22 M22X1.5 M22X1.5 20.0 20.0 48.0 24.0
1QV-24 M24X1.5 M24X1.5 21.5 21.5 53.0 27.0
1QV-30 M30X1.5 M30X1.5 26.0 26.0 63.0 32.0
1QV-33 M33X1.5 M33X1.5 30.0 30.0 71.0 36.0
1QV-36 M36X1.5 M36X1.5 33.0 33.0 79.0 41.0
1QV-42 M42X1.5 M42X1.5 36.0 36.0 85.0 46.0
METRIC MALE 74° CONE: IQU
PART NO. T1 T2 L1 L2 L H
1QU-10 M10X1 M10X1 12.0 12.0 30.0 12.0
1QU-12 M12X1.5 M12X1.5 15.7 15.7 37.5 14.0
1QU-14 M14X1.5 M14X1.5 17.0 17.0 40.0 17.0
1QU-16 M16X1.5 M16X1.5 18.0 18.0 42.0 17.0
1QU-18 M18X1.5 M18X1.5 18.0 18.0 42.0 19.0
1QU-22 M22X1.5 M22X1.5 19.5 19.5 47.0 24.0
1QU-24 M24X1.5 M24X1.5 20.0 20.0 50.0 27.0
1QU-27 M27X1.5 M27X1.5 20.0 20.0 50.0 30.0
1QU-30 M30X1.5 M30X1.5 23.0 23.0 57.0 32.0
IQU-30E M30X2 M30X2 26.0 26.0 63.0 32.0
1QU-33 M33X2 M33X2 26.0 26.0 63.0 36.0
1QU-36 M36X2 M36X2 26.0 26.0 63.0 38.0
1QU-39 M39X2 M39X2 26.0 26.0 65.0 41.0
1QU-42 M42X2 M42X2 28.5 28.5 70.0 46.0
1QU-45 M45X2 M45X2 28.5 28.5 70.0 46.0
METRIC MALE 60° CONE TEE: TQV
PART NO. T1 T2 T3 L1,L2,L3 H
TQV-14 M14X1.5 M14X1.5 M14X1.5 26.5 14.0
TQV-16 M16X1.5 M16X1.5 M16X1.5 29.5 16.0
TQV-18 M18X1.5 M18X1.5 M18X1.5 30.8 19.0
TQV-22 M22X1.5 M22X1.5 M22X1.5 35.5 22.0
TQV-24 M24X1.5 M24X1.5 M24X1.5 37.0 22.0
TQV-30 M30X1.5 M30X1.5 M30X1.5 45.0 30.0
TQV-33 M33X1.5 M33X1.5 M33X1.5 50.0 33.0
METRIC MALE 74° CONE TEE: TQU
PART NO. T1 T2 T3 L1 L2 L3 H
TQU-14 M14X1.5 | M14X1.5 [ M14X1.5 | 27.0 | 27.0 | 27.0 | 14.0
TQU-16 M16X1.5 [ M16X1.5 [ M16X1.5 | 29.5 | 29.5 | 29.5 | 16.0
TQU-18 [ M18X1.5 | M18X1.5 | M18X1.5 | 34.0 | 34.0 | 34.0 [ 19.0
TQU-22 M22X1.5 | M22X1.5 | M22X1.5 | 37.5 | 375 | 375 | 22.0
TQU-27 | M27X1.5 | M27X1.5 | M27X1.5 | 415 | 415 | 415 | 27.0
TQU-30 M30X1.5 [ M30X1.5 [ M30X1.5 | 42.8 | 42.8 | 42.8 | 30.0
TQU-33 M33X2 M33X2 M33X2 | 49.5 | 495 | 49.5 | 33.0




74°

60°

74°

\\'\\'\\'\\'\\@ﬂ

I
W22
L1 ! ! L2
IEC
d mill
AL
I\L/W

METRIC MALE 74° CONE X METRIC MALE
BONDED SEAL TYPE: IUC

PART NO. T1 T2 L1 L2 L H

IUC-10-10 M10X1 M10X1 12.0 8.0 27.0 17.0
IUC-12-12 M12X1.5 | M12X1.5 15.7 12.0 35.2 17.0
IUC-12-10 M12X1.5 M10X1 15.7 8.0 30.5 17.0
IUC-14-14 M14X1.5 [ M14X1.5 17.0 12.0 36.5 19.0
IUC-14-10 M14X1.5 M10X1 17.0 8.0 32.0 17.0
IUC-14-12 M14X1.5 [ M12X1.5 17.0 12.0 36.5 17.0
IUC-14-16 M14X1.5 [ M16X1.5 17.0 12.0 37.0 22.0
IUC-16-16 M16X1.5 [ M16X1.5 18.0 12.0 38.0 22.0
IUC-16-14 M16X1.5 [ M14X1.5 18.0 12.0 37.0 19.0
IUC-18-18 M18X1.5 [ M18X1.5 18.0 12.0 39.5 24.0
IUC-18-16 M18X1.5 [ M16X1.5 18.0 12.0 38.0 22.0
IUC-22-22 M22X1.5 | M22X1.5 19.5 14.0 43.5 27.0
IUC-22-18 M22X1.5 [ M18X1.5 19.5 12.0 41.0 24.0
IUC-27-27 M27X1.5 M27X2 20.0 16.0 49.0 34.0
IUC-27-22 M26X1.5 [ M22X1.5 20.0 14.0 44.0 30.0
IUC-30-27 M30X1.5 M27X2 23.0 16.0 50.0 34.0
IUC-33-33 M33X2 M33X2 26.0 18.0 57.0 41.0
IUC-33-27 M33X2 M27X2 26.0 16.0 55.0 34.0
IUC-36-33 M36X2 M33X2 26.0 18.0 58.0 41.0
IUC-39-33 M39X2 M33X2 26.0 18.0 59.0 41.0
1UC-42-42 M42X2 M42X2 28.5 20.0 65.5 50.0
1UC-45-42 M45X2 M42X2 28.5 20.0 65.5 50.0

METRIC MALE 60° CONE X METRIC MALE O-RING

BOSS: IVW

PART NO. LK T2 L1 L2 L H

IVW-14-12 M14X1.5 | M12X1.5 17.0 11.0 39.0 17.0
IVW-14-14 M14X1.5 | M14X1.5 17.0 11.0 39.0 19.0
IVW-16-14 M16X1.5 | M14X1.5 18.0 11.0 40.0 19.0
IVW-18-14 M18X1.5 | M14X1.5 18.0 11.0 40.0 19.0
IVW-18-16 M18X1.5 | M16X1.5 18.0 12.5 42.0 22.0
IVW-18-20 M18X1.5 | M20X1.5 18.0 14.0 45.0 27.0
IVW-20-18 M20X1.5 | M18X1.5 20.0 14.0 47.0 24.0
IVW-22-20 M22X1.5 | M20X1.5 20.0 14.0 47.0 27.0
IVW-24-20 M24X1.5 | M20X1.5 21.5 14.0 48.5 27.0
IVW-24-22 M24X1.5 | M22X1.5 215 15.0 50.0 27.0
IVW-30-27 M30X1.5 M27X2 26.0 18.5 60.5 32.0
IVW-33-33 M33X1.5 M33X2 30.0 18.5 65.0 41.0
IVW-36-33 M36X1.5 M33X2 33.0 18.5 68.0 41.0

METRIC MALE 74° CONE X METRIC MALE O-RING

BOSS: IUW-OR
PART NO. T1 T2 L1 L2 L H
IUW-14-120R | M14X1.5 | M12X1.5 [ 17.0 11.0 | 36.5 17.0
IUW-16-140R | M16X1.5 | M14X1.5 | 18.0 1.0 | 37.5 19.0
IUW-18-160R | M18X1.5 | M16X1.5 | 18.0 11.5 | 38.0 | 22.0
IUW-22-180R | M22X1.5 | M18X1.5 [ 19.5 | 125 | 40.5 [ 24.0
IUW-27-220R | M27X1.5 | M22X1.5 [ 20.0 13.0 | 44.0 | 27.0
IUW-30-270R | M30X1.5 M27X2 23.0 16.0 | 50.0 | 32.0
IUW-33-270R M33X2 M27X2 26.0 16.0 | 53.0 [ 34.0
IUW-36-330R M36X2 M33X2 26.0 16.0 | 55.0 [ 41.0
IUW-39-330R M39X2 M33X2 26.0 16.0 | 55.0 [ 41.0
IUW-45-420R M45X2 M42X2 285 | 16.0 | 59.5 [ 50.0

AVIIHL DIILIN @ §

66



METRIC MALE 60° CONE X METRIC MALE WITH
LOCKING NUT WASHER O-RING BOSS 90°
ELBOW: LVW-NOW

N
T1— =

z PART NO. T I L1 L2 H H1
LVW-14-122NOW | M14X1.5 | M12X15 | 255 | 335 | 140 | 17.0
m . LVW-14-14-NOW | M14X15 | M14X15 | 275 | 345 | 140 | 19.0
H o v LVW-16-14-NOW | M16X1.5 | M14X15 | 285 | 355 | 16.0 | 19.0
z %7 LVW-18-14-NOW | M18X1.5 | M14x15 | 30.8 | 37.5 | 19.0 | 19.0
H LVW-18-16-NOW | M18X1.5 | M16X15 | 30.8 | 39.5 | 19.0 | 22.0
oy g LVW-18-20-NOW | M18X1.5 | M20X15 | 30.8 | 440 | 19.0 | 27.0
O LVW-20-18-NOW | M20X1.5 | M18X15 | 33.0 | 425 | 19.0 | 24.0
LVW-22-20-NOW | M22X1.5 | M20X15 | 350 | 455 | 22.0 | 27.0
H LVW-24-20-NOW | M24X1.5 | M20X15 | 40.0 | 47.0 | 240 | 27.0
m LVW-24-22-NOW | M24X15 | M22X15 | 40.0 | 47.0 | 240 | 27.0
LVW-NOW T2 LVW-30-27-NOW | M30X1.5 M27X2 48.0 | 57.0 | 30.0 | 32.0
w LVW-33-33-NOW | M33X1.5 | M33X2 | 54.5 | 59.0 | 33.0 | 41.0
m LVW-36-33-NOW | M36X1.5 | M33X2 | 57.0 | 605 | 36.0 | 41.0

METRIC MALE 74° CONE X METRIC MALE WITH

¥ LOCKING NUT WASHER O-RING BOSS 90°
T1— ELBOW: LUW-NWR
\ H

n Y PART NO. T T2 L1 L2 H H1
%§< \\ \\[ ) LUW-14-122NWR | M14X15 | M12X1.5 | 302 | 320 | 140 | 17.0
~ LUW-16-14-NWR | M16X15 | M14X15 | 320 | 355 | 16.0 | 19.0
A N LUW-18-16-NWR | M18X1.5 | M16X1.5 | 34.0 | 36.0 | 19.0 | 22.0
H1 LUW-22-18-NWR | M22X1.5 | M18X1.5 | 375 | 395 | 22.0 | 24.0
o LUW-27-222NWR | M27X15 | M22X15 | 415 | 435 | 27.0 | 27.0
LUW-30-27-NWR | M30X15 | M27x2 | 45.8 | 50.0 | 30.0 | 32.0
T2 LUW-33-27-NWR | M33X2 M27Xx2 | 495 | 520 | 33.0 | 320
LUW-36-33-NWR | M36X2 M33X2 | 515 | 540 | 36.0 | 41.0
LUW-39-33-NWR | M39x2 M33X2 | 555 | 572 | 41.0 | 41.0
LUW-NWR LUW-45-42-NWR | M45x2 M42X2 | 625 | 61.0 | 48.0 | 50.0

METRIC MALE 60° CONE X METRIC MALE WITH
LOCKING NUT WASHER O-RING BOSS BRANCH X

o 5 . METRIC MALE 60° CONE RUN TEE: TVWV-NOW

T1 |—

%
=

Le

TVWV-NOW

67

PART NO. T1,T3 T2 L1,L3]| L2 H H1
TVWV-14-12-14-NOW | M14X1.5 | M12X1.5 | 2565 | 33.5 | 14.0 | 17.0
TVWV-14-14-14-NOW | M14X1.5 | M14X1.5 | 275 | 345 | 14.0 | 19.0
TVWV-16-14-16-NOW | M16X1.5 | M14X1.5 | 285 | 355 | 16.0 | 19.0
TVWV-18-14-18-NOW | M18X1.5 | M14X1.5 | 30.8 | 37.5 [ 19.0 | 19.0
TVWV-18-16-18-NOW | M18X1.5 | M16X1.5 | 30.8 | 39.5 | 19.0 | 22.0
TVWV-18-20-18-NOW | M18X1.5 | M20X1.5 | 30.8 | 44.0 | 19.0 | 27.0
TVWV-20-18-20-NOW | M20X1.5 | M18X1.5 | 33.0 | 425 | 19.0 | 24.0
TVWV-22-20-22-NOW | M22X1.5 | M20X1.5 [ 35.0 | 45,5 | 22.0 | 27.0
TVWV-24-20-24-NOW | M24X1.5 | M20X1.5 [ 40.0 | 47.0 [ 24.0 | 27.0
TVWV-24-22-24-NOW | M24X1.5 | M22X1.5 | 40.0 | 47.0 | 240 | 27.0
TVWV-30-27-30-NOW | M30X1.5 | M27X1.5 | 48.0 | 57.0 | 30.0 | 32.0
TVWV-33-33-33-NOW | M33X1.5 M33X2 54.5 | 59.0 | 33.0 | 41.0




60°

60°

—

METRIC MALE 60° BONDED SEAL TYPE X JIC

MALE 74° CONE: ICJ

L,

PART NO. T1 T2 L1 L2 L H

I1CJ-10-04 M10X1 7/16—20 8.0 14.0 29.0 14.0
1CJ-12-04 M12X1.5 7/16—20 10.0 14.0 31.0 17.0
I1CJ-14-04 M14X1.5 7/16—20 11.0 14.0 32.0 19.0
ICJ-10-05 M10X1 1/2—20 8.0 14.0 28.0 14.0
ICJ-12-05 M12X1.5 1/2—20 10.0 14.0 30.0 17.0
ICJ-14-05 M14X1.5 1/2—20 11.0 14.0 32.0 19.0
ICJ-12-06 M12X1.5 9/16—18 10.0 14.1 31.0 17.0
ICJ-14-06 M14X1.5 9/16—18 11.0 141 33.0 19.0
ICJ-16-06 M16X1.5 9/16—18 12.0 141 35.0 22.0
ICJ-18-06 M18X1.5 9/16—18 12.0 14.1 34.0 24.0
ICJ-16-08 M16X1.5 3/4—16 12.0 16.7 37.5 22.0
ICJ-18-08 M18X1.5 3/4—16 12.0 16.7 36.5 24.0
I1CJ-20-08 M20X1.5 3/4—16 14.0 16.7 41.0 27.0
1CJ-22-08 M22X1.5 3/4—16 14.0 16.7 41.0 27.0
ICJ-20-10 M20X1.5 7/8—14 14.0 19.3 44.0 27.0
I1CJ-22-10 M22X1.5 7/8—14 14.0 19.3 43.5 27.0
I1CJ-26-10 M26X1.5 7/8—14 16.0 19.3 47.5 32.0
1CJ-20-12 M20X1.5 1-1/16—12 | 14.0 21.9 47.0 30.0
1CJ-22-12 M22X1.5 1-1/16—12 | 14.0 21.9 47.0 30.0
ICJ-26-12 M26X1.5 1-1/16—12 | 16.0 21.9 50.0 32.0

METRIC MALE WITH CAPTIVE SEAL X JIC MALE
74° CONE: ICJ-V

|

|

|

L1

|

L

Nh
L

PART NO. T1 T2 L1 L2 L H

1CJ-10V-04 M10X1 7/16—20 8.0 14.0 29.5 17.0
1CJ-12V-04 M12X1.5 7/16—20 12.0 14.0 34.0 17.0
1CJ-14V-05 M14X1.5 1/2—20 12.0 14.0 34.0 19.0
1CJ-14V-06 M14X1.5 9/16—18 12.0 141 34.0 19.0
1CJ-18V-06 M18X1.5 9/16—18 12.0 141 36.5 24.0
1CJ-20V-06 M20X1.5 9/16—18 14.0 14.1 40.5 27.0
1CJ-18V-08 M18X1.5 3/4—16 12.0 16.7 39.0 24.0
1CJ-20V-08 M20X1.5 3/4—16 14.0 16.7 43.0 27.0
1CJ-22V-08 M22X1.5 3/4—16 14.0 16.7 43.5 27.0
ICJ-18V-10 M18X1.5 7/8—14 12.0 19.3 41.5 24.0
1CJ-20V-10 M20X1.5 7/8—14 14.0 19.3 45.5 27.0
1CJ-22V-10 M22X1.5 7/8—14 14.0 19.3 46.0 27.0
1CJ-20V-12 M20X1.5 1-1/16—12 | 14.0 21.9 48.5 30.0
1CJ-22V-12 M22X1.5 1-1/16—12 | 14.0 21.9 49.0 30.0
1CJ-26V-12 M26X1.5 1-1/16—12 | 16.0 21.9 52.0 32.0
1CJ-27V-12 M27X2 1-1/16—12 | 16.0 21.9 52.0 32.0
ICJ-26V-16 M26X1.5 1-5/16—12 | 16.0 231 53.0 36.0
ICJ-33V-16 M33X2 1-5/16—12 | 18.0 231 57.0 41.0
1CJ-42V-20 M42X2 1-5/8—12 20.0 24.3 62.0 50.0
1CJ-48V-20 M48X2 1-5/8—12 22.0 24.3 64.0 55.0
1CJ-48V-24 M48X2 1-7/8—12 22.0 27.5 67.5 55.0

AVIIHL DIILIN @ §

68



AVHIHL OIMLIN @ §

69

L1

METRIC MALE O-RING BOSS X JIC MALE 74°

CONE: IWJ

PART NO. T T2 L1 L2 L H

IWJ-10-04 M10X1 7/16—20 8.5 14.0 28.5 14.0
IWJ-12-04 M12X1.5 7/16—20 11.0 14.0 31.0 17.0
IWJ-14-04 M14X1.5 7/16—20 11.0 14.0 31.0 19.0
IWJ-10-05 M10X1 1/2—20 8.5 14.0 29.0 14.0
IWJ-12-05 M12X1.5 1/2—20 11.0 14.0 31.0 17.0
IWJ-14-05 M14X1.5 1/2—20 11.0 14.0 33.0 19.0
IWJ-14-06 M14X1.5 9/16—18 11.0 14.1 31.0 19.0
IWJ-16-06 M16X1.5 9/16—18 11.5 14.1 33.5 22.0
IWJ-18-06 M18X1.5 9/16—18 12.5 14.1 34.5 24.0
IWJ-14-08 M14X1.5 3/4—16 11.0 16.7 38.0 22.0
IWJ-16-08 M16X1.5 3/4—16 11.5 16.7 36.0 22.0
IWJ-18-08 M18X1.5 3/4—16 12.5 16.7 37.0 24.0
IWJ-22-08 M22X1.5 3/4—16 13.0 16.7 39.5 27.0
IWJ-16-10 M16X1.5 7/8—14 11.5 19.3 41.0 24.0
IWJ-18-10 M18X1.5 7/8—14 12.5 19.3 40.0 24.0
IWJ-22-10 M22X1.5 7/8—14 13.0 19.3 42.0 27.0
IWJ-22-12 M22X1.5 | 1-1/16—12 | 13.0 21.9 47.5 30.0
IWJ-27-12 M27X2 1-1/16—12 | 16.0 21.9 49.0 32.0
IWJ-27-16 M27X2 1-5/16—12 | 16.0 23.1 52.5 36.0
IWJ-33-16 M33X2 1-5/16—12 | 16.0 23.1 52.0 41.0
IWJ-42-20 M42X2 1-5/8—12 16.0 24.3 58.0 50.0
IWJ-48-24 M48X2 1-7/8—12 17.5 27.5 63.0 55.0

METRIC MALE WITH LOCKING NUT WASHER
O-RING BOSS X JIC MALE 74° CONE 90° ELBOW:

LWJ-NWR
PART NO. T1 T2 L1 L2 H H1
LWJ-10-04-NWR M10X1 7/16—20 | 27.5 | 245 | 11.0 [ 14.0
LWJ-12-04-NWR | M12X1.5 | 7/16—20 [ 30.3 | 245 | 1.0 | 17.0
LWJ-14-04-NWR | M14X1.5 | 7/16—20 | 32.0 | 266 | 14.0 | 19.0
LWJ-10-05-NWR M10X1 1/2—20 28.5 | 26.5 | 14.0 | 14.0
LWJ-12-06-NWR | M12X1.5 1/2—20 320 | 26,5 | 14.0 | 17.0
LWJ-14-05-NWR | M14X1.5 1/2—20 32.0 | 26,5 | 14.0 | 19.0
LWJ-14-06-NWR | M14X1.5 | 9/16—18 [ 32.0 | 26.9 | 14.0 | 19.0
LWJ-16-06-NWR | M16X1.5 | 9/16—18 | 34.8 | 28.0 | 16.0 [ 22.0
LWJ-18-06-NWR | M18X1.5 | 9/16—18 | 37.0 | 30.0 | 19.0 [ 24.0
LWJ-16-08-NWR | M16X1.5 3/4—16 38.0 | 32.0 [ 19.0 | 22.0
LWJ-18-08-NWR | M18X1.5 3/4—16 38.0 | 33.0 [ 19.0 | 24.0
LWJ-22-08-NWR | M22X1.5 3/4—16 40.2 | 34.8 | 22.0 | 27.0
LWJ-16-10-NWR | M16X1.5 7/8—14 38.0 | 38.0 [ 22.0 | 22.0
LWJ-18-10-NWR | M18X1.5 7/8—14 39.5 | 38.0 [ 22.0 | 24.0
LWJ-22-10-NWR | M22X1.5 7/8—14 425 | 38.0 | 22.0 | 27.0
LWJ-22-12-NWR | M22X1.5 |1-1/16—12| 44.0 | 45.0 | 27.0 | 27.0
LWJ-27-12-NWR M27X2 | 1-1/16—12| 485 | 442 | 27.0 | 32.0
LWJ-27-16-NWR M27X2 [ 1-5/16—12| 52.0 | 49.0 | 33.0 [ 32.0
LWJ-33-16-NWR M33X2 [1-5/16—12| 52.5 [ 49.0 | 33.0 [ 41.0
LWJ-42-20-NWR M42X2 1-5/8—12 | 57.2 | 555 | 41.0 [ 50.0
LWJ-48-24-NWR M48X2 1-7/8—12 | 62.5 | 62.5 | 48.0 [ 55.0




/4

74°
X

METRIC MALE 74° CONE X SAE MALE O-RING

H
“\ '" BOSS: IUE
—innn PART NO. T T2 1 2 L H
\ \ IUE-16-06 | M16X15 | 916—18 | 180 | 99 | 350 | 17.0
' B IUE-18-08 | M18X15 | 3/4—16 180 | 11 | 37.0 | 220
7 %J IUE-22-10 | M22X15 | 7/8—14 195 | 127 | 420 | 27.0
IUE27-12 | M27X15 | 1-1/16—12 | 200 | 151 | 46.0 | 320
B ‘ \ Lo IUE-30-12 | M30X15 | 1-1/16—12 | 230 | 151 | 49.0 | 320
. IUE-33-16 M33X2 | 1-5/16—12 | 26.0 | 151 | 540 | 380
IUE-39-16 M39X2 | 1-5/16—12 | 26.0 | 151 | 580 | 41.0
TUE IUE-45-20 M45X2 | 1-5/8—12 | 285 | 150 | 580 | 500
METRIC MALE 74° CONE X SAE MALE WITH
H LOCKING NUT WASHER O-RING BOSS 90° ELBOW:
7< LUE-NOW
) PART NO. T T2 L1 L2 H A1
LUE-16-06-NOW | M16X1.5 | 9/16—18 | 32.0 | 318 | 16.0 | 19.0
o\ LUE-18-08-NOW | M18X1.5 | 3/4—16 | 340 | 368 | 19.0 | 24.0
LUE-22-10-NOW | M22x1.5 | 7/8—14 | 375 | 440 | 220 | 27.0
S LUE-27-12-NOW | M27X1.5 | 1-116—12 | 415 | 51.0 | 27.0 | 32.0
, LUE-30-12-NOW | M30X1.5 | 1-1/16—12 | 45.8 | 53.0 | 30.0 | 32.0
E LUE-33-16-NOW | M33X2 | 1-5/16—12 | 51.0 | 545 | 33.0 | 41.0
3 LUE-39-16-NOW | M39X2 | 1-5/16—12 | 555 | 59.5 | 41.0 | 41.0
LUE-45-20-NOW | M45X2 | 1-5/8—12 | 585 | 59.0 | 41.0 | 50.0
LUE-NOW ' ©
METRIC MALE 74° CONE X NPT MALE: IUN
PART NO. T1 T2 1 2 L H
IUN-12-02 | M12x15 | 1/8—27 157 | 105 | 320 | 14.0
IUN-12-04 | M12X15 | 1/4—18 157 | 150 | 365 | 14.0
IUN-14-02 | M14x15 | 1/8—27 17.0 | 105 | 330 | 17.0
IUN-14-04 | M14X15 | 1/4—18 170 | 150 | 380 | 17.0
IUN-16-04 | M16X1.5 | 1/4—18 180 | 150 | 39.0 | 19.0
1 e IUN-16-06 | M16X15 | 3/8—18 180 | 16.0 | 400 | 19.0
IUN-18-04 | M18X15 | 1/4—18 180 | 150 | 39.0 | 19.0
—((MMAM IUN-18-06 | M18X1.5 3/8—18 18.0 | 16.0 | 400 | 19.0
“\ \\“\“ ] IUN-18-08 | M18X1.5 | 1/2—14 180 | 195 | 455 | 24.0
, S IUN-22-06 | M22x15 | 3/8—18 195 | 16.0 | 435 | 240
IUN-22-08 | M22x15 | 1/2—14 195 | 195 | 470 | 240
N, % \ IUN-27-06 | M27x15 | 3/8—18 200 | 165 | 460 | 30.0
IUN-27-08 | M27X15 | 1/2—14 200 | 190 | 49.0 | 300
L1 ‘ L2 IUN-27-12 | M27X15 | 3/4—14 200 | 195 | 495 | 30.0
. IUN-27-16 | M27X15 1—15 200 | 240 | 550 | 36.0
IUN-30-12 M30X2 3/4—14 230 | 195 | 535 | 320
TUN IUN-33-12 M33X2 3/4—14 260 | 195 | 565 | 36.0
IUN-36-16 M36X2 1—115 250 | 255 | 63.0 | 41.0
IUN-39-16 M39X2 1—15 260 | 255 | 645 | 41.0
IUN-45-16 M45X2 1—15 285 | 255 | 67.0 | 46.0
IUN-45-20 M45X2 | 1-1/4—115 | 285 | 265 | 680 | 46.0
IUN-45-24 M45X2 | 1-1/2—115 | 285 | 275 | 710 | 500
IUN-52-20 M52X2 | 1-1/4—115 | 300 | 265 | 715 | 550

AVIIHL DIILIN @ §

70



AVHIHL OIMLIN @ §

71

L1
T1— H
™~
o=y
=
=
@ e
LUN

METRIC MALE 74° CONE X NPT MALE 45° ELBOW:

FUN

PART NO. T1 T2 L1 L2 H

FUN-12-02 M12X1.5 1/8—27 23.0 17.0 11.0
FUN-14-02 M14X1.5 1/8—27 24.0 17.0 14.0
FUN-14-04 M14X1.5 1/4—18 26.0 21.0 14.0
FUN-16-06 M16X1.5 3/8—18 28.0 24.0 16.0
FUN-18-06 M18X1.5 3/8—18 30.5 24.0 19.0
FUN-18-08 M18X1.5 1/2—14 30.5 29.5 22.0
FUN-22-08 M22X1.5 1/2—14 33.0 29.5 27.0
FUN-27-08 M27X1.5 1/2—14 33.0 29.5 27.0
FUN-27-12 M27X1.5 3/4—14 36.2 31.5 30.0
FUN-30-12 M30X1.5 3/4—14 42.0 31.5 36.0
FUN-36-16 M36X2 1—11.5 44.5 42.5 41.0
FUN-39-16 M39X2 1—11.5 47.0 42.5 41.0
FUN-42-20 M42X2 1-1/4—11.5 47.0 43.0 41.0

METRIC MALE 74° CONE X NPT MALE 90° ELBOW:

LUN

PART NO. T1 T2 L1 L2 H

LUN-12-02 M12X1.5 1/8—27 25.5 21.0 11.0
LUN-12-04 M12X1.5 1/4—18 28.0 25.5 14.0
LUN-14-02 M14X1.5 1/8—27 30.2 23.5 14.0
LUN-14-04 M14X1.5 1/4—18 30.2 25.5 14.0
LUN-16-04 M16X1.5 1/4—18 32.0 26.5 16.0
LUN-16-06 M16X1.5 3/8—18 32.0 30.0 16.0
LUN-16-08 M16X1.5 1/2—14 36.0 36.7 22.0
LUN-18-04 M18X1.5 1/4—18 34.0 28.7 19.0
LUN-18-06 M18X1.5 3/8—18 34.0 31.0 19.0
LUN-22-06 M22X1.5 3/8—18 37.5 32.5 22.0
LUN-22-08 M22X1.5 1/2—14 37.5 36.7 22.0
LUN-27-08 M27X1.5 1/2—14 41.5 40.0 27.0
LUN-27-12 M27X1.5 3/4—14 41.5 44.0 27.0
LUN-27-16 M27X1.5 1—11.5 45.0 49.0 33.0
LUN-30-12 M30X1.5 3/4—14 45.8 45.0 30.0
LUN-36-16 M36X2 1—11.5 51.5 51.5 36.0
LUN-39-16 M39X2 1—11.5 55.5 54.5 41.0
LUN-42-20 M42X2 1-1/4—11.5 57.0 54.5 41.0
LUN-45-16 M45X2 1—11.5 62.5 58.5 48.0
LUN-45-20 M45X2 1-1/4—11.5 62.5 58.5 48.0
LUN-45-24 M45X2 1-1/2—11.5 62.5 63.0 48.0




60°

74°

3\

b
T4
e
| \\\\\\\\\\H@I Il

METRIC MALE 60° BONDED SEAL TYPE X BSP
MALE 60° BONDED SEAL TYPE: ICG

PART NO. T1 T2 L1 L2 L H

ICG-10-02 M10X1 1/8—28 8.0 10.0 25.0 14.0
ICG-12-02 M12X1.5 1/8—28 10.0 10.0 27.0 17.0
ICG-12-04 M12X1.5 1/4—19 10.0 12.0 29.0 19.0
ICG-14-04 M14X1.5 1/4—19 11.0 12.0 30.0 19.0
ICG-16-04 M16X1.5 1/4—19 12.0 12.0 33.0 22.0
ICG-18-04 M18X1.5 1/4—19 12.0 12.0 33.0 24.0
ICG-10-06 M10X1 3/8—19 8.0 13.5 29.5 22.0
ICG-12-06 M12X1.5 3/8—19 10.0 13.5 31.5 22.0
ICG-14-06 M14X1.5 3/8—19 11.0 13.5 32.5 22.0
ICG-16-06 M16X1.5 3/8—19 12.0 13.5 33.5 22.0
ICG-18-06 M18X1.5 3/8—19 12.0 13.5 34.5 24.0
ICG-20-06 M20X1.5 3/8—19 14.0 13.5 38.5 27.0
ICG-22-06 M22X1.5 3/8—19 14.0 13.5 38.5 27.0
ICG-14-08 M14X1.5 1/2—14 11.0 16.0 38.0 27.0
ICG-16-08 M16X1.5 1/2—14 12.0 16.0 39.0 27.0
ICG-18-08 M18X1.5 1/2—14 12.0 16.0 39.0 27.0
ICG-20-08 M20X1.5 1/2—14 14.0 16.0 41.0 27.0
ICG-22-08 M22X1.5 1/2—14 14.0 16.0 41.0 27.0
ICG-24-08 M24X1.5 1/2—14 14.0 16.0 41.0 30.0
ICG-26-08 M26X1.5 1/2—14 16.0 16.0 44.0 32.0
ICG-30-08 M30X1.5 1/2—14 18.0 16.0 45.0 36.0
ICG-22-10 M22X1.5 5/8—14 14.0 17.5 42.5 30.0
ICG-26-10 M26X1.5 5/8—14 16.0 17.5 45.5 32.0
ICG-18-12 M18X1.5 3/4—14 12.0 18.5 42.5 32.0
ICG-20-12 M20X1.5 3/4—14 14.0 18.5 44.5 32.0
ICG-22-12 M22X1.5 3/4—14 14.0 18.5 44.5 32.0
ICG-24-12 M24X1.5 3/4—14 14.0 18.5 44.5 32.0
ICG-26-12 M26X1.5 3/4—14 16.0 18.5 46.5 32.0
ICG-27-12 M27X2 3/4—14 16.0 18.5 46.5 32.0
ICG-30-12 M30X2 3/4—14 18.0 18.5 47.5 36.0
ICG-14-16 M14X1.5 1—11 11.0 20.5 45.5 41.0
ICG-22-16 M22X1.5 1—11 14.0 20.5 48.5 41.0

METRIC MALE 74° CONE X BSP MALE BONDED
SEAL TYPE: IUG

PART NO. T1 T2 L1 L2 L H

IUG-12-02 M12X1.5 1/8—28 15.7 10.0 32.0 14.0
1UG-14-04 M14X1.5 1/4—19 17.0 12.0 35.0 19.0
IUG-16-06 M16X1.5 3/8—19 18.0 13.5 39.5 22.0
IUG-18-06 M18X1.5 3/8—19 18.0 13.5 39.5 22.0
1UG-22-08 M22X1.5 1/2—14 19.5 16.0 45.5 27.0
1UG-24-10 M24X1.5 5/8—14 20.0 17.5 47.5 30.0
IUG-27-12 M27X1.5 3/4—14 20.0 18.5 49.5 32.0
IUG-30-12 M30X1.5 3/4—14 23.0 18.5 52.5 32.0
IUG-30E-12 M30X2 3/4—14 26.0 18.5 55.5 32.0
IUG-33-16 M33X2 1—11 26.0 20.5 59.5 41.0
IUG-39-16 M39X2 1—11 26.0 20.5 59.5 41.0
IUG-45-20 M45X2 1-1/4—11 28.5 20.5 64.0 50.0

AVIIHL DIILIN @ §

72



T1 H

ey

A
(

AVHIHL OIMLIN @ §

1 3 I
IVP-OR
T1—] = H
> ]
\\ W
H1 o
/Ta
LVP-NWR

L1

T1— —T13

s

Le

TVPV-NWR

{§< -
Ny -z
L1 L2
L
TUP-OR

73

METRIC MALE 60° CONE X BSP MALE O-RING

BOSS: IVP-OR
PART NO. T T2 L1 L2 L H
IVP-14-040R M14X1.5 1/4—19 17.0 11.0 36.0 19.0
IVP-14-060R M14X1.5 3/8—19 17.0 11.5 36.5 22.0
IVP-16-060R M16X1.5 3/8—19 18.0 11.5 38.0 22.0
IVP-18-060R M18X1.5 3/8—19 18.0 11.5 38.0 22.0
IVP-22-080R M22X1.5 1/2—14 20.0 14.0 47.0 27.0
IVP-30-120R M30X1.5 3/4—14 26.0 15.5 52.5 32.0
IVP-33-120R M33X1.5 3/4—14 30.0 15.5 59.5 36.0
IVP-33-160R M33X1.5 1—11 30.0 18.0 62.0 41.0
METRIC MALE 60° CONE X BSP MALE WITH
LOCKING NUT WASHER O-RING 90° ELBOW:
LVP-NWR
PART NO. T1 T2 L1 L2 H H1
LVP-14-04-NWR M14X1.5 1/4—19 26.5 31.3 14.0 19.0
LVP-14-06-NWR M14X1.5 3/8—19 28.5 35.8 16.0 22.0
LVP-16-06-NWR M16X1.5 3/8—19 28.0 35.8 16.0 22.0
LVP-18-06-NWR M18X1.5 3/8—19 30.8 37.0 19.0 22.0
LVP-22-08-NWR M22X1.5 1/2—14 35.5 43.2 22.0 27.0
LVP-24-08-NWR M24X1.5 1/2—14 37.0 46.0 24.0 27.0
LVP-24-12-NWR M24X1.5 3/4—14 40.0 49.3 27.0 32.0
LVP-30-12-NWR M30X1.5 3/4—14 375 49.3 30.0 32.0
LVP-33-16-NWR M33X1.5 1—11 50.0 53.0 33.0 41.0
LVP-45-20-NWR M45X1.5 1-1/4—11 63.0 59.0 41.0 50.0
METRIC MALE 60° CONE X BSP MALE WITH
LOCKING NUT WASHER O-RING BRANCH X
METRIC MALE 60° CONE RUN TEE: TVPV-NWR
PART NO. T1,T3 T2 L1,L3 L2 H H1
TVPV-14-04-14-NWR | M14X1.5 | 1/4—19 26.5 | 31.3 14.0 19.0
TVPV-14-06-14-NWR | M14X1.5 | 3/8—19 28.5 | 358 16.0 | 22.0
TVPV-16-06-16-NWR | M16X1.5 | 3/8—19 28.0 | 35.8 16.0 | 22.0
TVPV-18-06-18-NWR | M18X1.5 | 3/8—19 30.8 | 37.0 19.0 | 220
TVPV-22-08-22-NWR | M22X1.5 | 1/2—14 355 | 432 | 22.0 | 270
TVPV-24-08-24-NWR | M24X1.5 | 1/2—14 37.0 | 46.0 | 240 | 270
TVPV-24-12-24-NWR | M24X1.5 | 3/4—14 40.0 | 493 | 27.0 32.0
TVPV-30-12-30-NWR | M30X1.5 | 3/4—14 47.5 | 53.0 | 30.0 32.0
TVPV-33-16-33-NWR | M33X1.5 1—11 50.0 | 53.0 | 33.0 | 41.0
METRIC MALE 74° CONE X BSP MALE O-RING
BOSS: IUP-OR
PART NO. T T2 L1 L2 L H
IUP-14-040R M14X1.5 1/4—19 17.0 11.0 36.0 19.0
IUP-16-060R M16X1.5 3/8—19 18.0 1.5 40.0 22.0
1UP-18-060R M18X1.5 3/8—19 18.0 11.5 40.0 22.0
IUP-18-080R M18X1.5 1/2—14 18.0 14.0 43.0 27.0
IUP-22-080R M22X1.5 1/2—14 19.5 14.0 445 27.0
IUP-27-120R M27X1.5 3/4—14 20.0 15.5 49.5 32.0
IUP-30-120R M30X1.5 3/4—14 23.0 15.5 52.5 32.0
IUP-39-160R M39X2 1—11 26.0 18.0 60.0 41.0
IUP-45-200R M45X2 1-1/4—11 28.5 20.0 66.5 50.0




METRIC MALE 74° CONE X BSP MALE WITH
LOCKING NUT WASHER O-RING 90° ELBOW:

L1
T1—]
(o ]
r\\ w
H1
4
%VTQ
LUP-NWR
T i T2
B
¢ fé%/ L
L1 L2
L
IWG-OR
L1
Tl\ H1 H
\
LS/ En
== |
3
L oo > \rz
LWG-NWR

LUP-NWR
PART NO. T1 T2 L1 L2 H H1

LUP-14-04-NWR M14X1.5 1/4—19 29.0 31.3 14.0 19.0
LUP-16-06-NWR M16X1.5 3/8—19 33.0 35.8 16.0 22.0
LUP-18-06-NWR M18X1.5 3/8—19 34.0 36.8 19.0 22.0
LUP-18-08-NWR M18X1.5 1/2—14 36.0 43.2 22.0 27.0
LUP-22-08-NWR M22X1.5 1/2—14 37.5 43.2 22.0 27.0
LUP-27-12-NWR M27X1.5 3/4—14 41.5 49.3 27.0 32.0
LUP-30-12-NWR M30X1.5 3/4—14 45.8 52.0 30.0 32.0
LUP-39-16-NWR M39X2 1—11 55.5 58.0 41.0 41.0
LUP-45-20-NWR M45X2 1-1/4—11 62.5 63.0 48.0 50.0

METRIC MALE O-RING BOSS X BSP MALE 60°

BONDED SEAL TYPE: IWG-OR

PART NO. T1 T2 L1 L2 L H

IWG-10-020R M10X1 1/8—28 8.5 10.0 25.0 14.0
IWG-12-020R M12X1.5 1/8—28 11.0 10.0 28.0 17.0
IWG-12-040R M12X1.5 1/4—19 11.0 12.0 30.0 19.0
IWG-14-040R M14X1.5 1/4—19 11.0 12.0 31.5 19.0
IWG-16-040R M16X1.5 1/4—19 11.5 12.0 31.5 22.0
IWG-14-060R M14X1.5 3/8—19 11.0 13.5 35.0 22.0
IWG-16-060R M16X1.5 3/8—19 11.5 13.5 33.0 22.0
IWG-18-060R M18X1.5 3/8—19 12.5 13.5 36.5 24.0
IWG-18-080R M18X1.5 1/2—14 12.5 16.0 41.0 27.0
IWG-22-080R M22X1.5 1/2—14 13.0 16.0 41.5 27.0
IWG-22-100R M22X1.5 5/8—14 13.0 17.5 43.0 30.0
IWG-16-120R M16X1.5 3/4—14 11.5 18.5 43.5 32.0
IWG-22-120R M22X1.5 3/4—14 13.0 18.5 45.0 32.0
IWG-27-120R M27X2 3/4—14 16.0 18.5 45.5 32.0
IWG-27-160R M27X2 1—1 16.0 20.5 49.0 41.0
IWG-33-160R M33X2 1—11 16.0 20.5 49.5 41.0
IWG-42-200R M42X2 1-1/4—11 16.0 20.5 51.5 50.0
IWG-48-240R M48X2 1-1/2—11 17.5 23.0 55.5 55.0

METRIC MALE WITH LOCKING NUT WASHER
O-RING X BSP MALE 60° CONE SEAT 90° ELBOW:

LWG-NWR

PART NO. T1 T2 L1 L2 H H1
LWG-10-02-NWR M10X1 1/8—28 26.5 20.0 11.0 14.0
LWG-12-02-NWR M12X1.5 1/8—28 30.5 20.0 11.0 17.0
LWG-12-04-NWR M12X1.5 1/4—19 32.0 24.5 14.0 17.0
LWG-14-04-NWR M14X1.5 1/4—19 32.5 24.5 14.0 19.0
LWG-16-04-NWR M16X1.5 1/4—19 34.8 26.5 16.0 22.0
LWG-14-06-NWR M14X1.5 3/8—19 34.0 27.5 16.0 19.0
LWG-16-06-NWR M16X1.5 3/8—19 34.8 27.5 16.0 22.0
LWG-18-06-NWR M18X1.5 3/8—19 37.0 28.5 19.0 24.0
LWG-18-08-NWR M18X1.5 1/2—14 39.5 34.5 22.0 24.0
LWG-22-08-NWR M22X1.5 1/2—14 40.2 34.5 22.0 27.0
LWG-22-10-NWR M22X1.5 5/8—14 40.2 35.0 22.0 27.0
LWG-22-12-NWR M22X1.5 3/4—14 43.5 40.0 27.0 27.0
LWG-27-12-NWR M27X2 3/4—14 48.5 40.0 27.0 32.0
LWG-27-16-NWR M27X2 1—11 52.0 46.0 33.0 32.0
LWG-33-16-NWR M33X2 1—11 52.5 46.0 33.0 41.0
LWG-42-20-NWR M42X2 1-1/4—11 57.2 50.5 41.0 50.0
LWG-48-24-NWR M48X2 1-1/2—11 62.5 57.5 48.0 55.0

AVIIHL DIILIN @ §

74



HW\\ ﬂlﬂ@

Te

60°
: \\

<y

L1 ‘

Le

AVHIHL OIMLIN @ §

Il \\H@M

TVB

£0°

\ 4
o
60°

<
7 Z
L1 ‘ L2
L
TUB
L1
T1— H

.
Il

N

75

VL]

VYV

Le

LUB

Te

METRCIC MALE 60° CONE X BSPT MALE: IVB

PART NO. T1 T2 L1 L2 L H

1VB-14-04 M14X1.5 1/4—19 17.0 14.5 37.5 17.0
1VB-14-06 M14X1.5 3/8—19 17.0 15.0 38.0 19.0
1VB-16-06 M16X1.5 3/8—19 18.0 15.0 39.0 19.0
1VB-18-06 M18X1.5 3/8—19 18.0 15.0 39.0 19.0
1VB-20-06 M20X1.5 3/8—19 20.0 15.0 43.0 22.0
1VB-22-06 M22X1.5 3/8—19 20.0 15.0 43.0 24.0
1VB-22-08 M22X1.5 12—14 20.0 20.0 48.0 24.0
1VB-24-08 M24X1.5 1/2—14 21.5 20.0 51.5 27.0
1VB-24-12 M24X1.5 3/4—14 21.5 20.0 51.5 30.0
1VB-30-12 M30X1.5 3/4—14 26.0 20.0 57.0 32.0
1VB-33-16 M33X1.5 1—11 30.0 25.5 66.5 36.0
1VB-36-20 M36X1.5 1-1/4—11 33.0 26.5 72.5 46.0
1VB-42-24 M42X1.5 1-1/2—11 36.0 26.5 77.5 50.0

METRIC MALE 74° CONE X BSPT MALE: IUB

PART NO. T1 T2 L1 L2 L H

1UB-10-04 M10X1 1/4—19 12.0 10.0 28.0 12.0
IUB-14-04 M14X1.5 1/4—19 17.0 14.5 37.5 17.0
1UB-14-06 M14X1.5 3/8—19 17.0 15.0 38.0 17.0
1UB-16-04 M16X1.5 1/4—19 18.0 14.5 38.5 17.0
1UB-16-06 M16X1.5 3/8—19 18.0 15.0 39.0 17.0
1UB-18-04 M18X1.5 1/4—19 18.0 14.5 38.5 19.0
1UB-18-06 M18X1.5 3/8—19 18.0 15.0 39.0 19.0
1UB-22-08 M22X1.5 1/2—14 19.5 20.0 47.5 24.0
1UB-27-08 M27X1.5 12—14 20.0 20.0 50.0 30.0
IUB-27-12 M27X1.5 3/4—14 20.0 20.0 50.0 30.0
IUB-30-12 M30X1.5 3/4—14 23.0 20.0 54.0 32.0
1UB-33-12 M33X2 3/4—14 26.0 20.0 57.0 36.0
IUB-36-16 M36X2 1—11 26.0 25.5 61.5 38.0
1UB-39-16 M39X2 1—11 26.0 25.5 64.5 41.0
1UB-45-20 M45X2 1-1/4—11 28.5 26.5 68.0 46.0

METRIC MALE 74° CONE X BSPT MALE 90° ELBOW:

LUB

PART NO. T1 T2 L1 L2 H

LUB-14-04 M14X1.5 1/4—19 30.2 25.5 14.0
LUB-16-04 M16X1.5 1/4—19 32.0 26.5 16.0
LUB-18-06 M18X1.5 3/8—19 34.0 29.0 19.0
LUB-18-08 M18X1.5 1/2—14 36.0 36.0 22.0
LUB-22-08 M22X1.5 1/2—14 37.5 36.0 22.0
LUB-27-08 M27X1.5 1/2—14 41.5 39.5 27.0
LUB-27-12 M27X1.5 3/4—14 41.5 44.0 27.0
LUB-30-12 M30X1.5 3/4—14 45.8 45.5 30.0
LUB-33-12 M33X2 3/4—14 49.5 47.5 33.0
LUB-36-16 M36X2 1—11 51.5 52.0 36.0
LUB-39-16 M39X2 1—11 55.5 55.2 41.0
LUB-45-20 M45X2 1-1/4—11 62.5 61.0 48.0




H1

L1

L3

-
=

T3

Te

Le

60
TQV-S

H1

METRIC MALE 74° CONE X METRIC SWIVEL
FEMALE 74° CONE SEAT: 1QU-S

PART NO. T1 T2 L1 L2 L H H1
IQU-10-14S | M10X1 | M14X1.5 | 120 | 7.0 | 27.0 | 14.0 | 19.0
IQU-10-10S | M10X1 | M10X1 | 120 | 7.0 | 240 | 120 | 14.0
IQU-14-14S | M14x1.5 | M14X1.5 | 17.0 | 85 | 340 | 17.0 | 19.0
IQU-16-16S | M16X1.5 | M16X1.5 | 17.0 | 8.0 | 33.5 | 17.0 | 22.0
IQU-18-18S | M18X1.5 | M18X1.5 | 180 | 8.0 | 37.0 | 19.0 | 24.0
IQU-22-22S | M22X1.5 | M22X1.5 | 19.5 | 10.0 | 39.5 | 24.0 | 27.0
IQU-27-27S | M27X1.5 | M27X1.5 | 20.0 | 10.0 | 425 | 300 | 32.0
IQU-30-30S | M30X1.5 | M30X1.5 | 23.0 | 11.0 | 455 | 32.0 | 36.0
IQU-36-36S | M36X2 | M36X2 | 26.0 | 13.0 | 495 | 41.0 | 41.0

METRIC MALE 74° CONE X METRIC SWIVEL

FEMALE 74° CONE SEAT 90° ELBOW: LQU-S

PART NO. T1 T2 L1 L H H1
LQU-14-14S | M14X1.5 | M14X1.5 | 85 | 302 | 140 | 19.0
LQU-16-16S | M16X1.5 | M16X1.5 | 8.0 | 325 | 16.0 | 22.0
LQU-18-18S | M18X1.5 | M18X1.5 | 8.0 | 340 | 19.0 | 24.0
LQU-22-22S | M22x1.5 | M22X1.5 | 10.0 | 375 | 220 | 27.0
LQU-27-27S | M27x1.5 | M27X1.5 | 10.0 | 415 | 27.0 | 32.0
LQU-30-30S | M30X1.5 | M30X1.5 | 11.0 | 458 | 300 | 36.0
LQU-33-33S M33X2 M33x2_ | 13.0 | 495 | 33.0 | 41.0
LQU-36-36S M36X2 M36x2 | 13.0 | 515 | 360 | 41.0
LQU-39-39S M39X2 M39x2 | 13.0 | 555 | 41.0 | 46.0
LQU-45-455 M45X2 Mas5x2 | 150 | 625 | 48.0 | 55.0

METRIC MALE 60° CONE X METRIC SWIVEL

FEMALE 60° CONE SEAT 90° ELBOW: LQV-S

PART NO. T1 T2 L L1 H H1
LQV-14-14S | M14X1.5 | M14X1.5 | 29.0 | 85 | 140 | 19.0
LQV-16-16S | M16X1.5 | M16X1.5 | 315 | 80 | 16.0 | 22.0
LQV-18-185 | M18X1.5 | M18X1.5 | 33.8 | 80 | 19.0 | 24.0
LQV-22-228 | M22X1.5 | M22X1.5 | 38.0 | 10.0 | 220 | 27.0
LQV-24-24S | M24X1.5 | M24X1.5 | 41.2 | 10.0 | 24.0 | 30.0
LQV-30-24S | M30X1.5 | M24X1.5 | 48.0 | 10.0 | 300 | 30.0
LQV-30-30S | M30X1.5 | M30X1.5 | 48.0 | 11.0 | 300 | 36.0
LQV-33-338 | M33X1.5 | M33X1.5 | 55.0 | 13.0 | 33.0 | 41.0

METRIC MALE 60° CONE X METRIC SWIVELFEMALE
60° CONE SEAT BRANCH X METRIC MALE 60° CONE

RUN TEE: TQV-S

PART NO. T1 T2 T3 L1,L3 [ L2 H H1
TQV-14-14S-14 | M14X1.5 | M14X1.5 | M14X1.5 | 26.5 | 8.5 |14.0] 19.0
TQV-16-16S-16 | M16X1.5 | M16X1.5 | M16X1.5 | 29.5 | 8.0 | 16.0] 22.0
TQV-18-18S-18 | M18X1.5 | M18X1.5 | M18X1.5 | 30.8 | 8.0 | 19.0] 24.0
TQV-22-22S-22 | M22X1.5 | M22X1.5 | M22X1.5 | 35.5 [ 10.0 | 22.0| 27.0
TQV-24-24S-24 | M24X1.5 | M24X1.5 | M24X1.5 | 37.0 | 10.0 | 22.0] 32.0
TQV-30-30S-30 [ M30X1.5 | M30X1.5 [ M30X1.5 | 45.0 | 11.0 | 30.0| 36.0
TQV-33-33S-33 | M33X1.5 | M33X1.5 | M33X1.5 | 50.0 | 13.0 | 33.0| 41.0

AVIIHL DIILIN @ §

76



AVHIHL OIMLIN @ §

77

60°

74°

L1

PGCX-V

L1

METRIC SWIVEL FEMALE 60° CONE SEAT
CAP: CAV-S

PART NO. T L1 L H A1
q CAV-14S | M14x15 | 85 | 150 | 190 | 19.0
g CAV-16S | M16x15 | 80 | 175 | 220 | 220
CAV-18S | M18x15 | 80 | 185 | 240 | 240
CAV-22S | M22x15 | 100 | 210 | 270 | 270
CAV24S | M24x15 | 100 | 225 | 320 | 320
H1 H CAV:30S | M30X15 | 1.0 | 250 | 360 | 360
CAV=S CAV:33S | M33x15 | 130 | 255 | 410 | 410
T METRIC MALE 60° CONE PLUG: PGV
B PART NO. T L1 L H
l PGV-14 M14X1.5 17.0 23.0 17.0
PGV-16 M16X1.5 18.0 24.0 17.0
Y PGV-18 M18X1.5 18.0 250 19.0
< PGV-20 M20X1 5 20.0 28.0 22.0
PGV-22 M22X1 5 20.0 28.0 24.0
L1 PGV-24 M24X1.5 215 315 27.0
L PGV-30 M30X1.5 26.0 37.0 32.0
PGy PGV-33 M33X1.5 30.0 410 36.0
METRIC MALE 74° CONE PLUG: PGU
PART NO. T L1 L H
. ’ PGU-10 M10X1 12.0 18.0 12.0
PGU-12 M12X1.5 15.7 215 14.0
N PGU-14 M14X15 17.0 23.0 17.0
B PGU-16 M16X1.5 18.0 24.0 17.0
PGU-18 M18X15 18.0 24.0 19.0
¥ PGU-22 M22X15 195 275 24.0
N R PGU-24 M24X15 200 30.0 27.0
PGU-27 M27X1.5 200 30.0 30.0
‘ PGU-30 M30X1.5 23.0 34.0 32.0
L1 PGU-30E M30X2 26.0 37.0 320
L PGU-33 M33X2 26.0 37.0 36.0
PCU PGU-36 M36X2 26.0 38.0 38.0
PGU-39 M39X2 26.0 39.0 410
PGU-42 Ma2X2 285 415 46.0
PGU-45 M45X2 285 415 46.0
METRIC MALE WITH CAPTIVE METRIC LOCK NUT: NTM
SEAL HOLLOW HEX PLUG: H
PGCX-V 7£ PART NO. T L H
TG = T T ——— NTM-10 | M10X1 | 7.0 | 14.0
NTM-12 | M12X1.5 | 7.0 | 17.0
PGCX-10V | M10X1 | 80 | 120 | 50
PGCX-12V | M12X15 | 12.0 | 17.0 | 6.0 mmww P S R SIS OB 7 O (0.0
PGCX-14V | M14X1.5 [ 12.0 [ 17.0 | 6.0 %) NTM-16 | M16X1.5 | 7.0 | 220
PGCX-16V | M16X1.5 | 12.0 | 17.0 | 8.0 NTM-18 | M18X1.5 | 7.0 | 240
PGCX-18V | M18X1.5 | 12.0 | 17.0 | 8.0 N NTM-22 | M22X1.5 | 80 | 27.0
T NTM-27 | M27X2 | 105 | 32.0
PGCX-20V | M20X15 | 14.0 | 19.0 | 10.0 NTM
PGCX-22V | M22X15 | 14.0 | 19.0 | 10.0 NTM-33 | M33X2 | 105 | 41.0
NTM-42 | M42x2 | 105 | 50.0
PGCX-26V | M26X15 | 16.0 | 21.0 | 12.0 e T TR
PGCX27V | M27X2 | 16.0 | 21.0 | 12.0 : :
PGCX-33V | M33X2 | 18.0 | 245 | 17.0
PGCX-42V | M42X2 | 20.0 | 265 | 22.0
PGCX-48V | M48X2 | 22.0 | 285 | 24.0




D1

H1

IQD

N
N1
L
IQD-SN
METRIC MALE 24° LIGHT DUTY: IQD / 1IQD-SN

PART NO. T1 T2 D1 D2 N1 L H H1 H2 MPa

1QD-12 M12X1.5 M12X1.5 6 6 10.0 39.0 12.0 14.0 14.0
IQD-12-14 | M12X1.5 M14X1.5 6 8 11.0 40.0 14.0 15.0 17.0
IQD-12-16 | M12X1.5 M16X1.5 6 10 12.0 41.0 17.0 15.0 19.0
1QD-12-18 | M12X1.5 M18X1.5 6 12 13.0 42.0 19.0 15.0 22.0

1QD-14 M14X1.5 M14X1.5 8 8 11.0 40.0 14.0 17.0 17.0
IQD-14-16 | M14X1.5 M16X1.5 8 10 13.0 41.0 17.0 17.0 19.0
IQD-14-18 | M14X1.5 M18X1.5 8 12 13.0 42.0 19.0 17.0 22.0

IQD-16 M16X1.5 M16X1.5 10 10 13.0 42.0 17.0 19.0 19.0 315
IQD-16-18 | M16X1.5 M18X1.5 10 12 14.0 43.0 19.0 19.0 22.0 ’
IQD-16-22 | M16X1.5 M22X1.5 10 15 15.0 44.5 24.0 19.0 27.0
IQD-16-26 | M16X1.5 M26X1.5 10 18 15.5 46.0 27.0 19.0 32.0

1QD-18 M18X1.5 M18X1.5 12 12 14.0 43.0 19.0 22.0 22.0
IQD-18-22 | M18X1.5 M22X1.5 12 15 15.0 44.5 24.0 22.0 27.0
IQD-18-26 | M18X1.5 M26X1.5 12 18 15.5 46.0 27.0 22.0 32.0
IQD-18-30 | M18X1.5 M30X2 12 22 17.5 48.0 32.0 22.0 36.0

IQD-22 M22X1.5 M22X1.5 15 15 16.0 46.0 24.0 27.0 27.0
IQD-22-26 | M22X1.5 M26X1.5 15 18 16.5 47.5 27.0 27.0 32.0 16
1QD-22-30 | M22X1.5 M30X2 15 22 18.5 49.5 32.0 27.0 36.0

1QD-26 M26X1.5 M26X1.5 18 18 16.0 48.0 27.0 32.0 32.0 31.5
IQD-26-30 | M26X1.5 M30X2 18 22 18.0 50.0 32.0 32.0 36.0
IQD-26-36 | M26X1.5 M36X2 18 28 19.0 51.5 41.0 32.0 41.0

IQD-30 M30X2 M30X2 22 22 20.0 52.0 32.0 36.0 36.0
IQD-30-36 M30X2 M36X2 22 28 21.0 53.5 41.0 36.0 41.0
IQD-30-45 M30X2 M45X2 22 35 21.0 58.5 46.0 36.0 50.0 16

1QD-36 M36X2 M36X2 28 28 21.0 54.0 41.0 41.0 41.0
IQD-36-45 M36X2 M45X2 28 35 21.0 59.0 46.0 41.0 50.0

IQD-45 M45X2 M45X2 35 35 20.0 63.0 46.0 50.0 50.0

IQD-52 M52X2 M52X2 42 42 21.0 66.0 55.0 60.0 60.0

AVAYSHINI-ALIE T §

78



AVHAHLNIALId T §

79

H2

N1

L

C O

De

IQH-SN

METRIC MALE 24° HEAVY DUTY: IQH / IQH-SN

PART NO. T1 T2 D1 | D2 N1 L H H1 H2 MPa

1QH-14 M14X1.5 M14X1.5 6 6 16.0 45.0 14.0 17.0 17.0
IQH-14-16 | M14X1.5 M16X1.5 6 8 18.0 47.0 17.0 17.0 19.0
IQH-14-18 | M14X1.5 M18X1.5 6 10 17.5 48.0 19.0 17.0 22.0
IQH-14-20 | M14X1.5 M20X1.5 6 12 19.5 50.0 22.0 17.0 24.0

IQH-16 M16X1.5 M16X1.5 8 8 18.0 47.0 17.0 19.0 19.0
IQH-16-18 | M16X1.5 M18X1.5 8 10 17.5 48.0 19.0 19.0 22.0 63
IQH-16-20 | M16X1.5 M20X1.5 8 12 19.5 50.0 22.0 19.0 24.0

1QH-18 M18X1.5 M18X1.5 10 10 17.0 49.0 19.0 22.0 22.0
IQH-18-20 | M18X1.5 M20X1.5 10 12 19.0 51.0 22.0 22.0 24.0
IQH-18-22 | M18X1.5 M22X1.5 10 14 20.5 54.0 24.0 22.0 27.0
IQH-18-30 | M18X1.5 M30X2 10 | 20 22.0 59.5 32.0 22.0 36.0

1QH-20 M20X1.5 M20X1.5 12 12 19.0 51.0 22.0 24.0 24.0
IQH-20-22 | M20X1.5 M22X1.5 12 14 20.5 54.0 24.0 24.0 27.0
IQH-20-24 | M20X1.5 M24X1.5 12 16 20.0 54.0 27.0 24.0 30.0 40
IQH-20-30 | M20X1.5 M30X2 12 | 20 22.0 59.5 32.0 24.0 36.0

1QH-22 M22X1.5 M22X1.5 14 14 22.0 57.0 24.0 27.0 27.0 63
IQH-22-24 | M22X1.5 M24X1.5 14 16 21.5 57.0 27.0 27.0 30.0

1QH-24 M24X1.5 M24X1.5 16 16 21.0 57.0 27.0 30.0 30.0
IQH-24-30 | M24X1.5 M30X2 16 [ 20 23.0 62.5 32.0 30.0 36.0
IQH-24-36 | M24X1.5 M36X2 16 [ 25 25.5 67.5 41.0 30.0 46.0

1QH-30 M30X2 M30X2 20 | 20 23.0 66.0 32.0 36.0 36.0 40
IQH-30-36 M30X2 M36X2 20 | 25 25.5 71.0 41.0 36.0 46.0
1QH-30-42 M30X2 M42X2 20 | 30 26.0 74.0 46.0 36.0 50.0

1QH-36 M36X2 M36X2 25 | 25 26.0 74.0 41.0 46.0 46.0
IQH-36-42 M36X2 M42X2 25 | 30 26.5 77.0 46.0 46.0 50.0

1QH-42 M42X2 M42X2 30 | 30 27.0 80.0 46.0 50.0 50.0
1QH-42-52 M42X2 M52X2 30 | 38 28.5 86.5 55.0 50.0 60.0 315

IQH-52 M52X2 M52X2 38 | 38 29.0 90.0 55.0 60.0 60.0 )




N1

B S\

)

LQD-SN

N2

Le

/s

i_:;;

He

24

S

T1

24°
LQD

)

Te

METRIC MALE 24° LIGHT DUTY 90° ELBOW: LQD / LQD-SN

PART NO. T T2 D1,D2 | N1,N2 L1 L2 H H1 H2 MPa
LQD-12 | M12X1.5 | M12X1.5 6 12.0 27.0 | 27.0 | 120 | 140 | 14.0
LQD-14 | M14X1.5 | M14X1.5 8 14.0 29.0 | 29.0 | 120 | 17.0 | 17.0
LQD-16 | M16X1.5 | M16X1.5 10 15.0 30.0 | 30.0 | 14.0 | 19.0 | 19.0 315
LQD-18 | M18X1.5 | M18X1.5 12 17.0 32.0 | 32.0 | 17.0 | 22.0 | 22.0 ’
LQD-22 | M22X1.5 | M22X1.5 15 21.0 36.0 | 36.0 | 19.0 [ 27.0 | 27.0
LQD-26 | M26X1.5 | M26X1.5 18 23.5 40.0 | 40.0 | 24.0 | 32.0 | 32.0
LQD-30 M30X2 M30X2 22 27.5 44,0 | 440 | 27.0 | 36.0 | 36.0
LQD-36 M36X2 M36X2 28 30.5 47.0 | 470 | 36.0 | 41.0 | 41.0 16
LQD-45 M45X2 M45X2 35 34.5 56.0 | 56.0 | 41.0 | 50.0 | 50.0
LQD-52 | M52X2 M52X2 42 40.0 63.0 | 63.0 | 50.0 | 60.0 | 60.0
L1
Hl\ N1
" T1 ’
- - 5{ T 7<
oy R
A ( | " L 0 5 A
Wl L] || ez
w =z
Te
24 \
LQH-SN LQH

METRIC MALE 24° HEAVY DUTY 90° ELBOW: LQH / LQH-SN

PART NO. T1 T2 D1,D2 | N1,N2 [ L1 L2 H H1 H2 | MPa
LQH-14 M14X1.5 [ M14X1.5 6 16.0 [ 31.0 [ 31.0 | 120 | 17.0 | 17.0
LQH-16 M16X1.5 [ M16X1.5 8 17.0 [ 32.0 [ 32.0 | 140 | 19.0 | 19.0
LQH-18 M18X1.5 | M18X1.5] 10 17.5 | 34.0 | 34.0 [ 17.0 | 22.0 | 22.0 | 63
LQH-20 M20X1.5 [ M20X1.5| 12 21.5 | 38.0 | 38.0 [ 17.0 [ 24.0 | 24.0
LQH-22 M22X1.5 [ M22X1.5| 14 22.0 | 40.0 | 40.0 [ 19.0 [ 27.0 | 27.0
LQH-24 M24X1.5 [ M24X1.5]| 16 24.5 | 43.0 | 43.0 [ 24.0 [ 30.0 | 30.0
LQH-30 M30X2 M30X2 20 26.5 | 48.0 | 48.0 [ 27.0 | 36.0 | 36.0 40
LQH-36 M36X2 M36X2 25 30.0 | 54.0 | 54.0 | 36.0 | 46.0 | 46.0
LQH-42 M42X2 M42X2 30 35.5 | 62.0 | 62.0 [ 41.0 [ 50.0 | 50.0
LQH-52 M52X2 M52X2 38 41.0 | 72.0 ] 72.0 | 50.0 | 60.0 | 60.0 | 31.5

AVAYSHINI-ALIE T §

80



AVHAHLNIALId T §

81

TQD-SN

TQD

METRIC MALE 24° LIGHT DUTY RUN TEE:

TQD / TQD-SN

PART NO.

T1,T2,T3

D1,D2,D3

N1,N2,N3

L1,L2,L3

H1,H2,H3

MPa

TQD-08

M8X1

4

11.0

21.0

9.0

10.0

TQD-10

M10X1

5

9.5

21.0

9.0

12.0

10

TQD-12

M12X1.5

6

12.0

27.0

12.0

14.0

TQD-14

M14X1.5

8

14.0

29.0

12.0

17.0

TQD-16

M16X1.5

10

15.0

30.0

14.0

19.0

25

TQD-18

M18X1.5

12

17.0

32.0

17.0

22.0

TQD-22

M22X1.5

15

21.0

36.0

19.0

27.0

TQD-26

M26X1.5

18

23.5

40.0

24.0

32.0

TQD-30

M30X2

22

27.5

44.0

27.0

36.0

TQD-36

M36X2

28

30.5

47.0

36.0

41.0

TQD-45

M45X2

35

34.5

56.0

41.0

50.0

16

TQD-52

M52X2

42

40.0

63.0

50.0

60.0

TQD-SN

L

_p2 |

METRIC MALE 24° LIGHT DUTY REDUCER TEE: TQD / TQD-SN

PART NO.

T1

T2

T3

D2 | D3| N1

N2 | N3

L1

L2

L3

H1

H2

H3

MPa

TQD-12-14-12

M12X1.5

M14X1.5

M12X1.5

8 | 6 |14.0

14.0] 14.0

29.0

29.0

29.0

14.0

14.0

17.0

14.0

TQD-12-16-12

M12X1.5

M16X1.5

M12X1.5

10| 6 |15.0

15.0] 15.0

30.0

30.0

30.0

14.0

14.0

19.0

14.0

TQD-12-16-16

M12X1.5

M16X1.5

M16X1.5

10 | 10 [15.0

15.0] 15.0

30.0

30.0

30.0

14.0

14.0

19.0

19.0

TQD-14-12-14

M14X1.5

M12X1.5

M14X1.5

6 | 8 [14.0

14.0] 14.0

29.0

29.0

29.0

14.0

17.0

14.0

17.0

TQD-14-16-14

M14X1.5

M16X1.5

M14X1.5

10| 8 [15.0

15.0] 15.0

30.0

30.0

30.0

14.0

17.0

19.0

17.0

TQD-16-12-16

M16X1.5

M12X1.5

M16X1.5

6 | 10 [15.0

15.0] 15.0

30.0

30.0

30.0

14.0

19.0

14.0

19.0

TQD-16-14-16

M16X1.5

M14X1.5

M16X1.5

8 |10 ]15.0

15.0] 15.0

30.0

30.0

30.0

14.0

19.0

17.0

19.0

TQD-16-16-18

M16X1.5

M16X1.5

M18X1.5

10 | 12 [17.0

17.0117.0

32.0

32.0

32.0

17.0

19.0

19.0

22.0

TQD-16-18-16

M16X1.5

M18X1.5

M16X1.5

12 1 10 |17.0

17.0]17.0

32.0

32.0

32.0

17.0

19.0

22.0

19.0

TQD-16-18-18

M16X1.5

M18X1.5

M18X1.5

12 112 [17.0

17.0{17.0

32.0

32.0

32.0

17.0

19.0

22.0

22.0

TQD-16-22-16

M16X1.5

M22X1.5

M16X1.5

15110 [21.0

21.0]21.0

36.0

36.0

36.0

19.0

19.0

27.0

19.0

TQD-18-14-18

M18X1.5

M14X1.5

M18X1.5

8 |12 [17.0

17.0{17.0

32.0

32.0

32.0

17.0

22.0

17.0

22.0

TQD-18-16-18

M18X1.5

M16X1.5

M18X1.5

10 | 12 [17.0

17.0{17.0

32.0

32.0

32.0

17.0

22.0

19.0

22.0

TQD-18-18-22

M18X1.5

M18X1.5

M22X1.5

12 115 ]21.0

21.0/21.0

36.0

36.0

36.0

19.0

22.0

22.0

27.0

TQD-18-22-18

M18X1.5

M22X1.5

M18X1.5

15112 21.0

21.0]21.0

36.0

36.0

36.0

19.0

22.0

27.0

22.0

TQD-18-22-22

M18X1.5

M22X1.5

M22X1.5

151151210

21.0121.0

36.0

36.0

36.0

19.0

22.0

27.0

27.0

TQD-22-16-22

M22X1.5

M16X1.5

M22X1.5

10 | 15 |21.0

21.0]21.0

36.0

36.0

36.0

19.0

27.0

19.0

27.0

TQD-22-18-22

M22X1.5

M18X1.5

M22X1.5

12 115 21.0

21.0]21.0

36.0

36.0

36.0

19.0

27.0

22.0

27.0

TQD-22-26-22

M22X1.5

M26X1.5

M22X1.5

18 | 15 |24.0

24.0| 24.0

39.0

40.0

39.0

24.0

27.0

32.0

27.0

TQD-26-22-26

M26X1.5

M22X1.5

M26X1.5

15118 |24.0

24.0| 24.0

40.0

39.0

40.0

24.0

32.0

27.0

32.0

25

TQD-26-26-30

M26X1.5

M26X1.5

M30X2

18 | 22 |27.5

275|275

44.0

44.0

44.0

27.0

32.0

32.0

36.0

TQD-26-30-30

M26X1.5

M30X2

M30X2

22 122 275

275|275

44.0

44.0

44.0

27.0

32.0

36.0

36.0

TQD-30-22-30

M30X2

M22X1.5

M30X2

15122 1275

28.0]27.5

44.0

43.0

44.0

27.0

36.0

27.0

36.0

TQD-30-26-30

M30X2

M26X1.5

M30X2

18 | 22 |27.5

275|275

44.0

44.0

44.0

27.0

36.0

32.0

36.0

TQD-30-30-36

M30X2

M30X2

M36X2

22 | 28 [30.5

30.5| 30.5

47.0

47.0

47.0

36.0

36.0

36.0

41.0

TQD-36-30-36

M36X2

M30X2

M36X2

22 | 28 [30.5

30.5| 30.5

47.0

47.0

47.0

36.0

41.0

36.0

41.0

16




1 - NS
ﬁf\ [ — \/A
TQH [_24- )\

TQH-SN

A
D2

%/HE

METRIC MALE 24° HEAVY DUTY RUN TEE: TQH / TQH-SN

PART NO. T1,T2,T3 | D1,D2,D3 | N1,N2,N3 L1,L2,L3 H H1,H2,H3 MPa
TQH-14 M14X1.5 6 16.0 31.0 12.0 17.0
TQH-16 M16X1.5 8 17.0 32.0 14.0 19.0
TQH-18 M18X1.5 10 17.5 34.0 17.0 22.0 63
TQH-20 M20X1.5 12 21.5 38.0 17.0 24.0
TQH-22 M22X1.5 14 22.0 40.0 19.0 27.0
TQH-24 M24X1.5 16 24.5 43.0 24.0 30.0
TQH-30 M30X2 20 26.5 48.0 27.0 36.0 40
TQH-36 M36X2 25 30.0 54.0 36.0 46.0
TQH-45 M42X2 30 35.5 62.0 41.0 50.0
TQH-52 M52X2 38 41.0 72.0 50.0 60.0 31.5

Ne

AVAYSHINI-ALIE T §

He N &

TQH-SN ‘ D2 ‘
METRIC MALE 24° HEAVY DUTY REDUCER TEE: TQH / TQH-SN

PART NO. T1 T2 T3 D1 | D2 | D3 N1 N2 N3 L1 L2 L3 H H1 H2 H3 | MPa

TQH-16-16-20 | M16X1.5 | M16X1.5 | M20X1.5 8 8 12 | 22.0 220 | 220 | 37.0(37.0]138.0(17.0]19.0]19.0(24.0
TQH-18-14-18 | M18X1.5 | M14X1.5 | M18X1.5 | 10 6 10 | 17.5 18.0 17.5 1 34.0 133.0|34.0(17.0[/22.0|17.0 | 22.0 63
TQH-20-16-20 | M20X1.5 | M16X1.5 | M20X1.5 | 12 8 12 | 215 | 22.0 | 215 38.0 (37.0(38.0|17.0|24.0(19.0|24.0
TQH-20-18-20 | M20X1.5 | M18X1.5 | M20X1.5 | 12 10 121215 | 215 | 215 38.0 (38.0(38.0|17.0|24.0(22.024.0
TQH-20-24-20 | M20X1.5 | M24X1.5 | M20X1.5 | 12 | 16 | 12 | 25.5 | 24.5 | 25.5 | 42.0 | 43.0| 42.0 [ 24.0|24.0| 30.0 | 24.0
TQH-24-16-24 | M24X1.5 | M16X1.5 | M24X1.5 | 16 8 16 | 245 | 26.0 | 245 | 43.0141.0]43.0|24.0]30.0{19.0130.0
TQH-24-18-24 | M24X1.5 | M18X1.5 | M24X1.5 | 16 10 16 | 245 | 255 | 245 | 43.0 |42.0]43.0|24.0]30.0(22.0(30.0
TQH-24-20-24 | M24X1.5 | M20X1.5 | M24X1.5 | 16 12 16 | 245 | 255 | 245 | 43.0 |42.0]43.0|24.0]30.0{24.0(30.0
TQH-24-30-24 | M24X1.5 M30X2 M24X1.5 | 16 | 20 16 | 285 | 26.5 | 285 | 47.0 (48.0( 47.0|127.0|30.0( 36.0 | 30.0 40
TQH-30-20-30 | M30X2 M20X1.5 M30X2 20| 12 [ 20 [ 26.5 | 295 | 26.5 | 48.0 | 46.0| 48.0 [ 27.0(36.0| 24.0 | 36.0
TQH-30-24-30 | M30X2 M24X1.5 M30X2 20 | 16 [ 20 [ 26.5 | 285 | 26.5 | 48.0 | 47.0| 48.0 [ 27.0 (36.0| 30.0 | 36.0
TQH-30-36-30 | M30X2 M36X2 M30X2 20| 25 | 20 | 31.5 30.0 | 31.5 | 53.0 [ 54.0| 53.0 | 36.0 [ 36.0 | 46.0 | 36.0
TQH-36-30-36 | M36X2 M30X2 M36X2 25| 20 | 25 | 30.0 315 [ 30.0 | 54.0 | 53.0] 54.0 | 36.0|46.0| 36.0 | 46.0
TQH-36-42-36 | M36X2 M42X2 M36X2 25| 30 [ 25 | 37.0 355 [ 37.0]161.062.0]61.0|41.0|46.0(50.0 | 46.0

82



- i

IQD-K-SN

H1 T1

I
.\h.«\‘u

2

He

H H3 T
I 7)
ﬂ l i“n |

I

METRIC MALE 24° X METRIC MALE 24°

|

o
a

0

==

N1

N2

O

L1

Le

BULKHEAD LIGHT DUTY:
IQD-K / IQD-K-N / IQD-K-SN / IQD-K-N-SN

1QD-K-N-SN(LOCK NUT INCLUDED)

AVHAHLNIALId T §

PART NO. T1,T2 D1,D2 N1 N2 L1 L2 H H1,H2 H3 MPa
IQD-12-12K M12X1.5 6 7.0 27.0 22.0 42.0 17.0 14.0 17.0
1QD-14-14K M14X1.5 8 8.0 27.0 23.0 42.0 19.0 17.0 19.0
1QD-16-16K M16X1.5 10 10.0 28.0 25.0 43.0 22.0 19.0 22.0 315
IQD-18-18K M18X1.5 12 10.0 29.0 25.0 44.0 24.0 22.0 24.0 ’
IQD-22-22K M22X1.5 15 12.0 31.0 27.0 46.0 27.0 27.0 30.0
IQD-26-26K M26X1.5 18 13.5 32.5 30.0 49.0 32.0 32.0 36.0
IQD-30-30K M30X2 22 16.5 34.5 33.0 51.0 36.0 36.0 41.0
1QD-36-36K M36X2 28 18.5 35.5 35.0 52.0 41.0 41.0 46.0 16
1QD-45-45K M45X2 35 18.5 36.5 40.0 58.0 50.0 50.0 55.0
1QD-52-52K M52X2 42 19.0 36.0 42.0 59.0 60.0 60.0 65.0

ymmmw‘mmmmunn\\\\n\n\\n\\nw

=a

H1 T1

[
Eh‘n‘u

D1

Te

/;rj
Ul

— 1

-
&L

7

T

H 2 He
0l VT
N\n\ L] ) it

%/

1

0

N1 N2

Q

L1

Le

\\\\\\\uﬂ\m\m\m\\m\\mnmw
v \N

IQH-K-SN

TQH-K-N(LOCK NUT INCLUDED) al g

METRIC MALE 24° X METRIC MALE 24°

I

/==

H1 /m H H3 T2 He
I Il \ T
] ﬂ? | ﬂ l im.« HIDN

|

0%

N1 N2

O

L1

Le

BULKHEAD HEAVY DUTY:
IQH-K / IQH-K-N / IQH-K-SN / IQH-K-N-SN

TQH-K-N-SN(LOCK NUT INCLUDED)

PART NO. T1,T2 D1,D2 N1 N2 L1 L2 H H1,H2 H3 MPa
IQH-14-14K M14X1.5 6 12.0 29.0 27.0 44.0 19.0 17.0 19.0
IQH-16-16K M16X1.5 8 13.0 29.0 28.0 44.0 22.0 19.0 22.0
IQH-18-18K M18X1.5 10 14.5 29.5 31.0 46.0 24.0 22.0 24.0 63
IQH-20-20K M20X1.5 12 14.5 30.5 31.0 47.0 27.0 24.0 27.0
IQH-22-22K M22X1.5 14 17.0 32.0 35.0 50.0 30.0 27.0 30.0
IQH-24-24K M24X1.5 16 16.5 31.5 35.0 50.0 32.0 30.0 32.0
IQH-30-30K M30X2 20 17.5 33.5 39.0 55.0 41.0 36.0 41.0 40
IQH-36-36K M36X2 25 20.0 35.0 44.0 59.0 46.0 46.0 46.0

83 IQH-42-42K M42X2 30 21.5 37.5 48.0 64.0 50.0 50.0 50.0
IQH-52-52K M52X2 38 22.0 37.0 53.0 68.0 65.0 60.0 65.0 31.5




D1

D1

T1 H T2
Tl g
IDC
H1 T1 H
T2
|l
(7 ai
N1
L1 L2
IDC-SN
T1 H T2
N
(u/ ) NG
THC
T2
A
g
Y
NI
L1 L2
THC-SN

METRIC MALE 24° X METRIC MALE BONDED

SEAL TYPE LIGHT DUTY: IDC / IDC-SN

PART NO. T1 T2 D1 ] N1 L1 L2 H H1 | MPa
IDC-12-10 | M12X1.5 | M10X1 6 85 [23.0] 80 | 14.0 [ 14.0
IDC-14-12 | M14X1.5 | M12X1.5] 8 | 10.0 | 25.0 | 12.0] 17.0 | 17.0
IDC-14-18 | M14X1.5 | M18X1.5]| 8 | 11.5 | 26.0 | 12.0]| 24.0 | 17.0
IDC-16-14 | M16X1.5 | M14X1.5] 10 | 11.0 | 26.0 | 12.0] 19.0 | 19.0
IDC-16-16 | M16X1.5 | M16X1.5 | 10 | 12.0 | 27.0 | 12.0 | 22.0 | 19.0
IDC-16-18 | M16X1.5 [ M18X1.5| 10 | 125 ] 27.0 | 12.0 [ 24.0 | 19.0
IDC-16-22 | M16X1.5 [ M22X1.5| 10 | 14.0 | 29.0 | 14.0 [ 27.0 | 19.0
IDC-18-14 | M18X1.5 | M14X1.5 ] 12 | 11.0 | 26.0 | 12.0] 19.0 | 22.0 | 31.5
IDC-18-16 | M18X1.5 | M16X1.5 | 12 | 12.0 | 27.0 | 12.0 | 22.0 | 22.0
IDC-18-18 | M18X1.5 | M18X1.5 | 12 | 125 | 27.0 | 12.0] 24.0 | 22.0
IDC-18-22 | M18X1.5 | M22X1.5 | 12 | 14.0 | 29.0 | 14.0 | 27.0 | 22.0
IDC-22-16 | M22X1.5 [ M16X1.5| 15 [ 13.0 | 28.0 | 12.0 [ 24.0 | 27.0
IDC-22-18 | M22X1.5 [ M18X1.5| 15 [ 13.5 | 29.0 | 12.0 [ 24.0 | 27.0
IDC-22-22 | M22X1.5 [ M22X1.5| 15 | 15.0 | 30.0 | 14.0 [ 27.0 | 27.0
IDC-26-18 | M26X1.5 | M18X1.5 | 18 | 14.0 | 30.0 | 12.0 | 27.0 | 32.0
IDC-26-22 | M26X1.5 | M22X1.5 ]| 18 | 145 | 31.0 | 14.0] 27.0 | 32.0
IDC-30-22 | M30X2 | M22X1.5] 22 | 16.5 | 33.0 | 14.0 | 32.0 | 36.0
IDC-30-26 | M30X2 | M26X1.5] 22 | 16.5 | 33.0 | 16.0 | 32.0 | 36.0
IDC-30-27 | M30X2 [ M27X1.5]| 22 | 185 | 35.0 | 16.0 | 32.0 | 36.0 | 16
IDC-36-33 | M36X2 M33X2 |28 | 175 |1 34.0 | 16.0]| 41.0 | 41.0
IDC-45-42 | M45X2 M42X2 | 35| 17.5 | 39.0 | 20.0 | 50.0 | 50.0
IDC-52-48 | M52X2 M48X2 | 42 | 19.0 | 42.0 | 22.0 | 55.0 | 60.0

METRIC MALE 24° X METRIC MALE BONDED SEAL
TYPE HEAVY DUTY: IHC / IHC-SN

PART NO.

T1

T2

D1

N1

L1

L2

H1

MPa

IHC-14-12

M14X1.5

M12X1.5

6

13.0

28.0

12.0

17.0

17.0

IHC-16-14

M16X1.5

M14X1.5

8

15.0

30.0

12.0

19.0

19.0

IHC-18-16

M18X1.5

M16X1.5

10

15.0

31.0

12.0

22.0

22.0

IHC-20-18

M22X1.5

M18X1.5

12

17.0

33.0

12.0

24.0

24.0

IHC-20-22

M22X1.5

M22X1.5

12

17.5

34.0

14.0

27.0

24.0

IHC-22-20

M22X1.5

M20X1.5

14

19.0

37.0

14.0

27.0

27.0

63

IHC-24-18

M24X1.5

M18X1.5

16

18.0

36.0

12.0

27.0

30.0

IHC-24-22

M24X1.5

M22X1.5

16

18.5

37.0

14.0

27.0

30.0

IHC-30-27

M30X2

M27X2

20

20.5

42.0

16.0

32.0

36.0

IHC-36-33

M36X2

M33X2

25

23.0

47.0

16.0

41.0

46.0

40

IHC-42-42

M42X2

M42X2

30

23.5

50.0

20.0

50.0

50.0

IHC-52-48

M52X2

M48X2

38

57.0

55.0

22.0

60.0

60.0

40

AVAYSHINI-ALIE T §

84



T1 H

Te

AVHAHLNIALId T §

N1
L1 L2
IDW-OR-SN
T1 A T2
I
|
THW-OR
H1 T —H
Te
L il

D1

N1

L1

Sz

L2

THW=OR-SN

85

METRIC MALE 24° X METRIC MALE O-RING LIGHT
DUTY: IDW-OR / IDW-OR-SN

PART NO. T1 T2 D1 ] N1 L1 L2 H H1 MPa
IDW-12-100R [ M12X1.5| M10X1 | 6 [ 9.5 |1 23.0| 85 | 14.0 | 14.0
IDW-14-140R | M14X1.5 | M14X1.5| 8 [10.0] 25.0 | 11.0 | 19.0 | 17.0
IDW-14-120R | M14X1.5 | M12X1.5| 8 | 10.0| 25.0 | 11.0 [ 17.0 | 17.0
IDW-16-140R | M16X1.5 | M14X1.5]| 10 | 13.0] 26.0 | 11.0 [ 19.0 | 19.0
IDW-18-140R | M18X1.5 | M14X1.5]| 12 |1 11.0| 25.5 | 11.0 | 19.0 | 22.0
IDW-14-180R [ M14X1.5 | M18X1.5| 8 [11.5]26.5]| 125 ]| 24.0 | 17.0
IDW-16-160R | M16X1.5 | M16X1.5]| 10 [13.0] 28.0 | 11.5 | 22.0 | 19.0
IDW-16-180R [ M16X1.5 | M18X1.5]| 10 [12.5] 28.0 | 12.5 | 24.0 | 19.0
IDW-18-160R | M18X1.5 | M16X1.5| 12 [12.0] 27.0 | 11.5 | 22.0 | 22.0 315
IDW-22-160R | M22X1.5 | M16X1.5]| 12 | 13.5[29.5 | 11.5 [ 24.0 | 27.0 ’
IDW-22-180R | M22X1.5 | M18X1.5| 15| 13.5] 29.0 | 12.5 [ 24.0 | 27.0
IDW-16-220R | M16X1.5 | M22X1.5]| 10 | 14.0] 29.5 | 13.0 [ 27.0 | 19.0
IDW-22-200R | M22X1.5 | M20X1.5]| 15 [15.0] 30.5 | 12.0 | 27.0 | 27.0
IDW-22-220R | M22X1.5 | M22X1.5]| 12 [15.0] 31.0 | 13.0 | 27.0 | 27.0
IDW-26-220R | M26X1.5 | M22X1.5| 18 [14.5] 31.0 | 13.0 | 27.0 | 32.0
IDW-26-260R | M26X1.5 | M26X1.5| 18 [13.5] 31.0 | 13.5 | 32.0 | 32.0
IDW-26-270R | M26X1.5 | M27X2 | 18 | 14.5| 32.0 | 16.0 | 32.0 | 32.0
IDW-26-330R | M26X1.5 | M33X2 | 18 | 15.5] 33.0 | 16.0 | 41.0 | 32.0
IDW-30-220R | M30X2 |M22X1.5]| 22 [17.5] 33.0 | 13.0 | 32.0 | 41.0
IDW-30-270R | M30X2 | M27X2 | 22 {16.5] 33.0 | 16.0 | 32.0 | 36.0
IDW-30-300R | M30X2 | M30X2 | 22 [17.5] 33.0 | 16.0 | 36.0 | 36.0
IDW-36-270R | M36X2 | M27X2 | 28 [17.5] 34.0 | 16.0 | 41.0 | 41.0
IDW-36-330R | M36X2 | M33X2 | 28 [17.5] 34.0 | 16.0 | 41.0 | 41.0 16
IDW-36-420R | M36X2 | M42X2 | 28 | 18.5| 35.0 | 16.0 [ 50.0 | 41.0
IDW-45-330R | M45X2 | M33X2 | 35 |17.5|37.0 | 16.0 | 46.0 | 50.0
IDW-45-420R [ M45X2 | M42X2 | 35 [17.5] 37.0 | 16.0 | 50.0 | 50.0
IDW-52-480R | M52X2 | M48X2 | 42 [19.0] 37.0 | 17.5 | 55.0 | 60.0

METRIC MALE 24° X METRIC MALE O-RING HEAVY

DUTY: IHW-OR / IHW-OR-SN

PART NO.

T1

T2

D1

N1

L1

L2

H1

MPa

IHW-14-140R

M14X1.5

M14X1.5

6

15.0

28.0

11.0

19.0

17.0

IHW-14-120R

M14X1.5

M12X1.5

6

13.0

28.0

11.0

17.0

17.0

IHW-16-140R

M16X1.5

M14X1.5

8

15.0

30.0

11.0

19.0

19.0

IHW-18-160R

M18X1.5

M16X1.5

10

15.0

31.0

11.5

22.0

22.0

IHW-20-140R

M20X1.5

M14X1.5

12

15.0

31.0

11.0

22.0

24.0

IHW-20-160R

M20X1.5

M16X1.5

12

15.0

31.0

11.5

22.0

24.0

IHW-20-180R

M20X1.5

M18X1.5

12

17.0

33.0

12.5

24.0

24.0

IHW-20-220R

M20X1.5

M22X1.5

12

17.5

35.0

13.0

27.0

30.0

IHW-24-220R

M24X1.5

M22X1.5

16

18.5

37.0

13.0

27.0

30.0

63

IHW-30-300R

M30X2

M30X2

20

20.5

42.0

16.0

36.0

36.0

IHW-30-270R

M30X2

M27X2

20

20.5

42.0

16.0

32.0

36.0

IHW-30-330R

M30X2

M33X2

20

22.5

42.0

16.0

41.0

36.0

IHW-36-270R

M36X2

M27X2

25

23.0

47.0

16.0

41.0

46.0

IHW-36-330R

M36X2

M33X2

25

23.0

47.0

16.0

41.0

46.0

IHW-42-420R

M42X2

M42X2

30

23.5

50.0

16.0

50.0

50.0

IHW-42-480R

M42X2

M48X2

30

26.5

52.0

17.5

55.0

50.0

40




FDW-NWR

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER
O-RING LIGHT DUTY 45° ELBOW: FDW-NWR / FDW-SNWR

PART NO. T1 T2 D1 | N1 L1 L2 H H1 H2 | MPa
FDW-12-10-NWR M12X1.5 M10X1 6 |10.0] 25.0 [ 25.5 | 11.0 | 14.0 | 14.0
FDW-14-12-NWR M14X1.5 | M12X1.5 8 [11.0] 26.0 | 30.0 [ 14.0 [ 17.0| 17.0
FDW-16-14-NWR M16X1.5 | M14X1.5 | 10 | 123 | 27.3 | 30.5 | 16.0 [ 19.0 | 19.0
FDW-18-16-NWR M18X1.5 | M16X1.5 | 12 | 13.0 | 28.0 | 34.0 | 19.0 [ 22.0 | 22.0
FDW-22-18-NWR M22X1.5 | M18X1.5 | 15| 15.0 [ 30.0 | 38.0 | 22.0 [ 27.0 | 24.0
FDW-26-22-NWR M26X1.5 | M22X1.5 | 18 | 16.5| 33.0 | 40.5 | 27.0 [ 32.0 | 27.0
FDW-30-27-NWR M30X2 M27X2 22 [19.7| 36.2 | 48.0 | 30.0 | 36.0 | 32.0
FDW-36-33-NWR M36X2 M33X2 28 |21.5| 38.0 | 495 | 36.0 |41.0| 41.0 16
FDW-45-42-NWR M45X2 M42X2 35 | 25,5 47.0 | 55.0 | 48.0 | 50.0 [ 50.0

AVAYSHINI-ALIE T §

31.5

rC
0

=

FHW-SNWR

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER
O-RING HEAVY DUTY 45° ELBOW: FHW-NWR / FHW-SNWR

PART NO. T T2 D1 [ N1 L1 L2 H H1 H2 | MPa
FHW-14-12-NWR M14X1.5 | M12X15 | 6 [13.0| 28.0 | 30.0 | 14.0| 17.0 [ 17.0
FHW-16-14-NWR M16X1.5 | M14X15 | 8 [13.3| 28.3 | 30.5 | 16.0| 19.0 [ 19.0
FHW-18-16-NWR M18X1.5 | M16X1.5 | 10 [13.5]| 30.0 [ 34.0 | 19.0 | 22.0 | 22.0
FHW-20-18-NWR M20X1.5 | M18X1.5 | 12 [13.5| 30.0 [ 37.0 | 19.0 | 24.0 | 24.0
FHW-24-22-NWR M24X1.5 | M22X1.5 | 16 [16.2| 34.7 | 40.0 | 24.0 | 30.0 | 27.0
FHW-30-27-NWR M30X2 M27X2 | 20 | 18.7| 40.2 | 48.0 | 30.0 | 36.0 | 32.0
FHW-36-33-NWR M36X2 M33X2 | 25 |21.0| 450 | 495 |36.0]| 46.0 [ 41.0 | 315
FHW-42-42-NWR M42X2 M42X2 | 30 | 24.3| 50.8 | 54.0 | 41.0 ]| 50.0 | 50.0 25

40

86



~

He

Le

LDW-NWR LDW-SNWR

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER
O-RING LIGHT DUTY 90° ELBOW: LDW-NWR / LDW-SNWR

PART NO. T1 T2 D1 | N1 L1 L2 H | H1 H2 | MPa
LDW-12-10-NWR M12X1.5 | M10X1 6 [13.0f 28.0 | 26.5 | 11.0[14.0| 14.0
LDW-14-12-NWR M14X1.5 | M12X1.5 | 8 [15.5] 30.5 | 32.0 |14.0[{17.0| 17.0
LDW-16-14-NWR M16X1.5 | M14X1.5 | 10 [17.5] 32,5 | 34.0 | 16.0[19.0| 19.0

AVHAHLNIALId T §

LDW-18-16:NWR | M18X1.5 | M16X1.5 | 12 | 19.0] 34.0 | 36.0 |19.0|22.0] 220 | >
LDW-22-18-NWR | M22X1.5 | M18X1.5 | 15 [22.0| 37.0 | 39.5 [22.0]27.0] 24.0
LDW-26-22-NWR | M26X1.5 | M22X1.5 | 18 [25.5| 42.0 [ 43.5 [27.0[32.0] 27.0
LDW-30-27-NWR_| M30x2 | M27x2 | 22 [29.3] 458 [ 50.0 [30.0[36.0] 320 [
LDW-36-33-NWR | M36X2 | M33X2 | 28 [33.3] 49.8 | 54.0 [36.0[41.0] 41.0
L1
NI
H
HI T1 H
Tl
o
QL]
N He
QN
|
T2 -
T2
LHW-SNWR ¢/ ]

LHW-NWR

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER
O-RING HEAVY DUTY 90° ELBOW: LHW-NWR / LHW-SNWR

PART NO. T1 T2 D1 ] N1 L1 L2 H | H1 H2 | MPa
LHW-14-12-NWR M14X1.5 | M12X1.5 | 6 [17.5] 325 | 32.0 [14.0]17.0] 17.0
LHW-16-14-NWR M16X1.5 | M14X1.5 | 8 [18.7| 33.7 | 34.0 [16.0|19.0| 19.0
LHW-18-16-NWR M18X1.5 | M16X1.5 | 10 [ 19.5] 36.0 | 36.0 |19.0]| 22.0 | 22.0
LHW-20-18-NWR M20X1.5 | M18X1.5 | 12 [19.5] 36.0 | 37.0 |19.0]124.0] 24.0
LHW-22-20-NWR M22X1.5 | M20X1.5 | 14 [23.0| 41.0 | 40.0 |22.0]127.0] 27.0
LHW-24-22-NWR M24X1.5 | M22X1.5 | 16 [24.0| 42.0 | 37.5 |24.0|130.0] 27.0
LHW-30-27-NWR M30X2 M27X2 20 [28.3] 49.8 | 50.0 [30.0]36.0] 32.0
LHW-36-33-NWR M36X2 M33X2 25 [32.8| 56.8 | 54.0 | 36.0|46.0] 41.0 40
LHW-42-42-NWR M42X2 M42X2 30 | 36.2| 62.7 | 57.2 |41.0[50.0| 50.0

63

87



T
f 7
o/ I
/ 24°
TDDW-NWR

TDDW-SNWR |

A

DE‘

METRIC MALE 24° X METRIC MALE 24° BRANCH X METRIC

MALE WITH LOCKING NUT WASHER O-RING RUN TEE LIGHT

DUTY: TDDW-NWR / TDDW-SNWR

PART NO. T1,T2,T3 | D1,D2 | N1I,N2 | L1,L2 | L3 H H1,H2 | H3 | MPa
TDDW-12-12-10-NWR | M12X1.5 6 12.0 27.0 [26.5]12.0 14.0 14.0
TDDW-14-14-12-NWR | M14X1.5 8 14.0 29.0 [32.012.0 17.0 17.0
TDDW-16-16-14-NWR | M16X1.5 10 15.0 30.0 |34.0] 14.0 19.0 19.0 315
TDDW-18-18-16-NWR | M18X1.5 12 17.0 32.0 |36.0] 17.0 | 220 [ 22.0 '
TDDW-22-22-18-NWR | M22X1.5 15 21.0 36.0 [39.5]19.0 | 27.0 | 27.0
TDDW-26-26-22-NWR | M26X1.5 18 23.5 40.0 [43.5]24.0 | 32.0 32.0
TDDW-30-30-27-NWR M30X2 22 27.5 44.0 |50.0| 27.0| 36.0 36.0 16
TDDW-36-36-33-NWR M36X2 28 30.5 47.0 |54.0]36.0 | 410 | 410

METRIC MALE 24° X METRIC MALE 24° BRANCH X METRIC MALE

THHW-SNWR |

A
D2 ‘

WITH LOCKING NUT WASHER O-RING RUN TEE HEAVY DUTY:
THHW-NWR / THHW-SNWR

PART NO. T1,T2,T3 [ D1,D2 [ N1,N2 | L1,L2 [ L3 H H1,H2 [ H3 [ MPa
THHW-14-14-12-NWR | M14X1.5 6 16.0 31.0 |320(12.0] 170 [ 17.0
THHW-16-16-14-NWR | M16X1.5 8 17.0 320 |34.0(140] 19.0 [ 29.0 63
THHW-18-18-16-NWR | M18X1.5 10 17.5 34.0 |36.0]17.0 ] 220 | 22.0
THHW-20-20-28-NWR | M20X1.5 12 21.5 38.0 |37.0[17.0 | 240 [ 24.0
THHW-24-24-22-NWR | M24X1.5 16 24.5 43.0 | 375|240 | 30.0 [ 30.0
THHW-30-30-37-NWR M30X2 20 26.5 48.0 | 50.0| 27.0| 36.0 | 36.0 40
THHW-36-36-33-NWR M36X2 25 30.0 54.0 1540 36.0 | 46.0 [ 46.0
THHW-42-42-42-NWR M42X2 30 35.5 62.0 |57.2[41.0] 50.0 [ 50.0

AVAYSHINI-ALIE T §

88



T1 H 73

| —H3
— / g
Y & Y
ul a
(/ \} : =

3/T8

TDWD-NWR

TDWD—-SNWR

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER
O-RING BRANCH X METRIC MALE 24° RUN TEE LIGHT DUTY:
TDWD-NWR / TDWD-SNWR

PART NO. T1,72,T3 [ D1,02 [NA,N2[ L1,L3 [ L2 [ H | H1,H3 | H2 | MPa
TDWD-12-12-10-NWR | M12X1.5 | 6 | 12.0 | 27.0 |265[12.0] 140 | 14.0

TDWD-14-14-12-NWR | M14X1.5 8 14.0 29.0 (32.0]12.0] 17.0 17.0
TDWD-16-16-14-NWR | M16X1.5 10 15.0 30.0 [34.0]14.0] 19.0 19.0

AVHAHLNIALId T §

TDWD-18-18-16-NWR | M18X1.5 12 17.0 320 [36.0]17.0] 22.0 22.0 315
TDWD-22-22-18-NWR | M22X1.5 15 21.0 36.0 [39.5]19.0] 27.0 27.0
TDWD-26-26-22-NWR | M26X1.5 18 23.5 40.0 1435[24.0] 320 32.0
TDWD-30-30-27-NWR M30X2 22 27.5 440 [50.0]27.0] 36.0 36.0 16

TDWD-36-36-33-NWR M36X2 28 30.5 47.0 [54.0]136.0] 410 | 41.0

T H T3 | —H3
_ / i
= . K
E/T 2
THWH-NWR

THWH-SNWR

METRIC MALE 24° X METRIC MALE WITH LOCKING NUT WASHER
O-RING BRANCH X METRIC MALE 24° RUN TEE HEAVY DUTY:
THWH-NWR / THWH-SNWR

PART NO. T1,72,T3 | D1,D2 [ N1,N2 | L1,L3 | L2 H H1,H3 | H2 | MPa
THWH-14-14-12-NWR M14X1.5 6 16.0 31.0 |32.0(12.0| 17.0 17.0
THWH-16-16-14-NWR M16X1.5 8 17.0 32.0 134.0]14.0] 19.0 29.0

THWH-18-18-16-NWR | M18X1.5 10 17.5 34.0 136.0]17.0] 22.0 22.0 63
THWH-20-20-18-NWR | M20X1.5 12 21.5 38.0 |37.0]17.0] 24.0 24.0
THWH-24-24-22-NWR | M24X1.5 16 24.5 43.0 [375[24.0[ 30.0 30.0
THWH-30-30-27-NWR M30X2 20 26.5 48.0 [50.0[27.0[ 36.0 36.0 40

THWH-36-36-33-NWR M36X2 25 30.0 540 |54.0/36.0] 46.0 | 46.0
THWH-42-42-42-NWR M42X2 30 35.5 62.0 [57.2]141.0] 50.0 50.0

89



T1 H
oG LTI i
IDC-V

METRIC MALE 24° X METRIC MALE WITH CAPTIVE SEAL

Te

60°

D1

LIGHT DUTY: IDC-V / IDC-V-SN

I
0

IDC-V-SN

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
IDC-12-10V M12X1.5 M10X1 6 8.5 [ 23.0 | 8.0 | 14.0 14.0
IDC-14-12V M14X1.5 [ M12X1.5 8 10.0 | 25.0 | 12.0 | 17.0 17.0
IDC-16-12V M16X1.5 [ M12X1.5 10 | 11.0 | 25.0 | 12.0 | 17.0 19.0
IDC-16-14V M16X1.5 [ M14X1.5 10 | 11.0 | 26.0 | 12.0 | 19.0 19.0
IDC-16-18V M16X1.5 [ M18X1.5 10 | 125 27.0 | 12.0 | 24.0 19.0
IDC-18-16V M18X1.5 [ M16X1.5 12 1 125) 270 | 12.0 | 22.0 22.0 31.5
IDC-18-18V M18X1.5 [ M18X1.5 12 1 125) 27.0 | 12.0 | 24.0 22.0
IDC-18-22V M18X1.5 [ M22X1.5 12 | 14.0 ) 29.0 | 14.0 | 27.0 22.0
IDC-22-18V M22X1.5 [ M18X1.5 15 | 13.5] 29.0 | 12.0 | 24.0 27.0
IDC-22-22V M22X1.5 [ M22X1.5 15 | 15.0 ) 30.0 | 14.0 | 27.0 27.0
IDC-26-22V M26X1.5 [ M22X1.5 18 | 145 ] 31.0 | 14.0 | 27.0 32.0
IDC-30-26V M30X2 M26X1.5 22 ]116.5 ] 33.0 | 16.0 | 32.0 36.0
IDC-30-27V M30X2 M27X1.5 22 ] 16.5 | 33.0 | 16.0 | 32.0 36.0
IDC-36-33V M36X2 M33X2 28 | 17.5 ] 34.0 | 18.0 ] 41.0 41.0 16
IDC-45-42V M45X2 M42X2 35 | 17.5 | 39.0 | 20.0 | 50.0 50.0
IDC-52-48V M52X2 M48X2 42 ] 19.0 | 42.0 | 22.0 | 55.0 60.0
L1 Le
THC-V-SN
METRIC MALE 24° X METRIC MALE WITH CAPTIVE SEAL
HEAVY DUTY: IHC-V / IHC-V-SN
PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
IHC-14-12V | M14X1.5 | M12X1.5 6 13.0 | 28.0 | 12.0 | 17.0 17.0
IHC-16-14V | M16X1.5 | M14X1.5 8 15.0 | 30.0 | 12.0 | 19.0 19.0
IHC-18-16V | M18X1.5 | M16X1.5 10 | 15.0 | 31.0 | 12.0 | 22.0 22.0 63
IHC-20-18V | M20X1.5 | M18X1.5 12 | 17.0 | 33.0 | 12.0 | 24.0 24.0
IHC-22-20V | M22X1.5 | M20X1.5 14 | 19.0 | 37.0 | 14.0 | 27.0 27.0
IHC-24-22V | M24X1.5 | M22X1.5 16 | 185 | 37.0 ] 14.0 | 27.0 30.0
IHC-30-27V M30X2 M27X2 20 | 20.5 | 42.0 [ 16.0 | 32.0 36.0 40
IHC-36-33V M36X2 M33X2 25 | 23.0 | 47.0 [ 18.0 ] 41.0 46.0
IHC-42-42V M42X2 M42X2 30 | 23.5 | 50.0 [ 20.0 | 50.0 50.0
IHC-52-48V M52X2 M48X2 38 | 26.0 | 57.0 [ 22.0 | 55.0 60.0 40

AVAYSHINI-ALIE T §

90



D

Le

IDJ-SN

Te

METRIC MALE 24° X JIC MALE LIGHT DUTY: IDJ / IDJ-SN

AVHAHLNIALId T §

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
IDJ-12-04 M12X1.5 | 7/16—20 | 6.0 9.0 | 24.014.0 | 14.0 14.0
IDJ-14-04 M14X1.5 | 7/16—20 | 8.0 8.0 | 23.0(14.0| 15.0 17.0
IDJ-14-06 M14X1.5 | 9/16—18 | 8.0 8.0 [23.0]14.1 | 15.0 17.0
IDJ-16-06 M16X1.5 | 9/16—18 [10.0| 9.0 | 24.0 | 14.1 | 17.0 19.0
IDJ-18-06 M18X1.5 | 9/16—18 [12.0] 10.0 | 25.0 | 14.1 | 19.0 22.0 315
IDJ-18-08 M18X1.5 3/4—16 12.01 10.0 | 25.0 | 16.7 | 22.0 22.0 ’
IDJ-22-08 M22X1.5 3/4—16 15.01 10.8 | 26.0 | 16.7 | 24.0 27.0
IDJ-22-10 M22X1.5 7/18—14 15.0] 11.0 | 26.0 | 19.3 | 24.0 27.0
IDJ-26-10 M26X1.5 7/18—14 18.0| 11.5 1 28.0 | 19.3 | 27.0 32.0
IDJ-26-12 M26X1.5 | 1-1/16—12 | 18.0 | 11.6 | 28.0 | 21..9 | 30.0 32.0
IDJ-30-12 M30X2 [1-1/16—12|22.0( 13.5 | 30.0 | 21.9 | 32.0 36.0
IDJ-36-16 M36X2 |[1-5/16—12|28.0( 14.5 | 31.0 | 23.1 | 41.0 41.0
IDJ-45-20 M45X2 1-5/8—12 | 35.0| 14.5 | 36.0 | 24.3 | 46.0 50.0 16
IDJ-52-20 M52X2 1-5/8—12 [42.0] 16.0 | 39.0 | 24.3 | 55.0 | 60.0
IDJ-52-24 M52X2 1-7/8—12 | 42.0| 16.0 | 39.0 | 27.5 | 55.0 60.0
o ! - H1 T1 H /TE
T _
a i > T e
5 I = il e @
P Q] Z
< '@
HJ NI
L1 Le
THJ-SN

METRIC MALE 24° X JIC MALE HEAVY DUTY: IHJ / IHJ-SN

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
1HJ-14-04 M14X1.5 | 7/16—20 6 11.0 [26.0 [ 14.0 [ 140 | 14.0
1HJ-16-04 M16X1.5 [ 7/16—20 8 13.0 1 28.0] 14.0 | 17.0] 19.0
IHJ-16-06 M16X1.5 [ 9/16—18 8 12.9 128.0] 14.1 | 17.0 ] 34.0
1HJ-18-04 M18X1.5 [ 7/16—20 | 10 | 12,5 |29.0 | 14.0 [ 19.0 | 22.0 63
IHJ-18-06 M18X1.5 [ 9/16—18 | 10 | 12.5 | 29.0 | 141 [ 19.0 | 22.0
IHJ-20-06 M20X1.5 | 9/16—18 | 12 | 145 [31.0]| 14.1 | 22.0 | 24.0
1HJ-20-08 M20X1.5 | 3/4—16 12 [ 143 [31.0]16.7 | 22.0 | 24.0
1HJ-22-08 M22X1.5 [ 3/4—16 14 [ 16.0 [34.0]16.7 1240 | 27.0
1HJ-24-08 M24X1.5 [ 3/4—16 16 [ 155 [34.0] 16.7 | 27.0 | 30.0
1HJ-24-10 M24X1.5 [ 7/8—14 16 [ 155 [34.0]19.3]27.0| 30.0
IHJ-30-12 M30X2 |[1-1/16—12] 20 | 17.5 |39.0]| 21.9 | 32.0 ] 36.0
1HJ-36-12 M36X2 |[1-1/16—12] 25 | 19.0 |43.0| 21.9 | 38.0 | 46.0 40
IHJ-36-16 M36X2 |[1-5/16—12| 25 | 19.0 [43.0 ]| 23.1 | 38.0 | 46.0
1HJ-42-20 M42X2 | 1-5/8—12 | 30 | 20.5 [47.0]|24.3 | 46.0 | 50.0
IHJ-52-24 M52X2 | 1-7/8—12 | 38 | 23.0 | 54.0]| 27.5 ]| 55.0 | 60.0

91



T1

A
Ll

Te

T

24

METRIC MALE 24° X SAE MALE O-RING BOSS LIGHT DUTY: IDE / IDE-SN

IDE

D

O

H1

7|‘\,\.u
iyt
L.

T1

Te

IS

TR

W

UF

N1

L1

L2

I

DE-SN

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
IDE-14-04 M14X1.5 7/16—20 8 10.0 25.0 9.0 17.0 17.0
IDE-16-04 M16X1.5 7/16—20 10 11.0 26.0 9.0 17.0 19.0
IDE-18-06 M18X1.5 9/16—18 12 11.0 26.0 10.0 19.0 22.0
IDE-18-08 M18X1.5 3/4—16 12 13.0 28.0 11.0 24.0 22.0
IDE-18-10 M18X1.5 7/8—14 12 14.3 29.0 12.7 27.0 22.0 315
IDE-22-08 M22X1.5 3/4—16 15 14.0 29.0 11.0 24.0 27.0 :
IDE-22-10 M22X1.5 7/8—14 15 15.3 30.0 12.7 27.0 27.0
IDE-22-12 M22X1.5 1-1/16—12 15 1.9 30.0 15.1 32.0 27.0
IDE-26-08 M26X1.5 3/4—16 18 14.5 31.0 11.0 27.0 32.0
IDE-26-10 M26X1.5 7/8—14 18 14.8 31.0 12.7 27.0 32.0
IDE-30-08 M30X2 3/4—16 18 13.9 33.0 1.1 32.0 36.0
IDE-30-10 M30X2 7/8—14 22 16.8 33.0 12.7 32.0 36.0
IDE-30-12 M30X2 1-1/16—12 22 16.5 33.0 15.0 32.0 36.0
IDE-30-16 M30X2 1-5/16—12 22 17.5 34.0 15.0 41.0 36.0
IDE-36-12 M36X2 1-1/16—12 28 17.5 34.0 15.1 41.0 41.0 16
IDE-36-16 M36X2 1-5/16—12 28 17.5 34.0 15.0 41.0 41.0
IDE-45-16 M45X2 1-5/16—12 35 17.5 39.0 15.0 46.0 50.0
IDE-45-20 M45X2 1-5/8—12 35 16.4 39.0 15.1 50.0 50.0
IDE-52-20 M52X2 1-5/8—12 42 15.9 42.0 15.1 55.0 60.0
H1 T —H
/TS
( R I
E O L1 Il lely
- N

METRIC MALE 24° X SAE MALE O-RING BOSS HEAVY DUTY: IHE / IHE-SN

N1

SAZ8

L1

Le

THE-SN

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
IHE-16-04 M16X1.5 7/16—20 8 15.0 30.0 9.0 17.0 19.0
IHE-18-06 M18X1.5 9/16—18 10 14.5 31.0 [ 10.0 | 19.0 22.0 63
IHE-20-06 M20X1.5 9/16—18 12 14.5 31.0 [ 10.0 | 22.0 24.0
IHE-20-08 M20X1.5 3/4—16 12 17.5 34.0 [ 11.0 | 24.0 24.0
IHE-24-08 M24X1.5 3/4—16 16 15.5 34.0 [ 11.0 | 24.0 30.0
IHE-24-10 M24X1.5 7/8—14 16 18.8 37.0 | 12.7 | 27.0 30.0
IHE-30-08 M30X2 3/4—16 20 20.5 420 | 11.0 [ 32.0 36.0
IHE-30-10 M30X2 7/8—14 20 20.8 42.0 | 12.7 | 32.0 36.0
IHE-30-12 M30X2 1-1/16—12 20 20.5 42.0 | 15.0 [ 32.0 36.0 40
IHE-36-12 M36X2 1-1/16—12 25 19.9 47.0 | 161 [ 41.0 46.0
IHE-36-16 M36X2 1-5/16—12 25 23.0 47.0 | 15.0 [ 41.0 46.0
IHE-42-16 M42X2 1-5/16—12 30 23.5 50.0 [ 15.0 | 46.0 50.0
IHE-42-20 M42X2 1-5/8—12 30 23.5 50.0 | 15.0 | 50.0 50.0
IHE-52-20 M52X2 1-5/8—12 38 22.9 53.9 [ 15.1 | 55.0 60.0 31.5

AVAYSHINI-ALIE T §

92



AVHAHLNIALId T §

93

FDE-NOW

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING
BOSS LIGHT DUTY 45° ELBOW: FDE-NOW / FDE-SNOW

PART NO. T1 T2 D1 | N1 L1 L2 H1 H2 MPa
FDE-12-02-NOW | M12X1.5 | 5/16—24 | 6 | 10.0 | 25.0 |24.0|/11.0] 14.0 | 14.0
FDE-14-04-NOW | M14X1.5 | 7/16—20 | 8 | 11.0 | 26.0 |24.0|{14.0] 17.0 | 19.0
FDE-16-04-NOW | M16X1.5 | 7/16—20 | 10 | 12.3 [ 27.3 [24.0|16.0] 19.0 [ 19.0
FDE-16-06-NOW | M16X1.5 | 9/16—18 | 10 | 12.3 | 27.3 |27.5|16.0] 19.0 | 22.0 315
FDE-18-06-NOW | M18X1.5 | 9/16—18 | 12 | 13.0 | 28.0 |27.5|19.0| 22.0 | 22.0 ’
FDE-22-08-NOW | M22X1.5 [ 3/4—16 [ 15 | 15.0 | 30.0 |32.5|22.0| 27.0 | 27.0
FDE-26-08-NOW | M26X1.5 | 3/4—16 | 18 | 16.5| 33.0 |32.5|27.0] 32.0 | 27.0
FDE-26-12-NOW | M26X1.5 |1-1/16—12| 18 | 16.5 | 33.0 |43.9|27.0] 32.0 | 32.0
FDE-30-12-NOW | M30X2 |1-1/16—12] 22 | 19.7 | 36.2 |43.9/30.0] 36.0 | 32.0
FDE-36-16-NOW | M36X2 |1-5/16—12| 28 | 21.5 [ 38.0 [45.5|36.0| 41.0 | 41.0 16
FDE-45-20-NOW | M45X2 | 1-5/8—12 | 35 | 25.5 | 47.0 |47.0|48.0| 50.0 | 50.0

HI—~

FHE-NOW

11
Q

: FHE-NOW / FHE-SNOW

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER
O-RING BOSS HEAVY DUTY 45° ELBOW

PART NO. T T2 D1 ]| N1 L1 L2 H H1 H2 [MPa
FHE-14-04-NOW | M14X1.5 | 7/16—20 | 6 [13.0|28.0 | 24.0 [ 14.0]17.0] 19.0
FHE-16-04-NOW | M16X1.5 | 7/16—20 | 8 [13.328.3|24.0|16.0] 19.0] 19.0
FHE-18-06-NOW | M18X1.5 | 9/16—18 | 10 | 13.5 [ 30.0 | 27.5 [ 19.0 | 22.0 | 22.0 | 63
FHE-20-06-NOW | M20X1.5 | 9/16—18 | 12 | 13.5 [ 30.0 | 27.5 [ 19.0 | 24.0 | 22.0
FHE-22-08-NOW | M22X1.5 | 3/4—16 | 14 | 16.3 [34.3 |325[22.0]|27.0] 27.0
FHE-24-08-NOW | M24X1.5 | 3/4—16 | 16 | 16.2 [ 34.7 | 32.5[24.0 ] 30.0 | 27.0
FHE-30-12-NOW | M30X2 |1-1/16—12| 20 | 18.7 | 40.2 | 43.9 [ 30.0 | 36.0 | 32.0 40
FHE-36-16-NOW | M36X2 |1-5/16—12]| 25 [ 21.0 | 45.0 | 45.5 | 36.0 | 46.0 | 41.0
FHE-42-20-NOW | M42X2 | 1-5/8—12 | 30 | 24.3 | 50.8 | 47.0 | 41.0 | 50.0 | 50.0




Ll

T1

24°

He

Le

T2 T

.4

LDE-NOW LDE-SNOW

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING
BOSS LIGHT DUTY 90° ELBOW: LDE-NOW / LDE-SNOW

PART NO. T T2 D1 N1 L1 L2 H H1 H2 | MPa
LDE-12-04-NOW M12X1.5 7/16—20 6 13.0 [ 28.0 | 27.2 | 11.0 | 14.0 | 17.0
LDE-14-06-NOW M14X1.5 9/16—18 8 155 | 305 | 31.8 [ 140 | 17.0 | 19.0
LDE-16-06-NOW M16X1.5 9/16—18 10 | 17.5 | 32,5 | 33.3 | 16.0 [ 19.0 [ 19.0
LDE-18-08-NOW M18X1.5 3/4—16 12 1 19.0 [ 34.0 | 375 [ 19.0 [ 22.0 | 24.0 | 31.5
LDE-22-10-NOW M22X1.5 7/8—14 15 | 22.0 | 37.0 | 44.0 | 22.0 [ 27.0 [ 27.0
LDE-22-08-NOW M22X1.5 3/4—16 15 | 22.0 | 37.0 | 39.5 [ 22.0 | 27.0 | 24.0
LDE-26-12-NOW M26X1.5 [ 1-1/16—12 | 18 [ 25,5 [ 42.0 | 51.0 | 27.0 | 32.0 | 32.0
LDE-30-12-NOW M30X2 1-1/16—12 | 22 | 29.3 | 45.8 | 53.5 [ 30.0 | 36.0 | 32.0
LDE-36-12-NOW M36X2 1-1/16—12 [ 28 | 33.5 | 47.8 | 57.5 | 36.0 [ 41.0 [ 41.0
LDE-36-16-NOW M36X2 1-5/16—12 | 28 | 33.3 | 49.8 | 575 | 36.0 [ 41.0 [ 41.0| 16
LDE-45-20-NOW M45X2 1-5/8—12 35 [ 39.2 | 60.7 | 63.0 [ 48.0 | 50.0 | 50.0
LDE-52-24-NOW M52X2 1-7/8—12 42 | 448 [ 67.8 | 70.5 | 55.0 [ 60.0 [ 55.0

AVAYSHINI-ALIE T §

LHE-NOW LHE-SNOW

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING
BOSS HEAVY DUTY 90° ELBOW: LHE-NOW / LHE-SNOW

PART NO. T T2 D1 N1 L1 L2 H H1 H2 | MPa

LHE-14-04-NOW M14X1.5 7/16—20 6 17.5 | 32.5 | 30.0 | 14.0 [ 17.0 [ 17.0

LHE-16-06-NOW M16X1.5 9/16—18 8 18.7 | 33.7 | 33.3 | 16.0 [ 19.0 { 19.0

LHE-18-06-NOW M18X1.5 9/16—18 10 ] 19.5 | 36.0 [ 33.5 | 19.0 | 22.0 | 19.0

LHE-18-08-NOW M18X1.5 3/4—16 10 1195 ] 36.0 | 375 | 19.0 | 22.0 | 24.0 63
LHE-20-08-NOW M20X1.5 3/4—16 12 19.5 | 36.0 | 37.5 | 19.0 [ 24.0 | 24.0
LHE-22-10-NOW M22X1.5 7/8—14 14 | 23.0 | 41.0 | 440 | 22.0 | 27.0 [ 27.0
LHE-24-10-NOW M24X1.5 7/8—14 16 | 24.0 | 425 | 46.5 | 24.0 | 30.0 | 27.0
LHE-30-12-NOW M30X2 1-1/16—12 | 20 | 28.3 | 49.8 | 53.5 | 30.0 | 36.0 | 32.0 40

LHE-36-16-NOW M36X2 1-5/16—12 | 25 | 32.8 | 56.8 [ 57.5 [ 36.0 | 46.0 | 41.0

LHE-42-20-NOW M42X2 1-5/8—12 30 [ 36.2 ] 62.7 | 59.5 | 41.0 [ 50.0 | 50.0

LHE-52-24-NOW M52X2 1-7/8—12 38 [ 458 | 76.8 | 70.5 | 55.0 | 60.0 | 55.0 [ 31.5

94



AVHAHLNIALId T §

95

T1

24°

\

§E§{/T2

TDED-NOW

T3

c4-

TDED—-SNOW

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS
BRANCH X METRIC MALE 24° RUN TEE LIGHT DUTY: TDED-NOW / TDED-SNOW

PART NO. 112 T3 DID2 | NINZ | L3 | L2 H H1 | H2 | 13 | MPa
TDED-12-04-NOW | M12X1.5 | 7/16—20 6 120 | 27.0 | 304 | 120 | 140 | 17.0 | 140
TDED-14-04-NOW | M14X1.5 | 7/16—20 8 140 | 290 | 304 | 120 | 17.0 | 17.0 | 170
TDED-16-06-NOW | M16X1.5 | 9/16—18 | 10 150 | 300 | 335 | 140 | 190 [ 190 [ 190 |
TDED-18-06-NOW | M18X15 | 9/16—18 | 12 170 | 320 | 335 | 170 | 220 | 190 | 220
TDED-22-08-NOW | M22X15 | 3/4—16 15 | 210 | 360 | 375 | 190 | 270 | 240 | 27.0
TDED-26-10-NOW | M26X15 | 7/8—14 18 | 235 | 400 | 440 | 240 | 320 | 270 | 320
TDED-30-12-NOW | M30x2 | 1-1/16—12 | 22 | 275 | 440 | 510 | 270 | 360 | 320 | 36.0
TDED-36-16-NOW | M36x2 | 1-5/6—12] 28 | 305 | 470 | 545 [ 360 [ 410 | 410 [ 410 |
TDED-4520-NOW | M45x2 | 15/8—12 | 35 | 345 | 560 | 59.0 | 41.0 | 50.0 | 50.0 | 50.0
TDED-52-24-NOW | M52x2 | 1-7/8—12 | 42 | 400 | 630 | 630 | 500 | 60.0 | 550 | 60.0

L3
" i ~ H1— H3 T3
/ [4
_ \ 3=
5 (]
Y z) 1O
g 7
/TE T
Jmm—" 5 S/ —— <
LL/M"\ L, —He
TDDE-NOW %

L
TDDE-SNOW ‘\/V

De

METRIC MALE 24° X METRIC MALE 24° BRANCH X SAE MALE WITH LOCKING
NUT WASHER O-RING BOSS RUN TEE LIGHT DUTY: TDDE-NOW / TDDE-SNOW

PART NO. T1,T2 T3 D1,D02 | N1,N2 | L1,L2 L3 H H1 H2 H3 MPa
TDDE-12-04-NOW | M12X1.5 | 7/16—20 6 12.0 27.0 30.1 12.0 14.0 14.0 17.0
TDDE-14-04-NOW | M14X1.5 | 7/16—20 8 14.0 29.0 30.1 12.0 17.0 17.0 17.0
TDDE-16-06-NOW | M16X1.5 | 9/16—18 10 15.0 30.0 33.5 14.0 19.0 19.0 19.0 25
TDDE-18-06-NOW | M18X1.5 | 9/16—18 12 17.0 32.0 33.5 17.0 22.0 22.0 19.0
TDDE-22-08-NOW | M22X1.5 [ 3/4—16 15 21.0 36.0 37.5 19.0 27.0 27.0 24.0
TDDE-26-10-NOW | M26X1.5| 7/8—14 18 23.5 40.0 44.0 | 24.0 32.0 32.0 27.0
TDDE-30-12-NOW | M30X2 | 1-1/16—12 22 27.5 44.0 51.0 | 27.0 36.0 36.0 32.0
TDDE-36-16-NOW | M36X2 | 1-5/16—12 28 30.5 47.0 54.5 | 36.0 41.0 41.0 41.0 16
TDDE-45-20-NOW | M45X2 | 1-5/8—12 35 34.5 56.0 59.0 | 41.0 50.0 50.0 50.0
TDDE-52-24-NOW | M52X2 | 1-7/8—12 42 40.0 63.0 63.0 [ 50.0 60.0 60.0 55.0




L1 L3

T1 H T3

24
g
17

N
n

Le

\4
n

De

N
THHE-SNOW F‘/\“/

METRIC MALE 24° X METRIC MALE 24° BRANCH X SAE MALE WITH LOCKING
NUT WASHER O-RING BOSS RUN TEE HEAVY DUTY: THHE-NOW / THHE-SNOW

PART NO. T1,T2 T3 D1,D2 | N1,N2 | L1,L.2 L3 H H1 H2 H3 MPa

7%
3
AVAYSHINI-ALIE T §

THHE-14-04-NOW | M14X1.5 | 7/16—20 6 16.0 31.0 30.1 12.0 17.0 17.0 17.0

THHE-16-06-NOW | M16X1.5 | 9/16—18 8 17.0 32.0 33.3 14.0 19.0 19.0 19.0

THHE-18-06-NOW | M18X1.5 | 9/16—18 10 17.5 34.0 33.3 17.0 22.0 22.0 19.0 63

THHE-20-06-NOW | M20X1.5 [ 9/16—18 12 215 38.0 33.3 17.0 24.0 24.0 19.0

THHE-22-08-NOW | M22X1.5 | 3/4—16 14 22.0 40.0 37.5 19.0 27.0 27.0 24.0

THHE-24-10-NOW | M24X1.5 | 7/8—14 16 24.5 43.0 44.0 24.0 30.0 30.0 27.0

THHE-30-12-NOW | M30X2 [1-1/16—12 20 26.5 48.0 51.0 27.0 36.0 36.0 32.0

THHE-36-16-NOW | M36X2 [ 1-5/16—12 25 30.0 54.0 54.5 [ 36.0 46.0 46.0 41.0 40

THHE-45-20-NOW | M42X2 [ 1-5/8—12 30 35.5 62.0 59.0 [ 41.0 50.0 50.0 50.0

THHE-52-24-NOW | M52X2 | 1-7/8—12 38 41.0 72.0 63.0 50.0 60.0 60.0 55.0 315

L1

NI
T H T3 "
— / R /
T L+
qV) (qV]
A —L
He
}/~T2 //*TE
THEH-NOW THEH-SNOW

METRIC MALE 24° X SAE MALE WITH LOCKING NUT WASHER O-RING BOSS
BRANCH X METRIC MALE 24° RUN TEE HEAVY DUTY: THEH-NOW / THEH-SNOW

PART NO. T1,T2 T3 D1,D2 | N1,N2 | L1,L3 L2 H H1 H2 H3 MPa
THEH-14-04-NOW | M14X1.5 | 7/16—20 6 16.0 31.0 30.1 12.0 17.0 17.0 17.0
THEH-16-06-NOW | M16X1.5 [ 9/16—18 8 17.0 32.0 33.3 14.0 19.0 19.0 19.0

THEH-18-06-NOW | M18X1.5 | 9/16—18 10 17.5 34.0 33.3 17.0 22.0 19.0 22.0 63

THEH-20-06-NOW | M20X1.5 | 9/16—18 12 21.5 38.0 33.3 17.0 24.0 19.0 24.0

THEH-22-08-NOW | M22X1.5 | 3/4—16 14 22.0 40.0 37.5 19.0 27.0 24.0 27.0

THEH-24-10-NOW | M24X1.5 | 7/8—14 16 24.5 43.0 44.0 24.0 30.0 27.0 30.0

THEH-30-12-NOW | M30X2 |[1-1/16—12]| 20 26.5 48.0 51.0 27.0 36.0 32.0 36.0

THEH-36-16-NOW | M36X2 [1-5/16—12 25 30.0 54.0 54.5 36.0 46.0 41.0 46.0 40

THEH-45-20-NOW | M42X2 | 1-5/8—12 30 35.5 62.0 59.0 41.0 50.0 50.0 50.0

THEH-52-24-NOW | M52X2 | 1-7/8—12 38 41.0 72.0 63.0 50.0 60.0 55.0 60.0 31.5

96



AVHAHLNIALId T §

97

Te

IDN-SN

Lo

METRIC MALE 24° X NPT MALE LIGHT DUTY: IDN / IDN-SN

PART NO. T1 T2 D1 N1 L H H1 | MPa
IDN-12-02 M12X1.5 1/8—27 6 134 | 284 | 120 | 14.0
IDN-12-04 M12X1.5 1/4—18 6 172 | 322 | 170 | 14.0
IDN-14-04 M14X1.5 1/4—18 8 172 | 322 | 14.0 | 170
IDN-16-04 M16X1.5 1/4—18 10 | 182 | 332 | 170 [ 19.0
IDN-16-06 M16X1.5 3/8—18 10 | 199 | 530 | 19.0 [ 190 | 25
IDN-18-06 M18X1.5 3/8—18 12 | 199 | 349 | 190 [ 220
IDN-18-08 M18X1.5 1/2—14 12 | 214 | 364 | 220 [ 220
IDN-22-08 M22X1.5 1/2—14 15 | 224 | 374 | 270 | 270
IDN-22-12 M22X1.5 3/4—14 15 | 224 | 374 | 300 | 27.0
IDN-26-12 M26X1.5 3/4—14 18 | 224 | 389 | 300 [ 320
IDN-30-12 M30X2 3/4—14 22 | 244 | 409 | 320 | 36.0
IDN-36-16 M36X2 1—11.5 28 | 298 | 463 | 41.0 | 410
IDN-36-20 M36X2 1-1/4—11.5 | 28 | 313 | 463 | 46.0 | 41.0 16
IDN-45-20 M45X2 1-1/4—11.5 | 35 | 303 | 51.8 | 46.0 | 50.0
IDN-52-20 M52X2 1-1/4—115 | 42 | 318 | 558 | 550 | 60.0
IDN-52-24 M52X2 1-1/2—115 | 42 | 328 | 558 | 550 | 60.0
T1 H /T8
1
: T

N1

L

THN-SN

METRIC MALE 24° X NPT MALE HEAVY DUTY: IHN / IHN-SN

PART NO. T1 T2 D1 N1 L H H1 MPa
IHN-14-04 M14X1.5 1/4—18 6 22.2 37.2 17.0 17.0
IHN-16-04 M16X1.5 1/4—18 8 22.2 37.2 17.0 19.0
IHN-18-04 M18X1.5 1/4—18 10 21.7 38.2 19.0 22.0
IHN-18-06 M18X1.5 3/8—18 10 22.4 38.9 19.0 22.0 40
IHN-20-06 M20X1.5 3/8—18 12 24.4 40.9 22.0 24.0
IHN-20-08 M20X1.5 1/2—14 12 25.9 42.4 22.0 24.0
IHN-22-08 M22X1.5 1/2—14 14 27.4 45.4 24.0 27.0
IHN-24-08 M24X1.5 1/2—14 16 26.9 45.4 27.0 30.0
IHN-30-12 M30X2 3/4—14 20 28.4 49.9 32.0 36.0
IHN-36-12 M36X2 3/4—14 25 30.9 54.0 41.0 46.0
IHN-36-16 M36X2 1—11.5 25 35.3 59.3 41.0 46.0 25
IHN-42-16 M42X2 1—11.5 25 35.8 59.3 46.0 46.0
IHN-42-20 M42X2 1-1/4—11.5 30 36.3 62.8 46.0 50.0
IHN-52-24 M52X2 1-1/2—11.5 38 39.8 70.8 55.0 60.0




T1

24°

METRIC MALE 24° X NPT MALE LIGHT DUTY 90° ELBOW: LDN / LDN-SN

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
LDN-12-02 M12X1.5 1/8—27 6 13.0 28.0 21.0 11.0 14.0
LDN-12-04 M12X1.5 1/4—18 6 15.5 30.5 25.5 14.0 14.0
LDN-14-04 M14X1.5 1/4—18 8 15.5 30.5 25.5 14.0 17.0
LDN-16-06 M16X1.5 3/8—18 10 17.5 32.5 29.5 16.0 19.0
LDN-18-04 M18X1.5 1/4—18 12 19.0 34.0 28.0 19.0 22.0 25
LDN-18-06 M18X1.5 3/8—18 12 19.0 34.0 31.0 19.0 22.0
LDN-18-08 M18X1.5 1/2—14 12 21.0 36.0 36.7 22.0 22.0
LDN-22-06 M22X1.5 3/8—18 15 22.0 37.0 32.5 22.0 27.0
LDN-22-08 M22X1.5 1/2—14 15 22.0 37.0 36.7 22.0 27.0
LDN-26-08 M26X1.5 1/2—14 18 25.5 42.0 40.0 27.0 32.0
LDN-26-12 M26X1.5 3/4—14 18 25.5 42.0 44.0 27.0 32.0
LDN-30-12 M30X2 3/4—14 22 29.3 45.8 45.0 30.0 36.0
LDN-30-16 M30X2 1—11.5 22 32.0 48.5 50.0 33.0 36.0 16
LDN-36-16 M36X2 1—11.5 28 33.3 49.8 51.5 36.0 41.0
LDN-45-20 M45X2 1-1/4—11.5 35 39.2 60.7 63.0 48.0 50.0
LDN-52-24 M52X2 1-1/2—11.5 42 44.8 67.8 65.0 55.0 60.0

T1

T

&
1 —
A oo >
LHN-SN
METRIC MALE 24° X NPT MALE HEAVY DUTY 90° ELBOW: LHN / LHN-SN

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
LHN-14-04 M14X1.5 1/4—18 6 17.5 32.5 25.5 14.0 17.0
LHN-16-04 M16X1.5 1/4—18 8 18.5 33.7 26.5 16.0 19.0
LHN-18-06 M18X1.5 3/8—18 10 19.5 36.0 31.0 19.0 22.0
LHN-20-04 M20X1.5 1/4—18 12 19.5 36.0 28.0 19.0 24.0
LHN-20-06 M20X1.5 3/8—18 12 19.5 36.0 31.0 19.0 24.0 40
LHN-22-06 M22X1.5 3/8—18 14 23.0 41.0 32.5 22.0 27.0
LHN-22-08 M22X1.5 1/2—14 14 23.0 41.0 36.7 22.0 27.0
LHN-24-06 M24X1.5 3/8—18 16 24.0 42.5 33.5 24.0 30.0
LHN-24-08 M24X1.5 1/2—14 16 24.0 42.5 37.5 24.0 30.0
LHN-30-08 M30X2 12—14 20 28.0 49.8 41.0 30.0 36.0
LHN-30-12 M30X2 3/4—14 20 28.0 49.8 45.0 30.0 36.0
LHN-36-12 M36X2 3/4—14 25 32.8 56.8 49.0 36.0 46.0
LHN-36-16 M36X2 1—11.5 25 32.8 56.8 51.5 36.0 46.0 25
LHN-42-16 M42X2 1—11.5 30 36.2 62.7 54.5 41.0 50.0
LHN-42-20 M42X2 1-1/4—11.5 30 36.2 62.7 54.5 41.0 50.0
LHN-52-20 M52X2 1-1/4—11.5 38 45.8 76.8 65.0 55.0 60.0
LHN-52-24 M52X2 1-1/2—11.5 38 45.8 76.8 65.0 55.0 60.0

AVAYSHINI-ALIE T §

98



AVHAHLNIALId T §

T1 H T2
— A A/
I
’// Y
IDG
H1 1 H
/ T2
. -~ P
§ g g i :
s
L1 N Le
IDG-SN
TL H T2
. A A/
[
/// Y
THG
T2
)
Y

THG-SN

99

METRIC MALE 24° X BSP MALE BONDED SEAL TYPE LIGHT
DUTY: IDG / IDG-SN

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
IDG-12-02 | M12X1.5 1/8—28 6 8.0 | 23.0 | 10.0 [ 14.0 | 14.0
IDG-12-04 | M12X1.5 1/4—19 6 9.0 | 240 | 12.0 [ 19.0 | 14.0
IDG-14-02 | M14X1.5 1/8—28 8 8.0 | 23.0 | 10.0 [ 14.0 | 17.0
IDG-14-04 | M14X1.5 1/4—19 8 9.0 | 25.0 | 12.0 [ 19.0 | 17.0
IDG-14-06 | M14X1.5 3/8—19 8 9.0 | 240 | 135 [ 22.0 | 17.0
IDG-16-04 [ M16X1.5 1/4—19 10 | 10.0 ] 25.0 | 12.0 | 19.0 | 19.0
IDG-16-06 | M16X1.5 3/8—19 10 | 125 ] 26.0 | 135 | 22.0 | 19.0
IDG-16-08 [ M16X1.5 1/2—14 10 | 11.0] 26.0 | 16.0 | 27.0 | 19.0 315
IDG-18-04 | M18X1.5 1/4—19 12 |1 10.0 | 25.0 | 12.0 | 19.0 | 22.0 '
IDG-18-06 | M18X1.5 3/8—19 12 [ 10.0 [ 25.0 | 13.5 | 22.0 | 22.0
IDG-18-08 | M18X1.5 1/2—14 12 | 11.0 ] 26.0 | 16.0 | 27.0 | 22.0
IDG-18-12 | M18X1.5 3/4—14 12 | 11.0 ] 26.0 | 185 | 32.0 | 22.0
IDG-22-06 | M22X1.5 3/8—19 15 | 11.0 ] 26.0 | 135 | 240 | 27.0
IDG-22-08 | M22X1.5 1/2—14 15 | 12.0] 27.0 | 16.0 | 27.0 | 27.0
IDG-26-08 | M26X1.5 1/2—14 18 | 115 ] 28.0 | 16.0 | 27.0 | 32.0
IDG-26-12 [ M26X1.5 3/4—14 18 | 115 ] 28.0 | 185 | 32.0 | 32.0
IDG-30-12 M30X2 3/4—14 22 [ 135 ] 30.0 | 185 | 32.0 | 36.0
IDG-36-16 M36X2 1—11 28 1145 ([ 310 | 20.5 | 41.0 | 41.0 16
IDG-45-20 M45X2 1-1/4—11 35 | 155 [ 37.0 | 20.5 | 50.0 [ 50.0
IDG-52-24 M52X2 1-1/2—11 42 | 16.0 | 39.0 [ 23.0 | 55.0 | 60.0

METRIC MALE 24° X BSP MALE BONDED SEAL TYPE HEAVY

DUTY: IHG / IHG-SN

PART NO. T1 T2 D1 N1 L1 L2 H H1 MPa
IHG-14-04 [ M14X1.5 1/4—19 6 13.0 | 28.0 [ 12.0 [ 19.0 | 17.0
IHG-16-04 [ M16X1.5 1/4—19 8 13.0 | 28.0 [ 12.0 [ 19.0 | 19.0
IHG-16-06 [ M16X1.5 3/8—19 8 15.0 | 320 [ 135 [ 220 | 19.0
IHG-18-04 [ M18X1.5 1/4—19 10 | 125 | 29.0 [ 12.0 [ 19.0 | 22.0
IHG-18-06 | M18X1.5 3/8—19 10 | 145 [ 31.0 [ 135 | 22.0 | 22.0 63
IHG-18-08 | M18X1.5 12—14 10 | 145 | 310 [ 16.0 [ 27.0 | 22.0
IHG-20-04 | M20X1.5 1/4—19 12 | 145 | 31.0 [ 120 [ 22.0 | 24.0
IHG-20-06 [ M20X1.5 3/8—19 12 | 145 | 31.0 [ 135 [ 22.0 | 24.0
IHG-20-08 [ M20X1.5 1/2—14 12 | 145 | 31.0 | 16.0 [ 27.0 | 24.0
IHG-22-08 [ M22X1.5 1/2—14 14 | 16.0 | 340 | 16.0 [ 27.0 | 27.0
IHG-24-06 [ M24X1.5 3/8—19 16 | 155 | 340 | 135 | 27.0 | 30.0
IHG-24-08 | M24X1.5 12—14 16 | 155 [ 34.0 [ 16.0 | 27.0 | 30.0
IHG-24-12 | M24X1.5 3/4—14 16 | 17.5 | 36.0 | 185 [ 32.0 | 30.0
IHG-30-12 M30X2 3/4—14 20 | 175 [ 39.0 | 185 | 32.0 [ 36.0 40
IHG-36-08 M36X2 1/2—14 25 | 19.0 [ 43.0 | 16.0 | 38.0 [ 46.0
IHG-36-12 M36X2 3/4—14 25 | 19.0 [ 43.0 | 185 | 38.0 [ 46.0
IHG-36-16 M36X2 1—11 25 | 20.0 [ 44.0 | 20.5 | 41.0 [ 46.0
IHG-42-20 M42X2 1-1/4—11 30 | 21.5 [ 48.0 | 20.5 | 50.0 [ 50.0
IHG-52-24 M52X2 1-1/2—11 38 | 23.0 | 54.0 ]| 23.0 | 55.0 | 60.0 | 315




N
METRIC MALE 24° X BSP MALE LIGHT DUTY 90° ELBOW: E
T , LDG / LDG-SN H
| y PART NO. T1 T2 D1 | N1 L1 L2 H H1 | MPa m
" LDG-12-04 | M12x1.5 | 1/4—19 | 6 | 155 | 30.5 | 24.5 | 14.0 [ 14.0 1
LDG-14-04 | M14x1.5 | 1/4—19 | 8 | 155 | 30.5 | 24.5 | 14.0 [ 17.0 -
LDG-14-06 | M14X1.5 | 3/8—19 | 8 | 16.5 | 31.5 | 27.5 | 16.0 | 17.0 Z
e LDG-16-04 | M16X1.5 | 1/4—19 | 10 | 17.5 | 325 | 26.5 | 16.0 | 19.0
LN LDG-16-06 | M16X1.5 | 3/8—19 | 10 | 17.5 | 325 | 27.5 | 16.0 | 19.0 H
eo LDG-16-08 | M16X1.5 | 1/2—14 | 10 | 21.0 | 36.0 | 345 | 22.0 | 19.0 :
LDG [DG18-04 | M18X15 | 1/4—19 | 12 | 19.0 | 340 | 2756 | 19.0 | 220 | >
o LDG-18-06 | M18x1.5 | 3/8—19 | 12 [ 19.0 | 36.0 | 28.5 | 19.0 [ 22.0 W
Hi—~ N LDG-18-08 | M18X1.5 | 1/2—14 | 12 | 21.0 | 355 | 34.5 | 22.0 [ 22.0 m
H LDG-22-06 | M22X1.5 | 3/8—19 | 15 | 22.0 | 37.0 | 31.0 | 22.0 | 27.0 }
ey 5< LDG-22-08 | M22X1.5 | 1/2—14 | 15 | 22.0 | 37.0 | 34.5 | 22.0 | 27.0
= (i g 2 LDG-26-08 | M26X1.5 | 1/2—14 | 18 | 255 | 42.0 | 375 | 27.0 | 32.0 c
Q% LDG-30-12 | M30X2 | 3/4—14 | 22 | 295 | 46.0 | 41.0 | 30.0 [ 36.0
Q LDG-36-16 | M36X2 1—11 | 28 | 333 | 498 | 475 | 36.0 | 41.0 | ¢
Te LDG-45-20 | M45X2 [1-1/4—11] 35 | 39.2 | 60.7 | 54.5 | 48.0 [ 50.0
] LDG-52-24 | M52X2 [1-1/2—11] 42 | 44.8 | 67.8 | 63.0 | 55.0 [ 60.0
LDG-SN
T METRIC MALE 24° X BSP MALE HEAVY DUTY 90° ELBOW:
= e LHG / LHG-SN
N PART NO. 1 T2 D1 N1 L1 L2 H H1 [ MPa
- LHG-14-04 | M14X1.5 | 1/4—19 | 6 175 | 325 | 245 | 14.0 | 17.0
LHG-16-04 | M16X1.5 | 1/4—19 | 8 18.7 | 337 | 26.5 | 16.0 | 19.0
Te LHG-16-06 | M16X1.5 | 3/8—19 | 8 18.7 | 33.7 | 27.5 | 16.0 | 19.0

LHG-18-04 | M18X1.5 | 1/4—19 10 19.5 | 36.0 | 27.5 | 19.0 | 22.0
LHG-18-06 | M18X1.5 | 3/8—19 10 19.5 | 36.0 | 285 [ 19.0 | 22.0

LHG-18-08 | M18X1.5 | 1/2—14 10 215 [ 38.0 | 345 [ 220 | 22.0 63
LHG-20-04 | M20X1.5 | 1/4—19 12 19.5 | 36.0 | 27.5 [ 19.0 | 24.0
LHG-20-06 | M20X1.5 | 3/8—19 12 19.5 | 36.0 | 28.5 [ 19.0 | 24.0
LHG-20-08 | M20X1.5 | 1/2—14 12 215 | 38.0 | 345 [ 220 | 24.0
LHG-22-08 | M22X1.5 | 1/2—14 14 23.0 | 41.0 | 345 [ 220 | 27.0
LHG-24-06 | M24X1.5 | 3/8—19 16 240 | 425 | 32.0 | 240 | 30.0
LHG-24-08 | M24X1.5 | 1/2—14 16 24.0 | 425 | 35.0 | 24.0 [ 30.0
LHG-24-12 | M24X1.5 | 3/4—14 16 26.0 | 445 | 40.0 [ 27.0 | 30.0
LHG-30-12 M30X2 | 3/4—14 20 28.3 | 49.8 | 41.0 [ 30.0 | 36.0 40
LHG-36-08 M36X2 | 1/2—14 25 328 | 56.8 | 425 | 36.0 [ 46.0
LHG-36-12 M36X2 | 3/4—14 25 32.8 | 56.8 | 435 | 36.0 [ 46.0

LHG-36-16 | M36X2 1—11 25 328 | 56.8 | 47.5 | 36.0 [ 46.0
LHG-42-20 | M42X2 |1-1/4—11] 30 36.2 | 62.7 | 50.5 | 41.0 [ 50.0
LHG-52-24 | M52X2 [1-1/2—11] 38 458 | 76.8 | 63.0 | 55.0 | 60.0 | 315

100



METRIC MALE 24° X BSP MALE WITH O-RING LIGHT DUTY:
IDP-OR / IDP-OR-SN

N
v
o
] " § e PART NO. T1 T2 DI [ N [ 11 [ 12 ] H | A1 [MPa
= - WA IDP-12-020R | M12X15 | 1/8—28 | 6 | 85 | 230 | 95 | 140 | 140
: ., \‘H \ e IDP-12-040R| M12X1.5 [ 1/4—19 | 6 | 100 | 250 | 10.0 | 19.0 | 14.0
e N 5 IDP-14-040R | M14X15 | 1/4—19 | 8 | 100 | 250 | 100 | 190 | 17.0
z V- g IDP-14-060R | M14X15 | 3/86—19 | 8 | 115 | 260 | 115 | 220 | 17.0
IDP-14-080R | M14X15 | 12—14 | 8 | 130 | 275 | 140 | 270 | 24.0
] IDP-OR IDP-16-040R | M16X1.5 | 1/4—19 | 10 | 11.0 | 26.0 | 100 | 19.0 | 19.0
: IDP-16-060R | M16X1.5 | 3/8—19 | 10 | 125 | 27.0 | 115 | 22.0 | 19.0
IDP-16-080R | M16X15 | 1/2—14 | 10 | 14.0 | 29.0 | 140 | 27.0 | 190 | 315
z . . IDP-18-060R | M18X15 | 3/8—19 | 12 | 125 | 270 | 115 | 220 | 220
> y - [IDP-18-080R| M18X15 | 1/2—14 | 12 | 130 | 280 | 140 | 27.0 | 220
/ IDP-22-060R | M22X15 | 3/86—19 | 15 | 135 | 290 | 115 | 240 | 27.0
> i IDP-22-080R | M22X15 | 1/2—14 | 15 | 140 | 290 | 140 | 270 | 270
U T G \H‘H\ '\ [IDP-22-120R| M22X15 | 3/4—14 | 15 | 20.0 | 30.0 | 155 | 32.0 | 32.0
101 2| [IDP-26-080R| M26X15 | 1/2—14 | 18 | 145 | 31.0 | 140 | 27.0 | 32.0
1A _%/ IDP-26-120R | M26X15 | 3/4—14 | 18 | 145 | 320 | 155 | 320 | 320
X IDP-30-120R| M30X2 | 3/4—14 | 22 | 165 | 33.0 | 155 | 320 | 36.0
i IDP-30-160R| M30X2 | 1—11 | 22 | 175 | 350 | 180 | 410 | 36.0
B B IDP-36-160R| M36X2 | 1—11 | 28 | 175 | 340 | 180 | 410 | 410
IDP-45-200R| M45X2 |1-1/4—11| 35 | 175 | 39.0 | 200 | 500 | 500 | 16
IDP-OR-SN IDP-52-200R| M52X2 |1-1/4—11| 42 | 19.0 | 42.0 | 20.0 | 55.0 | 60.0
IDP-52240R| M52X2 |1-1/2—11| 42 | 19.0 | 42.0 | 215 | 550 | 60.0
IDP-52-320R| M52X2 | 2—11 | 42 | 250 | 440 | 245 | 700 | 600
Tl H Te
METRIC MALE 24° X BSP MALE WITH O-RING HEAVY
— m \\\\\/ DUTY: IHP-OR / IHP-OR-SN
& S PART NO. T T2 DI [ N1 | L1 [ 2] H | Hl | MPa
[ . IHP-14-040R | M14X15 | 1/4—19 | 6 | 13.0 | 28.0 | 10.0 | 19.0 | 17.0
IHP-16-040R | M16X15 | 1/4—19 | 8 | 150 | 31.0 | 100 | 19.0 | 19.0
THP-OR IHP-18-040R | M18X15 | 1/4—19 | 10 | 145 | 31.0 | 100 | 19.0 | 22.0
IHP-18-060R | M18X15 | 3/86—19 | 10 | 150 | 31.0 | 115 | 22.0 | 22.0
IHP-20-060R | M20X15 | 3/8—19 | 12 | 17.0 | 32.0 | 115 | 220 | 24.0] .
" = IHP-20-080R | M20X15 | 1/2—14 | 12 | 175 | 340 | 14.0 | 27.0 | 24.0
H - IHP-22-060R | M22X15 | 3/86—19 | 14 | 19.0 | 37.0 | 115 | 24.0 | 27.0
f IHP-22-080R | M22X15 | 1/2—14 | 14 | 19.0 | 37.0 | 14.0 | 27.0 | 27.0
— omim— IHP-24-040R | M24X1.5 | 1/4—19 | 16 | 18.0 | 37.0 | 11.0 | 27.0 | 30.0
| i N\\\H a IHP-24-080R | M24X15 | 1/2—14 | 16 | 185 | 37.0 | 14.0 | 27.0 | 30.0
a Q ||| L [T v IHP-30-120R | M30X2 | 3/4—14 | 20 | 205 | 42.0 | 155 | 32.0 | 36.0
— -%/ Y IHP-36-120R | M36X2 | 3/4—14 | 25 | 23.0 | 47.0 | 155 | 41.0 | 46.0
IHP-36-160R | M36X2 | 1—11 | 25 | 175 | 47.0 | 18.0 | 41.0 | 46.0 | 40
NL IHP-42-160R | M42X2 | 1—11 | 30 | 235 | 48.0 | 18.0 | 46.0 | 50.0
L1 L2 IHP-42200R | M42X2 |1-1/4—11] 30 | 235 | 50.0 | 20.0 | 50.0 | 50.0
THP—OR-SN IHP-52-240R | M52X2 |1-1/2—11| 38 | 26.0 | 57.0 | 215 | 55.0 | 60.0 | 315

101




METRIC MALE 24° X BSP MALE WITH LOCKING NUT WASHER O-RING
LIGHT DUTY 45° ELBOW: FDP-NWR / FDP-SNWR

PART NO. T T2 D1 N1 L1 L2 H H1 H2 MPa
FDP-12-02-NWR M12X1.5 1/8—28 6 [10.0] 25.0 [24.0| 11.0 | 14.0 | 14.0
FDP-14-04-NWR M14X1.5 1/4—19 8 11.0 | 26.0 | 27.0 [ 14.0 [ 17.0 | 19.0
FDP-16-04-NWR M16X1.5 1/4—19 10 |1 123 | 273 | 27.0 [ 16.0 [ 19.0 | 19.0
FDP-16-06-NWR M16X1.5 3/8—19 10 |1 123 |1 27.3 | 30.0 [ 16.0 [ 19.0 | 22.0
FDP-18-06-NWR M18X1.5 3/8—19 12 1 13.0 | 28.0 | 31.0 [ 19.0 [ 22.0 | 22.0
FDP-22-08-NWR M22X1.5 1/2—14 15 | 15.0 | 30.0 | 36.0 [ 22.0 [ 27.0 | 27.0
FDP-26-08-NWR M26X1.5 1/2—14 18 | 16.5 | 33.0 | 37.5 [ 27.0 [ 32.0 | 27.0
FDP-26-12-NWR M26X1.5 3/4—14 18 [ 16.5 | 33.0 [ 42.0 | 27.0 | 32.0 | 32.0
FDP-30-12-NWR M30X2 3/4—14 22 | 19.7 | 36.2 [ 42.5 ]| 30.0 | 36.0 | 32.0
FDP-36-16-NWR M36X2 1—11 28 |1 215 38.0 [445]|36.0 | 41.0] 41.0 16
FDP-45-20-NWR M45X2 1-1/4—11 | 35 | 25,5 | 47.0 [ 50.5 | 48.0 | 50.0 | 50.0

AVAYSHINI-ALIE T §

315

METRIC MALE 24° X BSP MALE WITH LOCKING NUT WASHER O-RING
HEAVY DUTY 45° ELBOW: FHP-NWR / FHP-SNWR

PART NO. T1 T2 D1 N1 L1 L2 H H1 H2 MPa
FHP-14-04-NWR M14X1.5 1/4—19 6 13.0 [ 28.0 | 27.0 [ 14.0 | 17.0 | 19.0
FHP-16-04-NWR M16X1.5 1/4—19 8 13.3 [ 28.3 | 27.0 [ 16.0 | 19.0 | 19.0
FHP-18-06-NWR M18X1.5 3/8—19 10 | 13.5 [ 30.0 | 31.0 [ 19.0 | 22.0 | 22.0 63
FHP-20-06-NWR M20X1.5 3/8—19 12 | 13.5 [ 30.0 | 31.0 [ 19.0 | 24.0 | 22.0
FHP-22-08-NWR M22X1.5 1/2—14 14 | 16.3 [ 34.3 | 36.0 [ 22.0 | 27.0 | 27.0
FHP-24-08-NWR M24X1.5 12—14 16 | 16.2 [ 34.7 | 36.5 [ 24.0 | 30.0 | 27.0

FHP-30-12-NWR M30X2 3/4—14 20 [18.7 ] 40.2 | 425 | 30.0 | 36.0 | 32.0 40
FHP-36-16-NWR M36X2 1—11 25 [ 21.0 ] 45.0 [ 445 | 36.0 [ 46.0 | 41.0
FHP-42-20-NWR M42X2 1-1/4—11] 30 | 24.3 | 50.8 | 47.5 | 41.0 | 50.0 | 50.0

102



T1

<
-

Te

— Te

LDP-NWR =
LDP—-SNWR

METRIC MALE 24° X BSP MALE WITH LOCKING NUT WASHER
O-RING LIGHT DUTY 90° ELBOW: LDP-NWR / LDP-SNWR

PART NO. T T2 D1 N1 L1 L2 H H1 H2 | MPa
LDP-12-02-NWR [ M12X1.5 1/8—28 6 13.0 { 28.0 | 26.2 | 11.0 | 14.0 | 14.0
LDP-14-04-NWR [ M14X1.5 1/4—19 8 155 [ 305 | 31.3 | 14.0 | 17.0 | 19.0
LDP-16-04-NWR [ M16X1.5 1/4—19 10 | 17.5 [ 325 | 325 | 16.0 | 19.0 | 19.0
LDP-16-06-NWR | M16X1.5 3/8—19 10 | 17.5 | 325 [ 36.8 | 16.0 [ 19.0 | 22.0

AVHAHLNIALId T §
|

LDP-18-06-NWR [ M18X1.5 3/8—19 12 | 19.0 [ 34.0 | 36.8 | 19.0 | 22.0 | 22.0 315
LDP-22-08-NWR | M22X1.5 1/2—14 15 1 220 | 37.0 [ 43.2 | 220 | 27.0 | 27.0
LDP-26-08-NWR [ M26X1.5 1/2—14 18 | 25,5 | 42.0 | 46.0 | 27.0 | 32.0 | 27.0
LDP-26-12-NWR [ M26X1.5 3/4—14 18 | 256.5 | 42.0 [ 493 | 27.0 | 32.0 | 32.0
LDP-30-12-NWR M30X2 3/4—14 22 | 29.3 | 45.8 | 52.0 | 30.0 | 36.0 | 32.0
LDP-30-16-NWR M30X2 1—11 22 | 31.5 | 48.0 [ 53.0 | 33.0 [ 36.0 | 41.0
LDP-36-16-NWR M36X2 1—11 28 | 33.0 | 49.8 | 56.0 | 36.0 [ 41.0 | 41.0 16

LDP-36-20-NWR M36X2 1-1/4—11 | 28 | 36.0 | 52.8 [ 59.0 | 41.0 [ 41.0 | 50.0
LDP-45-20-NWR M45X2 1-1/4—11 | 35 | 39.2 | 60.7 [ 63.0 | 48.0 [ 50.0 | 50.0
LDP-52-24-NWR M52X2 1-1/2—11 | 42 | 44.8 | 67.8 [ 68.5 | 55.0 [ 60.0 | 55.0

L1

T1 H HI~ NI

— % H
| N e <
: il ==
- O]

N He

Te

il
o
!

LHP-NWR

v

=
—
=

LHP—-SNWR

METRIC MALE 24° X BSP MALE WITH LOCKING NUT WASHER O-RING
HEAVY DUTY 90° ELBOW: LHP-NWR / LHP-SNWR

PART NO. T1 T2 D1 N1 L1 L2 H H1 H2 | MPa
LHP-14-04-NWR M14X1.5 1/4—19 6 | 175 | 325 [ 313 | 14.0 | 17.0 | 19.0
LHP-16-04-NWR M16X1.5 1/4—19 8 | 18.7 | 33.7 [ 325 | 16.0 | 19.0 | 19.0
LHP-16-06-NWR M16X1.5 3/8—19 8 | 18.7 | 33.7 [ 35.8 | 16.0 | 19.0 | 22.0

LHP-18-06-NWR M18X1.5 3/8—19 10 | 19.5 | 36.0 [ 36.8 | 19.0 | 22.0 | 22.0 63
LHP-20-06-NWR M20X1.5 3/8—19 12 | 19.5 | 36.0 [ 36.8 | 19.0 | 24.0 | 22.0
LHP-22-08-NWR M22X1.5 12—14 14 | 23.0 | 41.0 [ 432 ] 22.0 | 27.0 | 27.0
LHP-24-08-NWR | M24X1.5 1/2—14 16 | 24.0 | 42,5 [ 43.0 | 24.0 | 30.0 | 27.0
LHP-30-12-NWR M30X2 3/4—14 20 | 28.0 | 49.5 [ 52.0 | 30.0 | 36.0 | 32.0 40

LHP-36-16-NWR M36X2 1—11 25 | 32.8 | 56.8 | 56.0 | 36.0 | 46.0 | 41.0
LHP-42-20-NWR M42X2 1-1/4—11 | 30 | 36.2 | 62.7 [ 58.0 | 41.0 | 50.0 | 50.0
LHP-52-24-NWR M52X2 1-1/2—11 | 38 | 458 | 76.8 | 68.5 | 55.0 | 60.0 | 55.0 | 315

103



METRIC MALE 24° X BSP MALE WITH CAPTIVE SEAL

LIGHT DUTY: IDP-V / IDP-V-SN

PART NO. T1 T2 D1 [ N1 L1 L2 H H1 | MPa
IDP-12-02V | M12X1.5| 1/8—28 6 85 | 235 | 80 | 14.0 | 14.0
IDP-12-04V | M12X1.5| 1/4—19 6 | 10.0 | 25.0 | 120 | 19.0 | 14.0
IDP-12-06V | M12X1.5| 3/8—19 6 | 115 | 265 | 12.0 | 22.0 | 14.0
IDP-14-02V | M14X1.5| 1/8—28 8 90 | 240 | 80 | 140 | 170
IDP-14-04V | M14X1.5| 1/4—19 8 | 10.0 | 240 | 120 | 19.0 | 17.0
IDP-14-06V | M14X1.5| 3/8—19 8 | 110 | 26.0 | 120 | 220 | 17.0
IDP-16-04V | M16X1.5| 1/4—19 | 10 | 11.0 | 245 | 12.0 | 19.0 | 19.0
IDP-16-06V | M16X1.5| 3/8—19 | 10 | 125 | 26.0 | 12.0 | 22.0 | 19.0
IDP-16-08V | M16X1.5| 1/2—14 | 10 | 13.0 | 28.0 | 14.0 | 27.0 | 19.0 e
i o IDP-18-04V | M18X1.5| 1/4—19 | 12 | 12.0 | 27.0 | 12.0 | 19.0 | 22.0 :
IDP-18-06V | M18X1.5| 3/8—19 | 12 | 125 | 26.0 | 12.0 | 22.0 | 22.0
VYN IDP-18-08V | M18X1.5| 1/2—14 | 12 | 14.0 | 28.0 | 140 | 27.0 | 220
\\m\\\ \ IDP-22-04V | M22X1.5| 1/4—19 | 15 | 13.0 | 28.0 | 12.0 | 24.0 | 27.0
NG IDP-22-06V | M22X1.5| 3/8—19 | 15 | 135 | 28.0 | 12.0 | 24.0 | 27.0
IDP-22-08V | M22X1.5| 1/2—14 | 15 | 14.0 | 28.0 | 14.0 | 27.0 | 27.0
N IDP-22-12V | M22X1.5| 3/4—14 | 15 | 150 | 29.0 | 16.0 | 32.0 | 27.0
IDP-26-08V | M26X1.5| 1/2—14 | 18 | 145 | 31.0 | 140 | 27.0 | 32.0
L1 Lo IDP-26-12V | M26X1.5| 3/4—14 | 18 | 145 | 31.0 | 16.0 | 32.0 | 32.0
IDP-30-12V | M30X2 | 3/4—14 | 22 | 165 | 33.0 | 16.0 | 32.0 | 36.0
IDP-V-SN IDP-36-16V | M36X2 1—11 28 | 175 | 340 | 18.0 | 41.0 | 41.0 1
IDP-45-20V | M45X2 | 1-1/4—11 | 35 | 17.5 | 39.0 | 20.0 | 50.0 | 50.0
IDP-52-24V | M52X2 | 1-1/2—11 | 42 | 19.0 | 42.0 | 22.0 | 55.0 | 60.0
1 H o METRIC MALE 24° X BSP MALE WITH CAPTIVE SEAL
4 HEAVY DUTY: IHP-V / IHP-V-SN
PART NO. T1 T2 D1| N1 L1 L2 H H1 | MPa
S IHP-14-04V | M14X1.5 | 1/4—19 | 6 | 15.0 | 28.0 | 120 | 19.0 | 17.0
IHP-16-04V | M16X1.5 | 1/4—19 | 8 | 15.0 | 30.0 | 12.0 | 19.0 | 19.0
Y IHP-16-06V | M16X1.5 | 3/8—19 | 8 | 155 | 30.0 | 12.0 | 22.0 | 19.0
IHP-18-04V | M18X1.5 | 1/4—19 | 10| 145 | 31.0 | 12.0 | 19.0 | 22.0
IHP-18-06V | M18X1.5 | 3/8—19 | 10 | 145 | 31.0 | 12.0 | 22.0 | 22.0 -
IHP-18-08V | M18X1.5 | 1/2—14 | 10| 175 | 34.0 | 14.0 | 27.0 | 22.0
IHP-20-04V | M20X1.5 | 1/4—19 | 12| 165 | 33.0 | 120 | 22.0 | 24.0
IHP-20-06V | M20X1.5 | 3/8—19 | 12 | 15.0 | 33.0 | 12.0 | 22.0 | 24.0
IHP-20-08V | M20X1.5 | 1/2—14 | 12 | 175 | 34.0 | 140 | 27.0 | 24.0
IHP-22-08V | M22X1.5 | 1/2—14 | 14 | 19.0 | 37.0 | 140 | 27.0 | 27.0
IHP-24-06V | M24x1.5 | 3/8—19 | 16 | 18.0 | 36.5 | 12.0 | 27.0 | 30.0
IHP-24-08V | M24X1.5 | 1/2—14 | 16 | 185 | 37.0 | 14.0 | 27.0 | 30.0
IHP-24-12V | M24X1.5 | 3/4—14 | 16 | 205 | 39.0 | 16.0 | 32.0 | 30.0
IHP-30-12V | M30X2 | 3/4—14 | 20| 205 | 42.0 | 16.0 | 32.0 | 36.0 /0
IHP-36-08V | M36X2 | 1/2—14 | 25| 23.0 | 47.0 | 140 | 41.0 | 46.0
IHP-36-12V | M36X2 | 3/4—14 | 25| 23.0 | 47.0 | 16.0 | 41.0 | 46.0
L1 Lo IHP-36-16V | M36X2 1—11 [ 25| 23.0 | 470 | 18.0 | 41.0 | 46.0
IHP-42-20V | M42X2 [1-1/4—11]| 30| 235 | 50.0 | 20.0 | 50.0 | 50.0
THP-V-SN IHP-52-24V | M52X2 [1-1/2—11]| 38| 26.0 | 57.0 | 22.0 | 55.0 | 60.0 | 31.5

AVAYSHINI-ALIE T §

104



1DB

AVHAHLNIALId T §

Dl ‘
il

H

Tlx

o4

IHB

T2

D1

il

N1

[HB-SN

105

METRIC MALE 24° X BSPT MALE LIGHT DUTY: IDB /

IDB-SN
PART NO. T1 T2 D1 N1 L H H1 MPa
IDB-12-02 | M12X1.5 | 1/8—28 6 13.0 28.0 12.0 14.0
IDB-12-04 | M12X1.5 | 1/4—19 8 16.5 315 14.0 14.0
IDB-14-04 | M14X1.5 | 1/4—19 8 16.5 315 14.0 17.0
IDB-14-06 | M14X1.5 | 3/8—19 8 17.6 32.6 19.0 17.0
IDB-16-04 | M16X1.5 | 1/4—19 10 17.5 32.6 17.0 19.0
IDB-16-06 | M16X1.5 | 3/8—19 10 18.6 33.6 19.0 19.0 25
IDB-16-08 | M16X1.5 | 1/2—14 10 21.8 36.8 22.0 19.0
IDB-16-12 | M16X1.5 | 3/4—14 10 21.5 36.5 30.0 19.0
IDB-18-04 | M18X1.5 | 1/4—19 12 18.5 33.5 19.0 22.0
IDB-18-06 | M18X1.5 | 3/8—19 12 18.6 33.6 19.0 22.0
IDB-18-08 | M18X1.5 | 1/2—14 12 21.8 36.8 22.0 22.0
IDB-22-08 | M22X1.5 | 1/2—14 15 22.8 37.8 24.0 27.0
IDB-26-08 | M26X1.5 | 1/2—14 18 23.3 39.8 27.0 32.0
IDB-26-12 | M26X1.5 | 3/4—14 18 22.0 38.5 30.0 32.0
IDB-30-12 M30X2 3/4—14 22 24.0 40.5 32.0 36.0
IDB-36-16 M36X2 1—11 28 29.6 46.1 38.0 41.0
IDB-36-20 M36X2 [1-1/4—11 28 29.3 45.8 46.0 41.0 16
IDB-45-16 M45X2 1—11 35 29.6 51.1 46.0 50.0
IDB-45-20 M45X2 [1-1/4—11 35 28.3 49.8 46.0 50.0
IDB-52-20 M52X2 [1-1/4—11 42 29.8 52.8 55.0 60.0
|DB-52-24 M52X2 | 1-1/2—11 42 29.8 52.8 55.0 60.0

METRIC MALE 24° X BSPT MALE HEAVY DUTY: IHB /

IHB-SN

PART NO. T1 T2 D1 N1 L H H1 MPa
IHB-14-04 | M14X1.5 | 1/4—19 6 13.0 36.5 17.0 17.0
IHB-16-04 | M16X1.5 | 1/4—19 8 21.5 36.5 17.0 19.0
IHB-18-06 | M18X1.5 | 3/8—19 | 10 21.0 37.5 19.0 22.0
IHB-20-04 | M20X1.5 | 1/4—19 | 12 23.0 39.5 22.0 24.0
IHB-20-06 | M20X1.5 | 3/8—19 | 12 231 39.6 22.0 24.0 40
IHB-22-06 | M22X1.5 | 3/8—19 | 14 24.6 42.6 24.0 27.0
IHB-22-08 | M22X1.5 | 1/2—14 | 14 27.8 45.8 24.0 27.0
IHB-24-06 | M24X1.5 | 3/8—19 | 16 24.1 42.6 27.0 30.0
IHB-30-08 | M30X2 12—14 | 16 27.3 45.8 27.0 30.0
IHB-30-12 | M30X2 | 3/4—14 | 20 28.0 49.5 32.0 36.0
IHB-36-12 | M36X2 | 3/4—14 | 25 29.5 53.5 38.0 46.0
IHB-36-16 | M36X2 1—11 25 34.1 58.1 38.0 46.0
IHB-42-16 | M42X2 1—11 30 35.6 62.1 46.0 50.0 25
IHB-42-20 | M42X2 |1-1/4—11] 30 34.3 60.8 46.0 50.0
IHB-52-20 | M52X2 |1-1/4—11] 38 36.8 67.8 55.0 60.0
IHB-52-24 | M52X2 |1-1/2—11] 38 36.8 67.8 55.0 60.0




METRIC MALE 24° X BSPT MALE LIGHT DUTY 90°

ELBOW: LDB / LDB-SN
PART NO. T1 T2 D1 N1 L1 L2 H1 | MPa
LDB-12-02 | M12X1.5 | 1/8—28 6 | 13.0 [ 28.0 | 21.0 | 11.0 | 14.0
LDB-12-04 | M12X1.5 | 1/4—19 6 | 155 [ 30.5 | 255 | 14.0 | 14.0
LDB-14-02 | M14X1.5 [ 1/8—28 8 | 155 [ 30.5 | 235 | 14.0 | 17.0
LDB-14-04 | M14X1.5 [ 1/4—19 8 | 155 [ 305 | 255 | 14.0 | 17.0
LDB-16-04 | M16X1.5 [ 1/4—19 | 10 [ 17.5 | 325 | 26.5 [ 16.0 | 19.0
LDB-16-06 | M16X1.5 | 3/8—19 | 10 | 17.5 [ 32.5 | 28,5 | 16.0 | 19.0
LDB-16-08 | M16X1.5 | 1/2—14 | 10 | 21.0 | 36.0 | 36.0 | 22.0 | 19.0 | 25
LDB-18-04 | M18X1.5 | 1/4—19 | 12 | 21.0 | 34.0 | 28.0 | 19.0 | 22.0
LDB-18-06 | M18X1.5 [ 3/8—19 | 12 [ 19.0 | 34.0 | 30.5 [ 19.0 | 22.0
LDB-18-08 | M18X1.5 | 1/2—14 | 12 [ 21.0 | 36.0 | 36.0 [ 22.0 | 22.0
LDB-22-06 | M22X1.5 | 3/8—19 | 15 [ 22.0 | 37.0 | 32.5 | 22.0 | 27.0
LDB-22-08 | M22X1.5 | 1/2—14 | 15 [ 22.0 | 37.0 | 36.0 [ 22.0 | 27.0
LDB-22-12 | M22X1.5 | 3/4—14 | 15 | 25,5 | 40.5 | 43.5 | 27.0 | 27.0
LDB-26-08 | M26X1.5 | 1/2—14 | 18 | 25,5 [ 42.0 | 39.5 | 27.0 | 32.0
LDB-26-12 | M26X1.5 | 3/4—14 | 18 | 25,5 | 42.0 | 43.5 | 27.0 | 32.0
LDB-30-12 | M30X2 3/4—14 | 22 | 29.5 | 45.8 | 45.3 | 30.0 | 36.0
LDB-30-16 | M30X2 1—11 22 | 31.5 [ 48.0 | 50.0 | 33.0 | 36.0 16
LDB-36-16 | M36X2 1—11 28 | 335 [ 49.8 | 52.0 | 36.0 | 41.0
LDB-36-20 | M36X2 [ 1-1/4—11 | 28 [ 36.2 | 52.7 | 57.0 [ 41.0 | 41.0
LDB-45-20 | M45X2 | 1-1/4—11] 35 | 39.2 [ 60.7 | 61.0 | 48.0 | 50.0
LDB-52-24 | M52X2 | 1-1/2—11| 42 | 44.8 | 67.8 | 68.0 | 55.0 | 60.0
METRIC MALE 24° X BSPT MALE HEAVY DUTY 90°
ELBOW: LHB / LHB-SN
PART NO. T1 T2 D1 N1 L1 L2 H H1 | MPa
LHB-14-04 M14X1.5 [ 1/4—19 6 175 325 [ 25,5 [ 14.0 | 17.0
LHB-16-04 M16X1.5 [ 1/4—19 8 18.7 | 33.7 [ 26.5 [ 16.0 | 19.0
LHB-18-06 M18X1.5 | 3/8—19 10 | 19.5 | 36.0 | 30.5 | 19.0 | 22.0
LHB-20-04 M20X1.5 | 1/4—19 12 | 19.5 | 36.0 | 28.0 | 19.0 | 24.0
LHB-20-06 M20X1.5 | 3/8—19 12 | 19.5 | 36.0 [ 30.5 [ 19.0 | 24.0 | 40
LHB-22-06 M22X1.5 | 3/8—19 14 | 23.0 | 41.0 325|220 270
LHB-22-08 M22X1.5 | 1/2—14 14 | 23.0 | 41.0 | 36.0 | 22.0 | 27.0
LHB-24-06 M24X1.5 [ 3/8—19 16 | 24.0 | 42.5 | 33.5 | 24.0 | 30.0
LHB-24-08 M24X1.5 | 1/2—14 16 | 24.0 | 42,5 | 37.3 | 24.0 | 30.0
LHB-30-08 M30X2 12—14 20 | 28.3]49.8]41.0] 30.0 [ 36.0
LHB-30-12 M30X2 3/4—14 20 | 28.3]149.8 | 45.3 | 30.0 | 36.0
LHB-36-12 M36X2 3/4—14 25 1333]573]520] 36.0[46.0
LHB-36-16 M36X2 1—11 25 1328 ]56.8]525] 36.046.0 25
LHB-42-16 M42X2 1—N 30 [36.2[62.7]56.5(41.0 ] 50.0
LHB-42-20 M42X2 [ 1-1/4—11 | 30 [36.2 | 62.7 | 57.0 [ 41.0 | 50.0
LHB-52-20 M52X2 [ 1-1/4—11| 38 [ 458 | 76.8 | 67.0 [ 55.0 | 60.0
LHB-52-24 M52X2 [ 1-1/2—11 | 38 [45.8 [ 76.8 | 68.0 | 565.0 | 60.0

AVAYSHINI-ALIE T §

106



TDBD-SN

METRIC MALE 24° WITH NUT & RING X BSPT MALE BRANCH X
METRIC MALE 24° WITH NUT & RING RUN TEE: TDBD-SN

AVHAHLNIALId T §

PART NO. T1,T3 T2 D1,D2[N1,N2[L1,L3 [ L2 H [H1H2
TDBD-12-SN-04-12-SN | M12x1.5 | 1/4—19 | 12 [ 120 [ 27.0 | 225 | 12.0 | 14.0
TDBD-12-SN-06-12-SN | M12x1.5 | 3/8—19 | 12 [ 12.0 [ 27.0 | 26.0 | 12.0 | 14.0
TDBD-14-SN-06-14-SN_| M14x1.5 | 3/8—19 | 14 [ 140 [ 29.0 [ 26.0 | 12.0 | 17.0
TDBD-14-SN-08-14-SN | M14x1.5 | 12—14 | 14 [ 140 [ 29.0 [ 310 | 120 | 17.0
TDBD-16-SN-08-16-SN | M16X1.5 1/2—14 16 15.0 | 30.0 | 31.0 | 14.0 | 19.0
TDBD-18-SN-08-18-SN | M18x1.5 | 1/2—14 | 18 [ 17.0 [ 32.0 | 31.0 [ 17.0 | 22.0
TDBD-22-SN-12-22-SN | M22x1.5 | 3/4—14 | 22 [ 21.0 [ 36.0 | 340 | 19.0 | 27.0
TDBD-30-SN-20-30-SN | M30x2 [ 1-14—11 ] 30 [ 275 [ 44.0 | 48.0 [ 27.0 | 36.0

L
T1 Te T1 N1 —Te
: R :
L Iyl
— & \ = = I
§ Hl H He
IQD-S
1QD-S-SN
METRIC MALE 24° X METRIC SWIVEL FEMALE 24° O-RING
LIGHT DUTY: 1QD-S / IQD-S-SN
PART NO. T1 T2 DI [ D2 [ Nt [ L [ H[HI [ H2][MPa
IQD-12-14S | M12x1.5 | M14x15 | 6 | 8 [235][38.0 [ 12.0[14.0 [17.0
IQD-12-16S | M12x1.5 | M16x1.5 | 6 [ 10 [25.0 [ 40.0 | 14.0 [ 14.0 [ 19.0
IQD-14-16S | M14x1.5 | M16x1.5 | 8 [ 10 [25.0 [ 40.0 [ 14.0 [ 17.0 [ 19.0
lQD-14-18S | M14x1.5 | M18x1.5 | 8 [ 12 [25.0 [ 40.0 [ 17.0 [17.0 [ 22.0
lQD-16-185 | M16x1.5 | M18x1.5 [ 10 [ 12 [26.0 [41.0 [ 17.0[19.0 [ 220 315
IQD-16-22S | M16X1.5 | M22x1.5 [ 10 [ 15 [29.5 [ 44.0 | 19.0 [ 19.0 [ 27.0
IQD-18-22S | M18X1.5 | M22x1.5 [ 12 [ 15 [29.5 | 44.0 | 19.0 [ 22.0 [ 27.0
IQD-18-26S | M18X1.5 | M26x1.5 [ 12 [ 18 [29.0 | 44.0 | 24.0 [ 22.0 [ 32.0
IQD-22-26S | M22x1.5 | M26x1.5 | 15 [ 18 [30.0 [ 45.0 | 24.0 [ 27.0 | 32.0
IQD-22-30S | M22x1.5 | M30x2 [ 15 [ 22 [34.0 [ 49.0 [ 27.0 [ 27.0 | 36.0
IQD-26-30S | M26x1.5 | M30x2 [ 18 [ 22 [33.5]50.0 [ 27.0 [ 32.0 | 36.0
IQD-26-36S | M26Xx1.5 | M36x2 | 18 [ 28 [355]52.0 | 36.0 [ 32.0 [ 41.0
IQD-30-36S M30X2 M36X2 22 | 28 [37.5[54.0 | 36.0 | 36.0 | 41.0 16
|QD-30-45S M30X2 M45x2 | 22 | 35 [40.5[57.0 | 41.0 [ 36.0 [ 50.0
|QD-36-45S M36X2 M45x2 | 28 | 35 [40.5 [ 57.0 | 41.0 [ 41.0 [ 50.0
|QD-36-52S M36X2 M52x2 | 28 [ 42 [44.0 [ 61.0 | 50.0 [ 41.0 [ 60.0
|QD-45-52S M45X2 M52x2 | 35 [ 42 [43.0 [ 65.0 | 50.0 [ 50.0 [ 60.0

107




24°

N

S

T

\\|||||>n¢

IQH-S

T1

N1

H1

b
TQH-S—SN

He

//ﬁTE

METRIC MALE 24° X METRIC SWIVEL FEMALE 24°
O-RING HEAVY DUTY: IQH-S / IQH-S-SN

PART NO. T T2 D2 | N1 L H H1 H2 | MPa
IQH-14-16S | M14X1.5 | M16X1.5 8 [27.0] 420 |14.0] 17.0 | 19.0
IQH-14-18S | M14X1.5 | M18X1.5 10 [ 275|420 [ 17.0 | 17.0 | 22.0
IQH-14-20S | M14X1.5 [ M20X1.5 12 [ 29.0 | 440 [ 17.0 | 17.0 | 24.0
IQH-16-18S | M16X1.5 [ M18X1.5 10 [ 27.5 ] 420 | 17.0 | 19.0 | 22.0
IQH-16-20S | M16X1.5 [ M20X1.5 12 [ 29.0 | 44.0 [ 17.0 | 19.0 | 24.0 | 63.0
IQH-16-22S | M16X1.5 [ M22X1.5 14 [ 31.5]46.0 | 19.0 | 19.0 | 27.0
IQH-18-20S | M18X1.5 | M20X1.5 12 |1 31.0 | 46.0 | 19.0 | 22.0 | 24.0
IQH-18-22S | M18X1.5 | M22X1.5 14 [ 31.0]47.0 [ 19.0 | 22.0 | 27.0
IQH-20-22S | M20X1.5 | M22X1.5 14 [ 31.0 | 47.0 [ 22.0 | 24.0 | 27.0
IQH-16-24S | M16X1.5 [ M24X1.5 16 [ 32.0 | 47.0 | 22.0 | 19.0 | 30.0
IQH-16-30S | M16X1.5 | M30X2 20 [ 36.0 | 51.0 [ 27.0 | 19.0 | 36.0
IQH-18-24S | M18X1.5 [ M24X1.5 16 [ 31.5 ] 48.0 | 22.0 | 22.0 | 30.0
IQH-20-24S | M20X1.5 [ M24X1.5 16 [ 33.5 | 50.0 | 22.0 | 24.0 | 30.0
IQH-20-30S | M20X1.5 | M30X2 20 | 355 | 52.0 | 27.0 [ 24.0 | 36.0
IQH-20-36S | M20X1.5 | M36X2 25 [ 38.0 | 54.0 [ 36.0 | 24.0 | 46.0
IQH-22-24S | M22X1.5 | M24X1.5 16 [ 33.0 | 51.0 [ 24.0 | 27.0 | 30.0
IQH-22-30S | M22X1.5 | M30X2 20 [ 37.0 | 55.0 [ 27.0 | 27.0 | 36.0 | 40.0
IQH-22-36S | M22X1.5 | M36X2 25 [ 39.5]57.0 [ 36.0 | 27.0 | 46.0
IQH-24-30S | M24X1.5 | M30X2 20 [ 37.5]55.0 [ 30.0 | 30.0 | 36.0
IQH-24-36S | M24X1.5 | M36X2 25 [ 39.0 | 57.0 [ 36.0 | 30.0 | 46.0
IQH-24-42S | M24X1.5 | M42X2 30 [ 445 [63.0 | 41.0 | 30.0 | 50.0
IQH-30-36S M30X2 M36X2 25 [39.0 | 61.0 [ 36.0 | 36.0 | 46.0
IQH-30-42S M30X2 M42X2 30 | 44.5 | 66.0 | 41.0 | 36.0 | 50.0
IQH-36-42S M36X2 M42X2 30 | 44.0 | 69.0 | 41.0 | 46.0 [ 50.0
IQH-36-52S M36X2 M52X2 38 | 48.5 | 73.0 | 50.0 | 46.0 | 60.0 315
IQH-42-528 M45X2 M52X2 38 | 49.0 | 76.0 | 50.0 | 50.0 | 60.0 )
METRIC MALE 24° X METRIC SWIVEL FEMALE 24°
O-RING LIGHT DUTY 90° ELBOW: LQD-S / LQD-S-SN
PART NO. T1,T2 D1,D2 N1 L1 L2 H1,H2 [ MPa
LQD-12-12S M12X1.5 6 12.0 27.0 26.0 12.0 14.0
LQD-14-14S M14X1.5 8 14.0 29.0 27.5 12.0 17.0
LQD-16-16S M16X1.5 10 15.0 30.0 29.0 14.0 19.0 25
LQD-18-18S M18X1.5 12 17.0 32.0 29.5 17.0 22.0
LQD-22-22S8 M22X1.5 15 21.0 36.0 32.5 19.0 27.0
LQD-26-26S M26X1.5 18 23.5 40.0 35.5 24.0 32.0
LQD-30-30S M30X2 22 27.5 44.0 38.5 27.0 36.0
LQD-36-36S M36X2 28 30.5 47.0 41.5 36.0 41.0 16
LQD-45-45S M45X2 35 34.5 56.0 51.0 41.0 50.0
LQD-52-528 M52X2 42 40.0 63.0 56.0 50.0 60.0

AVAYSHINI-ALIE T §




L1

AVHAHLNIALId T §

QU]
|
| e
LQH-S LQH-S-SN ' D2
METRIC MALE 24° X METRIC SWIVEL FEMALE 24°
O-RING HEAVY DUTY 90° ELBOW: LQH-S / LQH-S-SN
PART NO. T1,T2 D1,D2 N1 L1 L2 H H1,H2 MPa

LQH-14-14S M14X1.5 6 16.0 31.0 27.0 12.0 17.0
LQH-16-16S M16X1.5 8 17.0 32.0 27.5 14.0 19.0
LQH-18-18S M18X1.5 10 17.5 34.0 30.0 17.0 22.0 63
LQH-20-20S M20X1.5 12 21.5 38.0 31.0 17.0 24.0
LQH-22-22S M22X1.5 14 22.0 40.0 35.0 19.0 27.0
LQH-24-24S M24X1.5 16 24.5 43.0 36.5 24.0 30.0
LQH-30-30S M30X2 20 26.5 48.0 44.5 27.0 36.0 40
LQH-36-36S M36X2 25 30.0 54.0 50.0 36.0 46.0
LQH-42-42S M42X2 30 35.5 62.0 55.0 41.0 50.0
LQH-52-52S M52X2 38 41.0 72.0 63.0 50.0 60.0 31.5
T1 T3 HI—

o o

;r o _

N N 3]

1 —1r

Le

TQD-S—SN

METRIC MALE 24° X METRIC SWIVEL FEMALE O-RING BRANCH
X METRIC MALE 24° RUN TEE LIGHT DUTY: TQD-S / TQD-S-SN

PART NO. T1,72,T3 | D1,D2,D3 | N1,N2 | L1,L3 L2 H H1,H2,H3 [ MPa
TQD-12-12S8-12 | M12X1.5 6 12.0 27.0 | 26.0 | 12.0 14.0
TQD-14-14S-14 | M14X1.5 8 14.0 29.0 [ 275 | 12.0 17.0
TQD-16-16S-16 | M16X1.5 10 15.0 30.0 | 29.0 | 14.0 19.0 315
TQD-18-18S-18 | M18X1.5 12 17.0 32.0 | 295 | 17.0 22.0 ’
TQD-22-22S-22 | M22X1.5 15 21.0 36.0 | 325 | 19.0 27.0
TQD-26-26S-26 | M26X1.5 18 23.5 40.0 | 355 | 240 32.0
TQD-30-30S-30 M30X2 22 27.5 44.0 | 385 | 270 36.0
TQD-36-36S-36 M36X2 28 30.5 47.0 | 415 | 36.0 41.0 16
TQD-45-45S-45 M45X2 35 34.5 56.0 | 51.0 [ 41.0 50.0
TQD-52-528-52 M52X2 42 40.0 63.0 | 56.0 | 50.0 60.0

109



Le

METRIC MALE 24° X METRIC SWIVEL FEMALE O-RING BRANCH
X METRIC MALE 24° RUN TEE HEAVY DUTY: TQH-S / TQH-S-SN

AVAYSHINI-ALIE T §

PART NO. T1,72,T3 | D1,D2,D3 | N1,N2 | L1,L3 L2 H [H1,H2,H3 [ MPa
TQH-14-14S-14 M14X1.5 6 16.0 31.0 27.0 112.0 17.0
TQH-16-16S-16 M16X1.5 8 17.0 32.0 275 114.0 19.0
TQH-18-18S-18 M18X1.5 10 17.5 34.0 30.0 | 17.0 22.0 63
TQH-20-20S-20 M20X1.5 12 21.5 38.0 31.0 |17.0 24.0
TQH-22-228-22 M22X1.5 14 22.0 40.0 35.0 | 19.0 27.0
TQH-24-24S-24 M24X1.5 16 24.5 43.0 36.5 [24.0 30.0
TQH-30-30S-30 M30X2 20 26.5 48.0 445 | 27.0 36.0 40
TQH-36-36S-36 M36X2 25 30.0 54.0 50.0 [36.0 46.0
TQH-42-42S-42 M42X2 30 35.5 62.0 55.0 | 41.0 50.0
TQH-52-528-52 M52X2 38 41.0 72.0 63.0 |50.0 60.0 31.5

L3

| e
j 152
| ™
t |
\ 73
T2
24

TQD-S %/Ha

TQD-S-SN bn_e\JJ

I

11—
—
n

~—]

METRIC MALE 24° X METRIC MALE 24° BRANCH X METRIC SWIVEL
FEMALE O-RING RUN TEE LIGHT DUTY: TQD-S / TQD-S-SN

PART NO. T1,T2,T3 [ D1,D2,D3 | N1,N2 | L1,L.2 | L3 H H1,H2,H3 | MPa
TQD-12-12-128 M12X1.5 6 12.0 270 [26.0 | 120 14.0
TQD-14-14-14S M14X1.5 8 14.0 29.0 [275| 120 17.0
TQD-16-16-16S M16X1.5 10 15.0 30.0 | 29.0 | 14.0 19.0 315
TQD-18-18-18S M18X1.5 12 17.0 320 |1 295]| 17.0 22.0 '
TQD-22-22-228 M22X1.5 15 21.0 36.0 | 325 | 19.0 27.0
TQD-26-26-26S M26X1.5 18 23.5 40.0 | 355 | 24.0 32.0
TQD-30-30-30S M30X2 22 27.5 44.0 | 385 | 27.0 36.0
TQD-36-36-36S M36X2 28 30.5 470 | 415] 36.0 41.0 16
TQD-45-45-45S M45X2 35 34.5 56.0 | 51.0 | 41.0 50.0
TQD-52-52-528 M52X2 42 40.0 63.0 [ 56.0 | 50.0 60.0

110



AVHAHLNIALId T §

111

T1

24-

METRIC MALE 24° X METRIC MALE 24° BRANCH X METRIC SWIVEL

N

‘DE

TQH-S-SN

FEMALE O-RING RUN TEE HEAVY DUTY: TQH-S / TQH-S-SN

PART NO. T1,T2,T3 D1,02,03 | N1,N2 L1,L.2 L3 H H1,H2,H3 | MPa
TQH-14-14-14S M14X1.5 6 16.0 31.0 27.0 | 12.0 17.0
TQH-16-16-16S M16X1.5 8 17.0 32.0 27.5 [ 14.0 19.0
TQH-18-18-18S M18X1.5 10 17.5 34.0 30.0 [ 17.0 22.0 63
TQH-20-20-20S M20X1.5 12 21.5 38.0 31.0 [17.0 24.0
TQH-22-22-22S M22X1.5 14 22.0 40.0 35.0 [ 19.0 27.0
TQH-24-24-24S M24X1.5 16 24.5 43.0 36.5 [ 24.0 30.0
TQH-30-30-30S M30X2 20 26.5 48.0 445 | 27.0 36.0 40
TQH-36-36-36S M36X2 25 30.0 54.0 50.0 | 36.0 46.0
TQH-42-42-42S M42X2 30 35.5 62.0 55.0 [ 41.0 50.0
TQH-52-52-528 M52X2 38 41.0 72.0 63.0 | 50.0 60.0 31.5

L1 Le
/
L o
O
\
T2

T1

IDC-S-V

METRIC SWIVEL FEMALE WITH O-RING X METRIC MALE WITH

CAPTIVE SEAL LIGHT DUTY :IDC-S-V

PART NO. T1 T2 L1 L2 H H1 MPa
IDC-12S8-10V M12X1.5 M10X1 24.5 8.0 14.0 14.0
IDC-14S-12V M14X1.5 | M12X1.5 26.5 12.0 17.0 17.0
IDC-16S-14V_ | M16X1.5 | M14X1.5 27.5 12.0 19.0 19.0 315
IDC-18S-16V | M18X1.5 | M16X1.5 30.5 12.0 22.0 22.0 ’
IDC-228-18V | M22X1.5 | M18X1.5 31.5 12.0 24.0 27.0
IDC-26S-22V | M26X1.5 | M22X1.5 31.5 14.0 27.0 32.0
IDC-30S-26V M30X2 M26X1.5 32.5 16.0 32.0 36.0
IDC-36S-33V M36X2 M33X2 35.0 18.0 41.0 41.0 16
IDC-45S8-42V M45X2 M42X2 42.5 20.0 50.0 50.0
IDC-52S5-48V M52X2 M48X2 46.5 22.0 55.0 60.0




L1 Lp
HI~| H
\ o A B
/ o
- To
THC-S-V
L1 Lp
HI~| H
\ ~¢— :r \AAAAA
N I B -3
F s
T1 \TE
IDP-S-V
L1 Le
HI| H
- AN
/ s
TL \TE
THP-S-V

METRIC SWIVEL FEMALE WITH O-RING X METRIC
MALE WITH CAPTIVE SEAL HEAVY DUTY: IHC-S-V

PART NO. T1 T2 L1 L2 H H1 MPa
IHC-14S-12V | M14X1.5 | M12X1.5 27.0 12.0 17.0 17.0
IHC-16S-14V | M16X1.5 | M14X1.5 29.5 12.0 19.0 19.0
IHC-18S-16V | M18X1.5 [ M16X1.5 32.0 12.0 22.0 22.0 63
IHC-20S-18V | M20X1.5 | M18X1.5 34.0 12.0 24.0 24.0
IHC-228-20V | M22X1.5 | M20X1.5 36.5 14.0 27.0 27.0
IHC-24S-22V | M24X1.5 | M22X1.5 37.0 14.0 27.0 30.0
IHC-30S-27V M30X2 M27X2 43.0 16.0 32.0 36.0 40
IHC-36S-33V M36X2 M33X2 48.0 18.0 41.0 46.0
IHC-42S8-42V M42X2 M42X2 51.0 20.0 50.0 50.0
IHC-52S8-48V M52X2 M48X2 60.0 22.0 55.0 60.0 40

AVAYSHINI-ALIE T §

METRIC SWIVEL FEMALE WITH O-RING X BSP MALE
WITH CAPTIVE SEAL LIGHT DUTY: IDP-S-V

PART NO. T1 T2 D1 L1 L2 H H1 MPa
IDP-12S-02V | M12X1.5 | 1/8—28 6 24.5 8.0 14.0 | 14.0
IDP-14S-04V | M14X1.5 | 1/4—19 8 29.5 | 12.0 [ 19.0 | 17.0
IDP-16S-04V | M16X1.5 | 1/4—19 10 275 | 12.0 | 19.0 | 19.0 315
IDP-18S-06V | M18X1.5 | 3/8—19 12 34.0 | 12.0 | 22.0 | 22.0 '
IDP-22S-08V | M22X1.5 | 1/2—14 15 32.0 | 14.0 | 27.0 | 27.0
IDP-26S-08V | M26X1.5 | 1/2—14 18 31.5 | 14.0 | 27.0 | 32.0
IDP-30S-12V M30X2 3/4—14 22 325 | 16.0 | 32.0 | 36.0
IDP-36S-16V M36X2 1—11 28 35.0 | 18.0 | 41.0 | 41.0 16
IDP-45S-20V M45X2 [ 1-1/4—11 35 42.5 | 20.0 | 50.0 | 50.0
IDP-52S-24V M52X2 [ 1-12—11 42 46.5 | 22.0 | 55.0 | 60.0

METRIC SWIVEL FEMALE WITH O-RING X BSP MALE
WITH CAPTIVE SEAL HEAVY DUTY: IHP-S-V

PART NO. T1 T2 D1 L1 L2 H H1 MPa
IHP-14S-04V | M14X1.5 1/4—19 6 27.0 | 120 | 19.0 | 17.0
IHP-16S-04V | M16X1.5 1/4—19 8 29.5 [ 12.0 | 19.0 | 19.0
IHP-18S-06V | M18X1.5 3/8—19 10 | 32.0 | 12.0 | 22.0 | 22.0 63
IHP-20S-06V | M20X1.5 3/8—19 12 | 34.0 | 12.0 | 22.0 | 24.0
IHP-22S-08V | M22X1.5 1/2—14 14 | 36,5 | 140 [ 27.0 | 27.0
IHP-24S-08V | M24X1.5 1/2—14 16 | 37.0 | 14.0 [ 27.0 | 30.0
IHP-30S-12V M30X2 3/4—14 20 | 430 | 16.0 | 32.0 | 36.0 40
IHP-36S-16V M36X2 1—n 25 | 48.0 | 18.0 | 41.0 [ 46.0
IHP-42S-20V M42X2 1-1/4—11 | 30 | 51.0 | 20.0 | 50.0 [ 50.0
IHP-52S-24V M52X2 1-1/2—11 | 38 | 60.0 | 22.0 | 55.0 | 60.0 | 31.5

112



AVHAHLNIALId T §

113

PGD-S

PGH-S

METRIC SWIVEL FEMALE PLUG O-RING LIGHT DUTY:

PGD-S

PART NO. T L1 L H MPa
PGD-12S M12X1.5 15.5 17.5 14.0

PGD-14S M14X1.5 15.5 18.0 17.0

PGD-16S M16X1.5 16.5 18.0 19.0 315
PGD-18S M18X1.5 18.0 19.5 22.0 ’

PGD-22S M22X1.5 19.5 20.0 27.0

PGD-26S M26X1.5 20.0 22.0 32.0

PGD-30S M30X2 21.5 22.5 36.0

PGD-36S M36X2 22.5 24.5 41.0 16

PGD-45S M45X2 25.0 29.0 55.0

PGD-528 M52X2 27.0 31.5 60.0

METRIC SWIVEL FEMALE PLUG O-RING HEAVY DUTY:

PGH-S
PART NO. T L1 L H MPa
PGH-14S M14X1.5 16.0 18.0 17.0
PGH-16S M16X1.5 16.5 18.5 19.0
PGH-18S M18X1.5 18.0 20.0 22.0 63
PGH-20S M20X1.5 18.5 20.5 24.0
PGH-22S M22X1.5 19.0 21.5 27.0
PGH-24S M24X1.5 18.5 21.5 30.0
PGH-30S M30X2 22.5 25.0 36.0 40
PGH-36S M36X2 23.5 28.5 46.0
PGH-42S M42X2 25.5 32.0 50.0
PGH-52S M52X2 26.5 36.0 60.0 31.5

BITE-IN MALE PLUG WITH O-RING CONE 24° : PGO

PGO

PART NO. TUBE O.D L MPa
PGO-06 6 18.5
PGO-08 8 18.5
PGO-10 10 20.0 315
PGO-12 12 20.5 ’
PGO-15 15 20.5
PGO-18 18 22.5
PGO-22 22 25.0
PGO-28 28 25.5 16
PGO-35 35 30.0
PGO-42 42 30.0
PGO-06 6 18.5
PGO-08 8 18.5
PGO-10 10 20.0 63
PGO-12 12 20.5
PGO-14 14 22.5
PGO-16 16 23.5
PGO-20 20 28.5 40
PGO-25 25 29.0
PGO-30 30 30.0
PGO-38 38 33.0 315




T H A H1 T H A
S 5|< LG .
. [ Q] '

=z % ==r

IDFA “L
Le

L
IDFA-SN

METRIC MALE 24° X SAE FLANGE 61 CODE LIGHT DUTY:
IDFA / IDFA-SN

PART NO. T FLANGE | D1 D2 | L1 L2 L H H1 [ MPa
IDFA-22-08 | M22X1.5 12 15 |130.2 | 6.7 [41.056.0 | 24.0 | 27.0 315
IDFA-26-12 | M26X1.5 3/4 18 |38.1 [6.73 [45.5|62.0] 30.0 | 32.0 )
IDFA-30-12 | M30X2 3/4 22 |38.1] 6.7 | 455 [62.0]32.0] 36.0
IDFA-36-16 | M36X2 1 28 |44.4| 80 |46.5)63.0]38.0)41.0 16
IDFA-45-20 | M45X2 1-1/4 35 | 50.8 | 80 |47.5]69.0]41.0) 50.0
IDFA-52-24 | M52X2 12 42 [60.3 | 8.0 [53.076.0[46.060.0
T H A H1 T H A

24°
D1

. | <O—| " B
7 B2

THFA ‘LL
L2

De

L
THFA-SN

METRIC MALE 24° X SAE FLANGE 61 CODE HEAVY DUTY:

IHFA / IHFA-SN

PART NO. T FLANGE | D1 D2 L1 L2 L H H1 | MPa
IHFA-24-08 | M24X1.5 12 16 | 30.2 | 6.7 [ 41.5|60.0) 24.0 | 30.0
IHFA-30-12 | M30X2 3/4 20 |38.1[ 6.7 [46.5]|68.0] 30.0 ] 36.0
IHFA-36-12 | M36X2 3/4 25 |38.1 [ 6.7 [45.0 | 69.0 | 30.0 | 46.0
IHFA-42-16 | M42X2 1 30 [444 | 8.0 | 49.5] 76.0 | 36.0 [ 50.0
IHFA-36-20 | M36X2 1-1/4 25 [ 50.8 | 8.0 [48.0]720]41.0]46.0
IHFA-42-20 | M42X2 1-1/4 30 [50.8| 8.0 |48.5)750]41.0[50.0( 28
IHFA-52-20 | M52X2 1-1/4 38 [50.8| 8.0 | 50.0 | 81.0 | 46.0 [ 60.0
IHFA-52-24 | M52X2 1-1/2 38 [60.3| 8.0 [54.0)850]46.0[600]| 21

35

AVAYSHINI-ALIE T §

114



=

THFH

5
/

CHI T H

—
)

PO
0

De

7

N1

L

Ll

THFH-SN

METRIC MALE 24° X SAE FLANGE 62 CODE HEAVY DUTY:
IHFH / IHFH-SN

AVHAHLNIALId T §

PART NO. T FLANGE| D1 D2 N1 L1 L H H1 MPa

IHFH-24-08 | M24X1.5 1/2 16 3171415 ] 7.8 | 60.0 [ 24.0 | 30.0
IHFH-24-12 | M24X1.5 3/4 16 413|505 | 88 |69.0] 30.0 | 30.0
IHFH-30-12 | M30X2 3/4 20 413 | 465 | 88 | 68.0] 30.0 | 36.0
IHFH-36-12 | M36X2 3/4 25 413 | 45.0| 8.8 | 69.0 | 30.0 | 46.0 40
IHFH-36-16 | M36X2 1 25 476 [ 60.0 | 9.5 [ 81.0 | 36.0 | 46.0
IHFH-42-16 | M42X2 1 30 476 | 495 9.5 | 76.0 | 36.0 | 50.0
IHFH-42-20 | M42X2 1-1/4 30 54014851103 | 750 41.0] 50.0
IHFH-52-20 | M52X2 1-1/4 38 5401 50.0 1 10.3 | 81.0 | 46.0 | 60.0 35
IHFH-52-24 | M52X2 1/2 38 63.5|54.0 | 12.6 | 85.0 | 46.0 | 60.0

! H

— X
. N
.
QU]

% Y
|
— ) o
LDFA 0o
LDFA-SN

METRIC MALE 24° X SAE FLANGE 61 CODE LIGHT DUTY
90° ELBOW: LDFA / LDFA-SN

PART NO. T FLANGE | D1 D2 | L1 L L2 H H1 | MPa
LDFA-22-08 [ M22X1.5 1/2 15 [30.2 ] 6.7 [44.0] 36.0|24.0 | 27.0 315
LDFA-26-12 [ M26X1.5 3/4 18 [38.1] 6.7 [48.0]42.0]30.0 | 32.0 )
LDFA-30-12 | M30X2 3/4 22 |38.1| 6.7 | 50.0 [ 42.0 ] 32.0 | 36.0
LDFA-36-16 | M36X2 1 28 1444 | 8.0 | 53.0 [ 45.0 | 38.0 | 41.0 16
LDFA-45-20 | M45X2 1-1/4 35 [50.8| 8.0 | 68.0 | 50.0 | 41.0 | 50.0
LDFA-52-24 | M52X2 1/2 42 |1 60.3] 8.0 [ 70.0 ] 55.0 [ 46.0 | 60.0

115




o4

LDFH

Le

De

LDFH-SN

METRIC MALE 24° X SAE FLANGE 62 CODE LIGHT DUTY
90° ELBOW: LDFH / LDFH-SN

PART NO. T FLANGE | D1 D2 L1 L L2 H H1 | MPa
LDFH-22-08 | M22X1.5 1/2 15 [ 317 | 7.8 | 440 39.0]|24.0] 27.0 315
LDFH-26-12 | M26X1.5 3/4 18 | 41.3| 8.8 |48.0 | 48.0 | 30.0 | 32.0 ’
LDFH-30-12 | M30X2 3/4 22 |41.3) 8.8 | 50.0)48.0|32.0| 36.0
LDFH-36-16 | M36X2 1 28 | 476 | 9.5 | 53.0 | 60.0 | 38.0 | 41.0 16
LDFH-45-20 | M45X2 1-1/4 35 [54.0]10.3 [ 68.0 | 68.0 | 41.0 | 50.0
LDFH-52-24 [ M52X2 12 42 [ 63.5]12.6|70.0| 76.0 | 46.0 | 60.0
L
H1
T \ ! H
R X
— X T/ | A ~
. \ 5‘ ‘\\ \“ll‘w\l\:\
&
3 Q]
{ :
|
B 2 3
D2
LHFA
LHFA-SN

METRIC MALE 24° X SAE FLANGE 61 CODE HEAVY DUTY

90° ELBOW: LHFA / LHFA-SN

PART NO. T FLANGE | D1 D2 | L1 L L2 H H1 [ MPa
LHFA-24-08 | M24X1.5 1/2 16 [30.2 ] 6.7 | 48.0 | 36.0 [ 24.0 ] 30.0
LHFA-30-12 | M30X2 3/4 20 | 381 6.7 | 54.0[42.0]30.036.0 35
LHFA-36-12 | M36X2 3/4 25 |381 [ 6.7 | 57.0[42.0]30.0[46.0
LHFA-42-16 | M42X2 1 30 [444 | 8.0 | 63.0]45.0]36.0[50.0
LHFA-36-20 | M36X2 1-1/4 25 |50.8 | 8.0 |67.0[50.0]41.0(46.0
LHFA-42-20 | M42X2 1-1/4 30 |50.8( 8.0 |70.0[50.0]41.0[50.0] 28
LHFA-52-20 | M52X2 1-1/4 38 |50.8[ 8.0 |74.0[50.0]46.0[60.0
LHFA-52-24 | M52X2 1-1/2 38 |60.3[ 80 |79.0[55.0]46.0[60.0] 21

AVAYSHINI-ALIE T §

116



AVHAHLNIALId T §

117

1

LHFH

Le

=B

De

LHFH-SN

METRIC MALE 24° X SAE FLANGE 62 CODE HEAVY DUTY

90° ELBOW: LHFH / LHFH-SN

PART NO. T FLANGE| D1 | D2 | N1 | N2 | L1 L2 H H1 | MPa
LHFH-24-08 | M24X1.5 1/2 16 [31.7]129.5]| 7.8 148.0)39.0]| 24.0 | 30.0
LHFH-24-12|M24X1.5| 3/4 16 [41.3]136.5] 8.8 |55.0)|48.0]32.0|30.0
LHFH-30-12| M30X2 3/4 20 [41.3|355] 8.8 |57.0)|48.0]32.0|36.0
LHFH-36-12| M36X2 3/4 25 [41.3]136.0] 8.8 |60.0|48.0]|32.0|46.0( 40
LHFH-36-16| M36X2 1 25 [476]41.0] 9.5 165.0)|60.0]|41.0|46.0
LHFH-42-16| M42X2 1 30 |476[41.5] 9.5 [68.0]60.0]41.0]50.0
LHFH-42-20 | M42X2 | 1-1/4 30 |54.0(44.5(10.3|71.0]68.0]46.0]50.0
LHFH-52-20| M52X2 1-1/4 38 |54.0[45.0[{10.3|76.0|68.0]46.0]60.0 35
LHFH-52-24 | M52X2 | 1-1/2 38 |63.5[56.0[12.6|87.0]76.0]50.0]60.0

7

I

o4°

PGD

N1

L

PGD-SN

METRIC MALE 24° PLUG LIGHT DUTY: PGD / PGD-SN

PART NO. T D1 N1 L H H1 MPa
PGD-12 | M12X1.5 6 7.0 22.0 12.0 14.0
PGD-14 | M14X1.5 8 8.0 23.0 14.0 17.0
PGD-16 | M16X1.5 10 9.0 24.0 17.0 19.0 315
PGD-18 | M18X1.5 12 10.0 25.0 19.0 22.0 '
PGD-22 | M22X1.5 15 11.0 26.0 24.0 27.0
PGD-26 | M26X1.5 18 11.5 28.0 27.0 32.0
PGD-30 M30X2 22 13.5 30.0 32.0 36.0
PGD-36 M36X2 28 14.5 31.0 41.0 41.0 16
PGD-45 M45X2 35 14.5 36.0 46.0 50.0
PGD-52 M52X2 42 16.0 39.0 55.0 60.0




24

METRIC MALE 24° PLUG HEAVY DUTY: PGH / PGH-SN

N1
L
PGH-SN
L |
—~
b4
L
NTD
L o+
—
——T1r 71— A/
s
X
L
NTH

PART NO. T D1 N1 L H H1 MPa
PGH-14 [ M14X1.5 6 11.0 26.0 14.0 17.0
PGH-16 [ M16X1.5 8 13.0 28.0 17.0 19.0
PGH-18 | M18X1.5 10 12.5 29.0 19.0 22.0 63
PGH-20 | M20X1.5 12 14.5 31.0 22.0 24.0
PGH-22 | M22X1.5 14 16.0 34.0 24.0 27.0
PGH-24 [ M24X1.5 16 15.5 34.0 27.0 30.0
PGH-30 M30X2 20 17.0 39.0 32.0 36.0 40
PGH-36 M36X2 25 20.0 44.0 38.0 46.0
PGH-42 M42X2 30 20.5 47.0 46.0 50.0
PGH-52 M52X2 38 23.0 54.0 55.0 60.0 31.5
BITE-IN NUT LIGHT DUTY: NTD
PART NO. T D L H
NTD-12 M12X1.5 6.0 14.5 14.0
NTD-14 M14X1.5 8.0 14.5 17.0
NTD-16 M16X1.5 10.0 15.5 19.0
NTD-18 M18X1.5 12.0 15.5 22.0
NTD-22 M22X1.5 15.0 17.0 27.0
NTD-26 M26X1.5 18.0 18.0 32.0
NTD-30 M30X2 22.0 20.0 36.0
NTD-36 M36X2 28.0 21.0 41.0
NTD-45 M45X2 35.0 24.0 50.0
NTD-52 M52X2 42.0 24.0 60.0
BITE-IN NUT HEAVY DUTY: NTH
PART NO. T D L H
NTH-14 M14X1.5 6.0 16.5 17.0
NTH-16 M16X1.5 8.0 16.5 19.0
NTH-18 M18X1.5 10.0 17.5 22.0
NTH-20 M20X1.5 12.0 17.5 24.0
NTH-22 M22X1.5 14.0 20.5 27.0
NTH-24 M24X1.5 16.0 20.5 30.0
NTH-30 M30X2 20.0 24.0 36.0
NTH-36 M36X2 25.0 27.0 46.0
NTH-42 M42X2 30.0 29.0 50.0
NTH-52 M52X2 38.0 32.5 60.0

AVAYSHINI-ALIE T §

118



BITE-IN RING LIGHT DUTY: SRD

AVHAHLNIALId T §

FF-----1
|
i
|
|

I 77 )

SRH

PART NO. TUBE O.D. L
SRD-06 6 95
SRD-08 8 95
SRD-10 10 10
SRD-12 12 10
SRD-15 15 10
SRD-18 18 10
SRD-22 22 10.5
SRD-28 28 10.5
SRD-35 35 135
SRD-42 42 135

BITE-IN RING HEAVY DUTY: SRH

PART NO. TUBE O.D. L
SRH-06 6 95
SRH-08 8 9.5
SRH-10 10 10
SRH-12 12 10
SRH-14 14 10
SRH-16 16 10
SRH-20 20 13
SRH-25 25 13
SRH-30 30 13
SRH-38 38 13

be

D1

SAE FLANGE PLUG LIGHT DUTY: PGFA

PGFA

Dbe

D1

119

PART NO. | FLANGE D1 D2 L1 L MPa
PGFA-08 1/2 30.2 24.0 6.8 16.0

PGFA-12 3/4 38.1 31.5 6.8 17.0 34.5
PGFA-16 1 44.4 38.0 8.0 17.0

PGFA-20 1-1/4 50.8 43.0 8.0 17.0 27.6
PGFA-24 1-1/2 60.3 50.0 8.0 19.0 207
PGFA-32 2 71.4 62.0 9.6 19.0 )
PGFA-40 2-1/4 84.1 74.0 9.6 40.0 17.2
PGFA-48 3 101.6 90.0 9.6 45.0 13.8

SAE FLANGE PLUG HEAVY DUTY: PGFH

PART NO. | FLANGE D1 D2 L1 L MPa
PGFH-08 1/2 31.8 24.0 7.8 18.0

PGFH-12 3/4 41.3 32.0 8.8 18.0

PGFH-16 1 47.6 38.0 9.5 18.0 42
PGFH-20 1-1/4 54 44.0 10.3 18.0

PGFH-24 1-1/2 63.5 51.0 12.6 20.0

PGFH-32 2 79.4 67.0 12.6 20.0




R
N

v
N

N
1

CPFA

SPLIT FLANGE CLAMPS LIGHT DUTY: CPFA

PART NO. | FLANGE A B C D E BOLT MPa
CPFA-08 1/2 53.8 46.1 38.1 9.0 17.5 M8X25 345
CPFA-12 3/4 65.0 52.4 47.6 11.0 22.2 M10X30
CPFA-16 1 69.9 58.7 524 11.0 26.2 M10X30
CPFA-20 1-1/4 79.2 73.0 58.7 11.0 30.2 M10X30 27.6
CPFA-24 1-1/2 93.7 82.6 69.9 13.5 35.7 M12X35 20.7
CPFA-32 2 101.6 96.8 77.8 13.5 429 M12X35
CPFA-40 2-1/4 114.0 109.0 88.9 13.5 50.8 M12X40 17.2
CPFA-48 3 135.0 | 130.6 | 106.4 17.5 61.9 M16X50 13.8
B
E
|
NI ]
L\ .
S
\
[ \ \
) 1 O ;
\ / \
\
R
N C} - — k=
[
D
CPFH
SPLIT FLANGE CLAMPS HEAVY DUTY: CPFH
PART NO. [FLANGE A B C D E BOLT MPa
CPFH-08 1/2 56.3 49.2 40.5 9.0 18.2 M8X30
CPFH-12 3/4 71.4 61.8 50.8 11.0 23.8 M10X35
CPFH-16 1 81 71.4 57.2 13.0 27.8 M12X45 42
CPFH-20 1-1/4 95.3 79.2 66.7 15.0 31.8 M14X50
CPFH-24 1-1/2 112.8 96.8 79.4 17.0 36.6 M16X55
CPFH-32 2 133.4 115.6 96.8 21.0 44 .4 M20X70

AVHIHL SYHH.LO

120



AVHIHL SYHH.LO

121

N ]
NPARNY, ]
o
/ \ \
\ T ;T 74\H7
~
N s
(D ]
\
CPF

WHOLE FLANGE CLAMPS LIGHT DUTY: CPF

PART NO. | FLANGE A B C D E BOLT MPa
CPF-08 1/2 53.8 46.1 38.1 9.0 17.5 M8X25
CPF-12 3/4 65.0 52.4 47.6 11.0 22.2 | M10X30 | 34.5
CPF-16 1 69.9 58.7 52.4 11.0 26.2 | M10X30
CPF-20 1-1/4 79.2 73.0 58.7 11.0 30.2 | M10X30 | 27.6
CPF-24 1-1/2 93.7 82.6 69.9 13.5 35.7 | M12X35 20.7
CPF-32 2 101.6 | 96.8 77.8 13.5 429 | M12X35 )
CPF-40 2-1/4 114.0 | 109.0 | 88.9 13.5 50.8 | M12X40 | 17.2
CPF-48 3 135.0 | 130.6 | 106.4 | 17.5 61.9 | M16X50 | 13.8

B
E
|
N TN ]
-\ e
T
\
/ \ \
1 ﬂ» O —_—
\ / \
\
R
S ERSE)
\
D
CPH
WHOLE FLANGE CLAMPS HEAVY DUTY: CPH

PART NO. | FLANGE A B C D E BOLT MPa
CPH-08 1/2 56.3 49.2 40.5 9.0 18.2 M8X30
CPH-12 3/4 71.4 61.8 50.8 11.0 23.8 | M10X35
CPH-16 1 81 71.4 57.2 13.0 27.8 | M12X45 42
CPH-20 1-1/4 95.3 79.2 66.7 15.0 31.8 | M14X50
CPH-24 1-1/2 112.8 | 96.8 79.4 17.0 36.6 | M16X55
CPH-32 2 1334 | 115.6 96.8 21.0 44.4 | M20X70




T1 H Te
L1 ! ! L2
L
TQM
L1
Tl\ 7<H
N\
qV)
4
LQM T2
L1 L3
Tl H
[4
\\»77
o ]
2
TQM T2

T3

METRIC MALE END FACE O-RING: IQM

PART NO. T1 T2 L1 L2 L H
IQM-12 M12X1.25 | M12X1.25 11.0 11.0 28.0 14.0
IQM-14 M14X1.5 M14X1.5 11.0 11.0 28.0 17.0
IQM-16 M16X1.5 M16X1.5 11.0 11.0 28.0 17.0
IQM-18 M18X1.5 M18X1.5 11.0 11.0 28.0 19.0
IQM-22 M22X1.5 M22X1.5 12.0 12.0 32.0 24.0
IQM-27 M27X1.5 M27X1.5 13.0 13.0 36.0 30.0
IQM-30 M30X1.5 M30X1.5 14.0 14.0 39.0 32.0
IQM-36 M36X2 M36X2 16.0 16.0 43.0 38.0
IQM-39 M39X2 M39X2 18.0 18.0 49.0 41.0
IQM-42 M42X2 M42X2 20.0 20.0 53.0 46.0
IQM-45 M45X2 M45X2 21.0 21.0 55.0 46.0
IQM-52 M52X2 M52X2 22.0 22.0 59.0 55.0
IQM-60 M60X2 M60X2 24.0 24.0 65.0 65.0
IQM-64 M64X2 M64X2 27.0 27.0 71.0 70.0

METRIC MALE 90° ELBOW END FACE O-RING: LQM

PART NO. T1 T2 L1 L2 H
LQM-12 M12X1.25 | M12X1.25 20.5 20.5 12.0
LQM-14 M14X1.5 M14X1.5 22.5 22.5 14.0
LQM-16 M16X1.5 M16X1.5 24.0 24.0 17.0
LQM-18 M18X1.5 M18X1.5 26.0 26.0 19.0
LQM-22 M22X1.5 M22X1.5 29.0 29.0 22.0
LQM-27 M27X1.5 M27X1.5 32.5 32.5 27.0
LQM-30 M30X1.5 M30X1.5 35.5 35.5 30.0
LQM-36 M36X2 M36X2 42.0 42.0 36.0
LQM-39 M39X2 M39X2 47.5 47.5 41.0
LQM-42 M42X2 M42X2 49.5 49.5 41.0
LQM-45 M45X2 M45X2 52.5 52.5 46.0
LQM-52 M52X2 M52X2 57.0 57.0 50.0

METRIC MALE TEE END FACE O-RING: TQM

PART NO. T1 T2 T3 L1 L2 5 H
TQM-14 [ M14X1.5 | M14X1.5 | M14X1.5 22.5 22.5 22.5 14.0
TQM-16 [ M16X1.5 | M16X1.5 [ M16X1.5 24.0 24.0 24.0 17.0
TQM-18 [ M18X1.5 | M18X1.5 [ M18X1.5 26.0 26.0 26.0 19.0
TQM-22 | M22X1.5 | M22X1.5 | M22X1.5 29.0 29.0 29.0 22.0
TQM-27 [ M27X1.5 | M27X1.5 | M27X1.5 32.5 32.5 32.5 27.0
TQM-30 [ M30X1.5 | M30X1.5 | M30X1.5 35.5 35.5 35.5 30.0
TQM-36 [ M36X2 | M36X2 [ M36X2 42.0 42.0 42.0 36.0
TQM-39 [ M39X2 | M39X2 [ M39X2 47.5 47.5 47.5 41.0
TQM-42 [ M42X2 | M42X2 | M42X2 49.5 49.5 49.5 41.0
TQM-45 [ M45X2 | M45X2 | M45X2 52.5 52.5 52.5 46.0
TQM-52 [ M52X2 | M52X2 [ M52X2 57.0 57.0 57.0 50.0

AVHIHL SYHH.LO

122



AVHIHL SYHH.LO

123

L1

Le

H H1

TQM-K-N(LOCK NUT INCLUDED)

Ti L1

Le

VWY ,

H1

LQM-K-N(LOCK NUT INCLUDED)

METRIC MALE BULKHEAD END FACE O-RING:

IQM-K / IQM-K-N

PART NO. T T2 L1 L2 L H H1
IQM-12-12K | M12X1.25 | M12X1.25 | 11.0 | 315 | 475 | 17.0 17.0
IQM-14-14K | M14X1.5 | M14X1.5 | 11.0 | 325 | 495 | 19.0 19.0
IQM-16-16K | M16X1.5 | M16X1.5 | 11.0 | 325 | 51.5 | 22.0 22.0
IQM-18-18K | M18X1.5 | M18X1.5 | 11.0 | 33.0 | 52.0 | 24.0 24.0
IQM-22-22K | M22X1.5 | M22X1.5 | 12.0 | 355 | 58.0 | 27.0 30.0
IQM-27-27K | M27X1.5 | M27X1.5 | 13.0 | 37.0 | 61.0 | 32.0 36.0
IQM-30-30K | M30X1.5 | M30X1.5 | 14.0 | 38.0 | 63.0 | 36.0 | 41.0
IQM-36-36K M36X2 M36X2 16.0 | 42.0 | 71.0 [ 41.0 | 46.0
1QM-39-39K M39X2 M39X2 18.0 | 44.0 | 74.0 | 46.0 50.0
1QM-42-42K M42X2 M42X2 20.0 | 46.0 [ 80.0 | 50.0 50.0
IQM-45-45K M45X2 M45X2 21.0 | 46.0 [ 80.0 | 55.0 55.0
IQM-52-52K M52X2 M52X2 22.0 | 49.0 [ 83.0 | 60.0 65.0

METRIC MALE BULKHEAD 90° ELBOW END FACE

O-RING: LQM-K / LQM-K-N

PART NO. T T2 L1 H H1
LQM-12-12K [ M12X1.25 | M12X1.25 | 20.5 44.5 12.0 17.0
LQM-14-14K M14X1.5 M14X1.5 22.5 46.5 14.0 19.0
LQM-16-16K M16X1.5 M16X1.5 24.0 48.0 17.0 22.0
LQM-18-18K M18X1.5 M18X1.5 26.0 50.0 19.0 24.0
LQM-22-22K M22X1.5 M22X1.5 29.0 54.0 22.0 30.0
LQM-27-27K M27X1.5 M27X1.5 32.5 58.5 27.0 36.0
LQM-30-30K M30X1.5 M30X1.5 35.5 61.5 30.0 41.0
LQM-36-36K M36X2 M36X2 42.0 71.0 36.0 46.0
LQM-39-39K M39X2 M39X2 47.5 76.0 41.0 50.0
LQM-42-42K M42X2 M42X2 49.5 78.0 41.0 50.0
LQM-45-45K M45X2 M45X2 52.5 81.0 46.0 55.0
LQM-52-52K M52X2 M52X2 57.0 86.0 50.0 65.0




T1

T1

Te

o
D

METRIC MALE END FACE O-RING X NPT MALE: IMN
PART NO. T1 T2 L1 L2 L H
IMN-14-04 M14X1.5 1/4—18 11.0 15.0 31.0 17.0
IMN-16-04 M16X1.5 1/4—18 11.0 15.0 32.0 17.0
IMN-16-06 M16X1.5 3/8—18 11.0 16.0 33.0 19.0
IMN-18-06 M18X1.5 3/8—18 11.0 16.0 33.0 19.0
IMN-18-08 M18X1.5 1/2—14 11.0 19.5 38.5 24.0
IMN-22-08 M22X1.5 1/2—14 12.0 19.5 39.5 24.0
IMN-22-12 M22X1.5 3/4—14 12.0 19.5 41.5 27.0
IMN-24-06 M24X1.5 3/8—18 12.0 15.0 37.0 27.0
IMN-24-08 M24X1.5 1/2—14 12.0 19.5 41.5 27.0
IMN-27-08 M27X1.5 1/2—14 13.0 19.5 42.5 30.0
IMN-27-12 M27X1.5 3/4—14 13.0 19.5 42.5 30.0
IMN-30-12 M30X1.5 3/4—14 14.0 19.5 44.5 32.0
IMN-36-12 M36X2 3/4—14 16.0 19.5 46.5 38.0
IMN-36-16 M36X2 1—11.5 16.0 25.5 52.5 38.0
IMN-39-16 M39X2 1—11.5 18.0 25.5 56.5 41.0
IMN-39-20 M39X2 1-1/4—11.5 18.0 26.5 57.5 46.0
IMN-42-20 M42X2 1-1/4—11.5 20.0 26.5 59.5 46.0
IMN-45-20 M45X2 1-1/4—11.5 21.0 26.5 60.5 46.0
IMN-52-24 M52X2 1-1/2—11.5 22.0 27.5 64.5 55.0
IMN-60-24 M60X2 1-1/2—11.5 24.0 27.5 68.5 65.0
IMN-60-32 M60X2 2—11.5 24.0 27.5 68.5 65.0

METRIC MALE END FACE O-RING X METRIC MALE

BONDED SEAL TYPE: IMC
PART NO. T1 T2 L1 L2 L H
IMC-14-14 M14X1.5 | M14X1.5 11.0 12.0 30.5 19.0
IMC-14-16 M14X1.5 | M16X1.5 11.0 12.0 31.0 22.0
IMC-14-18 M14X1.5 | M18X1.5 11.0 12.0 32.5 24.0
IMC-16-14 M16X1.5 | M14X1.5 11.0 12.0 29.0 19.0
IMC-16-16 M16X1.5 | M16X1.5 11.0 12.0 31.0 22.0
IMC-16-18 M16X1.5 | M18X1.5 11.0 12.0 31.0 24.0
IMC-22-18 M22X1.5 | M18X1.5 12.0 12.0 33.5 24.0
IMC-22-22 M22X1.5 | M22X1.5 12.0 14.0 36.0 27.0
IMC-27-22 M27X1.5 | M22X1.5 13.0 14.0 38.5 30.0
IMC-27-33 M27X1.5 M33X2 13.0 18.0 44.0 41.0
IMC-30-27 M30X1.5 M27X2 14.0 16.0 41.0 34.0
IMC-30-33 M30X1.5 M33X2 14.0 18.0 44.0 41.0
IMC-36-33 M36X2 M33X2 16.0 18.0 49.0 41.0
IMC-36-42 M36X2 M42X2 16.0 22.0 53.0 50.0
IMC-45-42 M45X2 M42X2 21.0 20.0 56.0 50.0
IMC-45-48 M45X2 M48X2 21.0 22.0 58.0 60.0
IMC-52-48 M52X2 M48X2 22.0 22.0 61.0 60.0

AVHIHL SYHH.LO

124



PART NO. T T2 1 2 L H
" i /TE IMB-14-04 | M14X15 | 1/4—19 1.0 145 315 14.0
O A / IMB-16-04 | M16X15 | 1/4—19 1.0 14.5 315 17.0
H H\ ‘ ‘ W\ IMB-16-06 | M16X15 | 3/8—19 11.0 15.0 320 17.0
: 5 IMB-18-06 | M18X15 | 3/8—19 1.0 15.0 320 19.0
IMB-18-08 | M18X15 | 1/2—14 1.0 200 37.0 22.0
= % W" IMB22-08 | M22X15 | 1/2—14 12.0 20.0 40.0 24.0
z IMB22-12 | M22X15 | 3/4—14 12.0 20.0 400 27.0
L1 L2 IMB24-06 | M24X15 | 3/8—19 13.0 15.0 38.0 27.0
@i L IMB24-08 | M24X15 | 1/2—14 13.0 200 430 27.0
- VB IMB27-08 | M27X15 | 1/2—14 13.0 20.0 430 300
IMB27-12 | M27X15 | 3/4—14 13.0 20.0 43.0 30.0
: IMB30-12 | M30X15 | 3/4—14 14.0 20.0 45.0 32.0
z IMB36-12 | M36X2 | 3/4—14 16.0 20.0 47.0 38.0
IMB36-16 | M36X2 | 1—11 16.0 255 525 38.0
= IMB39-16 | M39x2 | 1—11 18.0 255 565 410
> IMB-39-20 | M39X2 | 1-1/4—11] 180 265 575 46.0
IMB-42-20 | M42X2 | 1-1/4—11| 200 265 595 46.0
U IMB-45-20 | M45X2 | 1-1/4—11| 21.0 265 605 46.0
IMB52-24 | M52X2 | 1-12—11 | 22,0 265 635 55.0
IMB-60-24 | M60X2 | 1-12—11 | 24.0 275 685 65.0
IMB-60-32 | M60X2 | 2—11 24.0 275 685 65.0
METRIC MALE END FACE O-RING X BSP MALE BONDED
. . .. SEALTYPE:IMG
PART NO. T T2 1 2 L H
- N IMG-14-04 | M14X15 | 1/4—19 1.0 12.0 29.0 19.0
— . IMG-16-04 | M16X1.5 | 1/4—19 1.0 12.0 29.0 19.0
-3 IMG-16-06 | M16X1.5 | 3/8—19 1.0 12.0 310 22.0
IMG-18-06 | M18X1.5 | 3/86—19 1.0 12.0 310 22.0
—% S IMG-18-08 | M18X1.5 | 172—14 1.0 14.0 350 27.0
‘ ‘ IMG22-08 | M22X1.5 | 1/2—14 12.0 14.0 350 27.0
1| |.Le IMG27-08 | M27X1.5 | 1/2—14 13.0 14.0 37.0 300
L IMG27-12 | M27X15 | 3/4—14 13.0 16.0 40.0 320
IMG30-12 | M30X15 | 3/4—14 14.0 16.0 410 32.0
MG IMG-30-16 | M30X15 | 1—11 14.0 18.0 480 410
IMG-36-16 | M36X2 —1 16.0 18.0 50.0 410
METRIC MALE END FACE O-RING X METRIC MALE
O-RING BOSS ISO 6149-2: IMW-OR
1 H T2 PART NO. T T2 1 2 L H
/ IMW-12-100R | M12X1.25| M10X1 1.0 95 28.0 14.0
A IMW-14-120R | M14X15 | M12X1.5 | 11.0 1.0 28.0 17.0
\\\ “\ IMW-16-140R | M16X1.5 | M14X15 | 11.0 1.0 28.0 19.0
! IMW-18-160R | M18X1.5 | M16X1.5 | 11.0 M5 315 22.0
IMW-22-180R | M22X1.5 | M18X15 | 12.0 125 345 24.0
w IMW-27-220R | M27X15 | M22X1.5 | 13.0 15.0 38.0 300
IMW-30-270R | M30X1.5 | M27X2 14.0 185 435 32.0
B ‘ - IMW-36-330R | M36X2 | M33X2 16.0 185 475 410
| IMW-39-330R | M39X2 | M33x2 18.0 185 495 410
L IMW-42-420R | M42X2 | M42x2 200 19.0 54.0 50.0
IMW-45-420R | M45X2 | M42x2 21.0 19.0 54.0 50.0
IMW-0OR IMW-52-480R | M52X2 | M48X2 22.0 215 58.5 55.0

125

METRIC MALE END FACE O-RING X BSPT MALE: IMB




L1
Tl

a
M

Ml I
)
IR
P(L}M
Tﬂxfl ;
L
=1
LOM-S

METRIC MALE END FACE O-RING X METRIC MALE

WITH LOCKING NUT WASHER O-RING 90° ELBOW

ISO 6149-2:LMW-NWR

PART NO. T1 T2 L1 L2 H H1
LMW-12-10-NWR | M12X1.25 M10X1 20.5 28.5 12.0 14.0
LMW-14-12-NWR | M14X1.5 M12X1.5 22.5 33.2 14.0 17.0
LMW-16-14-NWR | M16X1.5 M14X1.5 24.0 36.0 17.0 19.0
LMW-18-16-NWR | M18X1.5 M16X1.5 26.0 39.0 19.0 22.0
LMW-22-18-NWR | M22X1.5 M18X1.5 29.0 44.0 22.0 24.0
LMW-27-22-NWR | M27X1.5 M22X1.5 32.5 48.0 27.0 27.0
LMW-30-27-NWR | M30X1.5 M27X2 35.5 57.0 30.0 32.0
LMW-36-33-NWR M36X2 M33X2 42.0 60.5 36.0 41.0
LMW-42-42-NWR M42X2 M42X2 49.5 65.0 41.0 50.0
LMW-45-42-NWR M45X2 M42X2 52.5 67.5 46.0 50.0
LMW-52-48-NWR M52X2 M48X2 57.0 73.5 50.0 55.0
METRIC MALE END FACE O-RING PLUG: PGM

PART NO. T L1 L H

PGM-14 M14X1.5 11.0 17.0 17.0
PGM-16 M16X1.5 11.0 17.0 17.0
PGM-18 M18X1.5 11.0 17.0 19.0
PGM-22 M22X1.5 12.0 20.0 24.0
PGM-24 M24X1.5 12.0 21.0 27.0
PGM-27 M27X1.5 13.0 23.0 30.0
PGM-30 M30X2 14.0 25.0 32.0
PGM-36 M36X2 16.0 29.0 38.0
PGM-42 M42X2 20.0 33.0 46.0
PGM-45 M45X2 21.0 34.0 46.0
PGM-52 M52X2 22.0 37.0 55.0
PGM-60 M60X2 24.0 41.0 65.0

METRIC MALE END FACE O-RING X METRIC SWIVEL

FEMALE 90° ELBOW: LQM-S

PART NO. T1 T2 L1 L2 H H1
LQM-12-128 M12X1.25 | M12X1.25 20.5 8.0 12.0 17.0
LQM-14-14S M14X1.5 M14X1.5 22.5 8.5 14.0 19.0
LQM-16-16S M16X1.5 M16X1.5 24.0 8.5 17.0 22.0
LQM-18-18S M18X1.5 M18X1.5 26.0 8.5 19.0 24.0
LQM-22-22S M22X1.5 M22X1.5 29.0 10.0 22.0 27.0
LQM-27-27S M27X1.5 M27X1.5 32.5 10.0 27.0 32.0
LQM-30-30S M30X1.5 M30X1.5 35.5 11.0 30.0 36.0
LQM-36-36S M36X2 M36X2 42.0 13.0 36.0 41.0
LQM-39-39S M39X2 M39X2 47.5 13.0 41.0 46.0
LQM-42-42S M42X2 M42X2 49.5 15.0 41.0 50.0
LQM-45-45S M45X2 M45X2 52.5 15.0 46.0 55.0
LQM-52-528 M52X2 M52X2 56.0 17.0 50.0 60.0

AVHIHL SYHH.LO

126



METRIC MALE END FACE O-RING X
METRIC SWIVEL FEMALE BRANCH X
METRIC MALE END FACE O-RING RUN

Le

AVHIHL SYHH.LO

TEE: TQM-S
PART NO. T1 T2 T3 L1 L2 L3 H H1
TQM-14-14S-14 M14X1.5 M14X1.5 M14X1.5 22.5 8.5 22.5 14.0 19.0
TQM-16-16S-16 M16X1.5 M16X1.5 M16X1.5 24.0 8.5 24.0 17.0 22.0
TQM-18-18S-18 M18X1.5 M18X1.5 M18X1.5 26.0 8.5 26.0 19.0 24.0
TQM-22-22S-22 M22X1.5 M22X1.5 M22X1.5 29.0 10.0 29.0 22.0 27.0
TQM-27-27S-27 M27X1.5 M27X1.5 M27X1.5 325 10.0 325 27.0 32.0
TQM-30-30S-30 M30X1.5 M30X1.5 M30X1.5 35.5 11.0 355 30.0 36.0
TQM-36-36S-36 M36X2 M36X2 M36X2 42.0 13.0 42.0 36.0 41.0
TQM-39-39S-39 M39X2 M39X2 M39X2 47.5 13.0 47.5 41.0 46.0
TQM-42-42S8-42 M42X2 M42X2 M42X2 49.5 15.0 49.5 41.0 50.0
TQM-45-45S-45 M45X2 M45X2 M45X2 52.5 15.0 52.5 46.0 55.0
TQM-52-52S-52 M52X2 M52X2 M52X2 57.0 17.0 57.0 50.0 60.0

Tlx

==
~|

N
N

N METRIC MALE END FACE O-RING X
& =l METRIC MALE END FACE O-RING
I

Te BRANCH X METRIC SWIVEL FEMALE

TQM=S RUN TEE: TQM-S
PART NO. T1 T2 T3 L1 L2 L3 H H1
TOM-14-14-14S__ | M14X1.5 | M14X1.5 | M14X1.5 225 225 8.5 14.0 19.0
TQM-16-16-16S | M16X1.5 | M16X1.5 | M16X1.5 24.0 24.0 8.5 17.0 22.0
TQM-18-18-18S | M18X1.5 | M18X1.5 | M18X1.5 26.0 26.0 8.5 19.0 24.0
TQM-22-22-22S | M22X1.5 | M22X1.5 | M22X1.5 29.0 29.0 10.0 22.0 27.0
TQM-27-27-27S | M27X1.5 | M27X1.5 | M27X1.5 325 325 10.0 27.0 32.0
TQM-30-30-30S | M30X1.5 | M30X1.5 | M30X1.5 355 355 11.0 30.0 36.0
TQM-36-36-36S M36X2 M36X2 M36X2 42.0 42.0 13.0 36.0 41.0
TQM-39-39-39S M39x2 M39x2 M39x2 475 475 13.0 41.0 46.0
TQM-42-42-42S M42X2 M42X2 M42X2 49.5 49.5 15.0 41.0 50.0
TQM-45-45-45S M45X2 M45X2 M45X2 52.5 52.5 15.0 46.0 55.0
TQM-52-52-52S M52X2 M52X2 M52X2 57.0 57.0 17.0 50.0 60.0

127



EMO TON WEIGHT _vﬁv:-




EE  TON WEIGHT

!




O TON WEIGHT _Vﬁy:-




EE  TON WEIGHT

!




O TON WEIGHT _Vﬁy:-




EE  TON WEIGHT

!




O TON WEIGHT _Vﬁy:-




EE  TON WEIGHT

!




